
SYNCROLITE VALUATION REPORT

Row # Item Code Item Description Prod Ln U/M Whse QTY U/C Extd Cost

1 2411000 WASHER SHMT EACH 0 37 1.79 66.23                

2 2198210 T-Handle Hex Key, 9/64" Size, TOOL EACH 0 10 17.8 178.00              

3 3130211 2000W-H XENON LAMP LAMP EACH 0 (4.00)              388.5 (1,554.00)          

4 3130213 2000W-HS XENON LAMP LAMP EACH SB3 1 414.44 414.44              

5 3130253 MSR 1200W Lamp LAMP EACH 0 1 140.51 140.51              

6 3140028 Plug, 1/4 Snap In, Black UTIL EACH 0 59 0.0646 3.81                   

7 3140028 Plug, 1/4 Snap In, Black UTIL EACH SB3 5 0.064 0.32                   

8 3200382 Silicone Rubber Strip - 2" X 3 UTIL INCH 0 166 0.3973 65.95                

9 3200793 FLEXIBLE AIR DUCT SKYTRACKER ASSY FOOT 0 31 10.79 334.49              

10 3270025 DMX RELAY, CCA ELEC EACH 0 3 350 1,050.00           

11 39953000 Negative Lead and Contact Assy HRNS EACH 0 1 38.05 38.05                

12 39990001 EMI Filter ELEC EACH 0 (1.00)              20 (20.00)               

13 39990002 Igniter - MiniTracker ELEC EACH 0 (1.00)              25 (25.00)               

14 4061780 6-32 X 1 7/8 PPSS FSNR EACH 0 69 0.0935 6.45                   

15 4061780 6-32 X 1 7/8 PPSS FSNR EACH SB3 5 0.094 0.47                   

16 4170074 Flat Washer, 1/2 ID 1 1/2 OD B FSNR EACH 0 32 0.73 23.36                

17 45154000 Clamping Knob - MiniTracker UTIL EACH 0 5 9.72 48.60                

18 47233000 GELATIN HEAT SHIELD GELS EACH 0 8 2.825 22.60                

19 6164100 Autotransformer Center Tap ELEC EACH 0 30 119.96 3,598.80           

20 6164101 Autotransformer Step Up ELEC EACH 0 44 88.42 3,890.48           

21 65505000 Igniter, Hot Restrike 120A ELEC EACH 0 10 234.597 2,345.97           

22 7201206 SUPER TROUPER MT - 2K UNIT EACH 0 (2.00)              0 -                     

23 A101CASAR RCRT LARGE C1/DOUS ASSY RCRT EACH 0 1 636 636.00              

24 A101FSBA 10K C1 FAN SIDE BAR ASSY INAC EACH 0 8 296.8138 2,374.51           

25 A1K11FR0R RCRT- MX 1" FIXED RLR ASSY ARCV EACH 0 10 22.95 229.50              

26 A1K11SR0R RCRT- MX 1" SPRING RLR ASSY ARCV EACH 0 10 40.16 401.60              

27 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH 0 11 154.4582 1,699.04           

28 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH RED 4 154.365 617.46              

29 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH S01 1 154.42 154.42              

30 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH S05 1 154.4 154.40              

31 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH S08 2 154.365 308.73              

32 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH X03 1 139.3798 139.38              

33 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH X04 1 154.36 154.36              

34 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH X08 2 154.4 308.80              

35 A312CDB0 3K-10K CLR 2/3 DRIVER BD ASSY ASSY EACH X09 1 154.36 154.36              

36 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH 0 3 65 195.00              

37 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH 508 2 65 130.00              

38 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH 513 2 65 130.00              

39 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH 702 2 65 130.00              

40 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH 703 2 65 130.00              

41 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH 705 2 65 130.00              

42 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH RED 16 65 1,040.00           

43 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH S02 2 65 130.00              

44 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH S03 2 65 130.00              

45 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH S04 2 65 130.00              

46 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH S05 1 65 65.00                

47 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH S06 2 65 130.00              

48 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH S07 2 65 130.00              

49 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH X01 2 65 130.00              

50 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH X03 1 65 65.00                

51 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH X06 2 65 130.00              

52 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH X07 2 65 130.00              



SYNCROLITE VALUATION REPORT

53 A312CDB0R C2/C3 DRV BD-RECERTIFIED RCRT EACH X09 1 65 65.00                

54 A316FRLA 3K-10K EBOX FAN SIDE RAIL ASSY ASSY EACH 0 1 61.91 61.91                

55 A316NFRA 3K-10K EBOX NON-FAN S RAIL ASS ASSY EACH 0 1 46.93 46.93                

56 A316SKDAU 3K-10K REV C SKID - RECERT RCRT EACH 0 5 322.32 1,611.60           

57 A316SKDAU 3K-10K REV C SKID - RECERT RCRT EACH RED 15 322.32 4,834.80           

58 A316SKDAU 3K-10K REV C SKID - RECERT RCRT EACH S06 2 322.32 644.64              

59 A316SKDBU REV E SKID - RECERT RCRT EACH 0 4 384.56 1,538.24           

60 A316SKDBU REV E SKID - RECERT RCRT EACH RED 8 382.4388 3,059.51           

61 A316SKDBU REV E SKID - RECERT RCRT EACH S04 1 384.39 384.39              

62 A316SKDBU REV E SKID - RECERT RCRT EACH S05 1 384.39 384.39              

63 A351DVNA 3K-5K-DOUS VANE ASSY - ALU/TFE ASSY EACH 0 9 48.6622 437.96              

64 A351DVNC STMPD ALU DOUS VANE ASSY EACH 0 5 20.1 100.50              

65 A351FRLA 3K-5K C1 - FIXED ROLLER ASSY ASSY EACH 0 1 42.71 42.71                

66 A351LNKA 3K-5K - DOUS LKG ASSY - MACH ASSY EACH 0 6 148.6217 891.73              

67 A351SRLA 3K-5K  C1 - SPRING ROLLER ASSY ASSY EACH 0 1 117.72 117.72              

68 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH 0 21 99.8586 2,097.03           

69 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH 501 1 99.71 99.71                

70 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH 508 1 95.5479 95.55                

71 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH 513 2 91.1242 182.25              

72 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH 702 1 95.36 95.36                

73 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH 703 2 95.685 191.37              

74 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH 705 2 95.4499 190.90              

75 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S01 2 97.945 195.89              

76 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S02 2 94.8635 189.73              

77 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S03 2 95.4429 190.89              

78 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S04 2 96.955 193.91              

79 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S05 3 99.81 299.43              

80 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S06 2 98.88 197.76              

81 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S07 1 100.18 100.18              

82 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S08 1 100.4 100.40              

83 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S09 1 100.4 100.40              

84 A352C1M0 3K-5K C1 MTR ASSY - COMPLETE MOTR EACH S10 1 100.4 100.40              

85 A352C1M0U  3K-5K C1 MTR - RECERT RCRT EACH 0 21 45.42 953.82              

86 A352C1M0U  3K-5K C1 MTR - RECERT RCRT EACH 501 1 45.42 45.42                

87 A352C1M0U  3K-5K C1 MTR - RECERT RCRT EACH S07 1 45.42 45.42                

88 A352CASAR 3K-5K C2/3 CHGR ASSY-RECERT RCRT EACH 0 12 347.465 4,169.58           

89 A352FR2A 3K-5K C2 - FIXED RLR ASSY ASSY EACH 0 4 69.0125 276.05              

90 A352GG2A 3K-5K C2 - GEL GUIDE ASSY ASSY EACH 0 19 32.8858 624.83              

91 A352SR2A 3K-5K C2 SPRING RLR ASSY ASSY EACH 0 1 126.11 126.11              

92 A353BMM0 3K-5K BEAM MTR-NO SW,GL GEAR MOTR EACH 0 2 85.5666 171.13              

93 A353BMM0U 5K BEAM MTR-GL GEAR,NO SW-RCRT ARCV EACH 0 3 42.78 128.34              

94 A353RAJA 3K-5K RFL ADJUSTER ASSY ASSY EACH 0 (1.00)              15.23 (15.23)               

95 A356CASA 3K-5K EBOX ASSY - 1015 CAMS ASSY EACH 0 1 330.2297 330.23              

96 A3K4PTM0 3K P/T MTR ASSY-T,E,P,PLY MOTR EACH 0 2 391.14 782.28              

97 A511BMM0 3K BEAM MTR-CLAMP-PULLEY, SWIT ASSY EACH 0 4 115.685 462.74              

98 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH 0 1 112.7 112.70              

99 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH 501 1 112.84 112.84              

100 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH 703 1 112.75 112.75              

101 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH 705 1 97.7645 97.76                

102 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH S01 1 111.64 111.64              

103 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH S03 1 100.8 100.80              

104 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH S07 1 112.75 112.75              

105 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH X01 1 97.3503 97.35                



SYNCROLITE VALUATION REPORT

106 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH X03 1 112.74 112.74              

107 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH X04 1 97.2593 97.26                

108 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH X06 1 97.2566 97.26                

109 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH X09 1 105.0579 105.06              

110 A511BMMA 5K-10K BEAM MTR-CL GR,NO SW. U MOTR EACH X10 1 97.2593 97.26                

111 A511BMMAU 5K-10K BEAM MTR-CLMP GEAR-RECE RCRT EACH 0 3 48.87 146.61              

112 A511BMMAU 5K-10K BEAM MTR-CLMP GEAR-RECE RCRT EACH 702 1 48.87 48.87                

113 A511BMMAU 5K-10K BEAM MTR-CLMP GEAR-RECE RCRT EACH S02 1 48.87 48.87                

114 A511BMMAU 5K-10K BEAM MTR-CLMP GEAR-RECE RCRT EACH X05 1 48.87 48.87                

115 A511BMMAU 5K-10K BEAM MTR-CLMP GEAR-RECE RCRT EACH X07 1 48.87 48.87                

116 A511BMMAU 5K-10K BEAM MTR-CLMP GEAR-RECE RCRT EACH X08 1 48.87 48.87                

117 A521GG1A B52 C1 GEL GUIDE ASSY ASSY EACH 0 4 24.4975 97.99                

118 A523DLFA B52 L/H FAN - DOOR SIDE ASSY FANS EACH 0 1 178.6405 178.64              

119 A523NLFA B52 L/H FAN ASSY-N DOOR SIDE A FANS EACH 0 1 178.4997 178.50              

120 A524PTM0 SXL-B52 P/T MTR ASSY - TAIL & MOTR EACH 0 6 265.8717 1,595.23           

121 A524PTM0U 5K P/T MTR-T,E-RECERT RCRT EACH 0 5 100.616 503.08              

122 A524PTM0U 5K P/T MTR-T,E-RECERT RCRT EACH S04 1 100.62 100.62              

123 A524PTM0U 5K P/T MTR-T,E-RECERT RCRT EACH S06 2 100.615 201.23              

124 A524PTMDR RCRT SXL P/TILT MOTOR CL,P,ENC RCRT EACH 0 3 162.31 486.93              

125 A711BTD0 7K-10K BTRDSH ASSY-NO MNT PLT ARCV EACH 0 18 35.1 631.80              

126 A711CC2A 7K-10K CHNGR CVR ASSY-2 CHGR ASSY EACH 0 1 468.099 468.10              

127 A711LNK0 7K-10K DOUS LINKGE-DUBRO INAC EACH 0 (3.00)              12 (36.00)               

128 A711LNKA 7K-10K DOUS LINKAGE ASSY-MCHN ASSY EACH 0 1 207.41 207.41              

129 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH 0 9 98.7956 889.16              

130 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH X01 2 92.615 185.23              

131 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH X03 1 92.5422 92.54                

132 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH X04 1 92.0331 92.03                

133 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH X06 2 92.535 185.07              

134 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH X08 2 92.635 185.27              

135 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH X09 1 92.64 92.64                

136 A712C1M0 7K-10K C1 MTR ASSY-TAIL & PLY MOTR EACH X10 1 92.0331 92.03                

137 A712C1M0U 7K C1 MTR-RECERT RCRT EACH 0 22 46.0145 1,012.32           

138 A712C1M0U 7K C1 MTR-RECERT RCRT EACH X03 1 46.015 46.02                

139 A712C1M0U 7K C1 MTR-RECERT RCRT EACH X04 1 46.02 46.02                

140 A712CA2A 7K-10K C2 CMPL ASSY ASSY EACH 0 6 840.1533 5,040.92           

141 A712CASAR 7K-10K C2/3 CHGR ASSY-RECERT RCRT EACH 0 3 365.685 1,097.06           

142 A712FR20 7K-10K C2 FIXED RLR ASSY ASSY EACH 0 2 51.725 103.45              

143 A712FR20R RCRT 7K C2 FIXED RLR ASSY RCRT EACH 0 5 20 100.00              

144 A712FRL0 7K-10K C1 FIXED RLR ASSY ASSY EACH 0 3 81.0267 243.08              

145 A712GG2A 7K-10K C2 GEL GUIDE - TFE ASSY EACH 0 2 28.89 57.78                

146 A712SR20 7K-10K C2 SPRING RLR ASSY ASSY EACH 0 16 93.3344 1,493.35           

147 A712SR20R RCRT 7K C2 SPRING RLR ASSY RCRT EACH 0 4 38 152.00              

148 A712SRL0 7K-10K C1 SPRING RLR ASSY ASSY EACH 0 1 172.7 172.70              

149 A713RAJA 7K-10K RFL ADJUSTER ASSY ASSY EACH 0 3 35.5 106.50              

150 A714PTM0R RECERT-4660-T,P RCRT EACH 0 3 91.8267 275.48              

151 A714PTMA 7K-10K P/T MTR ASSY-T, E, P MOTR EACH 0 2 395.075 790.15              

152 A714PTMAR RECERT-4660-T,P,E RCRT EACH 0 2 124.9 249.80              

153 A714PTMD 7K-10K P/T MTR ASSY-T,P,E,3/4" MOTR EACH 0 6 436.6733 2,620.04           

154 A715PSP0 7K-10K PAN SPINDLE ASSY EACH 0 (1.00)              944.13 (944.13)             

155 A715PSP0R 7K PAN SPINDLE-RECERT RCRT EACH RED 1 332 332.00              

156 A717LID0 7K-10K LAMP INSP DOOR ASSY ASSY EACH 0 2 11.98 23.96                

157 A7K4TMTAR RECERT-4660-7K TILT MTR-LNG PL RCRT EACH 0 7 133.68 935.76              

158 A813LLFA 8K-10K DOOR SIDE LAMP FAN ASSY FANS EACH 0 (2.00)              190.705 (381.41)             



SYNCROLITE VALUATION REPORT

159 AARNCCH0R RCRT-ARENA COLOR CHANGER RCRT EACH 0 18 245.48 4,418.64           

160 AARNDUS0R RCRT ARENA DOUSER ASSEMBLY RCRT EACH 0 20 283.1855 5,663.71           

161 ABL35LPA BAL ASSY-3-5 FLAT-METER&LAMPS UNIT EACH 0 2 3,475.24 6,950.47           

162 ABL57LP40 BAL ASSY-LP-5-7K FLAT-480V UNIT EACH 0 2 2,341.55 4,683.10           

163 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 402 1 4.9 4.90                   

164 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 403 1 4.9 4.90                   

165 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 404 1 4.9 4.90                   

166 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 405 1 4.9 4.90                   

167 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 406 1 4.9 4.90                   

168 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 501 1 4.9 4.90                   

169 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 508 1 4.5799 4.58                   

170 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 513 1 4.9 4.90                   

171 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 702 1 4.9 4.90                   

172 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 703 1 4.9 4.90                   

173 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH 705 1 4.9 4.90                   

174 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH M01 1 4.9 4.90                   

175 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH M02 1 4.9 4.90                   

176 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH M05 1 4.9 4.90                   

177 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH M06 1 4.9 4.90                   

178 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH M07 1 4.9 4.90                   

179 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH S01 1 4.9 4.90                   

180 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH S02 1 4.9 4.90                   

181 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH S03 1 4.9 4.90                   

182 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH S04 1 4.9 4.90                   

183 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH S05 1 4.9 4.90                   

184 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH S06 1 4.9 4.90                   

185 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH S07 1 4.9 4.90                   

186 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X01 1 4.9 4.90                   

187 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X04 1 4.9 4.90                   

188 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X05 1 4.9 4.90                   

189 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X06 1 4.9 4.90                   

190 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X07 1 4.9 4.90                   

191 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X08 1 4.9 4.90                   

192 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X09 1 4.9 4.90                   

193 ACAMPCF9 AMP 9 PIN CHASSIS FEMALE ASSY CONN EACH X10 1 4.9 4.90                   

194 AM30LNKA MX3 DOUS LINKAGE ASSY - 8724 ASSY EACH 0 1 143.11 143.11              

195 AM31CGL0 MX3 CHGR GLIDE ASSY-LEFT ASSY EACH 0 5 15.596 77.98                

196 AM31CGLR MX3 CHGR GLIDE ASSY-RIGHT ASSY EACH 0 2 15.67 31.34                

197 AM32GGA0 MX3 GEL GUIDE ASSY ASSY EACH 0 3 40.7467 122.24              

198 AM32GGA0R RCRT MX4 GEL GUIDE ASSY. RCRT EACH 0 143 10.7231 1,533.40           

199 AM33BAS0 MX3 BEAM ASSY ARCV EACH 0 4 126.51 506.04              

200 AM33IGN0R MX DC IGNITER-REPAIRED RCRT EACH 0 5 45 225.00              

201 AM34PTM0 MX3 P/T MTR ASSY-T,E MOTR EACH 0 30 265.24 7,957.20           

202 AM34PTM0U MX P/T MTR-T,E-RECERT RCRT EACH 0 1 100.85 100.85              

203 AM34PTMA MX3 P/T MTR ASSY-CLAMP PLY,T,E MOTR EACH 0 1 320.71 320.71              

204 AM34PTMA MX3 P/T MTR ASSY-CLAMP PLY,T,E MOTR EACH SB4 2 320.705 641.41              

205 AM34PTMAR RECERT-MX P/T MTR-T,E,CLMP PLY RCRT EACH 0 4 153.61 614.44              

206 AM34PTMAR RECERT-MX P/T MTR-T,E,CLMP PLY RCRT EACH 401 2 153.61 307.22              

207 AM34PTMAR RECERT-MX P/T MTR-T,E,CLMP PLY RCRT EACH SB1 1 153.61 153.61              

208 AM36SKD0U MX SKID - RECERT RCRT EACH 0 16 368.9156 5,902.65           

209 AM36SKD0U MX SKID - RECERT RCRT EACH 401 1 368.92 368.92              

210 AM36SKD0U MX SKID - RECERT RCRT EACH RED 1 368.92 368.92              

211 AM43BASA MX4 BEAM ASSY-NEW MOTOR ASSY EACH 0 1 261.32 261.32              



SYNCROLITE VALUATION REPORT

212 AM45PSP0R MX4 PAN SPINDLE ASSY RCRT EACH 0 3 297.8667 893.60              

213 AS2K60800A ASSY, 2K BALLAST BOX ASSY EACH 0 5 1,266.00 6,330.00           

214 AS2K60801A ASSY, 2K BALLAST BOX - EURO ASSY EACH 0 5 1,290.00 6,450.00           

215 ASL3DLF0 SXL L/H FAN ASSY-DOOR SIDE ASSY EACH 0 1 195.51 195.51              

216 ASL3NLF0 SXL L/H FAN ASSY-NON DOOR ASSY EACH 0 1 195.27 195.27              

217 ASMB301201 G1 LENS ASSY GLAS EACH 0 42 140.9 5,917.80           

218 ASMB301231 G2 LENS ASSY GLAS EACH 0 41 65.4 2,681.40           

219 ASMB301261 G3 LENS ASSY GLAS EACH 0 42 464.8 19,521.60         

220 ASMB302062 HUB ASSY PULLEY HUB, GT2 120T, MCHN EACH 0 217 21.75 4,719.75           

221 ASMB302102 COLOR WHEEL 1 ASSY ASSY EACH 0 69 275.25 18,992.25         

222 ASMB302202 COLOR WHEEL 2 ASSY ASSY EACH 0 69 275.25 18,992.25         

223 ASMB305821 FROST FLAG ASSY ASSY EACH SB1 2 20.04 40.08                

224 ASMB305821 FROST FLAG ASSY ASSY EACH SB4 10 19.669 196.69              

225 ASMB306312 AIR DUCT ASSEMBLY ASSY EACH 0 260 19.1231 4,972.00           

226 ASTL40700A ASSY, YOKE ASSY EACH 0 26 744.065 19,345.69         

227 ASTL40750A YOKE BASE WELDMENT SHMT EACH 0 5 195.35 976.75              

228 ASTL50700 ASSY, PAN SPINDLE ASSY EACH 0 26 820.17 21,324.42         

229 ASTL60850A FRAME/FLOOR ASSY SHMT EACH 0 14 605.86 8,482.04           

230 ASVDUSKA DUSK LIGHT PROTO A UNIT EACH 0 1 4,938.62 4,938.62           

231 ATGSD750 XFMR ASSY-GSD750 ELEC EACH 0 2 103.025 206.05              

232 ATSTRIG0 SXL TEST RIG ASSY EACH 0 1 879.09 879.09              

233 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 0 19 189.45 3,599.55           

234 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 401 2 161.215 322.43              

235 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 403 2 159.0517 318.10              

236 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 404 2 133.7768 267.55              

237 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 501 1 161.21 161.21              

238 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 508 2 151.3586 302.72              

239 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 513 3 155.18 465.54              

240 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 702 1 161.21 161.21              

241 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH 703 1 154.45 154.45              

242 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH A02 2 145.7041 291.41              

243 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH A03 3 150.0892 450.27              

244 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH A04 2 145.5038 291.01              

245 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH A05 2 152.2457 304.49              

246 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH A06 2 159.0517 318.10              

247 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH A07 2 146.2032 292.41              

248 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH A08 2 159.0517 318.10              

249 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH M01 2 154.3666 308.73              

250 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH M02 2 130.1207 260.24              

251 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH M05 2 153.4047 306.81              

252 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH M06 1 143.455 143.46              

253 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH M07 1 129.6734 129.67              

254 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S01 1 155.57 155.57              

255 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S02 3 158.7933 476.38              

256 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S04 3 153.7967 461.39              

257 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S05 1 130.9916 130.99              

258 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S06 3 162.2533 486.76              

259 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S07 2 152.895 305.79              

260 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S08 2 161.215 322.43              

261 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S09 2 161.215 322.43              

262 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH S10 1 161.21 161.21              

263 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X01 2 169.4 338.80              

264 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X03 2 158.2304 316.46              



SYNCROLITE VALUATION REPORT

265 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X04 1 161.07 161.07              

266 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X05 2 141.8847 283.77              

267 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X06 2 158.5042 317.01              

268 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X07 2 144.6328 289.27              

269 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X08 4 167.505 670.02              

270 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X09 1 161.21 161.21              

271 AUN2C2MA UNIV 7214 CLR MTR ASSY-T,E MOTR EACH X10 1 130.9916 130.99              

272 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 0 65 55.5549 3,611.07           

273 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 401 2 50.69 101.38              

274 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 403 1 50.69 50.69                

275 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 501 1 50.69 50.69                

276 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 508 1 50.69 50.69                

277 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 514 1 50.69 50.69                

278 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 702 2 55.555 111.11              

279 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 703 2 50.69 101.38              

280 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH 705 3 50.69 152.07              

281 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH A01 2 50.69 101.38              

282 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH A02 1 50.69 50.69                

283 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH A07 1 50.69 50.69                

284 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH M03 3 50.69 152.07              

285 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH M05 1 50.69 50.69                

286 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH M06 1 50.69 50.69                

287 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH S03 1 50.69 50.69                

288 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH S05 2 55.555 111.11              

289 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH S07 1 50.69 50.69                

290 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH X03 1 50.69 50.69                

291 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH X06 2 55.555 111.11              

292 AUN2C2MAU 7214 C2/3 MTR-RECERT RCRT EACH X09 2 55.555 111.11              

293 AUN614D0R RECERT-14 POS DISPLAY ASSY RCRT EACH 0 22 10.885 239.47              

294 AUN616D0 DISPLAY HNS ASSY - 16 POS ELEC EACH 0 1 26.55 26.55                

295 AWH3CCH0 WET HEAD-COLOR CHGR INAC EACH 0 6 410.4814 2,462.89           

296 AXS9LCL0 XSTAGE LAMP CLAMP ASSY ASSY EACH 0 27 109.3281 2,951.86           

297 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH 0 2 10.465 20.93                

298 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH 401 1 11.1383 11.14                

299 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH 402 1 11.1383 11.14                

300 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH 405 1 12.06 12.06                

301 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH 406 1 12.06 12.06                

302 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH M01 1 12.06 12.06                

303 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH M02 1 12.06 12.06                

304 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH M03 1 10.992 10.99                

305 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH M05 1 12.06 12.06                

306 C1015LBF 1015 CAM - LINE BLACK FEMALE CONN EACH M06 1 11.5425 11.54                

307 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH 0 16 10.3869 166.19              

308 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH 401 1 12.06 12.06                

309 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH 402 1 11.1522 11.15                

310 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH 403 1 12.06 12.06                

311 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH 405 1 12.06 12.06                

312 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH 406 1 12.06 12.06                

313 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH M01 1 10.1317 10.13                

314 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH M03 1 9.5 9.50                   

315 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH M05 1 12.06 12.06                

316 C1015LBM 1015 CAM - LINE BLACK MALE CONN EACH M06 1 10.8843 10.88                

317 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH 401 1 11.1383 11.14                



SYNCROLITE VALUATION REPORT

318 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH 402 1 11.1383 11.14                

319 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH 403 1 12.06 12.06                

320 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH 405 1 12.06 12.06                

321 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH 406 1 12.06 12.06                

322 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH M01 1 9.8135 9.81                   

323 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH M02 1 12.06 12.06                

324 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH M03 1 10.88 10.88                

325 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH M05 1 12.06 12.06                

326 C1015LRF 1015 CAM - LINE RED FEMALE CONN EACH M06 1 11.0811 11.08                

327 C1015LRM 1015 CAM - LINE RED MALE CONN EACH 0 11 10.4191 114.61              

328 C1015LRM 1015 CAM - LINE RED MALE CONN EACH 402 1 11.7067 11.71                

329 C1015LRM 1015 CAM - LINE RED MALE CONN EACH 403 1 12.06 12.06                

330 C1015LRM 1015 CAM - LINE RED MALE CONN EACH 404 1 12.06 12.06                

331 C1015LRM 1015 CAM - LINE RED MALE CONN EACH 405 1 12.06 12.06                

332 C1015LRM 1015 CAM - LINE RED MALE CONN EACH M01 1 12.06 12.06                

333 C1015LRM 1015 CAM - LINE RED MALE CONN EACH M02 1 12.06 12.06                

334 C1015LRM 1015 CAM - LINE RED MALE CONN EACH M03 1 10.6775 10.68                

335 C1015LRM 1015 CAM - LINE RED MALE CONN EACH M05 1 12.06 12.06                

336 C1015LRM 1015 CAM - LINE RED MALE CONN EACH M06 1 11.5991 11.60                

337 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH 0 8 14.0825 112.66              

338 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH 401 1 16.59 16.59                

339 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH 403 1 19.6713 19.67                

340 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH 405 1 19.4512 19.45                

341 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH 406 1 16.59 16.59                

342 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH M01 1 11.8765 11.88                

343 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH M02 1 16.59 16.59                

344 C1015PBF 1015 CAM - PANEL BLACK FEMALE CONN EACH M03 1 16.59 16.59                

345 C1015PBFU 1015 CAMLOC-PNL BLK FEM-RECERT RCRT EACH 0 16 7.95 127.20              

346 C1015PBFU 1015 CAMLOC-PNL BLK FEM-RECERT RCRT EACH 402 1 7.95 7.95                   

347 C1015PBFU 1015 CAMLOC-PNL BLK FEM-RECERT RCRT EACH JES 1 7.95 7.95                   

348 C1015PBFU 1015 CAMLOC-PNL BLK FEM-RECERT RCRT EACH M05 1 7.95 7.95                   

349 C1015PBFU 1015 CAMLOC-PNL BLK FEM-RECERT RCRT EACH M07 1 7.95 7.95                   

350 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH 0 12 17.425 209.10              

351 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH 401 1 16.59 16.59                

352 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH 402 1 16.59 16.59                

353 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH 403 1 22.3 22.30                

354 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH 404 1 22.3 22.30                

355 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH 406 1 9.17 9.17                   

356 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH M01 1 13.6812 13.68                

357 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH M02 1 9.17 9.17                   

358 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH M03 1 16.59 16.59                

359 C1015PBM 1015 CAM - PANEL BLACK MALE CONN EACH M05 1 16.59 16.59                

360 C1015PBMU 1015 CAM PANEL BLK MALE-RECERT RCRT EACH 0 45 4.5853 206.34              

361 C1015PBMU 1015 CAM PANEL BLK MALE-RECERT RCRT EACH 405 1 4.585 4.59                   

362 C1015PBMU 1015 CAM PANEL BLK MALE-RECERT RCRT EACH 406 1 4.585 4.59                   

363 C1015PBMU 1015 CAM PANEL BLK MALE-RECERT RCRT EACH 409 1 4.585 4.59                   

364 C1015PBMU 1015 CAM PANEL BLK MALE-RECERT RCRT EACH M07 1 4.585 4.59                   

365 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH 0 11 14.0736 154.81              

366 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH 401 1 16.59 16.59                

367 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH 402 1 16.59 16.59                

368 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH 403 1 16.59 16.59                

369 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH 404 1 16.59 16.59                

370 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH 406 1 19.2268 19.23                



SYNCROLITE VALUATION REPORT

371 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH M01 1 16.59 16.59                

372 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH M05 1 16.59 16.59                

373 C1015PRF 1015 CAM - PANEL RED FEMALE CONN EACH M07 1 16.59 16.59                

374 C1015PRFU 1015 CAMLOC-PNL RED FEM-RECERT RCRT EACH 0 15 7.95 119.25              

375 C1015PRFU 1015 CAMLOC-PNL RED FEM-RECERT RCRT EACH 405 1 7.95 7.95                   

376 C1015PRFU 1015 CAMLOC-PNL RED FEM-RECERT RCRT EACH JES 1 7.95 7.95                   

377 C1015PRFU 1015 CAMLOC-PNL RED FEM-RECERT RCRT EACH M02 1 7.95 7.95                   

378 C1015PRFU 1015 CAMLOC-PNL RED FEM-RECERT RCRT EACH M03 1 7.95 7.95                   

379 C1015PRFU 1015 CAMLOC-PNL RED FEM-RECERT RCRT EACH M07 1 7.95 7.95                   

380 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH 0 7 17.8343 124.84              

381 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH 401 1 22.3 22.30                

382 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH 402 1 22.3 22.30                

383 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH 403 1 22.3 22.30                

384 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH 404 1 22.3 22.30                

385 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH 406 1 9.17 9.17                   

386 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH 514 1 22.3 22.30                

387 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH M01 1 13.621 13.62                

388 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH M02 1 9.17 9.17                   

389 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH M03 1 22.3 22.30                

390 C1015PRM 1015 CAM - PANEL RED MALE CONN EACH M05 1 16.59 16.59                

391 C1015PRMU 1015 CAM-PNL RED MALE-RECERT RCRT EACH 0 26 4.5858 119.23              

392 C1015PRMU 1015 CAM-PNL RED MALE-RECERT RCRT EACH JES 1 4.585 4.59                   

393 C1015PRMU 1015 CAM-PNL RED MALE-RECERT RCRT EACH M07 1 4.585 4.59                   

394 C1016LBF 1016 CAM-LINE BLK FEM CONN EACH 0 13 22.6046 293.86              

395 C1016LBM 1016 MALE - BLK INLINE CAM CONN EACH 0 2 19.75 39.50                

396 C1016LBMR RCRT 1016 CAM-LINE BLK MALE RCRT EACH 0 1 9 9.00                   

397 C1016LGF 1016 FEMALE - GRN INLINE CAM CONN EACH 0 7 23.46 164.22              

398 C1016LGM 1016 MALE - GRN INLINE CAM CONN EACH 0 4 19.75 79.00                

399 C1016LGMR RCRT 1016 CAM-LINE MALE GREEN RCRT EACH 0 8 9 72.00                

400 C1016LRF 1016 FEMALE-RED INLINE CAM CONN EACH 0 10 22.976 229.76              

401 C1016LRM 1016 MALE - RED INLINE CAM CONN EACH 0 2 19.75 39.50                

402 C1016LRMR RCRT-1016 CAM-LINE MALE RED RCRT EACH 0 3 9 27.00                

403 C1016LUF 1016 FEMALE-BLU INLINE CAM CONN EACH 0 8 23.2914 186.33              

404 C1016LUM 1016 MALE - BLU INLINE CAM CONN EACH 0 3 19.75 59.25                

405 C1016LUMR RCRT 1016 CAM-LINE BLUE MALE RCRT EACH 0 8 9 72.00                

406 C1016LWF 1016 FEMALE - WHT INLINE CAM CONN EACH 0 7 23.46 164.22              

407 C1016LWM 1016 MALE - WHT INLINE CAM CONN EACH 0 3 19.75 59.25                

408 C1016LWMR RCRT 1016 CAM-LINE MALE WHITE RCRT EACH 0 8 9 72.00                

409 C1016PBM 1016 MALE - BLK PANEL CAM CONN EACH 0 4 21.48 85.92                

410 C1016PBML 1016 MALE-BLK-PANEL-LONG STUD CONN EACH 0 10 22.44 224.40              

411 C1016PBMR RCRT 1016 CAM-PANEL BLACK MALE RCRT EACH 0 2 10 20.00                

412 C1016PGFR RCRT 1016 CAM-PANEL GREEN FEM RCRT EACH 0 4 10 40.00                

413 C1016PGML 1016 MALE-GRN-PANEL-LONG STUD CONN EACH 0 10 22.44 224.40              

414 C1016PGMR RCRT 1016 CAM-PANEL GREEN MALE RCRT EACH 0 2 10 20.00                

415 C1016PRFR RCRT 1016 CAM-PANEL RED FEM RCRT EACH 0 4 10 40.00                

416 C1016PRML 1016 MALE-RED-PANEL-LONG STUD CONN EACH 0 9 22.44 201.96              

417 C1016PRMR RCRT 1016 CAM-PANEL RED MALE RCRT EACH 0 1 10 10.00                

418 C1016PUFR RCRT 1016 CAM-PANEL BLUE FEM RCRT EACH 0 2 10 20.00                

419 C1016PUML 1016 MALE-BLU-PANEL-LONG STUD CONN EACH 0 9 22.44 201.96              

420 C1016PUMR RCRT 1016 CAM-PANEL BLUE MALE RCRT EACH 0 2 10 20.00                

421 C1016PWFR RCRT 1016 CAM-PANEL - MALE RCRT EACH 0 4 10 40.00                

422 C1016PWML 1016 MALE-WHT-PANEL-LONG STUD CONN EACH 0 10 22.44 224.40              

423 C156PN18 SL-156 SCKT PIN 18-24AWG-LOOSE CONN EACH 0 819 0.1561 127.84              



SYNCROLITE VALUATION REPORT

424 C156RC03 SL-156 RECEPT 3 POS W/RAMP CONN EACH 0 207 0.104 21.53                

425 C156RC04 SL-156 RECEPT W/ RAMP-4 POS CONN EACH 0 77 0.1127 8.68                   

426 C156RC05 SL-156 RECEPT 5 POS W/RAMP CONN EACH 0 186 0.1623 30.19                

427 C156RC06 SL-156 RECEPT 6 POS W/RAMP CONN EACH 0 194 0.1802 34.96                

428 C156RC13 SL-156 RECEPT 13 POS W/RAMP CONN EACH 0 190 0.5426 103.09              

429 CACC13CS SIZE 13 CABLE CLAMP W/SEAL BOO CONN EACH 0 11 6.74 74.14                

430 CACC17LS CPC SZ 17 LARGE W/SHRINK SEAL CONN EACH 0 11 6.62 72.82                

431 CACCS17B SZ 17 CABLE CLAMP-LARGE DIA CONN EACH 0 6 4.67 28.02                

432 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 0 491 2.3808 1,168.96           

433 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 401 3 2.0323 6.10                   

434 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 402 3 1.77 5.31                   

435 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 403 3 2.04 6.12                   

436 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 405 3 2.04 6.12                   

437 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 406 3 2.72 8.16                   

438 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 501 3 2.7201 8.16                   

439 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 508 3 1.77 5.31                   

440 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 513 3 2.114 6.34                   

441 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 702 3 2.04 6.12                   

442 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 703 4 1.9667 7.87                   

443 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH 705 3 2.04 6.12                   

444 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH JES 5 2.1634 10.82                

445 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH M01 3 2.04 6.12                   

446 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH M02 3 2.04 6.12                   

447 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH M03 3 1.77 5.31                   

448 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH M05 3 1.77 5.31                   

449 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH M06 3 2.04 6.12                   

450 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH M07 3 1.77 5.31                   

451 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S01 3 2.1223 6.37                   

452 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S02 3 2.04 6.12                   

453 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S03 3 2.7201 8.16                   

454 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S04 3 1.77 5.31                   

455 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S05 3 2.04 6.12                   

456 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S06 3 2.3493 7.05                   

457 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S07 3 2.1223 6.37                   

458 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S08 3 2.38 7.14                   

459 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S09 3 2.38 7.14                   

460 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH S10 3 2.38 7.14                   

461 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X01 3 1.77 5.31                   

462 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X02 3 1.77 5.31                   

463 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X03 3 1.77 5.31                   

464 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X04 3 2.04 6.12                   

465 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X05 3 2.04 6.12                   

466 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X06 2 2.04 4.08                   

467 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X07 2 2.04 4.08                   

468 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X08 3 1.77 5.31                   

469 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X09 3 1.77 5.31                   

470 CACCSZ13 AMP CABLE CLAMP 9 PIN CONN EACH X10 3 1.77 5.31                   

471 CACCSZ17 CPC SIZE 17 CABLE CLAMP CONN EACH 0 114 2.4994 284.93              

472 CACFM173 SZ17 SER 3 CPC-3 POS MALE-CHAS CONN EACH 0 26 2.6792 69.66                

473 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 0 230 1.58 363.40              

474 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 401 1 1.22 1.22                   

475 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 402 1 1.22 1.22                   

476 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 403 1 1.58 1.58                   



SYNCROLITE VALUATION REPORT

477 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 404 1 1.58 1.58                   

478 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 405 1 1.58 1.58                   

479 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 406 1 1.58 1.58                   

480 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 501 1 1.58 1.58                   

481 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 508 1 1.58 1.58                   

482 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 513 1 1.22 1.22                   

483 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 702 1 1.22 1.22                   

484 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 703 1 1.22 1.22                   

485 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH 705 1 1.22 1.22                   

486 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH JES 4 1.58 6.32                   

487 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH M01 1 1.22 1.22                   

488 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH M02 1 1.58 1.58                   

489 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH M03 1 1.22 1.22                   

490 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH M05 1 1.22 1.22                   

491 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH M06 1 1.46 1.46                   

492 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH M07 1 1.22 1.22                   

493 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S01 1 1.22 1.22                   

494 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S02 1 1.22 1.22                   

495 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S03 1 1.58 1.58                   

496 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S04 1 1.22 1.22                   

497 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S05 1 1.22 1.22                   

498 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S06 1 1.5585 1.56                   

499 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S07 1 1.22 1.22                   

500 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S08 1 1.58 1.58                   

501 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S09 1 1.58 1.58                   

502 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH S10 1 1.58 1.58                   

503 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X01 1 1.22 1.22                   

504 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X02 1 1.22 1.22                   

505 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X03 1 1.22 1.22                   

506 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X04 1 1.22 1.22                   

507 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X05 1 1.22 1.22                   

508 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X06 1 1.22 1.22                   

509 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X07 1 1.22 1.22                   

510 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X08 1 1.22 1.22                   

511 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X09 1 1.22 1.22                   

512 CACHM139 AMP CHASSIS MALE 9 PIN CONN EACH X10 1 1.22 1.22                   

513 CACMF404 ARENA COLOR M/F DOOR CONNECTOR CONN EACH 0 9 69.95 629.55              

514 CACMF404 ARENA COLOR M/F DOOR CONNECTOR CONN EACH A03 1 69.95 69.95                

515 CACMF404 ARENA COLOR M/F DOOR CONNECTOR CONN EACH A07 1 69.95 69.95                

516 CACMF404 ARENA COLOR M/F DOOR CONNECTOR CONN EACH A08 1 69.95 69.95                

517 CACRC173 SZ17 SER3 CPC 3 POS REC CHASSI CONN EACH 0 59 1.9624 115.78              

518 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 0 129 1.6651 214.80              

519 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 401 10 1.13 11.30                

520 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 402 10 1.1012 11.01                

521 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 403 10 1.1225 11.23                

522 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 404 4 1.16 4.64                   

523 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 405 9 1.1455 10.31                

524 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 501 10 1.1029 11.03                

525 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 508 10 1.1306 11.31                

526 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 513 10 1.311 13.11                

527 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 702 7 1.16 8.12                   

528 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH 703 10 1.1012 11.01                

529 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH M01 10 1.1306 11.31                



SYNCROLITE VALUATION REPORT

530 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH M03 7 1.1585 8.11                   

531 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH M05 8 1.1515 9.21                   

532 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH M06 16 1.1128 17.80                

533 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S01 10 1.115 11.15                

534 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S02 5 1.122 5.61                   

535 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S03 1 1.102 1.10                   

536 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S04 25 1.5796 39.49                

537 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S05 9 1.2611 11.35                

538 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S06 1 1.102 1.10                   

539 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S07 10 1.1012 11.01                

540 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S08 10 1.311 13.11                

541 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S09 10 1.311 13.11                

542 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH S10 10 1.311 13.11                

543 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X01 10 1.124 11.24                

544 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X02 10 1.16 11.60                

545 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X03 9 1.12 10.08                

546 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X04 8 1.05 8.40                   

547 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X05 9 1.05 9.45                   

548 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X06 1 1.102 1.10                   

549 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X07 9 1.0929 9.84                   

550 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X08 10 1.16 11.60                

551 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X09 7 1.16 8.12                   

552 CACRSZ13 AMP SIZE 13 COUPLING RING CONN EACH X10 10 1.1573 11.57                

553 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH 0 109 1.7842 194.48              

554 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH A01 9 1.0216 9.19                   

555 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH A02 5 1.7842 8.92                   

556 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH A03 10 1.0216 10.22                

557 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH A04 10 1.7842 17.84                

558 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH A06 10 1.7842 17.84                

559 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH A07 8 1.7838 14.27                

560 CACRSZ17 CPC SIZE 17 COUPLING RING CONN EACH A08 10 1.7842 17.84                

561 CAFGSZ17 CPC MNT FLANGE GSKT-SZ17 CONN EACH 0 61 1.0492 64.00                

562 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 0 574 0.4582 263.02              

563 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 403 10 0.3 3.00                   

564 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 404 10 0.3 3.00                   

565 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 405 10 0.3 3.00                   

566 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 406 10 0.3 3.00                   

567 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 513 10 0.24 2.40                   

568 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 702 10 0.24 2.40                   

569 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 703 10 0.24 2.40                   

570 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH 705 10 0.24 2.40                   

571 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH JES 30 0.3359 10.08                

572 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH M01 10 0.24 2.40                   

573 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH M02 8 0.3 2.40                   

574 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH M05 10 0.24 2.40                   

575 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH M06 10 0.24 2.40                   

576 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH M07 10 0.24 2.40                   

577 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH S01 10 0.24 2.40                   

578 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH S02 10 0.24 2.40                   

579 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH S04 10 0.24 2.40                   

580 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH S05 10 0.24 2.40                   

581 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH S06 10 0.3214 3.21                   

582 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH S07 10 0.24 2.40                   



SYNCROLITE VALUATION REPORT

583 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X01 10 0.24 2.40                   

584 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X02 10 0.24 2.40                   

585 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X03 10 0.24 2.40                   

586 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X05 25 0.3359 8.40                   

587 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X06 10 0.24 2.40                   

588 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X07 10 0.24 2.40                   

589 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X08 10 0.24 2.40                   

590 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X09 10 0.24 2.40                   

591 CAFP1600 AMP PIN FEMALE - 16 AWG CONN EACH X10 10 0.24 2.40                   

592 CAFP2200 AMP PIN FEMALE - 22 AWG CONN EACH 0 679 0.4452 302.27              

593 CAFP2200 AMP PIN FEMALE - 22 AWG CONN EACH JES 30 0.3103 9.31                   

594 CAFP2200 AMP PIN FEMALE - 22 AWG CONN EACH X05 25 0.3103 7.76                   

595 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 0 258 2.5912 668.52              

596 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 401 2 2.29 4.58                   

597 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 402 2 2.45 4.90                   

598 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 403 1 2.13 2.13                   

599 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 404 2 2.13 4.26                   

600 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 405 2 2.13 4.26                   

601 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 406 2 2.13 4.26                   

602 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 501 1 2.1299 2.13                   

603 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 508 1 2.1477 2.15                   

604 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 513 2 2.13 4.26                   

605 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 702 2 2.13 4.26                   

606 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 703 2 2.45 4.90                   

607 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH 705 2 2.13 4.26                   

608 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH JES 8 2.1299 17.04                

609 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH M01 1 2.13 2.13                   

610 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH M02 2 2.13 4.26                   

611 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH M03 3 2.45 7.35                   

612 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH M05 2 2.45 4.90                   

613 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH M06 2 2.1389 4.28                   

614 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH M07 2 2.45 4.90                   

615 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S01 2 2.13 4.26                   

616 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S02 1 2.13 2.13                   

617 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S03 1 2.1299 2.13                   

618 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S04 2 2.45 4.90                   

619 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S05 2 2.13 4.26                   

620 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S06 2 2.1518 4.30                   

621 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S07 2 2.13 4.26                   

622 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S08 2 2.15 4.30                   

623 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S09 2 2.15 4.30                   

624 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH S10 2 2.15 4.30                   

625 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X01 2 2.45 4.90                   

626 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X02 3 2.45 7.35                   

627 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X03 2 2.45 4.90                   

628 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X04 2 2.13 4.26                   

629 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X05 2 2.13 4.26                   

630 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X06 2 2.13 4.26                   

631 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X07 1 2.13 2.13                   

632 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X08 1 2.45 2.45                   

633 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X09 2 2.45 4.90                   

634 CALFM139 AMP LINE FEMALE 9 PIN CONN EACH X10 2 2.45 4.90                   

635 CALFM173 SZ 17 SER 3 CPC 3 POS LINE REC CONN EACH 0 36 5.3317 191.94              



SYNCROLITE VALUATION REPORT

636 CALML139 AMP LINE MALE 9 PIN CONN EACH 0 685 1.7301 1,185.13           

637 CALML139 AMP LINE MALE 9 PIN CONN EACH 401 1 1.72 1.72                   

638 CALML139 AMP LINE MALE 9 PIN CONN EACH 402 2 1.35 2.70                   

639 CALML139 AMP LINE MALE 9 PIN CONN EACH 403 1 1.72 1.72                   

640 CALML139 AMP LINE MALE 9 PIN CONN EACH 404 2 1.72 3.44                   

641 CALML139 AMP LINE MALE 9 PIN CONN EACH 405 2 1.72 3.44                   

642 CALML139 AMP LINE MALE 9 PIN CONN EACH 406 2 1.76 3.52                   

643 CALML139 AMP LINE MALE 9 PIN CONN EACH 501 1 1.76 1.76                   

644 CALML139 AMP LINE MALE 9 PIN CONN EACH 508 1 1.76 1.76                   

645 CALML139 AMP LINE MALE 9 PIN CONN EACH 513 2 1.72 3.44                   

646 CALML139 AMP LINE MALE 9 PIN CONN EACH 702 2 1.72 3.44                   

647 CALML139 AMP LINE MALE 9 PIN CONN EACH 703 1 1.35 1.35                   

648 CALML139 AMP LINE MALE 9 PIN CONN EACH 705 2 1.72 3.44                   

649 CALML139 AMP LINE MALE 9 PIN CONN EACH JES 10 1.76 17.60                

650 CALML139 AMP LINE MALE 9 PIN CONN EACH M01 1 1.72 1.72                   

651 CALML139 AMP LINE MALE 9 PIN CONN EACH M02 2 1.72 3.44                   

652 CALML139 AMP LINE MALE 9 PIN CONN EACH M03 2 1.35 2.70                   

653 CALML139 AMP LINE MALE 9 PIN CONN EACH M05 2 1.35 2.70                   

654 CALML139 AMP LINE MALE 9 PIN CONN EACH M06 1 1.72 1.72                   

655 CALML139 AMP LINE MALE 9 PIN CONN EACH M07 2 1.35 2.70                   

656 CALML139 AMP LINE MALE 9 PIN CONN EACH S01 2 1.72 3.44                   

657 CALML139 AMP LINE MALE 9 PIN CONN EACH S02 1 1.72 1.72                   

658 CALML139 AMP LINE MALE 9 PIN CONN EACH S03 2 1.76 3.52                   

659 CALML139 AMP LINE MALE 9 PIN CONN EACH S04 2 1.35 2.70                   

660 CALML139 AMP LINE MALE 9 PIN CONN EACH S05 2 1.72 3.44                   

661 CALML139 AMP LINE MALE 9 PIN CONN EACH S06 2 1.7182 3.44                   

662 CALML139 AMP LINE MALE 9 PIN CONN EACH S07 2 1.72 3.44                   

663 CALML139 AMP LINE MALE 9 PIN CONN EACH S08 2 1.73 3.46                   

664 CALML139 AMP LINE MALE 9 PIN CONN EACH S09 2 1.73 3.46                   

665 CALML139 AMP LINE MALE 9 PIN CONN EACH S10 2 1.73 3.46                   

666 CALML139 AMP LINE MALE 9 PIN CONN EACH X01 2 1.35 2.70                   

667 CALML139 AMP LINE MALE 9 PIN CONN EACH X02 2 1.35 2.70                   

668 CALML139 AMP LINE MALE 9 PIN CONN EACH X03 1 1.35 1.35                   

669 CALML139 AMP LINE MALE 9 PIN CONN EACH X04 2 1.72 3.44                   

670 CALML139 AMP LINE MALE 9 PIN CONN EACH X05 2 1.72 3.44                   

671 CALML139 AMP LINE MALE 9 PIN CONN EACH X06 2 1.72 3.44                   

672 CALML139 AMP LINE MALE 9 PIN CONN EACH X07 2 1.72 3.44                   

673 CALML139 AMP LINE MALE 9 PIN CONN EACH X08 1 1.35 1.35                   

674 CALML139 AMP LINE MALE 9 PIN CONN EACH X09 2 1.35 2.70                   

675 CALML139 AMP LINE MALE 9 PIN CONN EACH X10 2 1.35 2.70                   

676 CALML173 SZ 17 SER 3 CPC 3 POS LINE M O CONN EACH 0 11 4.6345 50.98                

677 CALMM173 SZ 17 SER 3 CPC 3 POS LINE ML CONN EACH 0 10 3.09 30.90                

678 CALMR173 SZ 17 SER 3 CPC 3 POS MALE REV CONN EACH 0 25 6.74 168.50              

679 CAMFSZ13 AMP MOUNT FLANGE 9 PIN CONN EACH 0 75 2.8445 213.34              

680 CAMFSZ13 AMP MOUNT FLANGE 9 PIN CONN EACH 401 1 2.45 2.45                   

681 CAMFSZ13 AMP MOUNT FLANGE 9 PIN CONN EACH JES 3 2.45 7.35                   

682 CAMFSZ13 AMP MOUNT FLANGE 9 PIN CONN EACH M03 1 2.45 2.45                   

683 CAMFSZ13 AMP MOUNT FLANGE 9 PIN CONN EACH X02 1 2.45 2.45                   

684 CAMFSZ13 AMP MOUNT FLANGE 9 PIN CONN EACH X03 1 2.45 2.45                   

685 CAMFSZ17 CPC MOUNT FLANGE SZ 17 CONN EACH 0 12 5.2317 62.78                

686 CAMP10GN TYPE XII 10 AWG GROUND PIN CONN EACH 0 28 7.4486 208.56              

687 CAMP10HN TYPE XII 10AWG HOT/NEUT PIN CONN EACH 0 27 7.32 197.64              

688 CAMP10SK TYPE XII 10AWG SOCKET PIN CONN EACH 0 25 11.2816 282.04              



SYNCROLITE VALUATION REPORT

689 CAMP12GN TYPE XII CPC PIN 12-16AWG-GND CONN EACH 0 164 4.5565 747.27              

690 CAMP12HN TYPE XII PIN 12-16AWG-HOT/NEUT CONN EACH 0 163 1.6935 276.04              

691 CAMP12SK TYPE XII CPC SCKT 12-16AWG-GOL CONN EACH 0 148 3.0259 447.84              

692 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 0 501 0.4152 208.04              

693 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 401 10 0.32 3.20                   

694 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 403 10 0.32 3.20                   

695 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 404 10 0.32 3.20                   

696 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 405 10 0.32 3.20                   

697 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 406 10 0.32 3.20                   

698 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 513 10 0.32 3.20                   

699 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 702 10 0.32 3.20                   

700 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 703 10 0.3033 3.03                   

701 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH 705 10 0.32 3.20                   

702 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH JES 30 0.3199 9.60                   

703 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH M01 10 0.32 3.20                   

704 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH M02 10 0.32 3.20                   

705 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH M05 10 0.3033 3.03                   

706 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH M06 10 0.32 3.20                   

707 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH M07 10 0.3033 3.03                   

708 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH S01 10 0.32 3.20                   

709 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH S02 10 0.32 3.20                   

710 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH S04 10 0.3033 3.03                   

711 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH S06 10 0.3189 3.19                   

712 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH S07 10 0.32 3.20                   

713 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH X01 10 0.3033 3.03                   

714 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH X03 10 0.32 3.20                   

715 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH X06 10 0.32 3.20                   

716 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH X07 10 0.32 3.20                   

717 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH X08 10 0.3033 3.03                   

718 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH X09 10 0.3033 3.03                   

719 CAMP1600 AMP PIN MALE - 16 AWG CONN EACH X10 10 0.3033 3.03                   

720 CAMP2200 AMP PIN MALE - 22 AWG CONN EACH 0 800 0.3398 271.87              

721 CAMP2200 AMP PIN MALE - 22 AWG CONN EACH JES 30 0.2461 7.38                   

722 CBB5P375 BARRIER BLOCK 5 CONTACTS-0.375 CONN EACH 0 9 1.7467 15.72                

723 CBS5P563 5 POS-0.563" SP-BARRIER STRIP CONN EACH 0 32 9.699 310.37              

724 CBSP0001 #1 AWG BUTT SPLICE CONN EACH 0 32 4.25 136.00              

725 CBSP1012 BUTT SPLICE 10-12 W/ HEAT SHRI CONN EACH 0 282 0.693 195.43              

726 CBSP1822 BUTT SPLICE - 18-22 AWG CONN EACH 0 335 0.1511 50.61                

727 CBSP1822 BUTT SPLICE - 18-22 AWG CONN EACH 401 2 0.05 0.10                   

728 CBSP1822 BUTT SPLICE - 18-22 AWG CONN EACH 705 2 0.05 0.10                   

729 CBSP1822 BUTT SPLICE - 18-22 AWG CONN EACH JES 10 0.3425 3.43                   

730 CBSP1822 BUTT SPLICE - 18-22 AWG CONN EACH S08 2 0.265 0.53                   

731 CBSP1822 BUTT SPLICE - 18-22 AWG CONN EACH S09 2 0.265 0.53                   

732 CBSP1822 BUTT SPLICE - 18-22 AWG CONN EACH S10 2 0.265 0.53                   

733 CCFM32ML CEEFORM 32A MALE LINE-5 PIN & CONN EACH 0 16 175 2,800.00           

734 CCGBDY02 CONN EACH 0 136 0.1343 18.27                

735 CCGBDY05 C-GRID 5 POS BODY CONN EACH 0 678 0.2096 142.09              

736 CCGBDY05 C-GRID 5 POS BODY CONN EACH A04 1 0.3214 0.32                   

737 CCGBDY06 C-GRID 6 POS BODY CONN EACH 0 77 0.1749 13.47                

738 CCGBDY08 C-GRID 8 POS BODY CONN EACH 0 500 0.222 111.00              

739 CCGBDY08DR C-GRID 8 POS BODY DUAL ROW CONN EACH 0 384 0.469 180.10              

740 CCGBDY10 C-GRID 10 POS BODY CONN EACH 0 32 0.6869 21.98                

741 CCGBDY12 C-GRID 12 POS BODY CONN EACH 0 443 0.5945 263.36              



SYNCROLITE VALUATION REPORT

742 CCGBDY14 C-GRID 14 POS BODY CONN EACH 0 351 0.8998 315.82              

743 CCGBDY16 C-GRID 16 POS BODY CONN EACH 0 254 0.9664 245.46              

744 CCGBDY62 C-GRID BODY - 6 POS - 3X2 CONN EACH 0 48 0.309 14.83                

745 CCGDRRAH DUAL ROW RIGHT ANGLE HEADER CONN EACH 0 65 3.3349 216.77              

746 CCGKYPIN C-GRID KEYING PIN CONN EACH 0 3,419.00 0.1318 450.55              

747 CCGPINRL C-GRID PIN - REEL CONN EACH 0 27,724.00 0.0403 1,116.39           

748 CCIR3PLR CIR - 3PH 5 W - LINE FEMALE ARCV EACH 0 6 100.35 602.10              

749 CCIR3PPP CIR - 3PH 5 W - PANEL MALE ARCV EACH 0 39 118.3 4,613.70           

750 CCIR3PPR CIR - 3PH 5 W - PANEL FEMALE ARCV EACH 0 33 82.7 2,729.10           

751 CDS9MNTK i D-SUB MOUNT KIT ARCV EACH 0 3 1.2656 3.80                   

752 CDS9PNFM i D-SUB 9 PIN FEMALE ARCV EACH 0 35 1.1 38.50                

753 CDS9PNML i D-SUB 9 PIN MALE ARCV EACH 0 23 0.95 21.85                

754 CFP3FM00 FISCHER 3PIN FEMALE PNL ARCV EACH 0 10 62.1598 621.60              

755 CFP3ML00 FISCHER 3 PIN PNL MALE ARCV EACH 0 10 57.94 579.40              

756 CFP6FM00 FISCHER 6PIN FEMALE PNL ARCV EACH 0 10 54.27 542.70              

757 CFP6ML00 FISCHER 6PIN MALE PNL ARCV EACH 0 10 43.14 431.40              

758 CFRLN080 WIRE FERRULE-8 AWG CONN EACH 0 500 0.1072 53.60                

759 CFRLN100 WIRE FERRULE-10 AWG CONN EACH 0 457 0.0956 43.68                

760 CFRLN140 WIRE FERRULE-14 AWG CONN EACH 0 878 0.05 43.90                

761 CFRLN160 WIRE FERRULE-16 AWG CONN EACH 0 795 0.05 39.75                

762 CHBL2311 i HBL2311-120V- 2P 3W-20A-LINE ARCV EACH 0 3 21.24 63.72                

763 CHBL2321 HBL2321-250V-2P 3W-20A LINE MA CONN EACH 0 13 15.86 206.18              

764 CHBL2321 HBL2321-250V-2P 3W-20A LINE MA CONN EACH SB4 5 15.86 79.30                

765 CHBL2621 HBL2621-250V-2P 3W-30A LINE MA CONN EACH 0 13 38.28 497.64              

766 CHBL2625 i HBL2625 - 250V - 2P 3W-30A M ARCV EACH 0 1 41.18 41.18                

767 CHBL2735 FLANGED INLET 30A 3P 4W 480VAC CONN EACH 0 6 42.82 256.92              

768 CHBL2736 FLNGD RCPTCL 3P 4W 30A 480VAC CONN EACH 0 1 42.63 42.63                

769 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 0 11 34.6464 381.11              

770 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 401 1 34.7959 34.80                

771 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 402 1 31.5688 31.57                

772 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 406 1 31.12 31.12                

773 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 508 1 31.9397 31.94                

774 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 513 1 32.0224 32.02                

775 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 702 1 34.18 34.18                

776 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH 703 1 34.7959 34.80                

777 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH A01 1 31.8615 31.86                

778 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH A03 1 34.7933 34.79                

779 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH A04 1 31.8983 31.90                

780 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH A06 1 34.7959 34.80                

781 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH A08 1 34.7959 34.80                

782 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH C01 1 31.8615 31.86                

783 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH M01 1 34.7933 34.79                

784 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH M02 1 31.12 31.12                

785 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH M03 1 31.12 31.12                

786 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH M05 1 32.06 32.06                

787 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH S02 1 34.8 34.80                

788 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH S06 1 31.1267 31.13                

789 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH S07 1 34.7933 34.79                

790 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH S08 1 34.8 34.80                

791 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH S10 1 34.8 34.80                

792 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH X03 1 32.0094 32.01                

793 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH X04 1 31.6303 31.63                

794 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH X05 1 31.12 31.12                



SYNCROLITE VALUATION REPORT

795 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH X06 1 32.0224 32.02                

796 CHBL2811 HBL 2811-120-4P 5W 30A LINE MA CONN EACH X09 1 31.8983 31.90                

797 CHBL2811R RCRT HBL2811 RCRT EACH 0 2 15.8 31.60                

798 CHBL2811R RCRT HBL2811 RCRT EACH 403 1 15.8 15.80                

799 CHBL2811R RCRT HBL2811 RCRT EACH 405 1 15.8 15.80                

800 CHBL2811R RCRT HBL2811 RCRT EACH 703 1 15.8 15.80                

801 CHBL2811R RCRT HBL2811 RCRT EACH 705 1 15.8 15.80                

802 CHBL2811R RCRT HBL2811 RCRT EACH A05 1 15.8 15.80                

803 CHBL2811R RCRT HBL2811 RCRT EACH A07 1 15.8 15.80                

804 CHBL2811R RCRT HBL2811 RCRT EACH S04 1 15.8 15.80                

805 CHBL2811R RCRT HBL2811 RCRT EACH S06 1 15.8 15.80                

806 CHBL2811R RCRT HBL2811 RCRT EACH S09 1 15.8 15.80                

807 CHBL2811R RCRT HBL2811 RCRT EACH X01 1 15.8 15.80                

808 CHBL2811R RCRT HBL2811 RCRT EACH X07 1 15.8 15.80                

809 CHBL2811R RCRT HBL2811 RCRT EACH X08 2 15.8 31.60                

810 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH 0 26 63.055 1,639.43           

811 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH 401 1 62.0806 62.08                

812 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH 403 1 62.0806 62.08                

813 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH 404 1 54.8 54.80                

814 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH 501 1 56.9424 56.94                

815 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH 508 1 62.0568 62.06                

816 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH 705 1 62.68 62.68                

817 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH A01 1 58.7627 58.76                

818 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH A04 1 59.06 59.06                

819 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH A06 1 62.0806 62.08                

820 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH A08 1 62.0806 62.08                

821 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH M02 1 54.8 54.80                

822 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH M03 1 54.8 54.80                

823 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH M05 1 54.8 54.80                

824 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH S02 1 61.415 61.42                

825 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH S03 1 59.06 59.06                

826 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH S04 1 62.0568 62.06                

827 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH S08 1 63.16 63.16                

828 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH S09 1 63.16 63.16                

829 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH S10 1 63.16 63.16                

830 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH X02 1 54.8 54.80                

831 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH X03 1 62.2 62.20                

832 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH X06 1 62.2 62.20                

833 CHBL2813 HBL 2813-120-4P 5W 30A LINE FE CONN EACH X07 1 59.06 59.06                

834 CHBL2813R RCRT HBL2813 RCRT EACH 0 6 28.35 170.10              

835 CHBL2813R RCRT HBL2813 RCRT EACH 402 1 28.35 28.35                

836 CHBL2813R RCRT HBL2813 RCRT EACH 513 1 28.35 28.35                

837 CHBL2813R RCRT HBL2813 RCRT EACH 702 1 28.35 28.35                

838 CHBL2813R RCRT HBL2813 RCRT EACH A05 1 28.35 28.35                

839 CHBL2813R RCRT HBL2813 RCRT EACH A07 1 28.35 28.35                

840 CHBL2813R RCRT HBL2813 RCRT EACH M01 1 28.35 28.35                

841 CHBL2813R RCRT HBL2813 RCRT EACH S06 2 28.35 56.70                

842 CHBL2813R RCRT HBL2813 RCRT EACH X01 1 28.35 28.35                

843 CHBL2813R RCRT HBL2813 RCRT EACH X04 1 28.35 28.35                

844 CHBL2813R RCRT HBL2813 RCRT EACH X08 2 28.35 56.70                

845 CHBL2813R RCRT HBL2813 RCRT EACH X09 1 28.35 28.35                

846 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 0 11 39.8473 438.32              

847 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 401 1 33.78 33.78                



SYNCROLITE VALUATION REPORT

848 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 402 1 33.78 33.78                

849 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 403 1 39.3927 39.39                

850 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 404 1 36.21 36.21                

851 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 405 1 36.0786 36.08                

852 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 501 1 35.9471 35.95                

853 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 508 1 40.0398 40.04                

854 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 513 1 39.62 39.62                

855 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH 705 1 44.74 44.74                

856 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH M01 1 33.78 33.78                

857 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH M02 1 36.21 36.21                

858 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH M03 1 36.9236 36.92                

859 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH M05 1 33.78 33.78                

860 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH M06 1 33.78 33.78                

861 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH M07 1 33.78 33.78                

862 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH S02 1 42.0664 42.07                

863 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH S03 1 36.9236 36.92                

864 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH S06 1 37.9629 37.96                

865 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH X02 1 33.78 33.78                

866 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH X03 1 44.74 44.74                

867 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH X04 1 44.74 44.74                

868 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH X05 1 44.74 44.74                

869 CHBL2815 HBL 2815-120-4P 5W 30A MALE FL CONN EACH X10 1 33.78 33.78                

870 CHBL2815R RCRT HBL2815 RCRT EACH 0 41 18.35 752.35              

871 CHBL2815R RCRT HBL2815 RCRT EACH 702 1 18.35 18.35                

872 CHBL2815R RCRT HBL2815 RCRT EACH 703 1 18.35 18.35                

873 CHBL2815R RCRT HBL2815 RCRT EACH S04 1 18.35 18.35                

874 CHBL2815R RCRT HBL2815 RCRT EACH S06 1 18.35 18.35                

875 CHBL2815R RCRT HBL2815 RCRT EACH S07 1 18.35 18.35                

876 CHBL2815R RCRT HBL2815 RCRT EACH X01 1 18.35 18.35                

877 CHBL2815R RCRT HBL2815 RCRT EACH X06 1 18.35 18.35                

878 CHBL2815R RCRT HBL2815 RCRT EACH X07 1 18.35 18.35                

879 CHBL2815R RCRT HBL2815 RCRT EACH X08 2 18.35 36.70                

880 CHBL2815R RCRT HBL2815 RCRT EACH X09 1 18.35 18.35                

881 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 0 1 75.06 75.06                

882 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 401 1 61.27 61.27                

883 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 402 1 61.27 61.27                

884 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 403 1 61.27 61.27                

885 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 404 1 61.27 61.27                

886 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 405 1 69.87 69.87                

887 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 406 1 69.87 69.87                

888 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 508 1 61.27 61.27                

889 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 513 1 61.27 61.27                

890 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 702 1 61.27 61.27                

891 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH 705 1 67.0033 67.00                

892 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH M01 1 61.27 61.27                

893 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH M02 1 69.87 69.87                

894 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH M03 1 61.27 61.27                

895 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH M05 1 61.27 61.27                

896 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH M06 1 69.6666 69.67                

897 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH M07 1 61.27 61.27                

898 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH S02 1 61.27 61.27                

899 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH S04 1 61.27 61.27                

900 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH S06 1 64.4026 64.40                



SYNCROLITE VALUATION REPORT

901 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH S07 1 69.537 69.54                

902 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X01 1 67.0033 67.00                

903 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X02 1 61.27 61.27                

904 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X03 1 61.27 61.27                

905 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X04 1 61.27 61.27                

906 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X05 1 61.27 61.27                

907 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X06 1 61.27 61.27                

908 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X07 1 61.27 61.27                

909 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X09 1 61.27 61.27                

910 CHBL2816 HBL2816 -120- 4P 5W 30A FLG RE CONN EACH X10 1 61.27 61.27                

911 CHBL2816R RCRT HBL2816 RCRT EACH 0 1 33.65 33.65                

912 CHBL2816R RCRT HBL2816 RCRT EACH 501 1 33.65 33.65                

913 CHBL2816R RCRT HBL2816 RCRT EACH 703 1 33.65 33.65                

914 CHBL2816R RCRT HBL2816 RCRT EACH S03 1 33.65 33.65                

915 CHBL2816R RCRT HBL2816 RCRT EACH S04 5 33.65 168.25              

916 CHBL2816R RCRT HBL2816 RCRT EACH X08 2 33.65 67.30                

917 CHBL2821 HBL2821-277/480-4P5W30A-L M CONN EACH 0 31 52.78 1,636.18           

918 CHBL2823 HBL2823-277/480-4P 5W30ALINEFE CONN EACH 0 26 56.21 1,461.46           

919 CHBL2825 HBL2825-277/480-4P 5W30A MALEF CONN EACH 0 8 41.46 331.68              

920 CHBL2833 HBL2833-347/600-4P 5W LINE FEM CONN EACH 0 10 42.96 429.60              

921 CHBL2835 HBL2835-347/600-4P 5W30A MALEF CONN EACH 0 12 31.98 383.76              

922 CHBL5965 HBL5965-120V-2P 3W 15A LINE MA CONN EACH 0 4 6.5075 26.03                

923 CHBL5969 HBL 5969-120V-2P 3W 15A LINE F CONN EACH 0 10 13.98 139.80              

924 CIECMF00 AC IEC MALE FLANGE CONN CONN EACH 0 5 2.04 10.20                

925 CJSTCH2POS 2 Position Rectangular Housing CONN EACH 0 15 0.072 1.08                   

926 CJSTCRIMP CONN TERM CRIMP EH 22-30AWG CONN EACH 0 30 0.03 0.90                   

927 CLPISO01 TERMINAL-LP ISO XFMR-SINGLE CONN EACH 0 10 2.25 22.50                

928 CLPISO02 TERM-LP ISO XFMR-DOUBLE CONN EACH 0 13 4.5 58.50                

929 CMF10MBM MFJR 10 POS MALE BMI CONN EACH 0 308 0.7113 219.08              

930 CMF10RPM MF-BMI 10 POS REC W/PNL MNT CONN EACH 0 832 0.408 339.45              

931 CMFCHA04 MFJR 4 POS CHASSIS CONN EACH 0 191 0.2515 48.04                

932 CMFCHP06 MFJR 6 POS MALE CHASSIS PLUG CONN EACH 0 200 0.4647 92.94                

933 CMFCHP12 CONN EACH 0 626 0.304 190.29              

934 CMFCHP14 MFJR 14 POS CHASSIS PLUG CONN EACH 0 205 0.3027 62.06                

935 CMFCHP18 MFJR 18 POS CHASSIS PLUG CONN EACH 0 251 0.3458 86.79                

936 CMFFHP02 MFJR 2 POS FREE HANG PLUG CONN EACH BAS 6 0.076 0.46                   

937 CMFFHP02 MFJR 2 POS FREE HANG PLUG CONN EACH JES 9 0.076 0.68                   

938 CMFFHP03 MFJR 3 POS FREE HANG PLUG CONN EACH 0 999 0.1208 120.72              

939 CMFFHP04 MFJR 4 POS FREE HANG PLUG CONN EACH 0 1,117.00 0.1201 134.13              

940 CMFFHP04 MFJR 4 POS FREE HANG PLUG CONN EACH BAS 6 0.1102 0.66                   

941 CMFFHP06 MFJR 6 POS FREE HANG PLUG CONN EACH 0 559 0.115 64.28                

942 CMFFHP08 MFJR 8 POS FREE HANG PLUG CONN EACH 0 355 0.1482 52.60                

943 CMFFHP12 MFJR 12 POS FREE HANG PLUG CONN EACH 0 122 0.237 28.92                

944 CMFHDR04 MFJR 4 POS RIGHT ANGLE HEADER CONN EACH 0 505 0.5669 286.27              

945 CMFHDV04 MFJR 4 POS VERTICAL HEADER CONN EACH 0 561 0.2641 148.17              

946 CMFHDV06 MFJR 6 POS VERTICAL HEADER CONN EACH 0 14 0.28 3.92                   

947 CMFHDV08 MFJR 8 POS VERT HEADER CONN EACH 0 7 1.03 7.21                   

948 CMFPRF16 MFJR 16 AWG FEMALE CRIMP-REEL CONN EACH 0 3,119.00 0.1241 387.11              

949 CMFPRF18 MFJR 18-24 AWG PIN FEM-REEL CONN EACH 0 5,818.00 0.0167 97.05                

950 CMFPRM16 MFJR 16 AWG MALE CRIMP-REEL CONN EACH 0 3,713.00 0.306 1,136.18           

951 CMFPRM22 MFJR 22-28 AWG PIN MALE-REEL CONN EACH 0 12,185.00 0.0177 215.98              

952 CMFRCPV04 MFJR 4 POS RECEPTACLE VERTICAL CONN EACH 0 500 0.134 67.00                

953 CMFREC02 MFJR 2 POS RECEPTACLE CONN EACH 703 4 0.0742 0.30                   



SYNCROLITE VALUATION REPORT

954 CMFREC02 MFJR 2 POS RECEPTACLE CONN EACH BAS 6 0.0826 0.50                   

955 CMFREC02 MFJR 2 POS RECEPTACLE CONN EACH JES 13 0.0715 0.93                   

956 CMFREC02 MFJR 2 POS RECEPTACLE CONN EACH S04 4 0.0693 0.28                   

957 CMFREC03 MFJR 3 POS RECEPTACLE CONN EACH 0 780 0.112 87.36                

958 CMFREC03 MFJR 3 POS RECEPTACLE CONN EACH BAS 6 0.097 0.58                   

959 CMFREC04 MFJR 4 POS RECEPTACLE CONN EACH 0 2,066.00 0.0997 205.93              

960 CMFREC04 MFJR 4 POS RECEPTACLE CONN EACH 703 2 0.123 0.25                   

961 CMFREC04 MFJR 4 POS RECEPTACLE CONN EACH JES 10 0.0981 0.98                   

962 CMFREC04 MFJR 4 POS RECEPTACLE CONN EACH S04 2 0.0981 0.20                   

963 CMFREC06 MFJR 6 POS RECEPTACLE CONN EACH 0 438 0.1 43.80                

964 CMFREC08 MFJR 8 POS RECEPTACLE CONN EACH 0 281 0.2089 58.70                

965 CMFREC08 MFJR 8 POS RECEPTACLE CONN EACH 703 2 0.1447 0.29                   

966 CMFREC08 MFJR 8 POS RECEPTACLE CONN EACH BAS 6 0.1447 0.87                   

967 CMFREC10 MFJR 10 POS RECEPTACLE CONN EACH 0 946 0.1575 148.95              

968 CMFREC12 MFJR 12 POS RECEPTACLE CONN EACH 0 228 0.1724 39.30                

969 CMFREC14 MFJR 14 POS RECEPTACLE CONN EACH 0 71 0.292 20.73                

970 CMFREC18 MFJR 18 POS RECEPTACLE CONN EACH 0 200 0.1752 35.03                

971 CMFREC18 MFJR 18 POS RECEPTACLE CONN EACH 703 2 0.1752 0.35                   

972 CMFREC18 MFJR 18 POS RECEPTACLE CONN EACH BAS 6 0.1752 1.05                   

973 CMFREC18 MFJR 18 POS RECEPTACLE CONN EACH JES 9 0.2 1.80                   

974 CMFREC18 MFJR 18 POS RECEPTACLE CONN EACH S04 2 0.2 0.40                   

975 CN06HSG CONN HOUSING PH 6POS 2MM WHITE CONN EACH 0 64 0.0486 3.11                   

976 CNAC3MPX INPUT POWER CONNECTOR CONN EACH 0 35 3.79 132.65              

977 CNE8FDV0 ETHERNET CONNECTOR CONN EACH 0 40 8.69 347.60              

978 CPHX12P0 PHOENIX CONN-12 POS PLUG CONN EACH 0 4 0 -                     

979 CPHXCN02 PHOENIX 2 POS CONNECTOR CONN EACH 0 52 1.04 54.08                

980 CPHXCN03 PHOENIX 3 POS CONNECTOR CONN EACH 0 140 1.2254 171.56              

981 CPHXCN06 PHOENIX 6 POS CONNECTOR CONN EACH 0 30 2.6597 79.79                

982 CPPBF623 POWER 3 POS REC-0.062" CONN EACH 0 100 0.55 55.00                

983 CPPBFM02 POWER 2 POS BODY FEMALE CONN EACH 0 10 0.122 1.22                   

984 CPPBFM03 POWER 3 POS BODY FEMALE CONN EACH 0 263 0.06 15.78                

985 CPPBM623 POWER 3 POS PLUG - 0.062" CONN EACH 0 4 0 -                     

986 CPPBML02 POWER 2 POS BODY MALE CONN EACH 0 99 0.139 13.76                

987 CPPBML03 POWER 3 POS BODY MALE CONN EACH 0 209 0.1225 25.61                

988 CPPPRF18 POWER PIN FEMALE - REEL CONN EACH 0 6,088.00 0.0228 139.04              

989 CPPPRM18 POWER PIN MALE - REEL CONN EACH 0 112 0.0146 1.63                   

990 CQF14100 1/4" Q/O FEMALE #12-10 CONN EACH 0 354 0.2363 83.65                

991 CQF14100 1/4" Q/O FEMALE #12-10 CONN EACH JES 9 0.1732 1.56                   

992 CQF14140 1/4" Q/O FEMALE #16-14 CONN EACH 0 608 0.2091 127.12              

993 CQF14140 1/4" Q/O FEMALE #16-14 CONN EACH JES 10 0.1811 1.81                   

994 CQF1414R 1/4" Q/O FEM RT ANGLE #16-14 CONN EACH 0 18 0.145 2.61                   

995 CQF14180 1/4" Q/O FEM #22-18 CONN EACH 0 143 0.2093 29.93                

996 CQF14180 1/4" Q/O FEM #22-18 CONN EACH JES 2 0.1637 0.33                   

997 CQF1418R 1/4" Q/O FEM RT ANGLE #18-22 CONN EACH 0 158 0.4554 71.96                

998 CQF36140 3/16" Q/O FEMALE #16-14 CONN EACH 0 457 0.152 69.47                

999 CQF36180 3/16" Q/O FEMALE #22-18 CONN EACH 0 1,588.00 0.168 266.78              

1000 CQF36180 3/16" Q/O FEMALE #22-18 CONN EACH JES 9 0.168 1.51                   

1001 CQM14180 1/4" Q/O MALE  #22 -18 CONN EACH 0 1,200.00 0.15 180.00              

1002 CR081210 RING TERMINAL GROUND STUD CONN EACH 0 94 0.282 26.51                

1003 CR12162U RING TERM-1/2" STUD 16-22 UNIN CONN EACH 0 85 0.46 39.10                

1004 CR12162U RING TERM-1/2" STUD 16-22 UNIN CONN EACH JES 10 0.4601 4.60                   

1005 CRATE-MINI Crate - Mini Tracker UTIL EACH 0 7 188.91 1,322.37           

1006 CRTI0616 RING TERM-#6 X 16 AWG CONN EACH 0 640 0.18 115.20              



SYNCROLITE VALUATION REPORT

1007 CRTI0616 RING TERM-#6 X 16 AWG CONN EACH JES 10 0.1538 1.54                   

1008 CRTI0622 RING TERMI- #6 X 22 AWG CONN EACH 0 157 0.2101 32.99                

1009 CRTI0622 RING TERMI- #6 X 22 AWG CONN EACH JES 10 0.1348 1.35                   

1010 CRTI0822 RING TERM- #8 X 22 AWG CONN EACH 0 270 0.2011 54.30                

1011 CRTI0822 RING TERM- #8 X 22 AWG CONN EACH JES 2 0.1032 0.21                   

1012 CRTI1010 RING TERM- #10 X 10-12 AWG CONN EACH 0 (17.00)            0.15 (2.55)                 

1013 CRTI1014 RING TERM- #10 X 16-14 AWG CONN EACH 0 817 0.1588 129.72              

1014 CRTI1014 RING TERM- #10 X 16-14 AWG CONN EACH JES 10 0.1588 1.59                   

1015 CRTI1022 RING TERM- #10 X 18-22 AWG CONN EACH 0 348 0.1475 51.33                

1016 CRTI1022 RING TERM- #10 X 18-22 AWG CONN EACH JES 10 0.1475 1.48                   

1017 CRTI1414 RING TERM- 1/4" X 16-14 AWG CONN EACH 0 972 0.1071 104.10              

1018 CRTI1414 RING TERM- 1/4" X 16-14 AWG CONN EACH JES 10 0.1071 1.07                   

1019 CRTI1418 RING TERM- 1/4" X 18-22 AWG CONN EACH 0 451 0.0866 39.05                

1020 CRTI1418 RING TERM- 1/4" X 18-22 AWG CONN EACH JES 10 0.0866 0.87                   

1021 CRTN0814H RING TERM #8 16-14 HI TEMP CONN EACH 0 26 0.08 2.08                   

1022 CRTN1004 RING TERM-#10 X 4 AWG-NON INS CONN EACH 0 131 0.5 65.50                

1023 CRTN1006 RING TERM- #10 X 6 AWG CONN EACH 0 554 0.3586 198.64              

1024 CRTN1008 RING TERM- #10 X 8 AWG CONN EACH 0 685 0.1538 105.35              

1025 CRTN1010 RNG TERM-#10X10-12 AWG UNINSUL CONN EACH 0 583 0.1465 85.41                

1026 CRTN1010 RNG TERM-#10X10-12 AWG UNINSUL CONN EACH JES 9 0.1465 1.32                   

1027 CRTN1202 RING TERM- 1/2" X 2 AWG CONN EACH 0 112 0.6654 74.53                

1028 CRTN1204 RING TERM- 1/2" X 4 AWG CONN EACH 0 147 0.5652 83.08                

1029 CRTN1220 RING TERM- 1/2" X 2/0 AWG CONN EACH 0 189 0.7891 149.14              

1030 CRTN1406 RING TERM- 1/4" X 6 AWG CONN EACH 0 873 0.3632 317.06              

1031 CRTN1408 RING TERM- 1/4" X 8 AWG CONN EACH 0 593 0.2908 172.44              

1032 CRTN1410 RING TERM- 1/4" X 10-12 AWG CONN EACH 0 1,269.00 0.1286 163.20              

1033 CRTN1414 RING TERM- 1/4" X 16-14 AWG CONN EACH 0 97 0.1103 10.70                

1034 CRTN1414 RING TERM- 1/4" X 16-14 AWG CONN EACH JES 10 0.0371 0.37                   

1035 CRTN3802 RING TERM- 3/8" X 2 AWG CONN EACH 0 110 1.0075 110.82              

1036 CRTN3804 RING TERM- 3/8" X 4 AWG CONN EACH 0 116 0.3947 45.78                

1037 CRTN3806 RING TERM- 3/8" X 6 AWG CONN EACH 0 185 0.1904 35.22                

1038 CRTN3808 RING TERM- 3/8" X 8 AWG CONN EACH 0 189 0.1188 22.45                

1039 CRTN3810 RING TERM- 3/8" X 12-10 AWG CONN EACH 0 207 0.0316 6.54                   

1040 CRTN3822 RING TERM- 3/8" X 22-18 AWG CONN EACH 0 411 0.1487 61.10                

1041 CRTN3822 RING TERM- 3/8" X 22-18 AWG CONN EACH JES 10 0.0455 0.46                   

1042 CRTN5602 RING TERM- 5/16" X 2 AWG CONN EACH 0 235 0.5409 127.11              

1043 CRTN5604 RING TERM- 5/16" X 4 AWG CONN EACH 0 79 0.5671 44.80                

1044 CRTN5606 RING TERM- 5/16" X 6 AWG CONN EACH 0 98 0.2132 20.89                

1045 CRTN5608 RING TERM- 5/16" X 8 AWG CONN EACH 0 308 0.1212 37.33                

1046 CRTN5610 RING TERM- 5/16" X 10-12 CONN EACH 0 766 0.1054 80.74                

1047 CRTN5622 RING TERM- 5/16" X 22-18 AWG CONN EACH 0 259 0.28 72.52                

1048 CSBMPWRFEM SBM POWER FEMALE CONN EACH 0 20 7.76 155.20              

1049 CSNAPBUT SNAPLOCK BUTTON CAP CONN EACH 0 508 0.6 304.80              

1050 CSNAPCAP SNAPLOCK END CAP CONN EACH 0 509 0.6 305.40              

1051 CSNAPLBFSS SNAPLCK-LINE BLK FMLE SET SCRE CONN EACH 0 76 35.8826 2,727.08           

1052 CSNAPLBFSS SNAPLCK-LINE BLK FMLE SET SCRE CONN EACH 513 1 35.88 35.88                

1053 CSNAPLBFSS SNAPLCK-LINE BLK FMLE SET SCRE CONN EACH 702 1 35 35.00                

1054 CSNAPLBFSS SNAPLCK-LINE BLK FMLE SET SCRE CONN EACH S01 1 35 35.00                

1055 CSNAPLBFSS SNAPLCK-LINE BLK FMLE SET SCRE CONN EACH S04 1 31.65 31.65                

1056 CSNAPLBFSS SNAPLCK-LINE BLK FMLE SET SCRE CONN EACH S06 1 31.65 31.65                

1057 CSNAPLBFSS SNAPLCK-LINE BLK FMLE SET SCRE CONN EACH X08 1 35 35.00                

1058 CSNAPLBMSS SNAPLCK-LINE BLK ML SET SCREW CONN EACH 0 99 34.432 3,408.77           

1059 CSNAPLBMSS SNAPLCK-LINE BLK ML SET SCREW CONN EACH 513 1 34.43 34.43                



SYNCROLITE VALUATION REPORT

1060 CSNAPLBMSS SNAPLCK-LINE BLK ML SET SCREW CONN EACH 702 1 36.43 36.43                

1061 CSNAPLBMSS SNAPLCK-LINE BLK ML SET SCREW CONN EACH S01 1 36.43 36.43                

1062 CSNAPLBMSS SNAPLCK-LINE BLK ML SET SCREW CONN EACH S04 1 32.1 32.10                

1063 CSNAPLBMSS SNAPLCK-LINE BLK ML SET SCREW CONN EACH S06 1 36.43 36.43                

1064 CSNAPLBMSS SNAPLCK-LINE BLK ML SET SCREW CONN EACH X08 1 36.43 36.43                

1065 CSNAPLRFSS SNAPLCK-LINE RED FMLE SET SCRE CONN EACH 0 66 35.9594 2,373.32           

1066 CSNAPLRFSS SNAPLCK-LINE RED FMLE SET SCRE CONN EACH 513 1 35.96 35.96                

1067 CSNAPLRFSS SNAPLCK-LINE RED FMLE SET SCRE CONN EACH 702 1 35.17 35.17                

1068 CSNAPLRFSS SNAPLCK-LINE RED FMLE SET SCRE CONN EACH S01 1 35.17 35.17                

1069 CSNAPLRFSS SNAPLCK-LINE RED FMLE SET SCRE CONN EACH S04 1 31.65 31.65                

1070 CSNAPLRFSS SNAPLCK-LINE RED FMLE SET SCRE CONN EACH S06 1 31.65 31.65                

1071 CSNAPLRFSS SNAPLCK-LINE RED FMLE SET SCRE CONN EACH X08 1 35.17 35.17                

1072 CSNAPLRMSS SNAPLCK-LINE RED ML SET SCREW CONN EACH 0 101 34.4572 3,480.18           

1073 CSNAPLRMSS SNAPLCK-LINE RED ML SET SCREW CONN EACH 513 1 34.46 34.46                

1074 CSNAPLRMSS SNAPLCK-LINE RED ML SET SCREW CONN EACH 702 1 36.25 36.25                

1075 CSNAPLRMSS SNAPLCK-LINE RED ML SET SCREW CONN EACH S01 1 36.25 36.25                

1076 CSNAPLRMSS SNAPLCK-LINE RED ML SET SCREW CONN EACH S04 1 32.1 32.10                

1077 CSNAPLRMSS SNAPLCK-LINE RED ML SET SCREW CONN EACH S06 1 35.75 35.75                

1078 CSNAPLRMSS SNAPLCK-LINE RED ML SET SCREW CONN EACH X08 1 35.75 35.75                

1079 CSNAPPBF SNAPLOCK - PANEL BLACK FEMALE CONN EACH 0 58 28.8833 1,675.23           

1080 CSNAPPBM SNAPLOCK - PANEL BLACK MALE CONN EACH 0 28 36.3675 1,018.29           

1081 CSNAPPFM SNAPLOCK REPL PIN FEMALE CONN EACH 0 44 22.7 998.80              

1082 CSNAPPML SNAPLOCK REPLACEMENT PIN MALE CONN EACH 0 15 21.2 318.00              

1083 CSNAPPRF SNAPLOCK - PANEL RED FEMALE CONN EACH 0 51 27.2 1,387.20           

1084 CSNAPPRM SNAPLOCK - PANEL RED MALE CONN EACH 0 31 33.5265 1,039.32           

1085 CSNAPSPG SNAPLOCK SPRING CONN EACH 0 511 0.51 260.61              

1086 CSPL0616 #6 LOCKING SPADE LUG-16-14 CONN EACH 0 187 0.174 32.54                

1087 CSPL0622 SPADE LUG-#6 - 18-22 AWG CONN EACH 0 117 0.2321 27.15                

1088 CSPL0816 #8 LOCKING SPADE LUG-16-14 CONN EACH 0 144 0.174 25.06                

1089 CSPL0822 SPADE LUG #8 X 18-22 CONN EACH 0 91 0.232 21.11                

1090 CTSTPBLK TEST POINT - BLACK - PANEL CONN EACH 0 92 0.6195 56.99                

1091 CTSTPRED TEST POINT - RED - PANEL CONN EACH 0 104 0.619 64.38                

1092 CXLR3FLN i XLR 3 PIN LINE FEMALE ARCV EACH 0 45 4.95 222.75              

1093 CXLR3MLN iXLR 3 PIN LINE MALE ARCV EACH 0 3 4.15 12.45                

1094 CXLR4FCH XLR 4 PIN CHASSIS FEMALE CONN EACH 0 30 6.081 182.43              

1095 CXLR4FLN XLR 4 PIN LINE FEMALE CONN EACH 0 7 5.7143 40.00                

1096 CXLR4MCH XLR 4 PIN CHASSIS MALE CONN EACH 0 16 4.7938 76.70                

1097 CXLR4MLN XLR 4 PIN LINE MALE CONN EACH 0 23 4.8296 111.08              

1098 CXLR5FCH XLR 5 PIN CHASSIS FEMALE CONN EACH 0 38 9.8508 374.33              

1099 CXLR5FLN XLR 5 PIN LINE FEMALE CONN EACH 0 23 8.5965 197.72              

1100 CXLR5MCH XLR 5 PIN CHASSIS MALE CONN EACH 0 1 8.06 8.06                   

1101 CXLR5MPC XLR 5 PIN MALE PCB CONN EACH 0 5 7.21 36.05                

1102 CXLR7FCH i XLR 7 PIN CHASSIS FEMALE ARCV EACH 0 10 9.55 95.50                

1103 D2K207F P/T PLY FOR KEYLESS BUSH DRVE EACH 0 95 20.01 1,900.95           

1104 D57GRSSL SX - GREASE SEAL DRVE EACH 0 13 10.6177 138.03              

1105 D57LCKNT SX PAN SPINDLE LOCKNUT DRVE EACH 0 9 29.6467 266.82              

1106 D57LCKWS SX PAN SPINDLE LOCKWASHER DRVE EACH 0 9 9.35 84.15                

1107 DBA34308 SLIDE SHAFT 3.00"L X 0.2498" DRVE EACH 0 23 2.4391 56.10                

1108 DBA54507 SLIDE SHAFT 5.00"L X 0.2498" DRVE EACH 0 19 3.1458 59.77                

1109 DBAB9201 TFE FLGD BRNG 0.125 IDX0.187OD DRVE EACH 0 43 2.296 98.73                

1110 DBAB9905 TFE FLGD BEARING 0.250 ID DRVE EACH 0 30 3.186 95.58                

1111 DBACD314 0.128 ID X 0.062T THRUST WSHR DRVE EACH 0 40 4.0543 162.17              

1112 DBACG196 SHAFT CLAMP 0.250 ID DRVE EACH 0 27 6.8307 184.43              



SYNCROLITE VALUATION REPORT

1113 DBAPZ332 0.125 OD X .250 L SHLDR SCREW DRVE EACH 0 44 2.1177 93.18                

1114 DBAPZ533 0.125 OD X .375 L SHLDR SCREW ARCV EACH 0 61 1.91 116.51              

1115 DBASPURG i SPUR GEAR 32P 16T 1/4"BORE ARCV EACH 0 148 10.06 1,488.88           

1116 DBGT22133M SMB G2 BELT-213 GROOVES, 36MM DRVE EACH 0 286 1.87 534.82              

1117 DBGT247G6M SMB G2 BELT- 47GROOVES, 6MM WI DRVE EACH 0 102 2.63 268.26              

1118 DBL0750078 SBM PAN BELT-3/8"P 78T 2/4"W DRVE EACH 0 63 31.3165 1,972.94           

1119 DBL0750125 SBM TILT BELT-3/8"P 125T 3/4"W DRVE EACH 0 63 36.3946 2,292.86           

1120 DBL12092 3K P BELT - 3/8"P 92T 1/2"W ARCV EACH 0 41 11.4476 469.35              

1121 DBL12136 3K T BELT - 3/8"P 136T 1/2"W ARCV EACH 0 22 16.82 370.04              

1122 DBL13038 BELT - 0.20"P 65T 3/8"W US DRVE EACH 0 5 4.3 21.50                

1123 DBL15130 iBELT - 1/5P 130T 1/4"W NP ARCV EACH 0 60 1.8051 108.31              

1124 DBL15145 i BELT - 1/5P 145T 1/4"W NP ARCV EACH 0 58 1.8976 110.06              

1125 DBL270L5 MX3 TLK P BELT-3/8"P 72T 1/2"W ARCV EACH 0 15 8.32 124.80              

1126 DBL34054 BEACON BELT-3/8P 54T 3/4W ARCV EACH 0 1 10.7663 10.77                

1127 DBL34072 MX3 P BELT - 3/8P 72T 3/4"W ARCV EACH 0 40 11.7293 469.17              

1128 DBL34092 B52 P BELT - 3/8"P 92T 3/4" W DRVE EACH 0 9 18.4267 165.84              

1129 DBL34104 7K P BELT - 3/8"P 104T 3/4"W DRVE EACH 0 40 16.0027 640.11              

1130 DBL34112 MX3 T BELT - 3/8P 112T 3/4" DRVE EACH 0 87 19.3305 1,681.75           

1131 DBL34126 MX4 T-BELT-3/8"P X126T X3/4"W DRVE EACH 0 18 34.2017 615.63              

1132 DBL34136 B52 T BELT-3/8"P 136T 3/4"W DRVE EACH 0 10 26.513 265.13              

1133 DBL34136R RECERT-5K TILT BELT RCRT EACH 0 20 12.97 259.40              

1134 DBL34152 7K T BELT - 3/8P 152T 3/4"W DRVE EACH 0 4 50.9075 203.63              

1135 DBL38044 SX C1 BELT - 1/5"P 44T 3/8"W DRVE EACH 0 18 2.1322 38.38                

1136 DBL38130 iMX1000 P BELT-0.2"P 130T 3/8" ARCV EACH 0 53 2.4685 130.83              

1137 DBL38195 i MX1K T BELT-0.2"P 195T 3/8"W ARCV EACH 0 49 3.1165 152.71              

1138 DBL38200 3K-5K C1 BELT-1/5"P 200T 3/8"W DRVE EACH 0 27 4.6067 124.38              

1139 DBL38250 7K C1 BELT- 1/5"P 250T 3/8"W DRVE EACH 0 16 4.31 68.96                

1140 DBL420L5 iMX3 TLKE T BELT-3/8P 112T 1/2 ARCV EACH 0 16 12.59 201.44              

1141 DBL80080 please order DBLU8080 INAC EACH 0 2 4.97 9.94                   

1142 DBL80080 please order DBLU8080 INAC EACH 403 1 0.78 0.78                   

1143 DBL80080 please order DBLU8080 INAC EACH 404 1 0.78 0.78                   

1144 DBL80080 please order DBLU8080 INAC EACH 702 1 0.75 0.75                   

1145 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH 0 17 1.25 21.25                

1146 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X01 2 1.25 2.50                   

1147 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X03 1 1.25 1.25                   

1148 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X04 1 1.25 1.25                   

1149 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X06 2 1.25 2.50                   

1150 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X07 2 1.25 2.50                   

1151 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X08 1 1.25 1.25                   

1152 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X09 2 1.25 2.50                   

1153 DBL80085 7K-10K C2 BELT-0.080"P 85T 1/8 DRVE EACH X10 1 1.25 1.25                   

1154 DBL80123 i BELT - 0.080"P 123T 1/8"W ARCV EACH 0 31 0.8229 25.51                

1155 DBL80371 0.080P 371T 1/8"W NG BELT INAC EACH C01 2 2.8637 5.73                   

1156 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH 0 8 8.065 64.52                

1157 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH 401 1 8.3378 8.34                   

1158 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH 403 3 4.033 12.10                

1159 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH 405 1 8.3378 8.34                   

1160 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH 406 1 8.3378 8.34                   

1161 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH M01 1 8.3378 8.34                   

1162 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH M02 1 8.06 8.06                   

1163 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH M03 2 8.3378 16.68                

1164 DBL80380 MX C BELT-0.080"P 380T 1/8"W DRVE EACH M05 2 4.033 8.07                   

1165 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH 501 1 5.2064 5.21                   



SYNCROLITE VALUATION REPORT

1166 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH 508 1 5.2034 5.20                   

1167 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH 513 1 5.3396 5.34                   

1168 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH 702 1 6.88 6.88                   

1169 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH 703 2 5.3396 10.68                

1170 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH 705 2 5.2034 10.41                

1171 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH A01 1 5.2066 5.21                   

1172 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH A04 1 5.2034 5.20                   

1173 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH A05 1 5.2034 5.20                   

1174 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH A07 2 5.2034 10.41                

1175 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH S01 1 5.4757 5.48                   

1176 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH S02 3 5.2057 15.62                

1177 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH S03 1 5.2064 5.21                   

1178 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH S04 2 5.3412 10.68                

1179 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH S05 1 6.88 6.88                   

1180 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH S09 1 7.37 7.37                   

1181 DBL80535 3K-5K C2 BELT-0.080"P 535T 1/8 DRVE EACH S10 1 6.88 6.88                   

1182 DBL80648 7K C2 BELT-0.080"P 648T 1/8"W DRVE EACH 0 83 2.6101 216.64              

1183 DBL80648 7K C2 BELT-0.080"P 648T 1/8"W DRVE EACH X01 2 2.6101 5.22                   

1184 DBL80648 7K C2 BELT-0.080"P 648T 1/8"W DRVE EACH X03 1 2.6101 2.61                   

1185 DBL80648 7K C2 BELT-0.080"P 648T 1/8"W DRVE EACH X07 2 2.6101 5.22                   

1186 DBL80648 7K C2 BELT-0.080"P 648T 1/8"W DRVE EACH X08 1 2.6101 2.61                   

1187 DBL80648 7K C2 BELT-0.080"P 648T 1/8"W DRVE EACH X09 1 2.6101 2.61                   

1188 DBLTEN01 BELT TENSIONER DRVE EACH 0 6 113.1633 678.98              

1189 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 0 19 5.02 95.38                

1190 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 401 2 4.78 9.56                   

1191 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 402 1 5.1033 5.10                   

1192 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 405 1 4.8339 4.83                   

1193 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 406 1 4.8339 4.83                   

1194 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 501 1 4.4225 4.42                   

1195 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 508 1 4.4225 4.42                   

1196 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 513 1 5.0787 5.08                   

1197 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 702 1 4.78 4.78                   

1198 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH 703 2 4.9773 9.95                   

1199 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH A01 1 5.3129 5.31                   

1200 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH A04 1 5.3129 5.31                   

1201 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH A05 1 5.3235 5.32                   

1202 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH A07 2 5.3235 10.65                

1203 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH M01 1 0 -                     

1204 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH M03 1 5.3182 5.32                   

1205 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH M05 2 4.8203 9.64                   

1206 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH M07 1 4.6311 4.63                   

1207 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH S01 1 4.81 4.81                   

1208 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH S02 1 5.3129 5.31                   

1209 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH S03 1 5.3265 5.33                   

1210 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH S04 1 5.07 5.07                   

1211 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH S05 1 4.78 4.78                   

1212 DBLU8080 0.080P 80T 1/8"W SXL C2/3 BELT DRVE EACH S07 1 4.78 4.78                   

1213 DBR02550 BEARING-0.250 BORE X 0.500 OD DRVE EACH 0 18 10.8706 195.67              

1214 DBR381238 TFE FLNG BERING-3/8"S 1/2"OD INAC EACH 0 25 4.6812 117.03              

1215 DBR57CON SX -TPRD RLR BEARING-CONE DRVE EACH 0 22 48.9536 1,076.98           

1216 DBR57CUP SX - TPRD RLR BEARING-CUP DRVE EACH 0 16 27.8488 445.58              

1217 DBR5M13M BEARING - 5MM ID, 13MM OD DRVE EACH 0 160 8.26 1,321.60           

1218 DBR6M12M BEARING-DBLE SHIELD, 6mm ID, 1 DRVE EACH 0 200 7.49 1,498.00           



SYNCROLITE VALUATION REPORT

1219 DBRFLBRZ BRONZE FLGD BEARING-0.187ID DRVE EACH 0 306 2.7322 836.06              

1220 DBRLINBS i LINEAR BALL-SLIDE ARCV EACH 0 76 68 5,168.00           

1221 DBRMXCON MX TAPERED RLR BEARING - CONE DRVE EACH 0 130 16.0417 2,085.42           

1222 DBRMXCUP MX TAPERED RLR BEARING - CUP DRVE EACH 0 115 9.0059 1,035.68           

1223 DBRT5701 SX TILT BEARING - B545DD DRVE EACH 0 23 35.9296 826.38              

1224 DBRT57RD SX TILT BEARING - RADIAL DRVE EACH 0 87 21.8315 1,899.34           

1225 DBRT57SR SNAP RING - SX TILT DRVE EACH 0 42 4.83 202.86              

1226 DBRT57TR SX TILT BEARING - THRUST DRVE EACH 0 165 16.2839 2,686.84           

1227 DBRT57TW SX TILT WASHER - THRUST DRVE EACH 0 (41.00)            3.0137 (123.56)             

1228 DBRTHR03 MX TILT WASHER-THRUST-0.03" DRVE EACH 0 13 1.0915 14.19                

1229 DBRTHR06 MX TILT WASHER-THRUST-0.06" DRVE EACH 0 34 2.2065 75.02                

1230 DBRTMX01 MX TILT BEARING DRVE EACH 0 132 16.0814 2,122.74           

1231 DBRTMXRD MX TILT BEARING - RADIAL DRVE EACH 0 7 21.08 147.56              

1232 DBRTMXSR SNAP RING - MX TILT DRVE EACH 0 62 25.2855 1,567.70           

1233 DBRTMXTR MX TILT BEARING - THRUST DRVE EACH 0 7 1.105 7.74                   

1234 DCMHSCMO CMH SCROLLER MOTOR INAC EACH 0 3 0 -                     

1235 DFN115VG FINGER GUARD FOR 127MM FAN FANS EACH 0 22 2.265 49.83                

1236 DG3216CL SPUR GEAR 32P 16T 1/4"B W/CLAM DRVE EACH 0 7 14.68 102.76              

1237 DG3216CL SPUR GEAR 32P 16T 1/4"B W/CLAM DRVE EACH 508 1 15.8162 15.82                

1238 DHUBCLAMP 1/2" KEYLESS BUSHING DRVE EACH 0 89 39.5955 3,524.00           

1239 DM24A3F0 BODINE 24A-3F RIGHT ANGLE MTR ARCV EACH 0 13 281.9987 3,665.98           

1240 DM4660BD BODINE 4660 - GEAR MTR MOTR EACH 0 8 285.8288 2,286.63           

1241 DM4994BD MX4-SXL-BODINE 4994 GEAR MTR MOTR EACH 0 74 199.9057 14,793.02         

1242 DM7214ENCCP 7214 DC MTR 24V+ENCDR+ CAP MOTR EACH 0 231 189.3342 43,736.21         

1243 DM922059 9212 MTR 5.9:1 - COLOR 1 MOTR EACH 0 84 91.2407 7,664.22           

1244 DM922197 9212 MTR 19.7:1 - DOUS MOTR EACH 0 71 124.4173 8,833.63           

1245 DM922655 9212 MTR 65.5:1 - BEAM MOTR EACH 0 95 90.1415 8,563.44           

1246 DM923218 WET GM9232-12VDC 218.4:1 100CP MOTR EACH 0 100 122.91 12,291.00         

1247 DMXGRSSL MX GRS SEAL-2.5" SHFT 3.35B 0. DRVE EACH 0 84 9.9062 832.12              

1248 DMXLCKNT MX PAN SPINDLE LOCKNUT DRVE EACH 0 69 14.6381 1,010.03           

1249 DMXLCKWS MX PAN SPINDLE LOCKWASHER DRVE EACH 0 68 4.5076 306.52              

1250 DPANT014 i WHEEL PANT MOUNT 1/4" BORE ARCV EACH 0 156 0.93 145.08              

1251 DPANT316 i WHEEL PANT MOUNT 3/16" BORE ARCV EACH 0 67 0.77 51.59                

1252 DPL3812K  PLY-3/8"P 12T 1/2"W 1/2 BORE DRVE EACH 0 72 17.01 1,224.72           

1253 DPLA1512 order DPLC1512 DRVE EACH 0 1 9.3979 9.40                   

1254 DPLA1515 1/5"P 15T ALU PULLEY/ARIA INAC EACH 0 9 12.1544 109.39              

1255 DPLA1516 1/5"P 16T 1/4"B ALU INSERT PLY DRVE EACH 0 20 10.1425 202.85              

1256 DPLA8015 Order DPLC8015 DRVE EACH 0 60 10.6923 641.54              

1257 DPLA8015 Order DPLC8015 DRVE EACH 403 2 10.6961 21.39                

1258 DPLA8015 Order DPLC8015 DRVE EACH 501 2 10.6961 21.39                

1259 DPLA8015 Order DPLC8015 DRVE EACH 508 1 10.6961 10.70                

1260 DPLA8015 Order DPLC8015 DRVE EACH 513 1 10.6961 10.70                

1261 DPLA8015 Order DPLC8015 DRVE EACH 703 1 10.6961 10.70                

1262 DPLA8015 Order DPLC8015 DRVE EACH 705 3 10.6961 32.09                

1263 DPLA8015 Order DPLC8015 DRVE EACH A05 2 10.6961 21.39                

1264 DPLA8015 Order DPLC8015 DRVE EACH M03 2 10.6961 21.39                

1265 DPLA8015 Order DPLC8015 DRVE EACH M05 2 10.6961 21.39                

1266 DPLA8015 Order DPLC8015 DRVE EACH S01 2 10.6961 21.39                

1267 DPLA8015 Order DPLC8015 DRVE EACH S02 1 10.69 10.69                

1268 DPLA8015 Order DPLC8015 DRVE EACH S03 1 10.6961 10.70                

1269 DPLA8015 Order DPLC8015 DRVE EACH S04 1 10.6961 10.70                

1270 DPLA8015 Order DPLC8015 DRVE EACH X01 1 10.69 10.69                

1271 DPLA8015 Order DPLC8015 DRVE EACH X06 2 10.69 21.38                



SYNCROLITE VALUATION REPORT

1272 DPLA8015 Order DPLC8015 DRVE EACH X08 3 10.6933 32.08                

1273 DPLA8060 0.080"P 60T 1/4"B ALU INST PLY DRVE EACH 0 2 10.72 21.44                

1274 DPLC8015 0.080P 15T CLAMP PLY DRVE EACH 0 14 11.5843 162.18              

1275 DPLY15GLCK SMB PULLEY-GT2 15GRVE, LOCK HU DRVE EACH 0 116 9.39 1,089.24           

1276 DQDHUB12 QD HUB - 1/2 DRVE EACH 0 39 6.73 262.47              

1277 DQDHUB34 QD HUB - 3/4 DRVE EACH 0 91 9.6847 881.31              

1278 DQDHUB34R RCRT 3/4 QD HUB RCRT EACH 0 6 4.5 27.00                

1279 DRTRG025 SNAP RING - 0.250" SHAFT DRVE EACH 0 70 0.85 59.50                

1280 DS7K207B SX7K P/T PULLEY - 1" DRVE EACH 0 25 20.45 511.25              

1281 DS7K207C SX7K P/T PULLEY DRVE EACH 0 13 45.3 588.90              

1282 DS7K207D SX7K P/T PULLEY - DONT USE!!!! DRVE EACH 0 13 34.3 445.90              

1283 DSH25175 RLR SHAFT 0.2498"D X 1.75"L DRVE EACH 0 3 2.2067 6.62                   

1284 DSHCL312 SHAFT CLAMP 0.312" BORE SS DRVE EACH 0 64 6.5245 417.57              

1285 DSHCL312 SHAFT CLAMP 0.312" BORE SS DRVE EACH 508 1 6.7733 6.77                   

1286 DSHIM010 RLR SPACER - SHIM 0.010" UTIL EACH 0 238 0.3787 90.14                

1287 DSHIM071 RLR SPACER - SHIM 0.071" ARCV EACH 0 362 0.62 224.44              

1288 DSHIM093 STEEL SHIM 1/4"ID 0.093"THK DRVE EACH 0 9 0.9778 8.80                   

1289 DSHIM125 STEEL SHIM-1/4"ID 0.125"THK DRVE EACH 0 20 0.9985 19.97                

1290 DSMB305502 LWL15 LINEAR SLIDE ASSEMBLY DRVE EACH 0 47 155.48 7,307.56           

1291 DSMB305602 G1 LEAD SCREW ASSEMBLY DRVE EACH 0 42 44 1,848.00           

1292 DSMB305611 G2 LEAD SCREW ASSEMBLY DRVE EACH 0 43 0 -                     

1293 DSMB305612 G2 LEAD SCREW ASSEMBLY DRVE EACH 0 20 48.02 960.40              

1294 DSMBCOLLAR FC SHAFT COLLAR, SS, .276"L, . DRVE EACH 0 24 11.9525 286.86              

1295 DSMBCOLLAR FC SHAFT COLLAR, SS, .276"L, . DRVE EACH SB4 20 11.9525 239.05              

1296 DSPPTFE3 3" OD PTFE O-RING UTIL EACH 0 46 2.87 132.02              

1297 DSPYFL08 FLAC08 SPIDER BEARING DRVE EACH 0 7 15.1843 106.29              

1298 DSPYRGVN O-RING VITON - FL08 DRVE EACH 0 8 1.49 11.92                

1299 DSPYRTRG RETAINING RING EXT FOR FLAC08 DRVE EACH 0 10 0.541 5.41                   

1300 DSTERARM i STEERING ARM ARCV EACH 0 13 0.87 11.31                

1301 DSWVL256 i 2-56 SWIVEL BALL LINK ARCV EACH 0 120 0.99 118.80              

1302 DTROD256 i THREADED ROD - 30"L X .072" ARCV EACH 0 10 0.44 4.40                   

1303 E150WBLST 150W 120V ELEC BALLAST ARCV EACH 0 9 72.1 648.90              

1304 E1KPS24V i 24VDC POWER SUPPLY - CONDOR ARCV EACH 0 31 78.27 2,426.37           

1305 E3KL1800 AUTO STRIKE BOARD ELEC EACH 0 21 47.13 989.73              

1306 E3KL1800 AUTO STRIKE BOARD ELEC EACH 513 1 38.77 38.77                

1307 E3KL1800 AUTO STRIKE BOARD ELEC EACH 702 1 46.72 46.72                

1308 E3KL1800 AUTO STRIKE BOARD ELEC EACH 703 1 38.77 38.77                

1309 E3KL1800 AUTO STRIKE BOARD ELEC EACH 705 1 38.77 38.77                

1310 E3KL1800 AUTO STRIKE BOARD ELEC EACH RED 1 38.77 38.77                

1311 E3KL1800 AUTO STRIKE BOARD ELEC EACH S02 1 38.77 38.77                

1312 E3KL1800 AUTO STRIKE BOARD ELEC EACH S04 1 38.77 38.77                

1313 E3KL1800 AUTO STRIKE BOARD ELEC EACH S05 1 38.77 38.77                

1314 E3KL1800 AUTO STRIKE BOARD ELEC EACH S06 1 38.77 38.77                

1315 E3KL1800 AUTO STRIKE BOARD ELEC EACH S08 1 38.77 38.77                

1316 E3KL1800 AUTO STRIKE BOARD ELEC EACH S10 1 38.77 38.77                

1317 E3KL1800 AUTO STRIKE BOARD ELEC EACH X01 1 38.77 38.77                

1318 E3KL1800 AUTO STRIKE BOARD ELEC EACH X02 1 28.72 28.72                

1319 E3KL1800 AUTO STRIKE BOARD ELEC EACH X03 1 38.77 38.77                

1320 E3KL1800 AUTO STRIKE BOARD ELEC EACH X04 1 38.77 38.77                

1321 E3KL1800 AUTO STRIKE BOARD ELEC EACH X05 1 28.72 28.72                

1322 E3KL1800 AUTO STRIKE BOARD ELEC EACH X06 1 38.77 38.77                

1323 E3KL1800 AUTO STRIKE BOARD ELEC EACH X07 1 38.77 38.77                

1324 E3KL1800 AUTO STRIKE BOARD ELEC EACH X08 1 47.13 47.13                



SYNCROLITE VALUATION REPORT

1325 E3KL1800 AUTO STRIKE BOARD ELEC EACH X10 1 28.72 28.72                

1326 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH 0 1 16.86 16.86                

1327 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH 501 1 16.86 16.86                

1328 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH 508 1 16.86 16.86                

1329 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH RED 12 16.86 202.32              

1330 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH S01 1 16.86 16.86                

1331 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH S03 1 16.86 16.86                

1332 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH S07 1 16.86 16.86                

1333 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH X08 1 16.86 16.86                

1334 E3KL1800R RECERT-AUTO STRIK BD RCRT EACH X09 1 16.86 16.86                

1335 EA10707A WET MIRROR 2 AXIS DRV BD INAC EACH 0 (1.00)              0 -                     

1336 EA10707D 2-AXIS CPU/DRIVER BOARD RD INAC EACH 0 1 296.95 296.95              

1337 EA10707E 2-AXIS CPU/DRIVER BOARD RE INAC EACH A01 1 296.95 296.95              

1338 EA10707E 2-AXIS CPU/DRIVER BOARD RE INAC EACH A02 1 296.95 296.95              

1339 EA10707E 2-AXIS CPU/DRIVER BOARD RE INAC EACH A03 1 296.95 296.95              

1340 EA10707E 2-AXIS CPU/DRIVER BOARD RE INAC EACH A04 1 296.95 296.95              

1341 EA10707E 2-AXIS CPU/DRIVER BOARD RE INAC EACH A05 1 296.95 296.95              

1342 EA10707E 2-AXIS CPU/DRIVER BOARD RE INAC EACH A07 1 296.95 296.95              

1343 EA10707ER RCRT 2-AXIS CPU/DRIVER BOARD R RCRT EACH 0 6 148 888.00              

1344 EA10707F 2 AXIS CPU/DRIVER RF. ARENA-PL ELEC EACH 0 118 311.7902 36,791.24         

1345 EA10707F 2 AXIS CPU/DRIVER RF. ARENA-PL ELEC EACH A02 1 0 -                     

1346 EA10707F 2 AXIS CPU/DRIVER RF. ARENA-PL ELEC EACH A06 1 296.95 296.95              

1347 EA10707F 2 AXIS CPU/DRIVER RF. ARENA-PL ELEC EACH A07 1 311.31 311.31              

1348 EA10707F 2 AXIS CPU/DRIVER RF. ARENA-PL ELEC EACH A08 1 296.95 296.95              

1349 EA10707FR RCRT - 2 AXIS CPU/DRIVER RF. RCRT EACH 0 4 156 624.00              

1350 EACTMPS0 ACTIVE TEMP SNS MODULE ELEC EACH 0 9 37.14 334.26              

1351 EBALSTAS LP BALLAST STARTER ASST ELEC EACH 0 4 90 360.00              

1352 EBLCMH40 CMH400 BAL-WARNER ELEC EACH 0 42 500 21,000.00         

1353 EBLCMH40 CMH400 BAL-WARNER ELEC EACH C01 1 500 500.00              

1354 EBLFN446 DAYTON BLOWER-3-5K TALL BAL FANS EACH 0 10 104.574 1,045.74           

1355 EBLP57TALL LP 5-7K TALL W/ ALT COVERS ELEC EACH 0 28 3,098.25 86,750.93         

1356 EBMDR02B no longer used BEAM BD26,000 o INAC EACH 0 1 154.99 154.99              

1357 EBMDR02C BEAM DRIBER BD-35H4Q only ELEC EACH 401 1 171.7 171.70              

1358 EBMDR02C BEAM DRIBER BD-35H4Q only ELEC EACH BAS 3 171.7 515.10              

1359 EBMDR02C BEAM DRIBER BD-35H4Q only ELEC EACH M03 1 171.7 171.70              

1360 EBMDR02C BEAM DRIBER BD-35H4Q only ELEC EACH RED 1 163.21 163.21              

1361 EBPWG2KN BAL MODULE - POWER GEMS 2K ARCV EACH 0 2 1,680.00 3,360.00           

1362 EBR10025 BRIDGE RECTIFIER-100V 25A ELEC EACH 0 24 2.6475 63.54                

1363 EBRK05A0 BREAKER 5A 1 POLE 277VAC-IREM ARCV EACH 0 9 19.647 176.82              

1364 EBRK10A0 10A BREAKER ELEC EACH 0 12 14.1892 170.27              

1365 EBRK10A0R RCRT BLACK SWITCH RCRT EACH 0 3 6.25 18.75                

1366 EBRK10A0R RCRT BLACK SWITCH RCRT EACH X08 1 6.25 6.25                   

1367 EBRK10A2 CIRC BREAKER - 2 POLE 10 AMP ELEC EACH 0 2 37.67 75.34                

1368 EBRK20A1 CIRC BREAKER - 20A 1 POLE ELEC EACH 0 7 21 147.00              

1369 EBRK20A1 CIRC BREAKER - 20A 1 POLE ELEC EACH S06 2 21 42.00                

1370 EBRK20A1 CIRC BREAKER - 20A 1 POLE ELEC EACH X08 3 21 63.00                

1371 EBRK30A0 CIRC BREAKER, 30AMP WHITE SW. ELEC EACH 0 19 27.3526 519.70              

1372 EBRK30A0R RCRT WHITE SWITCH RCRT EACH X08 1 11.5 11.50                

1373 EBRK30A1 CIRC BREAKER - 30A 1 POLE ELEC EACH 0 17 14.3 243.10              

1374 EBRK30A1 CIRC BREAKER - 30A 1 POLE ELEC EACH S06 2 14.3 28.60                

1375 EBRK30A1 CIRC BREAKER - 30A 1 POLE ELEC EACH X08 3 14.3 42.90                

1376 EBRK30A3 CIRC BREAKER - 30A 3 POLE ELEC EACH 0 6 75 450.00              

1377 EBRK40A3 CIRC BREAKER - 40A 3 POLE ELEC EACH 0 2 101 202.00              



SYNCROLITE VALUATION REPORT

1378 EBRK8API 8 AMP CIRC BREAKER-PHASE IMBL ELEC EACH 0 9 33 297.00              

1379 EBRK8API 8 AMP CIRC BREAKER-PHASE IMBL ELEC EACH JES 1 32 32.00                

1380 EC2CP01B 1 AXIS CPU/DRIVER BOARD RB INAC EACH 0 1 135.96 135.96              

1381 EC2CP01B 1 AXIS CPU/DRIVER BOARD RB INAC EACH 403 1 151.7008 151.70              

1382 EC2CP01B 1 AXIS CPU/DRIVER BOARD RB INAC EACH M02 1 135.96 135.96              

1383 EC2CP01B 1 AXIS CPU/DRIVER BOARD RB INAC EACH M05 1 135.96 135.96              

1384 EC2CP01BR RECERT- 1 AXIS CPU/DRV BD RCRT EACH M03 1 65 65.00                

1385 EC2CP01BR RECERT- 1 AXIS CPU/DRV BD RCRT EACH M07 1 65 65.00                

1386 EC2CP01D 1-AXIS CPU/DRV BD REV D ELEC EACH 0 84 154.18 12,951.12         

1387 EC2SM09A COLOR SENSOR MODULE ELEC EACH 0 27 42.6174 1,150.67           

1388 EC2SM09A COLOR SENSOR MODULE ELEC EACH 401 3 24.56 73.68                

1389 EC2SM09A COLOR SENSOR MODULE ELEC EACH 402 1 24.56 24.56                

1390 EC2SM09A COLOR SENSOR MODULE ELEC EACH 403 2 24.56 49.12                

1391 EC2SM09A COLOR SENSOR MODULE ELEC EACH 404 2 24.56 49.12                

1392 EC2SM09A COLOR SENSOR MODULE ELEC EACH 405 2 24.56 49.12                

1393 EC2SM09A COLOR SENSOR MODULE ELEC EACH 513 3 24.56 73.68                

1394 EC2SM09A COLOR SENSOR MODULE ELEC EACH 702 2 24.56 49.12                

1395 EC2SM09A COLOR SENSOR MODULE ELEC EACH 705 1 24.56 24.56                

1396 EC2SM09A COLOR SENSOR MODULE ELEC EACH A02 2 24.56 49.12                

1397 EC2SM09A COLOR SENSOR MODULE ELEC EACH A03 2 24.56 49.12                

1398 EC2SM09A COLOR SENSOR MODULE ELEC EACH A04 1 24.56 24.56                

1399 EC2SM09A COLOR SENSOR MODULE ELEC EACH A05 1 24.56 24.56                

1400 EC2SM09A COLOR SENSOR MODULE ELEC EACH A07 2 24.56 49.12                

1401 EC2SM09A COLOR SENSOR MODULE ELEC EACH M01 2 24.56 49.12                

1402 EC2SM09A COLOR SENSOR MODULE ELEC EACH M02 1 24.56 24.56                

1403 EC2SM09A COLOR SENSOR MODULE ELEC EACH M05 3 24.56 73.68                

1404 EC2SM09A COLOR SENSOR MODULE ELEC EACH M07 1 24.56 24.56                

1405 EC2SM09A COLOR SENSOR MODULE ELEC EACH RED 2 24.56 49.12                

1406 EC2SM09A COLOR SENSOR MODULE ELEC EACH S05 2 24.56 49.12                

1407 EC2SM09A COLOR SENSOR MODULE ELEC EACH S06 1 24.56 24.56                

1408 EC2SM09A COLOR SENSOR MODULE ELEC EACH X02 1 24.56 24.56                

1409 EC2SM09A COLOR SENSOR MODULE ELEC EACH X03 2 24.56 49.12                

1410 EC2SM09A COLOR SENSOR MODULE ELEC EACH X04 2 24.56 49.12                

1411 EC2SM09A COLOR SENSOR MODULE ELEC EACH X05 2 24.56 49.12                

1412 EC2SM09A COLOR SENSOR MODULE ELEC EACH X06 2 24.56 49.12                

1413 EC2SM09A COLOR SENSOR MODULE ELEC EACH X07 2 24.56 49.12                

1414 EC2SM09A COLOR SENSOR MODULE ELEC EACH X08 4 38.06 152.24              

1415 EC2SM09A COLOR SENSOR MODULE ELEC EACH X09 2 24.56 49.12                

1416 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH 0 55 5.1947 285.71              

1417 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH 403 2 5.165 10.33                

1418 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH 404 1 12.25 12.25                

1419 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH 703 3 5.7833 17.35                

1420 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH 705 2 5.17 10.34                

1421 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH A01 1 8.3012 8.30                   

1422 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH A06 1 4.5411 4.54                   

1423 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH A08 2 4.5411 9.08                   

1424 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH M02 3 7.5467 22.64                

1425 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH M03 3 8.3012 24.90                

1426 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH M06 2 4.2723 8.54                   

1427 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH M07 1 12.25 12.25                

1428 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH RED 14 7.0564 98.79                

1429 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S01 3 5.1933 15.58                

1430 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S02 3 4.96 14.88                



SYNCROLITE VALUATION REPORT

1431 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S03 1 7.0147 7.01                   

1432 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S04 2 4.915 9.83                   

1433 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S06 2 5.165 10.33                

1434 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S07 3 4.5411 13.62                

1435 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S08 3 5.1667 15.50                

1436 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH S09 1 5.16 5.16                   

1437 EC2SM09AR Recert C2/C3 SENSOR MODULE RCRT EACH X01 2 5.165 10.33                

1438 EC2SNSRP C2 SENSOR REPAIR MODULE ELEC EACH 0 193 3.4865 672.90              

1439 ECAP08MF CAP FOR 365 CFM IMPELLER 8mf FANS EACH 0 19 21.3889 406.39              

1440 ECAP10MF CAP FOR 530 CFM IMPELLER 10 mf FANS EACH 0 4 24.66 98.64                

1441 ECAP1U50 1UF 50V CAP ELEC EACH 0 446 0.0937 41.79                

1442 ECAP2250 22UF 50V ELECTRO CAP ELEC EACH 0 39 0.0721 2.81                   

1443 ECAP2270 22UF 6.3V CAP TANT ELEC EACH 0 674 0.3239 218.30              

1444 ECAP3510 CAP 33,000UF 35V ELECT TSUP ELEC EACH 0 11 7.4027 81.43                

1445 ECAP4900 4900UF 150VDC 175 SURGE CAP ELEC EACH 0 21 31.7352 666.44              

1446 ECAP4900 4900UF 150VDC 175 SURGE CAP ELEC EACH X08 3 31.7367 95.21                

1447 ECAP5542 55UF 420V CAP ELEC EACH 0 90 13.1538 1,183.84           

1448 ECAP60UF 60UF 370VAC CAP ELEC EACH 0 12 23.2425 278.91              

1449 ECAP60UF 60UF 370VAC CAP ELEC EACH X08 3 23.2433 69.73                

1450 ECAPM220 0.22mf 275V CAP ELEC EACH 0 30 0.5103 15.31                

1451 ECDS1609 i DUAL PORT RAM - DS1609 ELEC EACH 0 8 20 160.00              

1452 ECFB148 QG 148 CROSSFLOW BLOWER FANS EACH 0 13 77.6446 1,009.38           

1453 ECFB148R RECERT-QG 148 RCRT EACH 0 35 28.9949 1,014.82           

1454 ECFB3C1 3K-5K C1 CROSSFLOW BLOWER FANS EACH 0 12 29.08 348.96              

1455 ECFB7LC1 7K C1 CROSSFLOW BLOWER LEFT FANS EACH 0 34 34.15 1,161.10           

1456 ECFB7LC1R RECERT-7K C1 BLOWER LEFT RCRT EACH 0 14 17.0743 239.04              

1457 ECFB7RC1 7K C1 CROSSFLOW BLOWER RIGHT FANS EACH 0 55 34.15 1,878.25           

1458 ECFB7RC1R RECERT-7K C1 BLOWER RIGHT RCRT EACH 0 18 17.075 307.35              

1459 ECLT1158 LT1158-CN ELEC EACH 0 16 5.0661 81.06                

1460 ECLTC485 COM CHIP - LTC 485 ELEC EACH 0 50 2.55 127.50              

1461 ECPU5AXC i 5-AXIS CPU BOARD - REV C ELEC EACH 0 5 414.21 2,071.05           

1462 ECPU5AXCR RCRT 5-AXIS CPU - REV C RCRT EACH 0 2 212 424.00              

1463 ECPU8C32 80C32 CPU CHIP ELEC EACH 0 8 21.2443 169.95              

1464 ECPUDR3A MX 5-AXIS CPU/DRIVER BOARD RA ELEC EACH 0 2 595.7333 1,191.47           

1465 ECPUDR3AR MX CPU/DRV BD - RE RCRT EACH 0 8 324.95 2,599.60           

1466 ECPUDR5B MX-5 AXIS CPU/DRVR BD REV B. I ELEC EACH 0 6 598.33 3,589.98           

1467 ECPUDR5B MX-5 AXIS CPU/DRVR BD REV B. I ELEC EACH SB2 2 598.33 1,196.66           

1468 ECPUDR5BP MX-5 AXIS CPU/DRVR BD REV B+ F ELEC EACH 0 42 598.33 25,129.86         

1469 ECPUDR5BP MX-5 AXIS CPU/DRVR BD REV B+ F ELEC EACH 401 6 598.33 3,589.98           

1470 ECPUDR5BP MX-5 AXIS CPU/DRVR BD REV B+ F ELEC EACH SB1 4 598.33 2,393.32           

1471 ECPUDR5BP MX-5 AXIS CPU/DRVR BD REV B+ F ELEC EACH SB4 12 598.33 7,179.96           

1472 ECPUDR5BR RCRT-5 AXIS CPU/DRIVER BD R B RCRT EACH 0 2 324 648.00              

1473 ECRS232M RS232 CHIP MAX 202 ELEC EACH 0 6 3.11 18.66                

1474 ED40A150 150A DIODE-FOREWARD-150K40A ELEC EACH 0 4 28 112.00              

1475 ED40R150 150A DIODE-REVERSE-150KR40A ELEC EACH 0 6 28.0917 168.55              

1476 EDI5W47V 5W 47V ZENER DIODE ELEC EACH 0 9 0.75 6.75                   

1477 EDISPL03 DISPLAY MODULE - SD 6/12 ELEC EACH 0 4 33.305 133.22              

1478 EDISPL04 DISPLAY MODULE - CCT-16 POS ELEC EACH 0 1 19.62 19.62                

1479 EDMRDINE DMX INTERFACE-RDM REV E ELEC EACH 0 12 175.1633 2,101.96           

1480 EDMXBF5C DMX I/O REV C ELEC EACH 0 28 108.83 3,047.24           

1481 EDMXBF5C DMX I/O REV C ELEC EACH 402 1 108.83 108.83              

1482 EDMXBF5C DMX I/O REV C ELEC EACH 405 1 108.83 108.83              

1483 EDMXBF5C DMX I/O REV C ELEC EACH 406 1 108.83 108.83              



SYNCROLITE VALUATION REPORT

1484 EDMXBF5C DMX I/O REV C ELEC EACH 513 1 108.83 108.83              

1485 EDMXBF5C DMX I/O REV C ELEC EACH 702 1 108.83 108.83              

1486 EDMXBF5C DMX I/O REV C ELEC EACH M01 1 108.83 108.83              

1487 EDMXBF5C DMX I/O REV C ELEC EACH M02 1 108.83 108.83              

1488 EDMXBF5C DMX I/O REV C ELEC EACH M03 1 108.83 108.83              

1489 EDMXBF5C DMX I/O REV C ELEC EACH M05 1 108.83 108.83              

1490 EDMXBF5C DMX I/O REV C ELEC EACH M06 1 108.83 108.83              

1491 EDMXBF5C DMX I/O REV C ELEC EACH M07 1 108.83 108.83              

1492 EDMXBF5C DMX I/O REV C ELEC EACH S03 1 108.83 108.83              

1493 EDMXBF5C DMX I/O REV C ELEC EACH S05 1 108.83 108.83              

1494 EDMXBF5C DMX I/O REV C ELEC EACH S06 1 108.83 108.83              

1495 EDMXBF5C DMX I/O REV C ELEC EACH X01 1 108.83 108.83              

1496 EDMXBF5C DMX I/O REV C ELEC EACH X03 1 108.83 108.83              

1497 EDMXBF5C DMX I/O REV C ELEC EACH X04 1 108.83 108.83              

1498 EDMXBF5C DMX I/O REV C ELEC EACH X05 1 108.83 108.83              

1499 EDMXBF5C DMX I/O REV C ELEC EACH X06 1 108.83 108.83              

1500 EDMXBF5C DMX I/O REV C ELEC EACH X08 1 108.83 108.83              

1501 EDMXBF5C DMX I/O REV C ELEC EACH X09 1 108.83 108.83              

1502 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH 0 16 54.42 870.72              

1503 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH 401 1 54.42 54.42                

1504 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH 403 1 54.42 54.42                

1505 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH 501 1 54.42 54.42                

1506 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH 508 1 54.42 54.42                

1507 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH 703 1 54.42 54.42                

1508 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH S01 1 54.42 54.42                

1509 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH S02 1 54.42 54.42                

1510 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH S04 1 54.42 54.42                

1511 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH S07 1 54.42 54.42                

1512 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH S08 1 54.42 54.42                

1513 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH S10 1 54.42 54.42                

1514 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH X07 1 54.42 54.42                

1515 EDMXBF5CR RECERT-REV C DMX I/O RCRT EACH X08 1 54.42 54.42                

1516 EDMXINT0 DMX INTERFACE. ARENA INAC EACH A01 1 148 148.00              

1517 EDMXINT0 DMX INTERFACE. ARENA INAC EACH A02 1 148 148.00              

1518 EDMXINT0 DMX INTERFACE. ARENA INAC EACH A03 1 148 148.00              

1519 EDMXINT0 DMX INTERFACE. ARENA INAC EACH A04 1 148 148.00              

1520 EDMXINT0 DMX INTERFACE. ARENA INAC EACH A05 1 148 148.00              

1521 EDMXINT0 DMX INTERFACE. ARENA INAC EACH A07 1 148 148.00              

1522 EDMXINTB DMX INTERFACE - ARENA VISION ELEC EACH 0 112 139.1 15,579.20         

1523 EDMXINTB DMX INTERFACE - ARENA VISION ELEC EACH A06 1 139.1 139.10              

1524 EDMXINTB DMX INTERFACE - ARENA VISION ELEC EACH A08 1 139.1 139.10              

1525 EDMXIOF DMX I/O BD REV F - 3 OUTS ARCV EACH 0 17 221.74 3,769.58           

1526 EDMXIOF DMX I/O BD REV F - 3 OUTS ARCV EACH 406 1 221.74 221.74              

1527 EDMXIOF DMX I/O BD REV F - 3 OUTS ARCV EACH M07 1 221.74 221.74              

1528 EDMXRDM0 DMX I/O RDM VERSION ELEC EACH 0 9 152.96 1,376.64           

1529 EDR3959T DRIVER CHIP- A3959SB-T ELEC EACH 0 8 4.905 39.24                

1530 EDRV004C 5-AXIS DRIVER BOARD XL,SXL ELEC EACH 0 16 206.275 3,300.40           

1531 EDRV004CR RCRT-5 AXIS DRIVER BOARD RCRT EACH 0 4 101 404.00              

1532 EDRV004CR RCRT-5 AXIS DRIVER BOARD RCRT EACH RED 2 101 202.00              

1533 EDSCD085 SCHOTTKY DIODE BAT 85 ELEC EACH 0 91 0.28 25.48                

1534 EDT120NO DISC THERMOSTAT - 120 F - N.O. ELEC EACH 0 21 4.569 95.95                

1535 EDT190NC DISC THERMOSTAT - 190F - N.C. ELEC EACH 0 5 8.556 42.78                

1536 EDT90FNF THERMOSTAT, 90 DEGREE C N/C FA ELEC EACH 0 4 4.3425 17.37                



SYNCROLITE VALUATION REPORT

1537 EENC0060 ENCODER PCB ELEC EACH 0 478 2.217 1,059.73           

1538 EENC0250 OPT ENC ASSY 1/4" SHFT 256CPR ELEC EACH 0 86 35.0131 3,011.13           

1539 EENC1560 OPT ENC ASSY 5/32" SHFT 256CPR ELEC EACH 0 5 36.44 182.20              

1540 EENC9990 ENC WHEEL - 2" DIA, 1000CPR ELEC EACH 0 21 22.3157 468.63              

1541 EENC9B00 ENC MODULE - HEDS-9000-B00 ELEC EACH 0 5 26.086 130.43              

1542 EENC9F00 ENC MODULE - HEDS-9100-F00 ELEC EACH 0 63 22.461 1,415.04           

1543 EENCD188 ENC WHEEL-1"-3/16" BORE 256CPR ELEC EACH 0 80 8.1343 650.74              

1544 EENCDBAS ENCODER DEFAULT BASE ELEC EACH 0 78 5.3542 417.63              

1545 EENCDCVR ENCODER COVER - DEFAULT ELEC EACH 0 81 5.3301 431.74              

1546 EFD82010 TRANSFORMER FD8-20 ELEC EACH 0 15 20.47 307.05              

1547 EFN60252 60X25MM MUFFIN FAN-NMB-21.5 CF ARCV EACH 0 25 6.2554 156.39              

1548 EFN60254 60X25MM FAN SX EQUIV DIF MNT FANS EACH 0 10 12.656 126.56              

1549 EFNSANACE SMB, FAN SANACE 109BD24HC2-24V ELEC EACH 0 319 16.04 5,116.76           

1550 EFNTNE2A FLAT BAL FAN-COMAIR or ADDA FANS EACH 0 11 68.2964 751.26              

1551 EFRT001 FERRITE - SNAP ON ELEC EACH 0 32 2.9759 95.23                

1552 EFRT002 MINI-FERRITE - SNAP ON ELEC EACH 0 122 0.849 103.58              

1553 EFRTCY19 FERRITE CYLINDER - 19.05MM ID ELEC EACH 0 9 1.0789 9.71                   

1554 EFS.25FB i FUSE - 0.25A FAST BLOW - 3AG ELEC EACH 0 126 0.912 114.91              

1555 EFS01ASB FUSE - 1A SLOW BLOW - 3AG ARCV EACH 0 917 0.52 476.84              

1556 EFS02ASB i FUSE - 2A SLOW BLOW - 3AG ARCV EACH 0 212 0.52 110.24              

1557 EFS03ASB i FUSE - 3A SLOW BLOW - 3AG ARCV EACH 0 38 0.85 32.30                

1558 EFS05ASB i FUSE - 5A SLOW BLOW - 3AG ARCV EACH 0 51 0.85 43.35                

1559 EFS1.5SB i FUSE - 1.5A SLOW BLOW - 3AG ARCV EACH 0 199 0.52 103.48              

1560 EFS10AFB FUSE - 10A FAST BLOW - 3AG ELEC EACH 0 4 0.225 0.90                   

1561 EFS20ASB FUSE, CARTRIDGE, 20A, 250V MDA BLST EACH 0 90 3.79 341.10              

1562 EFS20ASB FUSE, CARTRIDGE, 20A, 250V MDA BLST EACH SB1 5 3.79 18.95                

1563 EFS20ASB FUSE, CARTRIDGE, 20A, 250V MDA BLST EACH SB2 5 3.79 18.95                

1564 EFSADDE0 FUSE FOR ADDE BAL ELEC EACH 0 10 27.8127 278.13              

1565 EFSHD3AG FUSE HOLDER - 3AG - PANEL MNT ELEC EACH 0 34 1.06 36.04                

1566 EFSHD3AG FUSE HOLDER - 3AG - PANEL MNT ELEC EACH JES 3 1.06 3.18                   

1567 EHRMTR01 DC HOUR METER ELEC EACH 0 8 32.5 260.00              

1568 EHXSCINV 74HC14N ELEC EACH 0 65 0.2962 19.25                

1569 EIGNAC00 ARENA COLOR IGNITER ELEC EACH 0 32 42.5147 1,360.47           

1570 EIGNAC00 ARENA COLOR IGNITER ELEC EACH A01 1 50 50.00                

1571 EIGNAC00 ARENA COLOR IGNITER ELEC EACH A03 1 50 50.00                

1572 EIGNAC00 ARENA COLOR IGNITER ELEC EACH A06 1 50 50.00                

1573 EIGNAC00 ARENA COLOR IGNITER ELEC EACH A07 1 50 50.00                

1574 EIGNAC00 ARENA COLOR IGNITER ELEC EACH A08 1 50 50.00                

1575 EIGNAC80 LP AC IGNITER ELEC EACH 0 25 439.3672 10,984.18         

1576 EIGNAC80U LP AC IGNITER-RECERT RCRT EACH 0 18 195 3,510.00           

1577 EIGNAC80U LP AC IGNITER-RECERT RCRT EACH S04 1 195 195.00              

1578 EIGNAC80U LP AC IGNITER-RECERT RCRT EACH S06 2 195 390.00              

1579 EIGNCM40 CMH400 IGNITER ELEC EACH 0 39 100 3,900.00           

1580 EIGNCM40 CMH400 IGNITER ELEC EACH C01 1 100 100.00              

1581 EIGNDCBX MX LP IGNITER BOX ELEC EACH 0 13 152.4662 1,982.06           

1582 EIGNDCBX MX LP IGNITER BOX ELEC EACH 406 (1.00)              152.1333 (152.13)             

1583 EIGNDCMX LP-DC IGNITER - MX ELEC EACH 0 3 395 1,185.00           

1584 EIGNDCMX LP-DC IGNITER - MX ELEC EACH 406 1 384.5883 384.59              

1585 EIGNDCMX LP-DC IGNITER - MX ELEC EACH M03 1 395 395.00              

1586 EIGNDCMXR RCRT MX LP DC IGN RCRT EACH 0 1 185 185.00              

1587 EIGNDCMXR RCRT MX LP DC IGN RCRT EACH 401 2 185 370.00              

1588 EIGNDCMXR RCRT MX LP DC IGN RCRT EACH M02 1 185 185.00              

1589 EIGNDCSBM LP-DC IGNITER - SMB ELEC EACH 0 30 395 11,850.00         



SYNCROLITE VALUATION REPORT

1590 EIGNDCSBM LP-DC IGNITER - SMB ELEC EACH SB1 1 395 395.00              

1591 EIGNDCSBM LP-DC IGNITER - SMB ELEC EACH SB4 6 395 2,370.00           

1592 EIGNFRTE FERRITE ROD - 7.5"L X 3/8 DIA ARCV EACH 0 6 23.75 142.50              

1593 EIGNIRM1 IGNITER - IREM - 2K - 115VAC ARCV EACH 0 4 298.0675 1,192.27           

1594 EIGNIRM2 IGNITER - IREM - 2K - 230VAC ARCV EACH 0 34 285.6 9,710.40           

1595 EIGNPROTEUS PROTEUS 2K IGNITER ARCV EACH 0 13 45 585.00              

1596 EIGNPROTMX PROTEUS MX IGNITER ARCV EACH 0 20 68 1,360.00           

1597 EILMPNL0 ML NEON RND IND. LAMP-WHITE ELEC EACH 0 9 1.9844 17.86                

1598 EILMPNL0 ML NEON RND IND. LAMP-WHITE ELEC EACH JES 2 0 -                     

1599 EIMP065D MX SCRLHSE-65 CFM IMPLR-RER125 FANS EACH 0 283 40.7817 11,541.21         

1600 EIMP330D 330 CFM IMPLR-R1G175 FANS EACH 0 6 204.6917 1,228.15           

1601 EIMP365A 365 CFM BACK CVD IMPLR-120VAC FANS EACH 0 11 68.1109 749.22              

1602 EIMP530A 530 CFM BACK CVD IMPLR-120VAC FANS EACH 0 13 88.02 1,144.26           

1603 EIND6800 680 UH INDUCTOR ELEC EACH 0 6 0.675 4.05                   

1604 ELC74HC1 SN74HC02N ELEC EACH 0 64 0.4196 26.85                

1605 ELCSN74H 74HC00 ELEC EACH 0 75 0.48 36.00                

1606 ELTCH373 IC LATCH - 74HC373 ELEC EACH 0 19 0.46 8.74                   

1607 EMCLM629 LM629 - MOTOR CONTROLLER ELEC EACH 0 6 58.3 349.80              

1608 EMCLM629R RCRT LM629 RCRT EACH 0 68 29 1,972.00           

1609 EMFIZ44N IRFZ44N POWER MOSFET ELEC EACH 0 13 1.89 24.57                

1610 EOI4N320 OPTO ISOLATOR - 4N32 ELEC EACH 0 25 0.77 19.25                

1611 EOI740L6 o LOGIC OPTO ISOLATOR - 740L60 ELEC EACH 0 23 1.5 34.50                

1612 EPBSPN01 SWITCH-PUSH BUTTON-for SD6 ELEC EACH 0 1 3.36 3.36                   

1613 EPC1867P PWR CORD-18/3 X 6'7" PIGTAIL HRNS EACH 0 16 4.007 64.11                

1614 EPCIEC60 PWR CORD-IEC TO EDISON-6FT ELEC EACH 0 5 3.232 16.16                

1615 EPOT10K0 10K POTENTIOMETER ELEC EACH 0 18 7.92 142.56              

1616 EPROM256 EPROM 256K ELEC EACH 0 35 3.3611 117.64              

1617 EPSU12V10A 12VDC 10A PSU V-INFINITY INAC EACH 0 4 89.062 356.25              

1618 EPSU2445 24VDC 45W PSU-XP POWER ELEC EACH 0 35 32.3083 1,130.79           

1619 EPSU2450 24VDC 50W PSU-ARENA VISION ELEC EACH 0 10 104.886 1,048.86           

1620 EPSU2450R RCRT 24VDC 50W PSU-ARENA RCRT EACH 0 1 8.87 8.87                   

1621 EPSU2V5A 24VDC 120 WATT PSU V-INFINITY ELEC EACH 0 41 80.3388 3,293.89           

1622 EPSU2V5A 24VDC 120 WATT PSU V-INFINITY ELEC EACH SB1 2 80.34 160.68              

1623 EPSU2V5A 24VDC 120 WATT PSU V-INFINITY ELEC EACH SB2 1 80.34 80.34                

1624 EPSU2V5A 24VDC 120 WATT PSU V-INFINITY ELEC EACH SB4 3 80.34 241.02              

1625 EPSU2V5AR  RCRT- 24VDC 120 WATT PSU V-IN RCRT EACH 0 13 40.3054 523.97              

1626 EPSU4860 48VDC 60W PSU-XP POWER ELEC EACH 0 46 38.4287 1,767.72           

1627 ERES1050 10 OHM 50W WIREWOUND RES. ELEC EACH 0 15 2.9 43.50                

1628 ERES85OM RESISTOR 85 OHM 100W WIREWOUND ELEC EACH 0 11 10 110.00              

1629 ESD6008A 7CH DIST/STATUS REV A ELEC EACH 0 3 516.39 1,549.17           

1630 ESENC120 COLOR SENSOR ELEC EACH 0 26 81.9677 2,131.16           

1631 ESENPT30 OMRON PHOTOMICROSENSOR ELEC EACH 0 64 17.002 1,088.13           

1632 ESENWL907 WHEEL STACK SENSOR ELEC EACH 0 56 23.89 1,337.84           

1633 ESMBTSCRN LCD touchscreen Module ELEC EACH 0 21 180 3,780.00           

1634 ESMBTSCRN LCD touchscreen Module ELEC EACH SB1 1 180 180.00              

1635 ESMBTSCRN LCD touchscreen Module ELEC EACH SB4 3 180 540.00              

1636 ESNS1150 BIAXIAL/CMH CLR SNS MODULE ARCV EACH 0 15 3.4 51.00                

1637 ESNS1150 BIAXIAL/CMH CLR SNS MODULE ARCV EACH C01 8 3.4 27.20                

1638 ESRLTSK0 TIME DELAY RELAY SOCKET ELEC EACH 0 (10.00)            9.258 (92.58)               

1639 ESRLYTM0 TIME DELAY RELAY FOR STATIC ELEC EACH 0 18 53.3333 960.00              

1640 ESTRBCH STROBE BOARD-CHINESE 2K BAL ARCV EACH 0 21 110 2,310.00           

1641 ESTRBCH STROBE BOARD-CHINESE 2K BAL ARCV EACH 406 1 110 110.00              

1642 ESTRBCH STROBE BOARD-CHINESE 2K BAL ARCV EACH M02 1 110 110.00              



SYNCROLITE VALUATION REPORT

1643 ESWBM130 SPDT SWITCH - CHERRY SWITCH ELEC EACH 0 79 2.96 233.84              

1644 ESWDR150 LIMIT SWITCH ELEC EACH 0 12 2.9508 35.41                

1645 ESWDRL60 LIMIT SWITCH - LONG LEVER ELEC EACH 0 46 4.0298 185.37              

1646 ESWRD120 REED SWITCH ELEC EACH 0 19 2.3932 45.47                

1647 ESWRD120 REED SWITCH ELEC EACH 401 1 3.05 3.05                   

1648 ESWRD120 REED SWITCH ELEC EACH 402 1 2.393 2.39                   

1649 ESWRD120 REED SWITCH ELEC EACH 403 1 1.6313 1.63                   

1650 ESWRD120 REED SWITCH ELEC EACH 404 1 1.6313 1.63                   

1651 ESWRD120 REED SWITCH ELEC EACH 406 1 1.6313 1.63                   

1652 ESWRD120 REED SWITCH ELEC EACH 501 1 3.05 3.05                   

1653 ESWRD120 REED SWITCH ELEC EACH 508 1 2.393 2.39                   

1654 ESWRD120 REED SWITCH ELEC EACH 513 1 2.393 2.39                   

1655 ESWRD120 REED SWITCH ELEC EACH 702 1 2.393 2.39                   

1656 ESWRD120 REED SWITCH ELEC EACH 703 1 2.393 2.39                   

1657 ESWRD120 REED SWITCH ELEC EACH 705 1 2.57 2.57                   

1658 ESWRD120 REED SWITCH ELEC EACH M01 1 2.393 2.39                   

1659 ESWRD120 REED SWITCH ELEC EACH M02 1 1.6313 1.63                   

1660 ESWRD120 REED SWITCH ELEC EACH M03 1 2.393 2.39                   

1661 ESWRD120 REED SWITCH ELEC EACH M05 1 2.393 2.39                   

1662 ESWRD120 REED SWITCH ELEC EACH M07 1 2.393 2.39                   

1663 ESWRD120 REED SWITCH ELEC EACH S02 1 3.05 3.05                   

1664 ESWRD120 REED SWITCH ELEC EACH S04 1 2.393 2.39                   

1665 ESWRD120 REED SWITCH ELEC EACH S05 1 2.393 2.39                   

1666 ESWRD120 REED SWITCH ELEC EACH S06 1 2.7935 2.79                   

1667 ESWRD120 REED SWITCH ELEC EACH S07 1 2.393 2.39                   

1668 ESWRD120 REED SWITCH ELEC EACH S08 1 2.33 2.33                   

1669 ESWRD120 REED SWITCH ELEC EACH S09 1 2.33 2.33                   

1670 ESWRD120 REED SWITCH ELEC EACH S10 1 2.33 2.33                   

1671 ESWRD120 REED SWITCH ELEC EACH X01 1 2.393 2.39                   

1672 ESWRD120 REED SWITCH ELEC EACH X02 1 3.05 3.05                   

1673 ESWRD120 REED SWITCH ELEC EACH X04 1 2.393 2.39                   

1674 ESWRD120 REED SWITCH ELEC EACH X05 1 2.393 2.39                   

1675 ESWRD120 REED SWITCH ELEC EACH X06 1 2.393 2.39                   

1676 ESWRD120 REED SWITCH ELEC EACH X07 1 2.393 2.39                   

1677 ESWRD120 REED SWITCH ELEC EACH X08 1 2.393 2.39                   

1678 ESWRD120 REED SWITCH ELEC EACH X09 1 2.393 2.39                   

1679 ESWRD120 REED SWITCH ELEC EACH X10 1 2.393 2.39                   

1680 ESWRLY01 RELAY - DPST NO - 30A - 120VAC ELEC EACH 0 1 21.56 21.56                

1681 ESWRLY01R RCRT-DPST NO-30A - 120VAC RCRT EACH 0 39 5.48 213.72              

1682 ESWRLY02 RELAY - DPST NO - 30 A - 240VA ELEC EACH 0 28 12.36 346.08              

1683 ESWRLY02R RCRT RELAY SWITCH 30A-240VA RCRT EACH 0 45 6.18 278.10              

1684 ESWRLY03 RELAY-DPST30A 24VDC ELEC EACH 0 18 11.9083 214.35              

1685 ESWSKDE0 E-SWITCH FOR REV E SKID ELEC EACH 0 19 0.452 8.59                   

1686 ESWXYMOX Membrane Switch ELEC EACH 0 11 10.6 116.60              

1687 ET3FL163 TRANSFORMER - 16V - 3FL16-350 ELEC EACH 0 3 22.9133 68.74                

1688 ET3FL167 TRANSFORMER - 16V - 3FL16-700 ELEC EACH 0 1 12.49 12.49                

1689 ET3FL201 TRANSFORMER - 20V - 3FL20-125 ARCV EACH 0 2 8.78 17.56                

1690 ETB140J1 Type A Jumper-140 ELEC EACH 0 102 0.3194 32.58                

1691 ETB4140 Terminal Block 4 Terminal .375 ELEC EACH 0 64 1.845 118.08              

1692 ETBL4POS Terminal Block, 4 POS 20A 22-1 ELEC EACH 0 16 3.46 55.36                

1693 ETBL4POS30 Terminal Block, 4 POS 30A 22-1 ELEC EACH 0 (13.00)            0 -                     

1694 ETBL5POS Terminal Block, 5 POS 20A 22-1 ELEC EACH 0 24 4.34 104.16              

1695 ETBLPTB0 TERMINAL BLOCK LP TALL BALLAST ELEC EACH 0 17 7.8035 132.66              



SYNCROLITE VALUATION REPORT

1696 ETBMS4140 Terminal Block Marking Strip 4 ELEC EACH 0 49 0.6941 34.01                

1697 ETERMLP TERMINAL- LP BAL-TE102 ELEC EACH 0 19 8.26 156.94              

1698 ETR23150 STPDN XFMR - 230-115 ARCV EACH 0 9 11.2322 101.09              

1699 ETR23190 STPDN XFMR-230-190V ARCV EACH 0 2 14.33 28.66                

1700 ETR27724 STPDN XFMR-277-240 HAMMOND-ARE ELEC EACH 0 1 354.705 354.71              

1701 ETR35K10 ISO TRANSFORMER - LP BAL ELEC EACH 0 5 207.592 1,037.96           

1702 ETRGSD75 Auto Transformer - 3K BAL ELEC EACH 0 2 137.02 274.04              

1703 FB3816138 3/8-16 X 1 3/8 HEX BOLT Grade FSNR EACH 0 34 1.6221 55.15                

1704 FB38163 3/8-16 X 3 HEX BOLT Grade 8 FSNR EACH 0 34 0.6721 22.85                

1705 FB516182 5/16-18 X 2 HEX BOLT Grade 8 FSNR EACH 0 96 0.2681 25.74                

1706 FB516183 5/16-18 X 3 HEX BOLT Grade 8 FSNR EACH 0 94 0.4452 41.85                

1707 FBH36138 3/8-16 X 1-3/8" HEX BOLT GR 8 FSNR EACH 0 100 0.48 48.00                

1708 FBHA5630 5/16-18 X 3" HEX BOLT ARMOR CO FSNR EACH 0 124 0.1146 14.21                

1709 FBHB1410 1/4-20 X 1 HEX FLANGE FRAME BO FSNR EACH 0 1,052.00 0.1512 159.02              

1710 FBHB1458 1/4-20 X 5/8" HEX FLANGE FRAME FSNR EACH 0 2,025.00 0.0532 107.73              

1711 FBHB38345 3/8-16 x 3/4" HEX BOLT BRASS FSNR EACH 0 497 0.934 464.20              

1712 FBHG3815 3/8-16 X 1 1/2" HEX BOLT GR 8 FSNR EACH 0 274 0.045 12.33                

1713 FBHG5615 5/16-18 X 1 1/2" HEX BOLT GR 8 FSNR EACH 0 60 0.2707 16.24                

1714 FBHG5620 5/16-18 X 2" HEX BOLT GR 8 FSNR EACH 0 80 0.2326 18.61                

1715 FBHG5630 5/16-18 X 3" HEX BOLT GR 8 FSNR EACH 0 116 0.4856 56.33                

1716 FBHS1125 1/4-20 X 1 1/4" HEX BOLT SS FSNR EACH 0 600 0.2058 123.48              

1717 FBHS1212 1/2-13 X 1/2" HEX CAP SCREW SS FSNR EACH 0 20 0.816 16.32                

1718 FBHS1410 1/4-20 X 1" HEX BOLT SS FSNR EACH 0 715 0.12 85.80                

1719 FBHS1415 1/4-20 X 1 1/2" HEX BOLT SS FSNR EACH 0 650 0.2264 147.17              

1720 FBHS1417 1/4-20 X 1 3/4" HEX BOLT SS FSNR EACH 0 168 0.2924 49.13                

1721 FBHS1420 1/4-20 X 2" HEX BOLT SS FSNR EACH 0 500 0.184 92.00                

1722 FBHS1425 1/4-20 X 2 1/2" HEX BOLT SS FSNR EACH 0 381 0.3499 133.31              

1723 FBHS1427 1/4-20 X 2 3/4" HEX BOLT SS FSNR EACH 0 46 0.4724 21.73                

1724 FBHS1428 1/4-28 X 1/2 HEX BOLT SS FSNR EACH 0 440 0.1516 66.70                

1725 FBHS1428 1/4-28 X 1/2 HEX BOLT SS FSNR EACH BAS 95 0.1516 14.40                

1726 FBHS1430 1/4-20 X 3" HEX BOLT SS FSNR EACH 0 198 0.3581 70.90                

1727 FBHS1434 1/4-20 X 3/4" HEX BOLT SS FSNR EACH 0 101 0.3068 30.99                

1728 FBHS1435 1/4-20 X 3 1/2" HEX BOLT SS FSNR EACH 0 182 0.631 114.84              

1729 FBHS1438 1/4-20 X 3/8" HEX BOLT SS FSNR EACH 0 66 0.0724 4.78                   

1730 FBHS1440 1/4-20 X 4" HEX BOLT SS FSNR EACH 0 206 0.5932 122.20              

1731 FBHS1458 1/4-20 X 5/8" HEX BOLT SS FSNR EACH 0 1,050.00 0.0925 97.13                

1732 FBHS3427 3/4-10 X 2 3/4" HEX BOLT SS FSNR EACH 0 97 3.85 373.45              

1733 FBHS4838 1/4-28 X 3/8 HEX BOLT SS FSNR EACH 0 198 0.1118 22.14                

1734 FBHS5625 5/16-18 X 2 1/2" HEX BOLT SS FSNR EACH 0 89 0.0724 6.44                   

1735 FBHS5625 5/16-18 X 2 1/2" HEX BOLT SS FSNR EACH BAS 40 0.0724 2.90                   

1736 FBHS5635 5/16-18 X 3 1/2" HEX BOLT SS FSNR EACH 0 108 0 -                     

1737 FBHSF3815 3/8-16 X 1 1/2 FLAT HEX CAP SC FSNR EACH 0 80 0.648 51.84                

1738 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH 0 391 0.2365 92.47                

1739 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH A01 10 0.2365 2.37                   

1740 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH A02 10 0.2386 2.39                   

1741 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH A03 25 0.2365 5.91                   

1742 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH A05 10 0.2386 2.39                   

1743 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH A06 25 0.2365 5.91                   

1744 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH A07 5 0.2386 1.19                   

1745 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH A08 25 0.2365 5.91                   

1746 FBHSM550 M5 X 50 HEX BOLT SS FSNR EACH BAS 50 0.2386 11.93                

1747 FBHSM620 M6 X 20mm HEX CAP SCREW SS FSNR EACH 0 51 0.1386 7.07                   

1748 FBHSM620 M6 X 20mm HEX CAP SCREW SS FSNR EACH BAS 40 0.1385 5.54                   



SYNCROLITE VALUATION REPORT

1749 FBHSM625 M6 X 25mm HEX CAP SCREW SS FSNR EACH 0 30 0.1503 4.51                   

1750 FBHSM635 M6 X 35mm HEX CAP SCREW SS FSNR EACH 0 32 0 -                     

1751 FBHZ1221 1/2-20 X 1 HEX BOLT GR8 FSNR EACH 0 31 0.314 9.73                   

1752 FBHZ1412 1/4-20 X 1/2" HEX BOLT GR 8 Z FSNR EACH 0 687 0.0503 34.56                

1753 FBHZ1412 1/4-20 X 1/2" HEX BOLT GR 8 Z FSNR EACH BAS 166 0.0503 8.35                   

1754 FBHZ1434 1/4-20 X 3/4" HEX BOLT GR 8 Z FSNR EACH 0 69 0.097 6.69                   

1755 FBHZ1434 1/4-20 X 3/4" HEX BOLT GR 8 Z FSNR EACH BAS 40 0.0969 3.88                   

1756 FBHZ3810 3/8-16 X 1" HEX BOLT GR 8 FSNR EACH 0 145 0.1737 25.19                

1757 FBHZ3810 3/8-16 X 1" HEX BOLT GR 8 FSNR EACH BAS 99 0.1737 17.20                

1758 FBHZ3812 3/8-16 X 1 1/4" HEX BOLT GR 8 FSNR EACH 0 75 0.2192 16.44                

1759 FBHZ3812 3/8-16 X 1 1/4" HEX BOLT GR 8 FSNR EACH BAS 40 0.2192 8.77                   

1760 FBHZ3817 3/8-16 X 1 3/4" HEX BOLT GR 8 FSNR EACH 0 150 1.0818 162.27              

1761 FBHZ3820 3/8-16 X 2" HEX BOLT GR 8 FSNR EACH 0 16 1.0031 16.05                

1762 FBHZ3825 3/8-16 X 2 1/2" HEX BOLT GR 8 FSNR EACH 0 45 1.6262 73.18                

1763 FBHZ3825 3/8-16 X 2 1/2" HEX BOLT GR 8 FSNR EACH BAS 10 1.6262 16.26                

1764 FBHZ3830 3/8-16 X 3" HEX BOLT GR 8 FSNR EACH 0 500 2.0246 1,012.30           

1765 FBHZ3830 3/8-16 X 3" HEX BOLT GR 8 FSNR EACH BAS 20 2.0246 40.49                

1766 FBHZ3834 3/8-16 X 3/4" HEX BOLT GR 8 FSNR EACH 0 597 0.1396 83.34                

1767 FBHZ3834 3/8-16 X 3/4" HEX BOLT GR 8 FSNR EACH BAS 100 0.1396 13.96                

1768 FBHZ3865 3/8-16 X 6.5" GR 8 ZINC FSNR EACH 0 41 2.5529 104.67              

1769 FBHZ3875 3/8-16 X 7.5 HEX BOLT GRADE 8 FSNR EACH 0 75 1.58 118.50              

1770 FBHZ5610 5/16-18 X 1" HEX BOLT GR 8 FSNR EACH 0 250 0.006 1.49                   

1771 FBHZ5610 5/16-18 X 1" HEX BOLT GR 8 FSNR EACH BAS 50 0.1106 5.53                   

1772 FBHZ5612 5/16-18 X 1 1/4" HEX BOLT GR 5 FSNR EACH 0 45 0.1153 5.19                   

1773 FBHZ5634 5/16-18 X 3/4" HEX BOLT GR 8 FSNR EACH 0 1,151.00 0.0998 114.87              

1774 FBHZ5655 5/16-18 X 5 1/2 GR 5 ZINC FSNR EACH 0 9 0.6989 6.29                   

1775 FBHZM630 M6 X 30MM HEX BOLT ZINC FSNR EACH 0 68 0 -                     

1776 FBSS1900 DISC SPRING-SS, 190"ID, .375"O UTIL EACH 0 110 0.4076 44.84                

1777 FEY56112 EYEBOLT-1 1/8"L 5/16-18 THREAD FSNR EACH 0 233 4.5652 1,063.69           

1778 FEYEG566 5/16-18 X 6" FGD STEEL EYEBOLT FSNR EACH 0 108 7.75 837.00              

1779 FFW14SS WASHER, FLAT, 1/4, .281 ID, .6 FSNR EACH 0 96 0.0338 3.24                   

1780 FKCA1125 #10-24 X 1 1/4" SCKT CAP ARMR FSNR EACH 0 2,219.00 0.2397 531.89              

1781 FKCA1425 1/4-20 X 2 1/2" BTNHD SCKT CAP FSNR EACH 0 130 0.7629 99.18                

1782 FKCAM310 M3 X 10 SOCKET CAP-ALLOY STEEL FSNR EACH 0 280 0.0704 19.72                

1783 FKCB0810 #8-32 X 1" SCKT CAP BLK OX STL FSNR EACH 0 350 0.0711 24.89                

1784 FKCB1030 #10-32 X 3" SCKT CAP BLK OX ST FSNR EACH 0 52 0.2762 14.36                

1785 FKCB1435 1/4-20 X 3 1/2" SCKT CAP BLK O FSNR EACH 0 196 0.673 131.91              

1786 FKCS0414 #4-40 X 1/4" SCKT CAP SS FSNR EACH 0 665 0.0403 26.80                

1787 FKCS0414 #4-40 X 1/4" SCKT CAP SS FSNR EACH BAS 200 0.0403 8.06                   

1788 FKCS0418 #4-40 X 1/8" SCKT CAP SS FSNR EACH 0 540 0.1008 54.43                

1789 FKCS0438 #4-40 X 3/8" SCKT CAP SS FSNR EACH 0 972 0.0424 41.21                

1790 FKCS04716 #4-40 X 7/16" SCKT CAP SS FSNR EACH 0 225 0.032 7.20                   

1791 FKCS0614 #6-32 X 1/4" SCKT CAP SS FSNR EACH BAS 200 0.0396 7.92                   

1792 FKCS0620 #6-32 X 2" SCKT CAP SS FSNR EACH 0 416 0.2171 90.31                

1793 FKCS0638 #6-32 X 3/8" SCKT CAP SS FSNR EACH 0 482 0.0483 23.29                

1794 FKCS0658 #6-32 X 5/8" SCKT CAP SS FSNR EACH 0 3,205.00 0.0501 160.57              

1795 FKCS06716 #6-32 X 7/16" SCKT CAP SS FSNR EACH 0 820 0.034 27.88                

1796 FKCS0810 #8-32 X 1" SCKT CAP SS FSNR EACH 0 1,000.00 0.0937 93.72                

1797 FKCS08114 #8-32 X 1 1/4" SCKT CAP SS FSNR EACH 0 488 0.079 38.55                

1798 FKCS0812 #8-32 X 1/2" SCKT CAP SS FSNR EACH 0 1,103.00 0.055 60.67                

1799 FKCS0814 #8-32 X 1/4" SCKT CAP SS FSNR EACH 0 854 0.033 28.18                

1800 FKCS0834 #8-32 X 3/4" SCKT CAP SS FSNR EACH 0 555 0.0795 44.12                

1801 FKCS0858 #8-32 X 5/8" SCKT CAP SS FSNR EACH 0 395 0.0642 25.36                



SYNCROLITE VALUATION REPORT

1802 FKCS08716 #8-32 X 7/16" SCKT CAP SS FSNR EACH 0 250 0.041 10.25                

1803 FKCS0878 #8-32 X 7/8" SCKT CAP SS FSNR EACH 0 994 0.06 59.64                

1804 FKCS1012 #10-32 X 1/2" SCKT CAP SS FSNR EACH 0 727 0.063 45.80                

1805 FKCS1012 #10-32 X 1/2" SCKT CAP SS FSNR EACH BAS 200 0.0671 13.42                

1806 FKCS1014 #10-32 X 1/4" SCKT CAP SS FSNR EACH 0 271 0.1968 53.33                

1807 FKCS1015 #10-32 X 1 1/2" SCKT CAP SS FSNR EACH 0 290 0.1924 55.80                

1808 FKCS1038 #10-32 X 3/8" SCKT CAP SS FSNR EACH 0 938 0.052 48.78                

1809 FKCS1058 #10-32 X 5/8" SCKT CAP SS FSNR EACH 0 992 0.1922 190.63              

1810 FKCS14114 1/4-28 X 1 1/4"L SCKT CAP SS FSNR EACH 0 8 0.23 1.84                   

1811 FKCS1412 1/4-20 X 1/2" SCKT CAP SS FSNR EACH 0 3,894.00 0.1214 472.76              

1812 FKCS1418 1/4-28 X 1 1/8"L SCKT CAP SS FSNR EACH 0 11 0.2927 3.22                   

1813 FKCS1434 1/4-28 X 3/4" SCKT CAP SS FSNR EACH 0 146 0.2388 34.87                

1814 FKCS1458 1/4-20 X 5/8" SCKT CAP SS FSNR EACH 0 3,458.00 0.1452 502.10              

1815 FKCS1478 1/4-20 X 7/8" SCKT CAP SS FSNR EACH 0 250 0.101 25.25                

1816 FKCS3860 3/8-16 X 6" FLAT SCKT CAP GR8 FSNR EACH 0 52 1.82 94.64                

1817 FKCS51634 5/16-18 X 3/4 SCKT CAP SS FSNR EACH 0 622 0.195 121.29              

1818 FKCS51658 5/16-18 X 5/8 SCKT CAP SS FSNR EACH 0 500 0.2 100.00              

1819 FKCS51678 5/16-18 X 7/8" HEX CAP GD8 FSNR EACH 0 2,100.00 0.2166 454.76              

1820 FKCS5603 5/16-18 X 3" SCKT CAP SS FSNR EACH 0 88 0.7869 69.25                

1821 FKCS5604 5/16-24 X 4"L SCKT CAP SS FSNR EACH 0 48 2.8413 136.38              

1822 FKCS5615 5/16-18 X 1 1/2 SCKT CAP SS FSNR EACH 0 84 0.6258 52.57                

1823 FKCS56225 SCREW, 5/16-18 2 1/4", SHC, SS FSNR EACH 0 42 0.669 28.10                

1824 FKCS5627 5/16-18 X 2 3/4 SCKT CAP SS FSNR EACH 0 87 0.8475 73.73                

1825 FKCS5632 5/16-18 X 3 1/4 SCKT CAP SS FSNR EACH 0 46 1.1734 53.98                

1826 FKCS5638 5/16-18 X 3/8" BTN HD SCKT CAP FSNR EACH 0 249 0.263 65.49                

1827 FKCS6125 #6-32 X 1 1/4" SCKT CAP SS FSNR EACH 0 3,518.00 0.0856 301.14              

1828 FKCSM316 M3 X 16 SOCKET CAP-SS FSNR EACH 0 769 0.0463 35.60                

1829 FKCSM412 M4 X 12 BTN HEAD SCKT CAP SS FSNR EACH 0 112 0.0867 9.71                   

1830 FKCSM435 M4 X 35 SCKT CAP SS FSNR EACH 0 1,059.00 0.1294 137.03              

1831 FKCSM435 M4 X 35 SCKT CAP SS FSNR EACH A01 10 0.1275 1.28                   

1832 FKCSM435 M4 X 35 SCKT CAP SS FSNR EACH BAS 50 0.1294 6.47                   

1833 FKCSM512 M5 X 12MM SCKT CAP BLUE FSNR EACH 0 8 0.1296 1.04                   

1834 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH 0 428 0.1218 52.13                

1835 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH A01 10 0.1244 1.24                   

1836 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH A02 12 0.1213 1.46                   

1837 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH A03 20 0.1213 2.43                   

1838 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH A05 33 0.0923 3.05                   

1839 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH A06 50 0.1218 6.09                   

1840 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH A07 10 0.1213 1.21                   

1841 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH A08 25 0.1218 3.05                   

1842 FKCSM525 M5 X 25MM SOCKET CAP SS FSNR EACH BAS 152 0.1213 18.44                

1843 FKFS0812 #8-32 X 1/2" FLAT SCKT CAP SS FSNR EACH 0 1,100.00 0.0829 91.19                

1844 FKFS0812 #8-32 X 1/2" FLAT SCKT CAP SS FSNR EACH BAS 200 0.0829 16.58                

1845 FKFS1401 1/4-20 X 1 FLAT SCKT CAP SS FSNR EACH 0 467 0.3448 161.02              

1846 FKFS3812 3/8-16 X 1-1/4 FLAT SCKT STL FSNR EACH 0 576 0.5628 324.17              

1847 FKFS5615 5/16-18 X 1 1/2" FLAT SCKT CAP FSNR EACH 0 180 0.6259 112.66              

1848 FKPA1012 #10-32 X 1/2" SCKT SET CUP PNT FSNR EACH 0 1,000.00 0.1119 111.90              

1849 FKPB3420 3/4-10 X 2" SCKT SET CUP PNT B FSNR EACH 0 104 2.4606 255.90              

1850 FKPS0636 #6-32 X 3/16" SCKT SET CUP PT FSNR EACH 0 1,850.00 0.0633 117.11              

1851 FKPS0636 #6-32 X 3/16" SCKT SET CUP PT FSNR EACH BAS 200 0.0633 12.66                

1852 FKPS0836 #8-32 X 3/16" SCKT SET CUP PT FSNR EACH 0 373 0.0544 20.30                

1853 FKPS0836 #8-32 X 3/16" SCKT SET CUP PT FSNR EACH BAS 200 0.0605 12.10                

1854 FKPS1024 #10-24 X 3/8" SCKT SET CUP PT FSNR EACH BAS 7 0.0444 0.31                   



SYNCROLITE VALUATION REPORT

1855 FKPS1438 1/4-20 X 3/8 SCKT SET CUP PT FSNR EACH 0 697 0.0873 60.85                

1856 FKPS5614 5/16-18  X 1/4" SCKT SET CUP P FSNR EACH 0 256 0.0987 25.27                

1857 FKSB1012 #10-32 X 1/2" SCKT SET BLK OX FSNR EACH 0 100 0.1046 10.46                

1858 FKSC0810 #8-32 X 1" SCKT CAP SS FSNR EACH 0 (189.00)         0.0788 (14.89)               

1859 FKSS1414 1/4-20 X 1/4" SOCKET SET SS INAC EACH 0 658 0 -                     

1860 FKSS14KN 1/4-20 X 1/4" SCKT SET KNURL C FSNR EACH 0 130 0.2164 28.13                

1861 FKSS14SL 1/4-20 X 3/8" SCKT SET SELF LO INAC EACH 0 194 0.7019 136.17              

1862 FKTW1000 #10 PRESS-FIT THMB SCRW HD KNR FSNR EACH 0 92 0.171 15.73                

1863 FLW08SS WASHER, LOCK, #8, EXT TOOTH, S FSNR EACH 0 194 0.0236 4.58                   

1864 FN103238W NUT, 10-32, 3/8", WITH TOOTH W FSNR EACH 0 196 0.0773 15.15                

1865 FN56SNG5 5/16-18 SQUARE NUT GR 5 FSNR EACH 0 84 0.11 9.24                   

1866 FNAN0800 #8-32 NYLON ACORN NUT FSNR EACH 0 1,500.00 0.0975 146.25              

1867 FNFC1032 10-32 FLEX TOP LOCK NUT-CAD/ST FSNR EACH 0 25 0 -                     

1868 FNFS0600 #6-32 FLEX TOP LOCK NUT FSNR EACH 0 81 1.6575 134.26              

1869 FNFS0600 #6-32 FLEX TOP LOCK NUT FSNR EACH BAS 60 1.0719 64.31                

1870 FNFS1000 #10-32 FLEX TOP LOCK NUT FSNR EACH 0 100 1.2081 120.81              

1871 FNFS1428 1/4-28 FLEX TOP L/N CAD PLATE FSNR EACH 0 24 2.78 66.72                

1872 FNHC0038 3/8-16 HEX EXTRA-WIDE EXPD LCK FSNR EACH 0 600 0.595 357.00              

1873 FNHN0012 1/2-13 NYLN INSERT HEX NUT SS FSNR EACH 0 32 0.2075 6.64                   

1874 FNHN0800 #8-32 NYLON INSERT HEX NUT SS FSNR EACH 0 3,450.00 0.0406 140.07              

1875 FNHN1000 #10-32 NYLON INSERT HEX NUT SS FSNR EACH 0 737 0.081 59.70                

1876 FNHN1000 #10-32 NYLON INSERT HEX NUT SS FSNR EACH BAS 100 0.081 8.10                   

1877 FNHN1000 #10-32 NYLON INSERT HEX NUT SS FSNR EACH S04 100 0.081 8.10                   

1878 FNHN1220 1/2-20 NYLON LOCK NUT - SS FSNR EACH 0 13 0.6808 8.85                   

1879 FNHN1400 1/4-20 NYLON INSERT LOCK NUT FSNR EACH 0 30 1.5723 47.17                

1880 FNHN1400 1/4-20 NYLON INSERT LOCK NUT FSNR EACH S02 50 0.1905 9.53                   

1881 FNHNM040 M4 NYLON LOCK NUT FSNR EACH 0 112 0.1079 12.09                

1882 FNHNM040 M4 NYLON LOCK NUT FSNR EACH BAS 100 0.108 10.80                

1883 FNHR0012 1/2-13 HEX NUT BRASS FSNR EACH 0 250 0.8711 217.78              

1884 FNHR0012 1/2-13 HEX NUT BRASS FSNR EACH BAS 10 0.985 9.85                   

1885 FNHR0038 3/8" HEX NUT BRASS FSNR EACH 0 589 0.4392 258.68              

1886 FNHR0038 3/8" HEX NUT BRASS FSNR EACH BAS 50 0.4392 21.96                

1887 FNHR0056 5/16" HEX NUT BRASS FSNR EACH 0 199 0.3203 63.74                

1888 FNHR0056 5/16" HEX NUT BRASS FSNR EACH BAS 50 0.3203 16.02                

1889 FNHR1420 1/4-20 HEX NUT BRASS 7/32"H FSNR EACH 0 277 0.1648 45.65                

1890 FNHR1420 1/4-20 HEX NUT BRASS 7/32"H FSNR EACH BAS 100 0.1648 16.48                

1891 FNHRM121 HEX NUT BRASS-M12 X 1.75MM FSNR EACH 0 169 0 -                     

1892 FNHS0200 #2-56 HEX NUT SS FSNR EACH 0 856 0.056 47.94                

1893 FNHS0400 #4-40 HEX NUT SS FSNR EACH 0 466 0.0187 8.71                   

1894 FNHS0400 #4-40 HEX NUT SS FSNR EACH BAS 200 0.0187 3.74                   

1895 FNHS0400 #4-40 HEX NUT SS FSNR EACH S02 40 0.0187 0.75                   

1896 FNHS0436 #4-40 HEX NUT 3/16 FLATS SS FSNR EACH 0 3,396.00 0.0112 38.04                

1897 FNHS0600 #6-32 HEX NUT SS FSNR EACH 0 1,600.00 0.0406 65.00                

1898 FNHS06SP #6-32 SMALL PATTERN HEX NUT SS FSNR EACH 0 650 0.0384 24.99                

1899 FNHS0800 #8-32 HEX NUT SS FSNR EACH 0 3,880.00 0.0271 105.14              

1900 FNHS0800 #8-32 HEX NUT SS FSNR EACH BAS 200 0.0317 6.34                   

1901 FNHS1000 #10-32 HEX NUT SS FSNR EACH 0 878 0.052 45.68                

1902 FNHS1000 #10-32 HEX NUT SS FSNR EACH BAS 100 0.0487 4.87                   

1903 FNHS1000 #10-32 HEX NUT SS FSNR EACH S04 50 0.0487 2.44                   

1904 FNHS3400 3/4-10 HEX NUT SS FSNR EACH 0 134 0.9421 126.24              

1905 FNHTW0414SS #4-40 HEX NUT W/ TOOTH WSHR SS FSNR EACH 0 698 0.0574 40.06                

1906 FNHTW081132SS #8-32 KEPS nut - use up then u INAC EACH 0 9 0.07 0.63                   

1907 FNHZ38LN 3/8-16 NYLON INSERT NUT GR 8 FSNR EACH 0 743 0.1575 117.02              



SYNCROLITE VALUATION REPORT

1908 FNHZ38LN 3/8-16 NYLON INSERT NUT GR 8 FSNR EACH BAS 80 0.1575 12.60                

1909 FNHZ56KN 5/16-18 NYLN INST HEX NUT GR8 FSNR EACH 0 1,138.00 0.1423 161.93              

1910 FNHZ56KN 5/16-18 NYLN INST HEX NUT GR8 FSNR EACH BAS 80 0.1423 11.38                

1911 FNKS0800 8-32 KEPS NUT W/TOOTHED WASHER FSNR EACH M03 25 0.0821 2.05                   

1912 FNRC0825 #8-32 X 0.25" THICK RIVET NUT FSNR EACH 0 50 0.4932 24.66                

1913 FNRC1028 #10-32 X 0.280" TH RIVET NUT FSNR EACH 0 75 0.5072 38.04                

1914 FNRS08PM #8-32 ROUND PEM NUT FSNR EACH 0 626 0.4 250.40              

1915 FNRS10PM #10-32 ROUND PEM NUT FSNR EACH 0 117 0.5364 62.76                

1916 FNRS56PM 5/16-18 PEM NUT SS-0.125" PNL FSNR EACH 0 86 1.9477 167.50              

1917 FNRZ0632 #6-32X0.020-0.080" TH RIVET NU FSNR EACH 0 320 0.2394 76.62                

1918 FNRZ0832 #8-32X0.080-0.130" TH RIVET NU FSNR EACH 0 431 0.2845 122.62              

1919 FNRZ1032 #10-32X0.130-0.225" TH RIVET N FSNR EACH 0 80 0.3144 25.15                

1920 FNRZ1416 #1/4-20X.027-0.165" TH RIVET N FSNR EACH 0 359 0.3741 134.31              

1921 FNRZ1420 #1/4-20X.165-0.260" TH RIVET N FSNR EACH 0 151 0.4444 67.10                

1922 FNSQR516 NUT, SQUARE, 5/16-18 FSNR EACH 0 42 0.2057 8.64                   

1923 FNTS0400 #4-40 SQUARE NUT T-STRUT FSNR EACH 0 125 0.3212 40.15                

1924 FNTS0400 #4-40 SQUARE NUT T-STRUT FSNR EACH BAS 100 0.3212 32.12                

1925 FNTZ1476 1/4-20 TEE NUT-7/16"H FSNR EACH 0 726 0.1272 92.35                

1926 FNTZ3876 3/8-16 TEE NUT 7/16"H FSNR EACH 0 179 2.1055 376.88              

1927 FNWS0832 8-32 WING NUT SS FSNR EACH 0 589 0.2481 146.13              

1928 FNZR0820 #8-32X0.020-0.080" TH RIVET NU FSNR EACH 0 100 0.2245 22.45                

1929 FP041415 #4 IDX1/4"ODX1 1/2"L RND ALU S FSNR EACH 0 452 0.86 388.72              

1930 FP041418 #4IDX1/4"ODX1/8"L RND ALU SPCR FSNR EACH 0 454 0.2005 91.01                

1931 FP041418 #4IDX1/4"ODX1/8"L RND ALU SPCR FSNR EACH A01 10 0.2023 2.02                   

1932 FP061414 #6IDX1/4"ODX1/4"L RND ALU SPCR FSNR EACH 0 183 0.2416 44.22                

1933 FP061418 #6IDX1/4"ODX1/8"L RND ALU SPR FSNR EACH 0 172 0.23 39.56                

1934 FP063614 #6 ID 1/4 OD 3/16L ALU SPCR INAC EACH 0 210 0.2302 48.34                

1935 FP083815 #8IDX3/8"ODX1 1/2"L RND ALU SP FSNR EACH 0 40 1.4 56.00                

1936 FP103810 #10IDX3/8"OD X 1"L RND ALU SPC FSNR EACH 0 18 1.07 19.26                

1937 FP251863 THRD ALU SPCR-1/4ODX3/16L-6-32 FSNR EACH 0 50 0.4108 20.54                

1938 FP383401 3/8ID X 3/4"0D X 1"L RND ALU S FSNR EACH 0 92 2.5107 230.98              

1939 FP383434 3/8 ID X 3/4 OD X 3/4 L AL SPC FSNR EACH 0 74 2.34 173.16              

1940 FP563412 5/16"ID 3/4"OD 1/2"L RND ALU S FSNR EACH 0 116 1.995 231.42              

1941 FPM51025 M5-10MM D 25MM LG-RND ALU SPCR FSNR EACH 0 186 1.6526 307.38              

1942 FPN41415 #4IDX1/4"ODX1.5"L RND NYL SPCR FSNR EACH 0 81 0.1943 15.74                

1943 FPN61315 #6ID X1/4"ODX1.5"L RND NYL SPC FSNR EACH 0 248 0.176 43.65                

1944 FPN61438 #6IDX1/4"ODX3/8"L RND NYL SPCR FSNR EACH 0 78 0.0818 6.38                   

1945 FPN61458 #6 IDX1/4"ODX5/8"L RND NYL SPC FSNR EACH 0 398 0.0842 33.51                

1946 FPPCAP01 PUSH/PULL CAPT FSTNR FSNR EACH 0 3 1.3833 4.15                   

1947 FQCW8546 QTR TURN CUPPED WASHER FSNR EACH 0 5 0.426 2.13                   

1948 FQES1418 QTR TURN EJECTOR SPRING FSNR EACH 0 6 0.7467 4.48                   

1949 FQRS8535 QTR TURN RECEPTACLE SNAP-IN FSNR EACH 0 5 2.66 13.30                

1950 FQRT8534 QTR TURN RETAINER - SS FSNR EACH 0 4 0.2425 0.97                   

1951 FQSP85P5 QTR TURN STUD-PHIL FSNR EACH 0 5 0.9 4.50                   

1952 FR180612 ALU POP RVT-1/8" .016-.125" TH FSNR EACH 0 3,732.00 0.03 111.80              

1953 FR180612 ALU POP RVT-1/8" .016-.125" TH FSNR EACH BAS 250 0.0362 9.05                   

1954 FR181825 ALU POP RVT 1/8"D X0.188-0.250 FSNR EACH 0 490 0.0295 14.46                

1955 FR362537 ALU POP RVT 3/16"D X0.251-0.37 FSNR EACH 0 312 0.0555 17.32                

1956 FR365062 ALU POP RVT-3/16 0.5-0.62 TH FSNR EACH 0 800 0.0865 69.20                

1957 FR367587 ALU POP RVT-3/16 -0.75-0.87 TH FSNR EACH 0 500 0.184 91.99                

1958 FS1012THP 10-32 X 1/2 TRUSS PHIL FSNR EACH 0 38 0.0913 3.47                   

1959 FS142012SS 1/4-20 X 1/2 PPSS FSNR EACH 0 148 0.2056 30.43                

1960 FS14201SHC 1/4-20 X 1 SHCS SS FSNR EACH 0 200 0.2094 41.88                



SYNCROLITE VALUATION REPORT

1961 FSB10255 SHLDR BOLT #10-32 X 1/4 X 5/16 FSNR EACH 0 13 2.6938 35.02                

1962 FSB10255 SHLDR BOLT #10-32 X 1/4 X 5/16 FSNR EACH BAS 55 2.3558 129.57              

1963 FSC063278 #6-32 X 7/8 SCKT CAP SS FSNR EACH 0 48 0.0638 3.06                   

1964 FSC103278 #10-32 X 7/8 SCKT CAP SS FSNR EACH 0 120 0.1198 14.37                

1965 FSC56512 5/16-18 X 5-1/2" SCKT CAP SS FSNR EACH 0 91 2.01 182.91              

1966 FSCPS0612 #6-32 X 1/2" SCKT CAP BTN SS INAC EACH 0 1,000.00 0.045 45.00                

1967 FSCS0214 2-56 X 1/4 SHCS SS FSNR EACH 0 200 5.97 1,194.00           

1968 FSFB0434 #4-40 X 3/4" FLAT PHIL SS BLK FSNR EACH 0 9,575.00 0.0228 218.31              

1969 FSFB0610 #6-32 X 1" FLAT PHIL SS BLK FSNR EACH 0 9,384.00 0.0357 335.01              

1970 FSFB0614 #6-32 X 1/4" FLAT PHIL SS BLK FSNR EACH 0 6,148.00 0.0265 162.92              

1971 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH 0 478 0.0235 11.23                

1972 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH 401 50 0.0234 1.17                   

1973 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH 703 70 0.0235 1.65                   

1974 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH 705 50 0.0235 1.18                   

1975 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH BAS 400 0.0235 9.40                   

1976 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH S02 100 0.0235 2.35                   

1977 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH S04 100 0.0235 2.35                   

1978 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH S07 100 0.0235 2.35                   

1979 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH X01 100 0.0235 2.35                   

1980 FSFB0656 #6-32 X 5/16" FLAT PHIL SS BLK FSNR EACH X05 100 0.0235 2.35                   

1981 FSFB1038 #10-32 X 3/8" FLAT PHIL BLK SS FSNR EACH 0 (28.00)            0.1289 (3.61)                 

1982 FSFS0214 #2-56 X 1/4" FLAT PHIL SS FSNR EACH 0 300 0.0451 13.53                

1983 FSFS0410 #4-40 X 1" FLAT PHIL SS FSNR EACH 0 5,529.00 0.056 309.62              

1984 FSFS0414 #4-40 X 1/4" FLAT PHIL SS FSNR EACH 0 440 0.0375 16.52                

1985 FSFS0414 #4-40 X 1/4" FLAT PHIL SS FSNR EACH A01 100 0.0166 1.66                   

1986 FSFS0414 #4-40 X 1/4" FLAT PHIL SS FSNR EACH BAS 100 0.0166 1.66                   

1987 FSFS0438 #4-40 X 3/8" FLAT PHIL SS FSNR EACH 0 5,100.00 0.0394 200.95              

1988 FSFS0438 #4-40 X 3/8" FLAT PHIL SS FSNR EACH 401 50 0.0394 1.97                   

1989 FSFS0438 #4-40 X 3/8" FLAT PHIL SS FSNR EACH M03 50 0.0394 1.97                   

1990 FSFS0456 4-40 X 5/16 FLAT PHIL SS FSNR EACH 0 150 0.0396 5.94                   

1991 FSFS0458 4-40 X 5/8 FLAT PHIL FSNR EACH 0 159 0.2347 37.31                

1992 FSFS0476 #4-40 X 7/16" FLAT PHIL SS FSNR EACH 0 232 0.0379 8.80                   

1993 FSFS0612 #6-32 X 1/2" FLAT PHIL SS FSNR EACH 0 196 0.0492 9.64                   

1994 FSFS0634 #6-32 X 3/4" FLAT PHIL SS FSNR EACH 0 872 0.0489 42.64                

1995 FSFS0810 #8-32 X 1" FLAT PHIL SS FSNR EACH 0 17 0.1018 1.73                   

1996 FSFS0812 #8-32 X 1/2" FLAT PHIL SS FSNR EACH 0 88 0.0633 5.57                   

1997 FSFS0812 #8-32 X 1/2" FLAT PHIL SS FSNR EACH SB3 10 0.04 0.40                   

1998 FSFS0812 #8-32 X 1/2" FLAT PHIL SS FSNR EACH SB4 100 0.0405 4.05                   

1999 FSFS0834 #8-32 X 3/4" FLAT PHIL SS FSNR EACH 0 (236.00)         0.0863 (20.36)               

2000 FSFS0838 #8-32 X 3/8" FLAT PHIL SS FSNR EACH 0 791 0.027 21.36                

2001 FSFS0858 #8-32 X 5/8" FLAT PHIL SS FSNR EACH 0 1,759.00 0.0646 113.63              

2002 FSFS0858 #8-32 X 5/8" FLAT PHIL SS FSNR EACH BAS 200 0.0646 12.92                

2003 FSFS1010 #10-32 X 1" FLAT PHIL SS FSNR EACH 0 764 0.1408 107.57              

2004 FSFS1012 #10-32 X 1/2" FLAT PHIL SS FSNR EACH 0 1,200.00 0.09 107.98              

2005 FSFS1020 #10-32 X 2" FLAT PHIL SS FSNR EACH 0 21 0.2567 5.39                   

2006 FSFS1020 #10-32 X 2" FLAT PHIL SS FSNR EACH BAS 50 0.2569 12.85                

2007 FSFS1034 #10-32 X 3/4" FLAT PHIL SS FSNR EACH 0 540 0.0967 52.22                

2008 FSFS1038 #10-32 X 3/8" FLAT PHIL SS FSNR EACH 0 846 0.0854 72.25                

2009 FSFS1412 #1/4-20 X 1/2 FLAT PHIL SS FSNR EACH 0 747 0.1784 133.24              

2010 FSFS1415 #1/4-20 X 1 1/2" FLAT PHIL SS FSNR EACH 0 500 0.155 77.50                

2011 FSFS1458 #1/4-20 X 5/8 FLAT PHIL SS FSNR EACH 0 400 0.08 32.00                

2012 FSFSM306 M3 X 6MM FLAT PHIL SS FSNR EACH 0 511 0.0563 28.77                

2013 FSFSM308 M3 X 8 FLAT PHIL SS FSNR EACH 0 300 0.0407 12.21                



SYNCROLITE VALUATION REPORT

2014 FSFSM420 M4 X 20 FLAT PHIL SS FSNR EACH 0 278 0.0789 21.94                

2015 FSFSM420 M4 X 20 FLAT PHIL SS FSNR EACH BAS 20 0.0789 1.58                   

2016 FSHIM016 SHIM WASHER - 0.016 THK FSNR EACH 0 50 0.282 14.10                

2017 FSHS0838 #8 X 3/8" SLT HEX ST MTL SS FSNR EACH 0 1,000.00 0.0673 67.30                

2018 FSHS10ST #10 X 3/4 SELF DRILL SELF TAP FSNR EACH 0 23 0.174 4.00                   

2019 FSPB0412 #4-40 X 1/2" PAN PHIL BLK SS FSNR EACH 0 9,840.00 0.0208 204.67              

2020 FSPB0412 #4-40 X 1/2" PAN PHIL BLK SS FSNR EACH BAS 200 0.0208 4.16                   

2021 FSPB0414 #4-40 X 1/4" PAN PHIL BLK SS FSNR EACH 0 3,032.00 0.019 57.61                

2022 FSPB0434 #4-40 X 3/4" PAN PHIL BLK SS FSNR EACH 0 1,276.00 0.0246 31.39                

2023 FSPB0436 #4-40 X 3/16" PAN PHIL BLK SS FSNR EACH 0 74 0.0281 2.08                   

2024 FSPB0438 #4-40 X 3/8" PAN PHIL BLK SS FSNR EACH 0 19,590.00 0.0228 446.66              

2025 FSPB0610 #6-32 X 1" PAN PHIL BLK SS FSNR EACH 0 6,578.00 0.0373 245.36              

2026 FSPB0614 #6-32 X 1/4" PAN PHIL BLK SS FSNR EACH BAS 250 0.0236 5.90                   

2027 FSPB0636 #6-32 X 3/16" PAN PHIL BLK SS FSNR EACH 0 4,594.00 0.026 119.44              

2028 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH 0 5,474.00 0.033 180.61              

2029 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH A01 100 0.0253 2.53                   

2030 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH A02 100 0.0253 2.53                   

2031 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH A04 100 0.0253 2.53                   

2032 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH A06 100 0.0253 2.53                   

2033 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH A07 100 0.0253 2.53                   

2034 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH A08 25 0.0253 0.63                   

2035 FSPB0638 #6-32 X 3/8" PAN PHIL BLK SS FSNR EACH BAS 250 0.0253 6.33                   

2036 FSPB0656 #6-32 X 5/16" PAN PHIL BLK SS FSNR EACH 0 755 0.07 52.85                

2037 FSPB0656 #6-32 X 5/16" PAN PHIL BLK SS FSNR EACH M01 100 0.0336 3.36                   

2038 FSPB0656 #6-32 X 5/16" PAN PHIL BLK SS FSNR EACH M06 50 0.0336 1.68                   

2039 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH 703 50 0.0453 2.27                   

2040 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A01 100 0.0576 5.76                   

2041 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A02 100 0.0503 5.03                   

2042 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A03 25 0.0453 1.13                   

2043 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A04 100 0.0503 5.03                   

2044 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A05 50 0.0503 2.52                   

2045 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A06 100 0.0432 4.32                   

2046 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A07 50 0.0503 2.52                   

2047 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH A08 50 0.0432 2.16                   

2048 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH BAS 1,000.00 0.0453 45.30                

2049 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH S04 50 0.0453 2.27                   

2050 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH S07 50 0.0502 2.51                   

2051 FSPB0812 #8-32 X 1/2" PAN PHIL BLK SS FSNR EACH X05 100 0.0576 5.76                   

2052 FSPB08125 8-32 X 1-1/4 PAN PHIL BLK FSNR EACH 0 463 0.2903 134.40              

2053 FSPB0814 #8-32 X 1/4" PAN PHIL BLK SS FSNR EACH 0 3,668.00 0.0377 138.18              

2054 FSPB0838 #8-32 X 3/8" PAN PHIL BLK SS FSNR EACH A01 100 0.0412 4.12                   

2055 FSPB0838 #8-32 X 3/8" PAN PHIL BLK SS FSNR EACH BAS 500 0.0417 20.85                

2056 FSPB0856 #8-32 X 5/16" PAN PHIL BLK SS FSNR EACH 0 8,992.00 0.05 449.82              

2057 FSPB1010 #10-32 X 1" PAN PHIL BLK SS FSNR EACH 0 1,339.00 0.056 74.98                

2058 FSPB1038 #10-32 X 3/8" PAN PHIL BLK SS FSNR EACH 0 5,354.00 0.0638 341.58              

2059 FSPB1410 1/4-20 X 1" PAN PHIL BLK SS FSNR EACH 0 1,204.00 0.234 281.73              

2060 FSPB1412 1/4-20 x 3/8" PAN PHIL BLK SS FSNR EACH 0 188 0.1465 27.55                

2061 FSPB1425 1/4-20 x 2.5" PAN PHIL BLK FSNR EACH 0 1,068.00 0.2872 306.73              

2062 FSPB1434 1/4-20 X 3/4" PAN PHIL BLK SS FSNR EACH 0 30 0.1127 3.38                   

2063 FSPB1434 1/4-20 X 3/4" PAN PHIL BLK SS FSNR EACH SB3 4 0.1125 0.45                   

2064 FSPB1458 1/4-20 X 5/8" PAN PHIL BLK SS FSNR EACH 0 297 0.1484 44.08                

2065 FSPC10316SS #10 X 3/16" SPACER SS FSNR EACH 0 100 1.3669 136.69              

2066 FSPM1034 #10 X 3/4"L SS PAN PHIL SHT MT FSNR EACH 0 64 0.1986 12.71                



SYNCROLITE VALUATION REPORT

2067 FSPP0438 #4-20 X 3/8" PAN PHIL PLASTITE FSNR EACH 0 227 0.079 17.94                

2068 FSPP0438 #4-20 X 3/8" PAN PHIL PLASTITE FSNR EACH BAS 100 0.0694 6.94                   

2069 FSPR1434 1/4-20 X 3/4" PAN PHIL BRASS FSNR EACH 0 43 0.4304 18.51                

2070 FSPS0014 #0-80 X 1/4" PAN PHIL SS FSNR EACH 0 841 0.0322 27.08                

2071 FSPS0212 #2-56 X 1/2" PAN PHIL SS FSNR EACH 0 1,100.00 0.0497 54.67                

2072 FSPS0214 #2-56 X 1/4" PAN PHIL SS FSNR EACH 0 300 0.0422 12.66                

2073 FSPS0338 #3-56 X 3/8" PAN PHIL SS FSNR EACH 0 72 0.0917 6.60                   

2074 FSPS0410 #4-40 X 1" PAN PHIL SS FSNR EACH 0 500 0.0869 43.45                

2075 FSPS0414 #4-40 X 1/4" PAN PHIL SS FSNR EACH 0 345 0.0293 10.10                

2076 FSPS0414 #4-40 X 1/4" PAN PHIL SS FSNR EACH BAS 100 0.0145 1.45                   

2077 FSPS0414 #4-40 X 1/4" PAN PHIL SS FSNR EACH S02 120 0.0145 1.74                   

2078 FSPS0417 #4-40 X 1 3/4" PAN PHIL SS FSNR EACH 0 633 0.0848 53.68                

2079 FSPS0420 #4-40 X 2" PAN PHIL SS FSNR EACH 0 300 0.094 28.20                

2080 FSPS0420 #4-40 X 2" PAN PHIL SS FSNR EACH S02 20 0.094 1.88                   

2081 FSPS0436 #4-40 X 3/16" PAN PHIL SS FSNR EACH 0 3,480.00 0.0399 138.84              

2082 FSPS0456 #4-40 X 5/16" PAN PHIL SS FSNR EACH 0 1,926.00 0.0265 51.11                

2083 FSPS0456 #4-40 X 5/16" PAN PHIL SS FSNR EACH S02 20 0.0432 0.86                   

2084 FSPS0458 4-40 X 5/8 PAN PHIL SS FSNR EACH 0 840 0.0447 37.52                

2085 FSPS0612 #6-32 X 1/2" PAN PHIL SS FSNR EACH BAS 300 0.0443 13.29                

2086 FSPS0614 #6-32 X 1/4" PAN PHIL SS FSNR EACH 0 3,616.00 0.0415 150.22              

2087 FSPS0634 #6-32 X 3/4" PAN PHIL SS FSNR EACH 0 626 0.0568 35.55                

2088 FSPS0636 #6-32 X 3/16" PAN PHIL SS INAC EACH 0 36 0.0619 2.23                   

2089 FSPS0638 #6-32 X 5/8" PAN PHIL SS FSNR EACH 0 2,000.00 0.0641 128.13              

2090 FSPS0638S #6-32 X 3/8" PAN PHIL SS FSNR EACH 0 48 0.0448 2.15                   

2091 FSPS0656 #6-32 X 5/16" PAN PHIL SS FSNR EACH 0 5,000.00 0.0469 234.63              

2092 FSPS0810 #8-32 X 1" PAN PHIL SS FSNR EACH 0 1,300.00 0.0675 87.75                

2093 FSPS08112 #8-32 X 1 1/2" PAN PHIL SS FSNR EACH 0 1,000.00 0.077 77.00                

2094 FSPS0834 #8-32 X 3/4" PAN PHIL SS FSNR EACH 0 3,972.00 0.0786 312.20              

2095 FSPS0838 #8-32 X 3/8" PAN PHIL SS FSNR EACH 0 1,500.00 0.0702 105.26              

2096 FSPS0858 #8-32 X 5/8" PAN PHIL SS FSNR EACH 0 666 0.0867 57.74                

2097 FSPS0878 #8-32 X 7/8" PAN PHIL 316 SS FSNR EACH 0 100 0.2659 26.59                

2098 FSPS1010 #10-32 X 1" PAN PHIL SS FSNR EACH 0 862 0.1494 128.78              

2099 FSPS1010 #10-32 X 1" PAN PHIL SS FSNR EACH S04 20 0.1494 2.99                   

2100 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH 0 2,556.00 0.094 240.27              

2101 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH A01 20 0.094 1.88                   

2102 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH A02 21 0.094 1.97                   

2103 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH A03 100 0.094 9.40                   

2104 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH A05 100 0.094 9.40                   

2105 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH A06 100 0.094 9.40                   

2106 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH A07 100 0.094 9.40                   

2107 FSPS1012 #10-32 X 1/2" PAN PHIL SS FSNR EACH A08 25 0.094 2.35                   

2108 FSPS1014 #10-32 X 1/4" PAN PHIL SS FSNR EACH 0 1,300.00 0.0684 88.92                

2109 FSPS1034 #10-32 X 3/4" PAN PHIL SS FSNR EACH 0 9 0.1167 1.05                   

2110 FSPS1038 #10-32 X 3/8" PAN PHIL SS FSNR EACH 0 1,296.00 0.0981 127.08              

2111 FSPS10516 #10-32 X 5/16" PAN PHIL SS FSNR EACH 0 48 0.0944 4.53                   

2112 FSPS1058 #10-32 X 5/8" PAN PHIL SS FSNR EACH 0 (41.00)            0.2261 (9.27)                 

2113 FSPS10716 #10-32 X 7/16" PAN PHIL SS FSNR EACH 0 2,954.00 0.0269 79.38                

2114 FSPS14TF 1/4 TURN SCREW ASSY FOR LH FSNR EACH 0 15 0 -                     

2115 FSPSEM0812 #8-32 X 1/2" PAN PHIL-SS-SEM FSNR EACH 0 1,080.00 0.0001 0.10                   

2116 FSPSEW0812 #8-32 X 1/2" PAN PHIL W/ EXT W FSNR EACH 0 4,000,000.00 0.0001 334.55              

2117 FSPSM306 M3 X 6 PAN PHIL SS FSNR EACH 0 1,800.00 0.0518 93.24                

2118 FSPSM306 M3 X 6 PAN PHIL SS FSNR EACH A01 20 0.0518 1.04                   

2119 FSPSM308 M3 X 8 PAN PHIL SS FSNR EACH 0 66 0.0406 2.68                   



SYNCROLITE VALUATION REPORT

2120 FSPSM405 M4 X 5 PAN PHIL SS FSNR EACH 0 1,000.00 0.035 35.00                

2121 FSPSM406 M4 X 6 PAN PHIL SS FSNR EACH 0 508 0.081 41.15                

2122 FSPSM408 M4 X 8 PAN PHIL SS FSNR EACH 0 211 0.0733 15.46                

2123 FSPSM408 M4 X 8 PAN PHIL SS FSNR EACH BAS 48 0.0449 2.16                   

2124 FSPSM410 M4 X 10 PAN PHIL SS FSNR EACH 0 29 0.0617 1.79                   

2125 FSPSM410 M4 X 10 PAN PHIL SS FSNR EACH BAS 100 0.0616 6.16                   

2126 FSPSM612 M6 X 12 PAN PHIL SS FSNR EACH 0 202 0.2189 44.22                

2127 FSPTH0834SS #8-32 X 3/4" TRUSS HEAD PHIL S FSNR EACH 0 500 0.3459 172.94              

2128 FSPTH0858SS #8-32 X 5/8" TRUSS HEAD PHIL S FSNR EACH 0 100 0.3163 31.63                

2129 FSPZM356 M3.5 X 6 PAN PHIL ZINC STL FSNR EACH 0 33 0.0364 1.20                   

2130 FSRS0832 #8-32 PRESS-IN RTRCTBL SCREW FSNR EACH 0 78 2.6236 204.64              

2131 FSSHM0812 #8 Sheet Metal Screw 1/2" PPSS FSNR EACH 0 58 0.0559 3.24                   

2132 FSTH0812 #8-32 X 1/2 Truss Head BLK FSNR EACH 0 839 0.268 224.85              

2133 FSU632516SS SCREW, 6-32, 5/16", FLAT UNDER FSNR EACH 0 196 0.0493 9.67                   

2134 FSUS0614 #6-32 X 1/4 FLAT PHIL U-CUT SS FSNR EACH 0 1,373.00 0.0458 62.89                

2135 FSUS0638 #6-32 X 3/8 FLAT PHIL U-CUT SS FSNR EACH 0 222 0.0481 10.67                

2136 FSUS0838 #8-32 X 3/8 FLAT PHIL U-CUT SS FSNR EACH 0 520 0.0507 26.36                

2137 FSUS1438 1/4-20 X 3/8 FLAT PHIL U-CUT FSNR EACH 0 60 0.0902 5.41                   

2138 FT0438FF #4-40 X 3/8"L-1/4 HEX  F-F STD FSNR EACH 0 100 0.2725 27.25                

2139 FT0612FF #6-32 X 1/2"L-1/4 HEX F-F STDO FSNR EACH 0 210 0.274 57.53                

2140 FT0614FF #6-32 X 1/4"L-1/4 HEX F-F STDO FSNR EACH 0 220 0.2329 51.23                

2141 FT0620FF #6-32 X 2"L-1/4 HEX F-F STDOFF FSNR EACH 0 100 0.8303 83.03                

2142 FT0634FF #6-32 X 3/4"L-1/4 HEX F-F STDO FSNR EACH 0 1,642.00 0.37 607.54              

2143 FT0638FF #6-32 X 3/8"L-1/4 HEX F-F STDO FSNR EACH 0 12 0.27 3.24                   

2144 FT0810MF #8-32 X 1"L-1/4 HEX M-F STDOFF INAC EACH 0 19 0.51 9.69                   

2145 FT0820FF #8-32 X 2"L-1/4 HEX F-F STDOFF FSNR EACH 0 214 0.78 166.92              

2146 FT0834FF #8-32 X 3/4"L-1/4 HEX F-F STDO FSNR EACH 0 304 0.4227 128.50              

2147 FT0854FF #8-32 X 1 1/4"L-1/4 HEX F-F ST FSNR EACH 0 552 0.58 320.16              

2148 FT0875FF #8-32 X 1 3/4"L-1/4 HEX F-F ST FSNR EACH 0 296 1.79 529.84              

2149 FT1011258 10-32 X 1 1/2 5/8 HEX F-F STDO FSNR EACH 0 12 1.72 20.64                

2150 FT1012FSS  #10-32 X 1/2 HEX X 1/2 L AL F FSNR EACH 0 41 1.76 72.16                

2151 FT103412F 10-32 X 1/2 OD X 3/4 FEM AL FSNR EACH 0 38 0.74 28.12                

2152 FT1034FF #10-32 X 3/4"L-3/8 HEX F-F STD FSNR EACH 0 40 2.8558 114.23              

2153 FT1417FF 1/4-20 X 1.75"L X 5/8 HEX FF S FSNR EACH 0 6 1.4617 8.77                   

2154 FT832X114FF #8-32 X 1 1/4"L-3/8 HEX F-F ST FSNR EACH 0 387 1.31 506.97              

2155 FTHSC10321 PLASTIC HEAD THMB SCRW 10-32X1 FSNR EACH 0 70 0.7666 53.66                

2156 FTM419MF M4 X 19MM M-F HEX STDOFF FSNR EACH 0 20 0 -                     

2157 FTM425MF M4X25LX6 HEX M-F STDOFF ZINC/B FSNR EACH 0 309 1.4505 448.20              

2158 FW102050SS #10 Bonded Sealing Washer .2ID FSNR EACH 0 92 0.1366 12.57                

2159 FWF312SS #6 FLAT WASHER 0.312" OD SS FSNR EACH 0 48 0.0117 0.56                   

2160 FWFB0014 1/4" FLAT WASHER-STL-BLK FSNR EACH 0 2,888.00 0.0158 45.63                

2161 FWFB0800 #8 FLAT WASHER BLK SS FSNR EACH BAS 500 0.1201 60.05                

2162 FWFB0800 #8 FLAT WASHER BLK SS FSNR EACH X05 100 0.1253 12.53                

2163 FWFC0812 #8 ID X 1/2 OD FLAT WASHER CAD FSNR EACH 0 1,065.00 0.0346 36.85                

2164 FWFD1175 DELRIN WASHER-1"ID X 1.75"OD FSNR EACH 0 6 1.3 7.80                   

2165 FWFN0638 #6 NEOPRENE BOND WSHR 3/8" OD FSNR EACH 0 498 0.121 60.26                

2166 FWFN0812 #8 NEOPRENE BOND WSHR 1/2" OD FSNR EACH 0 775 0.1367 105.94              

2167 FWFN0812 #8 NEOPRENE BOND WSHR 1/2" OD FSNR EACH X07 50 0.1347 6.74                   

2168 FWFN0838 #8 NEOPRENE BOND WSHR 3/8" OD FSNR EACH 703 100 0.124 12.40                

2169 FWFN0838 #8 NEOPRENE BOND WSHR 3/8" OD FSNR EACH 705 100 0.124 12.40                

2170 FWFN0838 #8 NEOPRENE BOND WSHR 3/8" OD FSNR EACH BAS 400 0.124 49.60                

2171 FWFN0838 #8 NEOPRENE BOND WSHR 3/8" OD FSNR EACH S06 25 0.124 3.10                   

2172 FWFN0838 #8 NEOPRENE BOND WSHR 3/8" OD FSNR EACH S07 100 0.124 12.40                



SYNCROLITE VALUATION REPORT

2173 FWFPTFE516 5/16 FLAT WASHER PTFE FSNR EACH 0 100 1.644 164.40              

2174 FWFS0012 FLAT WASHER - 1/2" SS FSNR EACH 0 474 0.1348 63.89                

2175 FWFS0012 FLAT WASHER - 1/2" SS FSNR EACH BAS 20 0.116 2.32                   

2176 FWFS0014 1/4" MIL SPEC FLAT WASHER SS FSNR EACH BAS 300 0.1169 35.07                

2177 FWFS0014 1/4" MIL SPEC FLAT WASHER SS FSNR EACH S02 100 0.1169 11.69                

2178 FWFS0034 3/4" FLAT WASHER SS FSNR EACH 0 6 0.5628 3.38                   

2179 FWFS0038 3/8" FLAT WASHER SS FSNR EACH 0 316 0.0811 25.63                

2180 FWFS0038 3/8" FLAT WASHER SS FSNR EACH BAS 40 0.0811 3.24                   

2181 FWFS0056 5/16" FLAT WASHER SS FSNR EACH 0 4,367.00 0.046 200.99              

2182 FWFS0056 5/16" FLAT WASHER SS FSNR EACH BAS 200 0.0058 1.16                   

2183 FWFS0300 #3 FLAT WASHER SS INAC EACH 0 (40.00)            0.0135 (0.54)                 

2184 FWFS0400 #4 FLAT WASHER SS FSNR EACH 0 1,162.00 0.0079 9.18                   

2185 FWFS0600 #6 FLAT WASHER SS FSNR EACH 0 932 0.011 10.25                

2186 FWFS0600 #6 FLAT WASHER SS FSNR EACH BAS 200 0.0191 3.82                   

2187 FWFS06FN #6 FLAT FENDER WASHER SS FSNR EACH 0 2,954.00 0.0628 185.50              

2188 FWFS08500 #8 OVRSIZE FLAT WSHR X .500OD FSNR EACH 0 200 0.1013 20.25                

2189 FWFS1000 #10 FLAT WASHER SS FSNR EACH 0 1,422.00 0.0206 29.29                

2190 FWFS1000 #10 FLAT WASHER SS FSNR EACH A01 50 0.0206 1.03                   

2191 FWFS1000 #10 FLAT WASHER SS FSNR EACH A03 50 0.0206 1.03                   

2192 FWFS1000 #10 FLAT WASHER SS FSNR EACH A05 100 0.0223 2.23                   

2193 FWFS1000 #10 FLAT WASHER SS FSNR EACH BAS 50 0.0206 1.03                   

2194 FWFS1000 #10 FLAT WASHER SS FSNR EACH S04 100 0.0206 2.06                   

2195 FWFSJ120 1/2 X 2" JUMBO FLAT WASHER-SS FSNR EACH 0 9 7.9422 71.48                

2196 FWFSM510 M5 FLAT WASHER-10MM DIA FSNR EACH 0 600 0.0269 16.14                

2197 FWFT0612 #6 ID X 1/2"OD TFE WASHER FSNR EACH 0 23 0 -                     

2198 FWFT0834 #8 ID X 3/4"OD TFE WASHER FSNR EACH 0 107 0.5134 54.93                

2199 FWFT3415 TFE FLAT WASHER 3/4ID 1.5OD FSNR EACH 0 23 4.3574 100.22              

2200 FWFTF121 1/2"ID X 1"OD PTFE WASHER FSNR EACH 0 10 1.415 14.15                

2201 FWFZ0012 1/2" FLAT WSHR USS HIGH ST ZIN FSNR EACH 0 202 0.3251 65.67                

2202 FWFZ0012 1/2" FLAT WSHR USS HIGH ST ZIN FSNR EACH BAS 25 0.3251 8.13                   

2203 FWFZ0056 5/16" FLAT WSHR USS HIGH ST ZI FSNR EACH 0 299 0.1156 34.56                

2204 FWFZ0696 #6 FLAT WSHR X 9/16"OD ZINC FSNR EACH 0 4,245.00 0.0299 126.92              

2205 FWFZ0696 #6 FLAT WSHR X 9/16"OD ZINC FSNR EACH BAS 200 0.0299 5.98                   

2206 FWFZ0H38 3/8" FLAT WSHR USS HIGH ST ZIN FSNR EACH 0 568 0.133 75.54                

2207 FWFZ0H38 3/8" FLAT WSHR USS HIGH ST ZIN FSNR EACH BAS 50 0.133 6.65                   

2208 FWFZ0L38 3/8" FLAT WSHR SAE LOW ST ZINC FSNR EACH 0 1,532.00 0.028 42.90                

2209 FWFZ0L38 3/8" FLAT WSHR SAE LOW ST ZINC FSNR EACH BAS 100 0.0231 2.31                   

2210 FWFZ1202 1/2" FLAT WASHER 2" OD FSNR EACH 0 460 1.4039 645.79              

2211 FWFZ1202 1/2" FLAT WASHER 2" OD FSNR EACH BAS 20 1.4039 28.08                

2212 FWSB0014 1/4" SPLIT LOCK WASHER-BLK STL FSNR EACH 0 233 0.008 1.86                   

2213 FWSB08375 #8 X .375"OD FLAT WASHER-BLK FSNR EACH 0 500 0.0401 20.04                

2214 FWSR0012 1/2 SPLIT WASHER BRONZE FSNR EACH 0 199 0.6916 137.63              

2215 FWSR0012 1/2 SPLIT WASHER BRONZE FSNR EACH BAS 20 0.6916 13.83                

2216 FWSR0014 1/4" SPLIT WASHER BRONZE FSNR EACH 0 5,080.00 0.0992 503.92              

2217 FWSR0014 1/4" SPLIT WASHER BRONZE FSNR EACH BAS 450 0.0992 44.64                

2218 FWSR0038 3/8" SPLIT WASHER BRONZE FSNR EACH 0 582 0.3361 195.60              

2219 FWSR0038 3/8" SPLIT WASHER BRONZE FSNR EACH BAS 50 0.3361 16.81                

2220 FWSR0056 5/16" SPLIT WASHER BRONZE FSNR EACH 0 560 0.2264 126.79              

2221 FWSR0056 5/16" SPLIT WASHER BRONZE FSNR EACH BAS 50 0.2264 11.32                

2222 FWSS0014 1/4" SPLIT WASHER SS FSNR EACH BAS 200 0.0769 15.38                

2223 FWSS0014 1/4" SPLIT WASHER SS FSNR EACH S02 100 0.0769 7.69                   

2224 FWSS0038 3/8" SPLIT WASHER SS FSNR EACH 0 477 0.0897 42.81                

2225 FWSS0038 3/8" SPLIT WASHER SS FSNR EACH BAS 100 0.0835 8.35                   



SYNCROLITE VALUATION REPORT

2226 FWSS0056 5/16 SPLIT WASHER SS FSNR EACH 0 5 0.062 0.31                   

2227 FWSS0600 #6 SPLIT WASHER SS FSNR EACH 0 6,314.00 0.0171 107.97              

2228 FWSS0800 #8 SPLIT WASHER SS FSNR EACH 0 10,307.00 0.0139 143.31              

2229 FWSS0800 #8 SPLIT WASHER SS FSNR EACH BAS 500 0.0139 6.95                   

2230 FWSS0800 #8 SPLIT WASHER SS FSNR EACH X05 100 0.0139 1.39                   

2231 FWSS1000 #10 SPLIT WASHER SS FSNR EACH 0 120 0.0124 1.49                   

2232 FWSS1000 #10 SPLIT WASHER SS FSNR EACH A01 50 0.0197 0.99                   

2233 FWSS1000 #10 SPLIT WASHER SS FSNR EACH A02 100 0.0197 1.97                   

2234 FWSS1000 #10 SPLIT WASHER SS FSNR EACH A03 100 0.0197 1.97                   

2235 FWSS1000 #10 SPLIT WASHER SS FSNR EACH A05 100 0.0197 1.97                   

2236 FWSS1000 #10 SPLIT WASHER SS FSNR EACH A06 100 0.0197 1.97                   

2237 FWSS1000 #10 SPLIT WASHER SS FSNR EACH A07 100 0.0197 1.97                   

2238 FWSS1000 #10 SPLIT WASHER SS FSNR EACH A08 100 0.0197 1.97                   

2239 FWSS1000 #10 SPLIT WASHER SS FSNR EACH BAS 144 0.0197 2.84                   

2240 FWSS1000 #10 SPLIT WASHER SS FSNR EACH S04 100 0.0197 1.97                   

2241 FWSS1001 #10 SS OVERSIZED FLAT WASHER FSNR EACH 0 106 0.0761 8.07                   

2242 FWSSM500 M5 SPLIT LOCK WASHER SS FSNR EACH 0 490 0.0246 12.05                

2243 FWT0878MF 8-32 X 7/8L M-F STDOFF-ZINC ST FSNR EACH 0 24 0.8038 19.29                

2244 FWTS0014 1/4" EXT TOOTH LOCK WASHER SS FSNR EACH 0 4,326.00 0.0252 109.02              

2245 FWTS0014 1/4" EXT TOOTH LOCK WASHER SS FSNR EACH BAS 200 0.0252 5.04                   

2246 FWTS0056 5/16" EXT TOOTH LOCK WASHER SS FSNR EACH 0 2,150.00 0.0484 104.06              

2247 FWTS0056 5/16" EXT TOOTH LOCK WASHER SS FSNR EACH BAS 100 0.0484 4.84                   

2248 FWTS0400 #4 EXT TOOTH LOCK WASHER SS FSNR EACH 0 3,746.00 0.0118 44.07                

2249 FWTS0600 #6 EXT TOOTH LOCK WASHER SS FSNR EACH 0 2,153.00 0.0244 52.53                

2250 FWTS0800 #8 EXT TOOTH LOCK WASHER SS FSNR EACH S07 100 0.0227 2.27                   

2251 FWTS1000 #10 EXT TOOTH L/W SS-QTY-1000 FSNR EACH 0 109 0.0141 1.54                   

2252 FWTS1000 #10 EXT TOOTH L/W SS-QTY-1000 FSNR EACH BAS 100 0.0141 1.41                   

2253 FWTS1000 #10 EXT TOOTH L/W SS-QTY-1000 FSNR EACH S04 50 0.0141 0.71                   

2254 FWTS14IN i 1/4" INT TOOTH LOCK WASHER FSNR EACH 0 30 0 -                     

2255 FWTSIE38 3/8" INT/EXT TOOTH L/W FSNR EACH 0 50 0.1826 9.13                   

2256 FWTSIE38 3/8" INT/EXT TOOTH L/W FSNR EACH BAS 50 0.1826 9.13                   

2257 FWTSIM10 M10 INT TOOTH L/W FSNR EACH 0 99 0.1548 15.33                

2258 FWWS2450 WAVE WASHER UTIL EACH 0 700 0.6485 453.97              

2259 FWWS3125 WAVE WASHER 5/16 SS ARCV EACH 0 62 5.3845 333.84              

2260 G01KFLAM 1K FLAMES - 1" X 23" ARCV EACH 0 7 0.92 6.44                   

2261 G01KH003 1K - 30 DEGREE LENS FRAME ARCV EACH 0 441 5.15 2,271.15           

2262 G01KH023 1K SET - 20/30 DEGREE LENSES ARCV EACH 0 132 10.3 1,359.60           

2263 G01KLCIR 1K LARGE CIRCLE - 10" X 11.5" ARCV EACH 0 15 2.43 36.45                

2264 G03KDRAN 3K DRAINS - 15" X 20" ARCV EACH 0 9 1.22 10.98                

2265 G03KFLAM 3K FLAMES - 15" X 40" ARCV EACH 0 1 4.05 4.05                   

2266 G07KPORC 7K SUPER DRAIN 20" X 25" GELS EACH 0 1 1.99 1.99                   

2267 G07KTURB 7K TURBINE 20" X 25" GELS EACH 0 3 1.99 5.97                   

2268 G3MSILADH 3M SILICONE TRANSFER ADHESIVE ARCV EACH 0 2.5 1,507.68 3,769.20           

2269 G532STD0 SXL/B53 C2 SCRL-STOCK DICHRO GELS EACH 0 1 1,079.25 1,079.25           

2270 G533STL0 SXL/B53 C3 SCRL-STOCK LENS/GOB GELS EACH 0 4 76.9025 307.61              

2271 GBADICHR BIAXIAL DICHRO GEL ARCV EACH 0 2 553.24 1,106.48           

2272 GBASTDGL BIAXIAL STANDARD SCROLL ARCV EACH 0 1 77.67 77.67                

2273 GBOP2027 BLK OUT PERMALAR-20X27 GELS EACH 0 157 1.7332 272.11              

2274 GCLDBFC0 CLR GEL LEADER-BIAX FINGERCUT ARCV EACH 0 15 6.5 97.50                

2275 GCLMYLR0 CLEAR MYLAR ROLL 27X50YD GELS EACH 0 412.5 0 -                     

2276 GCLRL5K0 CLEAR GEL-5K ROLL-15 7/8X200FT GELS FOOT 0 1,432.00 0.1874 268.40              

2277 GCLRL5K0 CLEAR GEL-5K ROLL-15 7/8X200FT GELS FOOT BET 15 0.19 2.85                   

2278 GCLRLMX0 CLEAR GEL-MX ROLL-10 1/2X200FT GELS FOOT 0 1,952.00 0.1074 209.73              



SYNCROLITE VALUATION REPORT

2279 GCLRLXL0 CLEAR GEL-XL ROLL-20 3/4X200FT GELS FOOT 0 1,777.34 0.265 470.99              

2280 GCLRLXLA CLEAR GEL-XL ROLL-20 7/8X200FT GELS FOOT 0 2,022.00 0.2657 537.25              

2281 GD12CTB0 DICHRO-HALF CTB GELS EACH 0 28 186 5,208.00           

2282 GD12CTO0 DICHRO-HALF CTO GELS EACH 0 35 265 9,275.00           

2283 GDBU2525 DICHROFILM BLUE-25"X25" PET GELS EACH 0 88.25 186.005 16,414.94         

2284 GDBU2525 DICHROFILM BLUE-25"X25" PET GELS EACH BET 1 186.01 186.01              

2285 GDBU2525J DICHROFILM BLUE-25"X25" PET GELS EACH 0 207 0 -                     

2286 GDBU2525J DICHROFILM BLUE-25"X25" PET GELS EACH JEL (2.00)              0 -                     

2287 GDC02525 DICHROFILM CTO-25"X25" GELS EACH 0 1 214.66 214.66              

2288 GDCB2525 DICHROFILM CTB-25"X25" GELS EACH 0 1 191.21 191.21              

2289 GDCL2525 DICHROFILM CLEAR-25"X25" PEN GELS EACH 0 2 5.58 11.16                

2290 GDCLR25 DICHRO CLEAR SH41 SUBSTRATE GELS EACH 0 358 5 1,790.00           

2291 GDCLRPFA DICHROFILM CLEAR PFA-500LP ARCV FOOT 0 75 79.6058 5,970.44           

2292 GDCTOHTR PETFILM CTO-HI TRANSMITTANCE GELS EACH 0 1.25 186 232.50              

2293 GDCTSTRW DICHROFILM CT-STRAW-25"X25" GELS EACH 0 26 186.1458 4,839.79           

2294 GDCTSTRW DICHROFILM CT-STRAW-25"X25" GELS EACH BET 1 186.35 186.35              

2295 GDCY2525 DICHROFILM CYAN-25"X25" PET GELS EACH 0 42 224.925 9,446.85           

2296 GDCY2525 DICHROFILM CYAN-25"X25" PET GELS EACH BET 2 186.065 372.13              

2297 GDCY2525J DICHROFILM CYAN-25"X25" PET GELS EACH 0 52 0 -                     

2298 GDCY2525J DICHROFILM CYAN-25"X25" PET GELS EACH JEL (2.00)              0 -                     

2299 GDCYB5U DICHROFILM CYAN B53-RECERT GELS EACH 0 3 140 420.00              

2300 GDFCTB00 DICHRO-FULL CTB GELS EACH 0 38 186 7,068.00           

2301 GDGN2525 DICHROFILM GREEN-25"X25" PET GELS EACH 0 57.75 211.0003 12,185.27         

2302 GDGN2525 DICHROFILM GREEN-25"X25" PET GELS EACH BET 1 186 186.00              

2303 GDGN2525J DICHROFILM GREEN-25"X25" PET GELS EACH 0 137 0 -                     

2304 GDGN2525J DICHROFILM GREEN-25"X25" PET GELS EACH JEL (1.00)              0 -                     

2305 GDGNB5U DICHROFILM GREEN B53-RECERT GELS EACH 0 11 140 1,540.00           

2306 GDL021GA DICHRO-GOLD AMBER (LEE021) GELS EACH 0 11 186 2,046.00           

2307 GDL134GA DICHRO-GOLDEN AMBER(LEE134) GELS EACH 0 31 186 5,766.00           

2308 GDMG2525 DICHROFILM MAGENTA-25"X25" PET GELS EACH 0 242.25 226.6899 54,915.64         

2309 GDMG2525 DICHROFILM MAGENTA-25"X25" PET GELS EACH BET 1 186.04 186.04              

2310 GDMG2525J DICHROFILM MAGENTA-25"X25" PET GELS EACH 0 172 0 -                     

2311 GDMG2525J DICHROFILM MAGENTA-25"X25" PET GELS EACH JEL (3.00)              0 -                     

2312 GDOR2525 DICHROFILM ORANGE-25"X25" PET GELS EACH 0 212 186.0987 39,452.93         

2313 GDOR2525 DICHROFILM ORANGE-25"X25" PET GELS EACH BET 1 186.1 186.10              

2314 GDOR2525J DICHROFILM ORANGE-25"X25" PET GELS EACH 0 14 0 -                     

2315 GDOR2525J DICHROFILM ORANGE-25"X25" PET GELS EACH JEL (1.00)              0 -                     

2316 GDORB5U DICHROFILM ORANGE B53-RECERT GELS EACH 0 19 140 2,660.00           

2317 GDRD2501 DICHROFILM RED-25"X25" PET GELS EACH 0 166.75 201.4045 33,584.20         

2318 GDRD2501 DICHROFILM RED-25"X25" PET GELS EACH BET 1 186.09 186.09              

2319 GDRD2525 DICHROFILM RED-25"X25" GELS EACH 0 (4.00)              186.215 (744.86)             

2320 GDRD2525J DICHROFILM RED-25"X25" GELS EACH 0 108 0 -                     

2321 GDRD2525J DICHROFILM RED-25"X25" GELS EACH JEL (2.00)              0 -                     

2322 GDRDB5U DICHROFILM RED B53-RECERT GELS EACH 0 13 140 1,820.00           

2323 GDVI2525J DICHROFILM VIOLET-25"X25" PET GELS EACH 0 245 0 -                     

2324 GDVI2525J DICHROFILM VIOLET-25"X25" PET GELS EACH JEL (2.00)              0 -                     

2325 GDVI25X25 DICHROFILM VIOLET-25"X25" PET GELS EACH 0 33.25 237.6343 7,901.34           

2326 GDVI25X25 DICHROFILM VIOLET-25"X25" PET GELS EACH BET 1 186 186.00              

2327 GDVIB5U DICHROFILM VIOLET B53-RECERT GELS EACH 0 3 140 420.00              

2328 GDYL2525 DICHROFILM YELL0W-25"X25" PET GELS EACH 0 125.5 186.1229 23,358.43         

2329 GDYL2525 DICHROFILM YELL0W-25"X25" PET GELS EACH BET 1 186.12 186.12              

2330 GDYL2525J DICHROFILM YELL0W-25"X25" PET GELS EACH 0 35 0 -                     

2331 GDYL2525J DICHROFILM YELL0W-25"X25" PET GELS EACH JEL (2.00)              0 -                     



SYNCROLITE VALUATION REPORT

2332 GDYLB5U DICHROFILM YELLOW B53-RECERT GELS EACH 0 3 140 420.00              

2333 GE230000 GEL ROSCO SUPER HEAT GELS SF 0 8.5 11.06 94.01                

2334 GGRL0100 LEE HT 010-MED PINK 46X13 ROLL GELS FOOT 0 11.414 10.106 115.35              

2335 GGRL0260 LEE HT 026-BRIGHT RED 46X13 RO GELS FOOT 0 11.414 10.106 115.35              

2336 GGRL0360 LEE HT 036-MED PINK 46X13 ROLL GELS FOOT 0 11.414 10.106 115.35              

2337 GGRL0460 LEE HT 046-DARK MAG 46X13 ROLL GELS FOOT 0 11.414 10.106 115.35              

2338 GGRL0520 LEE HT 052-LIGHT LAV 46X13 ROL GELS FOOT 0 11.414 10.106 115.35              

2339 GGRL0890 LEE HT 089-MOSS GREEN 46X13 RO GELS FOOT 0 11.414 10.106 115.35              

2340 GGRL1150 LEE HT 115-PEACOCK BLUE 46X13 GELS FOOT 0 11.414 10.106 115.35              

2341 GGRL1180 LEE HT 118-LIGHT BLUE 46X13 RO GELS FOOT 0 11.414 10.106 115.35              

2342 GGRL1320 LEE HT 132-MED BLUE 46X13 ROLL GELS FOOT 0 (8.34)              0 -                     

2343 GGSL0210 LEE21-GOLD AMBER-25X25 GELS EACH 0 25 265 6,625.00           

2344 GGSL1040 LEE104-DEEP AMBER-20X24 ARCV EACH 0 24 9.655 231.72              

2345 GGSL1190 LEE119HT-DARK BLUE-20X24 INAC EACH 0 60 9.7415 584.49              

2346 GGSL1280 LEE128-BRIGHT PINK-20X24 ARCV EACH 0 23 8 184.00              

2347 GGSL1390 LEE139HT-PRIM GREEN-20X24 ARCV EACH 0 11 7.4 81.40                

2348 GGSL1720 LEE 172HT-LAGOON BLUE-20X24 ARCV EACH 0 24 8 192.00              

2349 GGSL1810 LEE181HT-CONGO BLUE-20X24 ARCV EACH 0 21 8.1957 172.11              

2350 GGSLSTRW LEE-STRAW-25"X25" GELS EACH 0 35 265 9,275.00           

2351 GGSR2200 ROSCO22-DEEP AMBER-20X24 INAC EACH 0 20 8 160.00              

2352 GGSR2600 ROSC026-LIGHT RED-24X25' ARCV EACH 0 1 106.95 106.95              

2353 GGSR2700 ROSC027-MED. RED-20X24 INAC EACH 0 20 8 160.00              

2354 GH602020 LIGHT SHAPING DIFFUSER 60 DEGR GELS EACH 0 3 20 60.00                

2355 GHS25250 25X25 HEAT SHIELD-HOT MIRROR GELS EACH 0 155 198.527 30,771.68         

2356 GLN60X10 LENS-60 x 10 DEGREE 24X24 GELS EACH 0 57 45.1 2,570.70           

2357 GLNRL050 LENS-5 DEGREE ROLL GELS FOOT 0 506.829 15.9814 8,099.84           

2358 GLNRL100 LENS-10 DEGREE ROLL GELS FOOT 0 298.829 15.6143 4,666.00           

2359 GLNRL200 LENS-20 DEGREE ROLL GELS FOOT 0 291.639 9.1248 2,661.15           

2360 GLNRL300 LENS-30 DEGREE ROLL GELS FOOT 0 352 12.01 4,227.52           

2361 GLNRL40X02 LENS-40 x .02 DEGREE ROLL GELS FOOT 0 278 16.14 4,486.92           

2362 GLNRL60X10 LENS-60 x 10 DEGREE ROLL GELS FOOT 0 10 0.127 1.27                   

2363 GLNRL75X45 LENS-75 x 45 DEGREE ROLL GELS FOOT 0 344 12.38 4,258.72           

2364 GM31STG0 MX3 C1 SCRL-STOCK GEL ARCV EACH 0 45 0 -                     

2365 GM32STG0 MX3 C2 SCRL-STOCK GEL ARCV EACH 0 47 0 -                     

2366 GM43BNJ0 MX4 C3 SCRL-BON JOVI-4/2010 ARCV EACH 0 55 3.3116 182.14              

2367 GMFILTER FILTER MATERIAL-ALU/FOAM UTIL FOOT 0 40.848 11.5291 470.94              

2368 GMPLASDP PLASTI-DIP UTIL GAL 0 0.06 1 0.06                   

2369 GMYRL270 MYLAR-27" X 50 YD-STC-AP/90# GELS FOOT 0 650.754 0.803 522.56              

2370 GS7KGCVR 7K GRAND CANYON VIRGIN SCROLL ARCV EACH 0 19 15 285.00              

2371 GTHERM5K GMHTSHLD INAC EACH 0 (2.00)              210 (420.00)             

2372 GTPAPP24 APPLICATION TAPE-24" X 100 YD GELS FOOT 0 650.754 0.3011 195.92              

2373 GTPCLFL2 CLEAR VINYL FLOOR TAPE-2"X36YD GELS EACH 0 13 18.7685 243.99              

2374 GTPCLFL2 CLEAR VINYL FLOOR TAPE-2"X36YD GELS EACH 401 1 15.48 15.48                

2375 GTPCLFL2 CLEAR VINYL FLOOR TAPE-2"X36YD GELS EACH S04 4 18.77 75.08                

2376 GTPCLFL2 CLEAR VINYL FLOOR TAPE-2"X36YD GELS EACH S06 2 15.67 31.34                

2377 GTPHITMP1 S291 HI-TEMP TP 1" X 72YD-not GELS FOOT 0 2,808.00 0.0324 90.97                

2378 GTPHT945 945 HI-TEMP GEL TAPE 1" X 72YD GELS FOOT 0 6,145.00 0.0301 184.95              

2379 GTPHT945 945 HI-TEMP GEL TAPE 1" X 72YD GELS FOOT BET 70 0.0301 2.11                   

2380 GTPJLAR0 J-LAR TAPE 1/2" X 72YD GELS FOOT 0 1,943.00 0.0229 44.49                

2381 GTPJLAR1 J-LAR TAPE 1" X 72YD GELS FOOT 0 3,305.00 0.049 161.97              

2382 GTPMY3M0 MYLAR TAPE-1"-3M 850 GELS FOOT 0 326 0.1981 64.58                

2383 GTPMY3M0 MYLAR TAPE-1"-3M 850 GELS FOOT BET 2 0.2 0.40                   

2384 GTPMY3M1 MYLAR TAPE-2"-3M 850 GELS FOOT 0 1,374.25 0.3962 544.49              



SYNCROLITE VALUATION REPORT

2385 GTPMY3M1 MYLAR TAPE-2"-3M 850 GELS FOOT BET 2 0.395 0.79                   

2386 GXL3CSTM XL C3 SCRL-CUSTOM INAC EACH 0 5 2.628 13.14                

2387 GXL3OLY0 XL C3 SCRL - 2012 OLYMPICS ARCV EACH 0 24 70.5252 1,692.60           

2388 H0103020 MX3-36 COLOR 1,2,3 HNS HRNS EACH 0 8 6.2225 49.78                

2389 H0103350 3K-5K C1/DOUS INTERNAL HNS HRNS EACH 0 7 4.8486 33.94                

2390 H0103350 3K-5K C1/DOUS INTERNAL HNS HRNS EACH S06 1 4.85 4.85                   

2391 H0103710 7K-10K C1/DOUS INTERNAL HNS HRNS EACH 0 5 8.028 40.14                

2392 H0103710 7K-10K C1/DOUS INTERNAL HNS HRNS EACH X03 1 8.03 8.03                   

2393 H0103710 7K-10K C1/DOUS INTERNAL HNS HRNS EACH X08 1 8.03 8.03                   

2394 H0103AR0 ARENA CHGR BOX INPUT HNS HRNS EACH 0 56 4.75 266.00              

2395 H0103D40 SAV 4K SCRLHSE TO BOARD HNS HRNS EACH 0 3 2.62 7.86                   

2396 H0103WH0 WET-CHASSIS TO CHR 1,2,3 HRNS EACH 0 1 15.66 15.66                

2397 H0104070 7K-10K - CHASSIS TO C2 HNS HRNS EACH 0 8 4.7675 38.14                

2398 H010407A 7K-10K CHASSIS TO C2 & C3 HNS HRNS EACH 0 6 3.0633 18.38                

2399 H010407A 7K-10K CHASSIS TO C2 & C3 HNS HRNS EACH X01 1 3.84 3.84                   

2400 H010407A 7K-10K CHASSIS TO C2 & C3 HNS HRNS EACH X08 2 3.835 7.67                   

2401 H0104350 5K - CHASSIS TO C2 HNS HRNS EACH 0 9 4.1522 37.37                

2402 H010435A 3K-5K CHASSIS TO C2 & C3 HNS HRNS EACH 0 17 2.6747 45.47                

2403 H010435A 3K-5K CHASSIS TO C2 & C3 HNS HRNS EACH 702 1 2.76 2.76                   

2404 H010435A 3K-5K CHASSIS TO C2 & C3 HNS HRNS EACH 703 1 2.76 2.76                   

2405 H010435A 3K-5K CHASSIS TO C2 & C3 HNS HRNS EACH S04 1 2.67 2.67                   

2406 H010435A 3K-5K CHASSIS TO C2 & C3 HNS HRNS EACH S06 2 2.76 5.52                   

2407 H010435A 3K-5K CHASSIS TO C2 & C3 HNS HRNS EACH S07 1 2.76 2.76                   

2408 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH 0 19 0.4779 9.08                   

2409 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH 508 1 0.478 0.48                   

2410 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH S01 1 0.478 0.48                   

2411 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH S05 1 0.478 0.48                   

2412 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH S07 1 0.478 0.48                   

2413 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH X02 1 0.478 0.48                   

2414 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH X03 1 0.478 0.48                   

2415 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH X05 1 0.478 0.48                   

2416 H0105000 UNIV - C2 TO C3 JUMPER HNS HRNS EACH X06 1 0.478 0.48                   

2417 H0106WH0 WET-DOUS MTR TO CHASSIS HNS HRNS EACH 0 11 2.75 30.25                

2418 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH 0 58 2.624 152.19              

2419 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A01 1 2.6239 2.62                   

2420 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A02 2 2.4671 4.93                   

2421 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A03 2 2.6239 5.25                   

2422 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A04 2 2.3102 4.62                   

2423 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A05 1 2.3102 2.31                   

2424 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A06 2 2.6239 5.25                   

2425 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A07 2 2.6239 5.25                   

2426 H0106WHA WET-CHASSIS TO DOUS MTR-TFE HRNS EACH A08 2 2.6239 5.25                   

2427 H0112WM0 WET MIRROR-BOX HNS HRNS EACH 0 2 0.317 0.63                   

2428 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH 0 7 2.3043 16.13                

2429 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH 401 1 2.5494 2.55                   

2430 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH 402 1 2.7978 2.80                   

2431 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH 403 1 2.2279 2.23                   

2432 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH 405 1 2.6596 2.66                   

2433 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH 406 2 2.5837 5.17                   

2434 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH M01 1 2.3483 2.35                   

2435 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH M02 1 2.6596 2.66                   

2436 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH M03 2 2.7799 5.56                   

2437 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH M05 1 2.6078 2.61                   



SYNCROLITE VALUATION REPORT

2438 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH M06 1 2.7546 2.75                   

2439 H0135020 MX3 CHASSIS TO COLOR MTR HNS HRNS EACH M07 1 3.1218 3.12                   

2440 H0135020R MX4 RCRT CHASSIS> COLOR MTR HN RCRT EACH 0 1 1.56 1.56                   

2441 H0135WH0 WET-CHASSIS TO C MTR+SNS ARCV EACH 0 7 4.0129 28.09                

2442 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH 0 5 4.658 23.29                

2443 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A01 1 4.8811 4.88                   

2444 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A02 2 4.4076 8.82                   

2445 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A03 2 4.8811 9.76                   

2446 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A04 2 4.4076 8.82                   

2447 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A05 1 4.4076 4.41                   

2448 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A06 2 4.8811 9.76                   

2449 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A07 2 4.8811 9.76                   

2450 H0135WHA WET-CHASSIS TO C MTR+SNS-TFE HRNS EACH A08 1 4.8811 4.88                   

2451 H0135WHB WET CHASSIS TO C MTR+SNS-PART HRNS EACH 0 15 5.3547 80.32                

2452 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH 0 29 1.8455 53.52                

2453 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH 501 1 1.6831 1.68                   

2454 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH 508 1 1.6685 1.67                   

2455 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH 513 1 1.6685 1.67                   

2456 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH 702 1 1.6685 1.67                   

2457 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH 703 1 2.2246 2.22                   

2458 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH 705 1 1.6089 1.61                   

2459 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH S02 1 1.6233 1.62                   

2460 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH S03 1 1.6233 1.62                   

2461 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH S05 1 1.6685 1.67                   

2462 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH S06 1 1.5645 1.56                   

2463 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH S07 1 1.6233 1.62                   

2464 H0145350 3K-5K C2/C3 DRIVER BD TO M,E,S HRNS EACH S08 1 1.85 1.85                   

2465 H0145350R RECERT-5K C2/3 DRV BD TO M,E,S RCRT EACH 0 9 0.87 7.83                   

2466 H0145350R RECERT-5K C2/3 DRV BD TO M,E,S RCRT EACH S06 2 0.87 1.74                   

2467 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X03 1 2.3403 2.34                   

2468 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X04 1 2.3626 2.36                   

2469 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X05 1 2.3626 2.36                   

2470 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X06 1 2.3626 2.36                   

2471 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X07 1 2.15 2.15                   

2472 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X08 1 2.3626 2.36                   

2473 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X09 1 2.3626 2.36                   

2474 H0145710 7K-10K C2/C3 DRIVER BD TO M,E, HRNS EACH X10 1 2.3626 2.36                   

2475 H0145710R RECERT-7K C2/3 DRV BD TO M,E,S RCRT EACH 0 11 1.1655 12.82                

2476 H0145710R RECERT-7K C2/3 DRV BD TO M,E,S RCRT EACH X01 1 1.17 1.17                   

2477 H0145710R RECERT-7K C2/3 DRV BD TO M,E,S RCRT EACH X08 2 1.165 2.33                   

2478 H0200710 7K-10K MAIN HNS HRNS EACH 0 2 58.4814 116.96              

2479 H0201020 MX3 PAN MAIN HNS HRNS EACH 0 (1.00)              5.45 (5.45)                 

2480 H0201520 B52 - PAN MAIN HNS HRNS EACH 0 20 8.6145 172.29              

2481 H0201520R RECERT-5K H02 PAN RCRT EACH S06 1 4.63 4.63                   

2482 H0201710 7K-10K PAN/TILT MAIN HNS HRNS EACH 0 (1.00)              8.97 (8.97)                 

2483 H0201710 7K-10K PAN/TILT MAIN HNS HRNS EACH X08 1 9.59 9.59                   

2484 H0202020 MX3 TILT MAIN HNS HRNS EACH 0 12 5.8817 70.58                

2485 H0203020 MX3 COLOR MAIN HNS ARCV EACH 0 1 16.3896 16.39                

2486 H0203350 3K-5K C1/DOUS MAIN HNS HRNS EACH 0 14 31.2007 436.81              

2487 H0203350R RECERT-3K H02 COLOR 1 RCRT EACH 0 3 8.44 25.32                

2488 H0203350R RECERT-3K H02 COLOR 1 RCRT EACH S06 1 8.44 8.44                   

2489 H0203710 7K-10K COLOR DOUS MAIN HNS HRNS EACH 0 (1.00)              31.7 (31.70)               

2490 H0203710 7K-10K COLOR DOUS MAIN HNS HRNS EACH X08 1 37.1 37.10                



SYNCROLITE VALUATION REPORT

2491 H0203D40 SAVAN 4 MAIN HNS HRNS EACH 0 4 10.3825 41.53                

2492 H0203D70 SAVAN 7K COLOR/DOUS MAIN HNS HRNS EACH 0 3 12.4467 37.34                

2493 H0203M40 MX4 COLOR MAIN HNS HRNS EACH 0 17 20.6071 350.32              

2494 H0204520 4K-5K COLOR 2 MAIN HNS HRNS EACH 0 4 17.7825 71.13                

2495 H0204520U 5K COLOR 2 MAIN HRNS-RECERT RCRT EACH 0 8 7.0238 56.19                

2496 H0204520U 5K COLOR 2 MAIN HRNS-RECERT RCRT EACH S06 1 7.03 7.03                   

2497 H0204710 7K-10K COLOR 2 MAIN HNS HRNS EACH 0 2 10.35 20.70                

2498 H0204710R RECERT-7K H02 COLOR 2 RCRT EACH 0 1 5.175 5.18                   

2499 H020471A LG-C2 MAIN HNS HRNS EACH 0 16 19.0956 305.53              

2500 H020471A LG-C2 MAIN HNS HRNS EACH X08 1 22.17 22.17                

2501 H0206020 MX3 DOUS MAIN HNS ARCV EACH 0 16 2.5842 41.35                

2502 H0206M40 MX4 DOUS MAIN HNS INAC EACH 0 11 3.3239 36.56                

2503 H0206M40 MX4 DOUS MAIN HNS INAC EACH 407 (1.00)              3.2651 (3.27)                 

2504 H0206M4A MX4 DOUS MAIN HNS HRNS EACH 0 1 2.66 2.66                   

2505 H0206M4A MX4 DOUS MAIN HNS HRNS EACH 407 1 3.3057 3.31                   

2506 H0207020 MX3 BEAM/DOUS MAIN HNS ARCV EACH 0 15 6.0663 90.99                

2507 H0207350 3K-5K BEAM MAIN HNS HRNS EACH 0 11 30.4127 334.54              

2508 H0207350 3K-5K BEAM MAIN HNS HRNS EACH S06 1 33.43 33.43                

2509 H0207710 7K-10K BEAM MAIN HNS HRNS EACH 0 (1.00)              25.35 (25.35)               

2510 H0207710 7K-10K BEAM MAIN HNS HRNS EACH X08 1 30.23 30.23                

2511 H0207M40 MX4 BEAM/DOUS MAIN HNS ARCV EACH 0 12 7.9328 95.19                

2512 H0207M4B MX4 BEAM/DOUS MAIN HNS HRNS EACH 0 6 8.5583 51.35                

2513 H0208070 SX7K RFL FAN HNS HRNS EACH 0 1 3.9 3.90                   

2514 H0211D70 SAVAN 7K YOKE TO AUTO STRIK HN HRNS EACH 0 3 6.39 19.17                

2515 H0217WH0 WET-BEAM/PAN MAIN HRNS HRNS EACH 0 5 7.4871 37.44                

2516 H0226WH0 WET DOUS/TILT MAIN HNS HRNS EACH 0 6 5.8014 34.81                

2517 H0306020 MX3 - 8724 DOUS MTR HNS-T, E MOTR EACH 0 1 188.59 188.59              

2518 H0306020 MX3 - 8724 DOUS MTR HNS-T, E MOTR EACH 401 2 189.2496 378.50              

2519 H0306020 MX3 - 8724 DOUS MTR HNS-T, E MOTR EACH 403 2 189.2247 378.45              

2520 H0306020 MX3 - 8724 DOUS MTR HNS-T, E MOTR EACH M05 1 188.3573 188.36              

2521 H0306020 MX3 - 8724 DOUS MTR HNS-T, E MOTR EACH M07 1 188.2839 188.28              

2522 H0306020U 8724 MX DOUS MTR-RECERT RCRT EACH 406 2 95.19 190.38              

2523 H0306020U 8724 MX DOUS MTR-RECERT RCRT EACH M05 1 95.19 95.19                

2524 H030602A i MX3 - 8724 GLASS DOUS MTR ARCV EACH 0 3 180.7386 542.22              

2525 H030602B MX4 DOUS MOTOR MOTR EACH 0 44 222.9334 9,809.07           

2526 H030602B MX4 DOUS MOTOR MOTR EACH M02 2 222.935 445.87              

2527 H030602B MX4 DOUS MOTOR MOTR EACH M03 2 222.935 445.87              

2528 H030602Z MX3 - 8712 DOUS MTR HNS-T,E ARCV EACH 0 15 135.0879 2,026.32           

2529 H030602Z MX3 - 8712 DOUS MTR HNS-T,E ARCV EACH M07 1 139.1815 139.18              

2530 H030602ZU 8712 DOUS MTR - RECERT ARCV EACH 0 11 70 770.00              

2531 H0306350 3K-5K DOUS MTR HNS MOTR EACH 0 13 123.2923 1,602.80           

2532 H0306350 3K-5K DOUS MTR HNS MOTR EACH 501 1 110.99 110.99              

2533 H0306350 3K-5K DOUS MTR HNS MOTR EACH 508 1 110.1756 110.18              

2534 H0306350 3K-5K DOUS MTR HNS MOTR EACH 513 2 99.885 199.77              

2535 H0306350 3K-5K DOUS MTR HNS MOTR EACH 702 1 110.99 110.99              

2536 H0306350 3K-5K DOUS MTR HNS MOTR EACH 703 1 106.46 106.46              

2537 H0306350 3K-5K DOUS MTR HNS MOTR EACH 705 1 79.8862 79.89                

2538 H0306350 3K-5K DOUS MTR HNS MOTR EACH S01 1 97.41 97.41                

2539 H0306350 3K-5K DOUS MTR HNS MOTR EACH S02 1 119.35 119.35              

2540 H0306350 3K-5K DOUS MTR HNS MOTR EACH S03 2 74.663 149.33              

2541 H0306350 3K-5K DOUS MTR HNS MOTR EACH S04 2 103.13 206.26              

2542 H0306350 3K-5K DOUS MTR HNS MOTR EACH S05 2 114.03 228.06              

2543 H0306350 3K-5K DOUS MTR HNS MOTR EACH S06 2 107.17 214.34              



SYNCROLITE VALUATION REPORT

2544 H0306350 3K-5K DOUS MTR HNS MOTR EACH S07 1 117.07 117.07              

2545 H0306350 3K-5K DOUS MTR HNS MOTR EACH S08 1 110.99 110.99              

2546 H0306350 3K-5K DOUS MTR HNS MOTR EACH S09 1 117.13 117.13              

2547 H0306350 3K-5K DOUS MTR HNS MOTR EACH S10 1 110.99 110.99              

2548 H0306350U 3K-5K DOUS MTR-RECERT RCRT EACH 0 6 31.6233 189.74              

2549 H0306350U 3K-5K DOUS MTR-RECERT RCRT EACH 702 1 31.625 31.63                

2550 H0306350U 3K-5K DOUS MTR-RECERT RCRT EACH 703 1 31.625 31.63                

2551 H0306350U 3K-5K DOUS MTR-RECERT RCRT EACH 705 1 31.625 31.63                

2552 H0306350U 3K-5K DOUS MTR-RECERT RCRT EACH S07 1 31.625 31.63                

2553 H0306710 7K-10K DOUS MTR HNS-T,C MOTR EACH 0 6 97.9 587.40              

2554 H0306710 7K-10K DOUS MTR HNS-T,C MOTR EACH X01 1 113.79 113.79              

2555 H0306710 7K-10K DOUS MTR HNS-T,C MOTR EACH X03 1 119.33 119.33              

2556 H0306710 7K-10K DOUS MTR HNS-T,C MOTR EACH X07 2 102.06 204.12              

2557 H0306710 7K-10K DOUS MTR HNS-T,C MOTR EACH X08 1 107.62 107.62              

2558 H0306710U 7K DOUS MTR-RECERT RCRT EACH 0 16 32.19 515.04              

2559 H0306710U 7K DOUS MTR-RECERT RCRT EACH X02 1 32.19 32.19                

2560 H0307020 MX3 - BEAM MOTOR - 26,000 MOTR EACH 0 2 93.245 186.49              

2561 H0307020 MX3 - BEAM MOTOR - 26,000 MOTR EACH 406 2 93.9289 187.86              

2562 H0307020R RECERT- MX BEAM MTR INAC EACH 406 2 46.92 93.84                

2563 H030702A i MX3 - BEAM MTR - 36,000 ARCV EACH 0 15 0.2936 4.40                   

2564 H030707AU 3K BEAM MTR-GL GEAR, SWTCH-RCR ARCV EACH 0 3 44.72 134.16              

2565 H0307510 5K-10K BEAM MTR HNS-NO MTR,W/S HRNS EACH 0 5 4.5704 22.85                

2566 H030751A 5K-10K BEAM MTR HNS-NO MTR,NOS HRNS EACH 0 11 1.2547 13.80                

2567 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH 0 21 91.4962 1,921.42           

2568 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH 508 1 83.4209 83.42                

2569 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH 513 2 89.145 178.29              

2570 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH 702 1 91.23 91.23                

2571 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH 703 1 88.86 88.86                

2572 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH 705 1 90.7913 90.79                

2573 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S01 1 91.4 91.40                

2574 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S02 1 83.4211 83.42                

2575 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S04 1 91.2 91.20                

2576 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S05 2 91.315 182.63              

2577 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S06 1 91.44 91.44                

2578 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S07 1 90.9803 90.98                

2579 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S08 1 91.23 91.23                

2580 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S09 1 91.31 91.31                

2581 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH S10 1 91.23 91.23                

2582 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH X01 1 89.48 89.48                

2583 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH X03 1 91.23 91.23                

2584 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH X04 1 91.19 91.19                

2585 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH X06 1 90.9803 90.98                

2586 H030751B 5-10 BEAM MTR-T,C,NO GR MOTR EACH X08 1 91.39 91.39                

2587 H030751BU BEAM MTR-NO GEAR-RECERT ARCV EACH 0 11 37.75 415.25              

2588 H0307M40 MX4 BEAM MTR MOTR EACH 0 8 81.7075 653.66              

2589 H0307M40 MX4 BEAM MTR MOTR EACH 402 1 81.6565 81.66                

2590 H0307M40 MX4 BEAM MTR MOTR EACH 405 1 81.5677 81.57                

2591 H0307M40 MX4 BEAM MTR MOTR EACH 406 2 81.6944 163.39              

2592 H0307M40 MX4 BEAM MTR MOTR EACH M01 1 81.7096 81.71                

2593 H0307M40 MX4 BEAM MTR MOTR EACH M03 2 81.6387 163.28              

2594 H0307M40 MX4 BEAM MTR MOTR EACH M05 2 81.6121 163.22              

2595 H0307M40 MX4 BEAM MTR MOTR EACH M06 2 81.8292 163.66              

2596 H0307M40R MX4 BEAM MTR - RCRT RCRT EACH 0 10 40.85 408.50              



SYNCROLITE VALUATION REPORT

2597 H0307M40R MX4 BEAM MTR - RCRT RCRT EACH 401 2 40.85 81.70                

2598 H0312710R RECERT-4660-TAIL ONLY RCRT EACH 0 3 88.455 265.37              

2599 H0312WM0 WET MIRROR-P/T MTR HNS MOTR EACH 0 5 203.048 1,015.24           

2600 H0377020 UNIV 4 PIN MFJR JUMPERS HRNS EACH 0 13 0.305 3.97                   

2601 H0509020 MX3 CONTROL/DMX HNS HRNS EACH 0 2 5.4624 10.92                

2602 H0509310 3K-10K DMX HNS HRNS EACH X08 1 9.99 9.99                   

2603 H0509310R RECERT-DMX HNS RCRT EACH S06 2 5.05 10.10                

2604 H0509D7A SAVAN REED/TEMP SW HNS HRNS EACH 0 3 1.9567 5.87                   

2605 H0509M40 MX4 CONTROL/DMX HNS HRNS EACH 0 18 5.685 102.33              

2606 H0509WH0 WET-DMX HNS HRNS EACH 0 7 3.5916 25.14                

2607 H05GEBL0 GE BAL CURRENT SWITCH HRNS EACH 0 1 22.26 22.26                

2608 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH 0 10 88.265 882.65              

2609 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH 501 1 58.0601 58.06                

2610 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH 508 1 68.2298 68.23                

2611 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH 513 1 39.8532 39.85                

2612 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH 702 1 68.2298 68.23                

2613 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH 703 1 28.7882 28.79                

2614 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH 705 1 68.2298 68.23                

2615 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S02 1 69.5515 69.55                

2616 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S03 1 69.4813 69.48                

2617 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S04 1 68.2298 68.23                

2618 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S05 1 68.2298 68.23                

2619 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S06 1 88.27 88.27                

2620 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S07 1 88.27 88.27                

2621 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S08 1 71.48 71.48                

2622 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S09 1 71.48 71.48                

2623 H0603350 3K-5K C1 SENSOR HNS-NO MNT PLT HRNS EACH S10 1 71.48 71.48                

2624 H0603710 7K-10K C1 SENSOR HNS-NO MNT PL HRNS EACH 0 8 83.4538 667.63              

2625 H0603710 7K-10K C1 SENSOR HNS-NO MNT PL HRNS EACH X02 1 68.2298 68.23                

2626 H0603710 7K-10K C1 SENSOR HNS-NO MNT PL HRNS EACH X03 1 68.23 68.23                

2627 H0603710 7K-10K C1 SENSOR HNS-NO MNT PL HRNS EACH X04 (1.00)              83.73 (83.73)               

2628 H0603710 7K-10K C1 SENSOR HNS-NO MNT PL HRNS EACH X06 1 83.73 83.73                

2629 H0603710 7K-10K C1 SENSOR HNS-NO MNT PL HRNS EACH X08 1 83.45 83.45                

2630 H0603710 7K-10K C1 SENSOR HNS-NO MNT PL HRNS EACH X10 1 68.2298 68.23                

2631 H0700D4A SAVAN 4K POWER HNS HRNS EACH 0 3 7.1 21.30                

2632 H0700D70 SAVAN 7K POWER HNS HRNS EACH 0 3 7.5833 22.75                

2633 H0709020 i MX3 POWER HNS ARCV EACH 0 1 14.187 14.19                

2634 H070902A MX3/4 POWER HNS HRNS EACH 0 11 5.2736 58.01                

2635 H070902AR MX4 RCRT POWER HNS RCRT EACH 0 1 2.62 2.62                   

2636 H0709310 3K-10K POWER SUPPLY HNS HRNS EACH 0 2 9.455 18.91                

2637 H0709310R RECERT-SX POWER SUPPLY HNS RCRT EACH 0 15 3.91 58.65                

2638 H0709310R RECERT-SX POWER SUPPLY HNS RCRT EACH S06 2 3.91 7.82                   

2639 H0709310R RECERT-SX POWER SUPPLY HNS RCRT EACH X08 1 3.91 3.91                   

2640 H0709D7A SAVAN 7K DMX BD TO RLY HNS-REV HRNS EACH 0 4 0.63 2.52                   

2641 H0791310 3K-10K PSU HNS JUMPERS HRNS EACH 0 13 0.39 5.07                   

2642 H0791310 3K-10K PSU HNS JUMPERS HRNS EACH S06 4 0.39 1.56                   

2643 H0791310 3K-10K PSU HNS JUMPERS HRNS EACH X08 2 0.39 0.78                   

2644 H0791D70 SAVAN PSU TO DMX BD HNS HRNS EACH 0 3 1.23 3.69                   

2645 H0792310 3K-10K NOISE FILTER HNS HRNS EACH X08 1 3.85 3.85                   

2646 H0792310R RECERT-NOISE FILTER HNS RCRT EACH 0 7 2.72 19.04                

2647 H0792310R RECERT-NOISE FILTER HNS RCRT EACH S06 2 2.72 5.44                   

2648 H079231A 3K-10K NO FILTER PWR HNS HRNS EACH 0 6 1.9 11.40                

2649 H079WHA0 WET-POWER HNS-PT A HRNS EACH 0 7 1.6752 11.73                



SYNCROLITE VALUATION REPORT

2650 H079WHB0 WET-POWER HNS-PT B HRNS EACH 0 5 1.3444 6.72                   

2651 H079WHC0 WET-POWER HRNS-PT C HRNS EACH 0 3 2.5345 7.60                   

2652 H079WHD0 WET-POWER HNS-PT D HRNS EACH 0 5 3.6333 18.17                

2653 H0808020 MX3 LAMP TO IGNITER HNS ARCV EACH 0 1 2.1806 2.18                   

2654 H0808020 MX3 LAMP TO IGNITER HNS ARCV EACH 406 1 3.4342 3.43                   

2655 H0808020 MX3 LAMP TO IGNITER HNS ARCV EACH M02 1 2.0649 2.06                   

2656 H0808020 MX3 LAMP TO IGNITER HNS ARCV EACH M03 1 2.1806 2.18                   

2657 H0808020 MX3 LAMP TO IGNITER HNS ARCV EACH M05 1 3.4342 3.43                   

2658 H0808020 MX3 LAMP TO IGNITER HNS ARCV EACH M06 1 3.4342 3.43                   

2659 H08082A0 MX3 LAMP TO SIDE BAR HNS ARCV EACH 0 3 0.5 1.50                   

2660 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH 0 27 5.2911 142.86              

2661 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH 501 1 4.7434 4.74                   

2662 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH 513 1 5.0222 5.02                   

2663 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH 702 1 5.0222 5.02                   

2664 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH 703 1 6.0266 6.03                   

2665 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH 705 1 5.0222 5.02                   

2666 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH JES 1 3.8692 3.87                   

2667 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S01 1 4.2356 4.24                   

2668 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S02 1 4.82 4.82                   

2669 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S03 1 4.379 4.38                   

2670 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S05 1 5.0222 5.02                   

2671 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S06 2 4.91 9.82                   

2672 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S07 1 5.02 5.02                   

2673 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S08 1 4.82 4.82                   

2674 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S09 1 4.82 4.82                   

2675 H08083A0 3K-5K LAMP TO IGNITER HNS HRNS EACH S10 1 4.82 4.82                   

2676 H08083C0 3K-5K LAMP TO SPIDER HNS INAC EACH 0 26 0.3631 9.44                   

2677 H08085B0 4K-5K SPIDER TO IGNITER HNS HRNS EACH 0 34 3.5029 119.10              

2678 H08085B0 4K-5K SPIDER TO IGNITER HNS HRNS EACH S06 1 3.64 3.64                   

2679 H08087A0 7K-10K LAMP TO IGNITER HNS HRNS EACH JES 1 4.5105 4.51                   

2680 H08087A0 7K-10K LAMP TO IGNITER HNS HRNS EACH X04 1 6.646 6.65                   

2681 H08087A0 7K-10K LAMP TO IGNITER HNS HRNS EACH X05 1 6.646 6.65                   

2682 H08087A0 7K-10K LAMP TO IGNITER HNS HRNS EACH X06 1 6.646 6.65                   

2683 H08087A0 7K-10K LAMP TO IGNITER HNS HRNS EACH X07 1 4.866 4.87                   

2684 H08087A0 7K-10K LAMP TO IGNITER HNS HRNS EACH X08 1 4.9168 4.92                   

2685 H08087B0 7K-10K SPIDER TO IGNITER HNS HRNS EACH X08 1 2.9 2.90                   

2686 H08087C0 7-10K HEAT SINK TO SPIDER HNS HRNS EACH 0 (2.00)              1.61 (3.22)                 

2687 H0808LG0 GE ARENA CUTOFF TO LAMP LONG HRNS EACH 0 3 2.1533 6.46                   

2688 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH 0 5 3.108 15.54                

2689 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH 401 1 2.8817 2.88                   

2690 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH 402 1 2.8817 2.88                   

2691 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH 403 1 2.8817 2.88                   

2692 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH 405 1 2.8817 2.88                   

2693 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH 406 1 2.8817 2.88                   

2694 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH JES 1 2.5557 2.56                   

2695 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH M02 1 1.1923 1.19                   

2696 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH M05 1 2.61 2.61                   

2697 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH M06 1 2.3323 2.33                   

2698 H0808M40 MX4 LAMP TO LP DC IGN HRNS EACH M07 1 2.8817 2.88                   

2699 H0808SH0 GE ARENA CUTOFF TO LAMP SHORT HRNS EACH 0 1 0.98 0.98                   

2700 H0808WA0 WET-IGN TO LAMP HNS HRNS EACH 0 5 8.26 41.30                

2701 H0808WB0 WET-IGN TO SPIDER HNS HRNS EACH 0 4 2.1132 8.45                   

2702 H08094B0 MX4 EBOX TO IGN HNS-BLK HRNS EACH 0 10 19.911 199.11              



SYNCROLITE VALUATION REPORT

2703 H08094R0 MX4 EBOX TO IGN HNS-RED HRNS EACH 0 8 19.545 156.36              

2704 H08097B0 7K-10K EBOX TO IGN HNS-BLK HRNS EACH 0 (1.00)              20.15 (20.15)               

2705 H08097B0 7K-10K EBOX TO IGN HNS-BLK HRNS EACH X08 1 40.31 40.31                

2706 H08097R0 7K-10K EBOX TO IGN HNS-RED HRNS EACH 0 (1.00)              20.68 (20.68)               

2707 H08097R0 7K-10K EBOX TO IGN HNS-RED HRNS EACH X08 1 40.4 40.40                

2708 H0811L00 GE IGN - L TO LAMP CUTOFF HRNS EACH 0 3 2.1233 6.37                   

2709 H0811N00 GE IGN - N TO AC HRNS EACH 0 17 0 -                     

2710 H0811N10 GE IGN - N TO LAMP CUTOFF HRNS EACH 0 7 2.1743 15.22                

2711 H08973B0 B73 EBOX TO IGN HNS-BLK HRNS EACH 0 32 29.6959 950.27              

2712 H08973B0 B73 EBOX TO IGN HNS-BLK HRNS EACH S06 1 29.7 29.70                

2713 H08973R0 B73 EBOX TO IGN HNS-RED HRNS EACH 0 30 28.6633 859.90              

2714 H08973R0 B73 EBOX TO IGN HNS-RED HRNS EACH S06 1 28.66 28.66                

2715 H089D4B0 SAVAN 4 YOKE TO IGN HNS-BLK HRNS EACH 0 3 7.62 22.86                

2716 H089D4R0 SAVAN 4 YOKE TO IGN HNS-RED HRNS EACH 0 3 8.5067 25.52                

2717 H089D7B0 SAVAN 7 YOKE TO IGN HNS-BLK HRNS EACH 0 3 10.9133 32.74                

2718 H089D7R0 SAVAN 7 YOKE TO IGN HNS-RED HRNS EACH 0 3 11.0833 33.25                

2719 H089WHB0 WET-EBOX TO IGN HNS-BLK HRNS EACH 0 7 8.3475 58.43                

2720 H089WHR0 WET-EBOX TO IGN HNS-RED HRNS EACH 0 6 8.4006 50.40                

2721 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH 0 20 0.3135 6.27                   

2722 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH 501 1 0.3149 0.31                   

2723 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH 508 1 0.35 0.35                   

2724 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH 513 1 0.35 0.35                   

2725 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH 702 1 0.35 0.35                   

2726 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH 703 1 0.35 0.35                   

2727 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH 705 1 0.35 0.35                   

2728 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH S02 1 0.35 0.35                   

2729 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH S06 1 0.3375 0.34                   

2730 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH S08 1 0.31 0.31                   

2731 H0908350 3K-5K IGNITER GROUND WIRE HRNS EACH S09 1 0.31 0.31                   

2732 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH 0 7 6.4214 44.95                

2733 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH 513 1 7.61 7.61                   

2734 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH 702 1 7.3 7.30                   

2735 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH 703 1 7.3 7.30                   

2736 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S01 1 7.3 7.30                   

2737 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S02 1 7.61 7.61                   

2738 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S04 1 7.61 7.61                   

2739 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S05 1 7.3 7.30                   

2740 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S06 1 7.3 7.30                   

2741 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S07 1 7.3 7.30                   

2742 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S08 1 7.61 7.61                   

2743 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S09 1 7.61 7.61                   

2744 H1008350 3K-5K AUTO STRIKE HNS HRNS EACH S10 1 7.61 7.61                   

2745 H1008710 7K-10K AUTO STRIKE HNS HRNS EACH 0 1 8.76 8.76                   

2746 H1008710 7K-10K AUTO STRIKE HNS HRNS EACH X01 1 9.57 9.57                   

2747 H1008710 7K-10K AUTO STRIKE HNS HRNS EACH X04 1 9.57 9.57                   

2748 H1008710 7K-10K AUTO STRIKE HNS HRNS EACH X06 1 9.57 9.57                   

2749 H1008710 7K-10K AUTO STRIKE HNS HRNS EACH X07 1 9.57 9.57                   

2750 H1008710 7K-10K AUTO STRIKE HNS HRNS EACH X08 1 9.57 9.57                   

2751 H1008710 7K-10K AUTO STRIKE HNS HRNS EACH X09 1 9.57 9.57                   

2752 H1008710R RECERT-7K AUTO STRIKE HNS RCRT EACH 0 1 5.85 5.85                   

2753 H1008D70 SAVAN 7 AUTO STRIK HNS HRNS EACH 0 3 6.2 18.60                

2754 H108WHA0 WET-AUTO STRIKE HNS-PT A HRNS EACH 0 4 6.995 27.98                

2755 H108WHAA WET AUTO STRIK HNS PT A-TFE HRNS EACH 0 8 5.7386 45.91                



SYNCROLITE VALUATION REPORT

2756 H108WHB0 WET-AUTO STRIKE HNS-PT B HRNS EACH 0 3 1.68 5.04                   

2757 H1108310 LAMP IMPELLER HNS-BLU/BLK HRNS EACH 0 20 0.201 4.02                   

2758 H1108350 3K-5K 365 CFM IMPELLER HNS FANS EACH 0 2 90.36 180.72              

2759 H1108350R RECERT-365 CFM IMPLR HNS RCRT EACH 0 12 39.765 477.18              

2760 H1108710 7K-10K 530 CFM IMPELLER HNS FANS EACH 0 2 113.53 227.06              

2761 H1108710R RECERT-530 CFM IMPLR HNS RCRT EACH 0 35 42.52 1,488.20           

2762 H1108M40R RCRT MX4 L/H FAN HNS RCRT EACH 0 1 101 101.00              

2763 H1209000 DISPLAY HNS - 14 POS HRNS EACH 0 7 4.3702 30.59                

2764 H120900A DISPLAY HNS - 16 POS HRNS EACH 0 6 3.5967 21.58                

2765 H1310020 LP 2K BALLAST HNS HRNS EACH 0 1 79.641 79.64                

2766 H1312570 5K-7K LP BAL NOISE FILTER HNS HRNS EACH 0 9 1.3367 12.03                

2767 H133CHB0 BAL HNS - TRIPLE CHINESE ARCV EACH 0 11 5 55.00                

2768 H133PWG0 BAL HNS - TRIPLE POWER GEMS ARCV EACH 0 2 5 10.00                

2769 H13AVBL0 ARENA BALLAST HNS HRNS EACH 0 8 3.0781 24.62                

2770 H13AVG00 GE ARENA BAL RELAY HNS HRNS EACH 0 3 0.7967 2.39                   

2771 H13AVG10 ARENA GE BAL 24VDC HNS HRNS EACH 0 5 1.216 6.08                   

2772 H13AVGB0 ARENA BAL HNS - GE HRNS EACH 0 5 27.276 136.38              

2773 H13IR10A IREM 10K BALLAST HNS HRNS EACH 0 2 15.856 31.71                

2774 H13LP57B LP 5-7K BAL HNS - ISO XFMR HRNS EACH 0 6 12.3283 73.97                

2775 H13LP57B LP 5-7K BAL HNS - ISO XFMR HRNS EACH S04 2 12.33 24.66                

2776 H13LSDB0 LP 5-7 BAL-SNAP TO DIODE-BLK HRNS EACH 0 2 2.5763 5.15                   

2777 H13LSDR0 LP 5-7 BAL-SNAP TO DIODE-RED HRNS EACH 0 2 3.0415 6.08                   

2778 H13SB38A SBE 3-8 BAL HNS - W/ TAP SW HRNS EACH 0 3 5 15.00                

2779 H13TL8B0 DC CABLE-BLK-TALL BAL HRNS EACH 0 1 0 -                     

2780 H13TL8BA DC CABLE-BLK-TALL BAL-SNAP HRNS EACH 0 10 2.56 25.60                

2781 H13TL8R0 DC CABLE-RED-TALL BAL HRNS EACH 0 1 0 -                     

2782 H13TL8RA DC CABLE-RED-TALL BAL-SNAP HRNS EACH 0 10 1.69 16.90                

2783 H13TSTB0 TEST POINT HNS-BLK HRNS EACH 0 16 0.3338 5.34                   

2784 H13TSTBA TEST POINT HRNS BLK-1/2" TERM HRNS EACH 0 8 0.5175 4.14                   

2785 H13TSTR0 TEST POINT HNS-RED HRNS EACH 0 27 0.3422 9.24                   

2786 H13TSTRA TEST POINT HRNS RED-1/2" TERM HRNS EACH 0 10 0.521 5.21                   

2787 H14AV060 ARENA-LAMP TO BAL HNS HRNS EACH 0 4 25.42 101.68              

2788 H14AV420 ARENA-BAL TO LAMP HNS HRNS EACH 0 3 21.1733 63.52                

2789 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH 0 26 17.9777 467.42              

2790 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH 401 2 11.6524 23.30                

2791 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH 402 1 11.6524 11.65                

2792 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH 403 2 11.6479 23.30                

2793 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH 404 2 11.6479 23.30                

2794 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH 405 1 11.585 11.59                

2795 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH 406 2 11.585 23.17                

2796 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH M01 1 11.6524 11.65                

2797 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH M02 2 11.585 23.17                

2798 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH M03 2 11.6524 23.30                

2799 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH M05 2 11.6524 23.30                

2800 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH M07 2 11.6524 23.30                

2801 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH S02 2 11.6288 23.26                

2802 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH S03 1 18.5119 18.51                

2803 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH S04 2 11.6524 23.30                

2804 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH S05 2 11.6524 23.30                

2805 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH S06 2 11.6129 23.23                

2806 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH S07 1 11.6524 11.65                

2807 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH SB4 5 17.978 89.89                

2808 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH X02 1 11.6524 11.65                



SYNCROLITE VALUATION REPORT

2809 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH X03 2 13.3804 26.76                

2810 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH X04 1 11.6524 11.65                

2811 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH X06 1 11.6288 11.63                

2812 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH X07 2 11.6524 23.30                

2813 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH X09 1 11.6524 11.65                

2814 H1512000 UNIV PAN/TILT SENSOR HNS HRNS EACH X10 2 11.6524 23.30                

2815 H1512000U P/T SENSOR - RECERT RCRT EACH 0 74 5.8049 429.56              

2816 H1512000U P/T SENSOR - RECERT RCRT EACH 402 1 5.805 5.81                   

2817 H1512000U P/T SENSOR - RECERT RCRT EACH 405 1 5.805 5.81                   

2818 H1512000U P/T SENSOR - RECERT RCRT EACH 501 2 5.805 11.61                

2819 H1512000U P/T SENSOR - RECERT RCRT EACH 508 3 5.805 17.42                

2820 H1512000U P/T SENSOR - RECERT RCRT EACH 513 1 5.81 5.81                   

2821 H1512000U P/T SENSOR - RECERT RCRT EACH 702 2 5.805 11.61                

2822 H1512000U P/T SENSOR - RECERT RCRT EACH 703 2 5.805 11.61                

2823 H1512000U P/T SENSOR - RECERT RCRT EACH 705 2 5.805 11.61                

2824 H1512000U P/T SENSOR - RECERT RCRT EACH M01 1 5.805 5.81                   

2825 H1512000U P/T SENSOR - RECERT RCRT EACH M06 2 5.805 11.61                

2826 H1512000U P/T SENSOR - RECERT RCRT EACH S01 2 5.805 11.61                

2827 H1512000U P/T SENSOR - RECERT RCRT EACH S03 1 5.805 5.81                   

2828 H1512000U P/T SENSOR - RECERT RCRT EACH S06 4 5.805 23.22                

2829 H1512000U P/T SENSOR - RECERT RCRT EACH S07 1 5.805 5.81                   

2830 H1512000U P/T SENSOR - RECERT RCRT EACH S08 2 5.805 11.61                

2831 H1512000U P/T SENSOR - RECERT RCRT EACH S09 1 5.81 5.81                   

2832 H1512000U P/T SENSOR - RECERT RCRT EACH S10 2 5.805 11.61                

2833 H1512000U P/T SENSOR - RECERT RCRT EACH X01 1 5.805 5.81                   

2834 H1512000U P/T SENSOR - RECERT RCRT EACH X04 1 5.8 5.80                   

2835 H1512000U P/T SENSOR - RECERT RCRT EACH X05 2 5.805 11.61                

2836 H1512000U P/T SENSOR - RECERT RCRT EACH X08 2 5.805 11.61                

2837 H1512000U P/T SENSOR - RECERT RCRT EACH X09 1 5.805 5.81                   

2838 H1600200 COLOR CHANGER CABLE-4PIN-20FT UNIT EACH 0 1 35.15 35.15                

2839 H16AV480 ARENA-BAL TO CC HRNS EACH 0 7 15.0732 105.51              

2840 H17085A0 3K-5K DOOR SWITCH HNS-PT A HRNS EACH 0 17 7.1559 121.65              

2841 H17085BA SXL DOOR SW HNS-PT B-1180 HRNS EACH 0 1 3.1 3.10                   

2842 H17085BA SXL DOOR SW HNS-PT B-1180 HRNS EACH S06 2 3.095 6.19                   

2843 H17087A0 7K-10K DOOR SWITCH HNS-PT A HRNS EACH 0 2 8.555 17.11                

2844 H17087A0 7K-10K DOOR SWITCH HNS-PT A HRNS EACH X08 1 8.56 8.56                   

2845 H17087AA 7K-XL DOOR SW HNS PT-A-1180 HRNS EACH 0 3 7.6933 23.08                

2846 H17087B0 7K-10K DOOR SWITCH HNS-PT B HRNS EACH 0 18 2.4989 44.98                

2847 H17087B0 7K-10K DOOR SWITCH HNS-PT B HRNS EACH X08 1 2.02 2.02                   

2848 H17087B0R RCRT XL-DOOR SWITCH HRNS PT.B RCRT EACH 0 5 1.07 5.35                   

2849 H1708D70 SAVAN 7K DOOR SW HNS HRNS EACH 0 4 0.735 2.94                   

2850 H1708WH0 WET-DOOR SWITCH HNS ARCV EACH 0 16 17.2587 276.14              

2851 H1708WHA WET-DOOR SWITCH HNS-TFE HRNS EACH 0 7 17.4886 122.42              

2852 H1803020 MX3 SCRLHSE FAN HNS-RER125 FANS EACH 0 17 38.5153 654.76              

2853 H1803AR0 ARENA CHGR FAN HRNS EACH 0 2 13.52 27.04                

2854 H1803AR0R RCRT - ARENA CHGR FAN RCRT EACH 0 36 6.1 219.60              

2855 H1804350 3K-5K C2/C3 FAN HNS - QG303 FANS EACH 0 24 89.3513 2,144.43           

2856 H1804350R RECERT-3K C2/3 LONG FAN QG303 RCRT EACH 0 7 36.0257 252.18              

2857 H1804710 7K-10K C2/C3 FAN HNS - QG353 FANS EACH 0 90 71.7671 6,459.04           

2858 H1808020 MX3 L/H FAN HNS - RER160 ARCV EACH 0 21 57.1981 1,201.16           

2859 H18080A0 SX D-SIDE RFL FAN HNS-QG148 FANS EACH 0 9 79.0111 711.10              

2860 H18080B0 SX N-D SIDE RFL FAN HNS-QG148 FANS EACH 0 16 79.5631 1,273.01           

2861 H1809000 EBOX FAN HNS FANS EACH 0 2 12.615 25.23                



SYNCROLITE VALUATION REPORT

2862 H1810000 127 X 38MM FAN HARNESS - 115V ARCV EACH 0 11 43.7631 481.39              

2863 H181000A 127 X 38MM FAN HARNESS - 230V ARCV EACH 0 45 50.0141 2,250.63           

2864 H1903020 MX3 SCRLHSE GND WIRE HNS HRNS EACH 0 21 0.6229 13.08                

2865 H1907M40 MX4 BEAM GND WIRE HRNS EACH 0 18 0.4356 7.84                   

2866 H19094A0 MX4 MAIN GND HNS PT A HRNS EACH 0 21 0.7295 15.32                

2867 H19094B0 MX4 MAIN GND HNS PT B HRNS EACH 0 11 0.7909 8.70                   

2868 H1909D40 SAVAN 4 GROUND HNS HRNS EACH 0 3 0.5633 1.69                   

2869 H2008000 SX L/H TEMP SENSOR HNS HRNS EACH 0 11 2.1945 24.14                

2870 H200800A SX L/H TEMP SENSOR HNS REV A HRNS EACH 0 15 4.3467 65.20                

2871 H2008DI0 TEMP SENSOR HNS-SAVAN HRNS EACH 0 3 40.1467 120.44              

2872 H2104000 SX C2/3 DRIVER BOARD HNS HRNS EACH 0 11 0.2891 3.18                   

2873 H22AVT60 ARENA-BAL TO STRINGER BOX HNS HRNS EACH 0 7 18.1529 127.07              

2874 H23AVIO0 ARENA DMX I/O HNS HRNS EACH 0 3 17.3033 51.91                

2875 H23AVIOA GE ARENA I/O HRNS HRNS EACH 0 9 18.59 167.31              

2876 H23AVOP0 GE ARENA BAL-DMX/POWER OUT HRNS EACH 0 5 7.064 35.32                

2877 H24AVSB0 ARENA STRINGER BOX HNS HRNS EACH 0 6 33.4793 200.88              

2878 H28SD600 UNIVERSAL SD-6 RS-232 HNS HRNS EACH 0 3 0 -                     

2879 HSM02100 WHEEL STACK 1 HARNESS HRNS EACH 0 1 12.34 12.34                

2880 HSM02200 WHEEL STACK 2 HARNESS HRNS EACH 0 1 20.61 20.61                

2881 HSM02300 PAN HARNESS HRNS EACH 0 53 3.26 172.78              

2882 HSM02400 TILT HARNESS HRNS EACH 0 55 4.17 229.35              

2883 HSM02500 LENS GROUP 1 HARNESS HRNS EACH 0 1 9.52 9.52                   

2884 HSM02600 LENS GROUP 2 HARNESS HRNS EACH 0 1 9.52 9.52                   

2885 HSM03200 WHEEL STACK 2 MOTOR HNS HRNS EACH 0 (3.00)              383.4033 (1,150.21)          

2886 HSM03200 WHEEL STACK 2 MOTOR HNS HRNS EACH SB1 1 383.4 383.40              

2887 HSM03200 WHEEL STACK 2 MOTOR HNS HRNS EACH SB4 3 383.4033 1,150.21           

2888 HSM03500 LENS GROUP 1 MOTOR HARNESS HRNS EACH SB1 1 452.92 452.92              

2889 HSM03500 LENS GROUP 1 MOTOR HARNESS HRNS EACH SB4 5 452.924 2,264.62           

2890 HSM03600 LENS GROUP 2 MOTOR HNS HRNS EACH 0 1 148.06 148.06              

2891 HSM03600 LENS GROUP 2 MOTOR HNS HRNS EACH SB4 5 148.064 740.32              

2892 HSM05000 DMX HARNESS HRNS EACH 0 26 19.1877 498.88              

2893 HSM07100 POWER SUPPLY AC HARNESS HRNS EACH 0 55 2.5813 141.97              

2894 HSM07200 POWER SUPPLY DC/CONTROL HNS HRNS EACH 0 44 1.9207 84.51                

2895 HSM07300 SLAVE POWER/CONTROL HARNESS HRNS EACH 0 (7.00)              0.8257 (5.78)                 

2896 HSM08300 LAMP DC HARNESS REAR HRNS EACH 0 1 1.34 1.34                   

2897 HSM12000 DISPLAY HARNESS HRNS EACH 0 58 2.22 128.76              

2898 HSM18010 ASSY, LAMPHEAD IMPELLER ASSY EACH 0 (2.00)              40.91 (81.82)               

2899 HSM18010 ASSY, LAMPHEAD IMPELLER ASSY EACH SB1 1 40.91 40.91                

2900 HSM18010 ASSY, LAMPHEAD IMPELLER ASSY EACH SB4 2 40.91 81.82                

2901 HSM18020 ASSY, LAMPHEAD BLOWER ASSY EACH 0 240 16.1867 3,884.81           

2902 HSM18020 ASSY, LAMPHEAD BLOWER ASSY EACH SB1 1 16.19 16.19                

2903 HSM18020 ASSY, LAMPHEAD BLOWER ASSY EACH SB4 3 16.1867 48.56                

2904 HSM18030 ASSY, EBOX BOX FAN ASSY EACH SB1 1 10.37 10.37                

2905 HSM18030 ASSY, EBOX BOX FAN ASSY EACH SB4 4 10.365 41.46                

2906 HSTLABBI Harness Assy,  Ballast to Igni HRNS EACH 0 26 20.1646 524.28              

2907 HSTLADMX DMX/RDM Harness - Base to Elec HRNS EACH 0 26 19.0592 495.54              

2908 HSTLADSHA 3K-5K Door Switching Harness P HRNS EACH 0 26 7.5535 196.39              

2909 HSTLAEMG Electronic Mount Ground Harnes HRNS EACH 0 26 0.4185 10.88                

2910 HSTLARBI Harness Assy,  Ballast to Igni HRNS EACH 0 26 18.9115 491.70              

2911 HSTLARSH Reed Switch Harness - STLA HRNS EACH 0 26 3.7719 98.07                

2912 J0116NEA 1" X 1/16" GSKT-EPDM GSKT FOOT 0 200 0.1557 31.14                

2913 J0116SRA 1" X 1/16" GSKT-SILICONE RNFCD GSKT FOOT 0 78 2.3579 183.92              

2914 J0116SS0 1" X 1/16 SILICONE GSKT-BLK GSKT EACH 0 500 0.79 395.00              



SYNCROLITE VALUATION REPORT

2915 J0132SRS 1" X 1/32" SILICONE RBR STRIP GSKT FOOT 0 30 1.3547 40.64                

2916 J0216NEA 2" X 1/16" GSKT-EPDM GSKT FOOT 0 48.5 0.24 11.64                

2917 J0216SRA 2" X 1/16" GSKT-SILICONE RNFCD GSKT FOOT 0 130 3.5182 457.37              

2918 J1212NEA 1/2" X 1/2" GSKT-EPDM GSKT FOOT 0 645 0.3411 220.04              

2919 J1214NEA 1/2" X 1/4" GSKT-EPDM GSKT FOOT 0 240 0.1848 44.35                

2920 J1216NEA 1/2" X 1/16" GSKT-EPDM GSKT FOOT 0 250 0.0946 23.65                

2921 J1216SRA 1/2" X 1/16" GSKT-SILICONE RNF GSKT FOOT 0 51.748 1.5222 78.77                

2922 J1218NEA 1/2" X 1/8" GSKT-EPDM GSKT FOOT 0 525 0.098 51.45                

2923 J1232SRS 1/2"X1/32" SILICONE RBR STRIP GSKT FOOT 0 150 0.8573 128.59              

2924 J1238NEA 1/2 X 3/8" GASKET EPDM GSKT FOOT 0 25 0.2264 5.66                   

2925 J1416NE0 1/4 X 1/16 EPDM GSKT W/ADHESIV GSKT FOOT 0 400 0.09 36.00                

2926 J1KG0010 1K-MX4 GLASS GSKT GSKT EACH 0 141 3.33 469.53              

2927 J1KG0020 1K-MX3 GSKT-L/H SIDEBAR CENTER GSKT EACH 0 17 1.0512 17.87                

2928 J1KG0030 1K-MX3 GSKT-L/H SIDEBAR FRONT GSKT EACH 0 298 0.5529 164.76              

2929 J1KG0040 1K-MX3 GSKT-L/H SIDEBAR REAR GSKT EACH 0 298 2.4 715.20              

2930 J1KG0060 1K-MX3 GSKT-L/H TOP & BTM GSKT EACH 0 221 4.06 897.26              

2931 J1KG0070 1K-MX3 GSKT-BOWTIE @ YOKE ARM GSKT EACH 0 6 0.5 3.00                   

2932 J1KG0080 1K-MX3 GSKT - BOWTIE INAC EACH 0 (10.00)            0 -                     

2933 J31G0110 3K-10K GSKT - BACK DOOR GSKT EACH 0 35 3.7197 130.19              

2934 J31G0120 3K-10K GSKT - FRONT DOOR GSKT EACH 0 46 2.25 103.50              

2935 J35G0150 3K-5K GSKT-QW SKIN-FLTR-HOLES ARCV EACH 0 231 4.7594 1,099.42           

2936 J3KG001B 3K-SXL GLASS GSKT GSKT EACH 0 20 3.6335 72.67                

2937 J3KG002B 3K-10K GSKT-L/H-SIDEBAR CTR GSKT EACH 0 80 2.6515 212.12              

2938 J3KG003B 3K-5K GSKT - L/H - SIDEBAR FRO GSKT EACH 0 89 0.9489 84.45                

2939 J3KG004B 3K-5K GSKT-L/H-SIDEBAR REAR GSKT EACH 0 34 1.8529 63.00                

2940 J3KG005B 3K-5K GSKT - L/H - TOP & BOT GSKT EACH 0 140 7.7556 1,085.79           

2941 J7KG001A 7K-XL GLASS GSKT GSKT EACH 0 9 5.43 48.87                

2942 J7KG0030 7K-10K GSKT-L/H-SIDEBAR FRONT GSKT EACH 0 207 0.85 175.95              

2943 J7KG0040 7K-10K GSKT-L/H-SIDEBAR REAR GSKT EACH 0 180 1.69 304.20              

2944 J7KG0050 7K-10K GSKT-L/H-TOP & BOT GSKT EACH 0 73 3.65 266.45              

2945 JC112030 CMH150 L/H O-RING ARCV EACH 0 55 23.35 1,284.25           

2946 JC112040 CMH150 L/H SEAT SEAL ARCV EACH 0 55 24.6 1,353.00           

2947 JC112060 CMH150 FOCUS O-RING ARCV EACH 0 53 0 -                     

2948 JC412030 CMH-400 L/H O-RING ARCV EACH 0 42 28.85 1,211.70           

2949 JC412060 CMH-400 FOCUS CAP O-RING ARCV EACH 0 46 0 -                     

2950 JCM11220 CMH150 CHGR GLASS GASKET ARCV EACH 0 55 5.86 322.30              

2951 JCM11250 CMH150-BAL HOUSING GSKT ARCV EACH 0 55 4.8 264.00              

2952 JCM41210 CMH400-RECT CHGR O-RING ARCV EACH 0 42 18.25 766.50              

2953 JCM41220 CMH400 CHGR GLASS GASKET ARCV EACH 0 54 5.86 316.44              

2954 JCM41240 CMH400-L/H SEATED O-RING ARCV EACH 0 23 31.4 722.20              

2955 JCM41250 CMH400-BAL HOUSING GSKT ARCV EACH 0 40 4.8 192.00              

2956 JCMH1210 CMH FACE SEAL ARCV EACH 0 79 10.3038 814.00              

2957 JCMH1240 CMH COUPLER INNER GASKET ARCV EACH 0 55 7.5 412.50              

2958 JUNG0100 UNIV GSKT - SKID FACEPLT GSKT EACH 0 21 3.78 79.38                

2959 JUNG0140 UNIVERSAL GSKT - EBOX BOTTOM GSKT EACH 0 46 7.93 364.78              

2960 L02GERAD RADIUM 2K FOR GE ARENA LAMP EACH 0 3 287.5 862.50              

2961 L02LTISC LAMP - 2K - LTI - SHSC ARCV EACH 0 38 337.4858 12,824.46         

2962 L02PHLAR LAMP - ARENA 2K LAMP EACH 0 98 258.3206 25,315.42         

2963 L02PHLAR LAMP - ARENA 2K LAMP EACH A04 1 410.527 410.53              

2964 L02PHLAR LAMP - ARENA 2K LAMP EACH A05 2 258.32 516.64              

2965 L02USHSCB LAMP - 2K - USHIO LAMP EACH 0 146 680.2661 99,318.85         

2966 L02USHSCB LAMP - 2K - USHIO LAMP EACH M03 1 681.03 681.03              

2967 L02USHSCB LAMP - 2K - USHIO LAMP EACH SB1 2 680.27 1,360.54           



SYNCROLITE VALUATION REPORT

2968 L02USHSCB LAMP - 2K - USHIO LAMP EACH SB4 8 680.2663 5,442.13           

2969 L03USHSC LAMP - 3K - USHIO LAMP EACH 0 3 600 1,800.00           

2970 L03USHSCR RCRT USHIO 3K LAMP ARCV EACH 0 22 300 6,600.00           

2971 L04OSRXS LAMP-4K-OSRAM XSTAGE LAMP EACH 401 2 613.135 1,226.27           

2972 L05LTIHS LAMP - 5K - LTI LAMP EACH 0 37 725.7568 26,853.00         

2973 L07CAIXTG LAMP-6.4K-CAIZ-XSTAGE EQUIVALE ARCV EACH 0 1 705.6638 705.66              

2974 L07OSRXS LAMP-6.4K-OSRAM XSTAGE LAMP EACH 0 11 874.9618 9,624.58           

2975 L07OSRXS LAMP-6.4K-OSRAM XSTAGE LAMP EACH S04 3 874.8067 2,624.42           

2976 L07OSRXS LAMP-6.4K-OSRAM XSTAGE LAMP EACH S06 2 873.63 1,747.26           

2977 L08LTIHS LAMP - 8K - LTI LAMP EACH 0 56 902.942 50,564.75         

2978 L10LTIHS LAMP - 10K - LTI LAMP EACH 0 13 1,141.32 14,837.16         

2979 L85WUSD2 LAMP - 850 WATT - USHIO - D2 ARCV EACH 0 30 300 9,000.00           

2980 LACSOCKT LAMP SOCKET - ARENA COLOR CONN EACH 0 57 128 7,296.00           

2981 LACSOCKT LAMP SOCKET - ARENA COLOR CONN EACH A01 1 128 128.00              

2982 LACSOCKT LAMP SOCKET - ARENA COLOR CONN EACH A03 1 128 128.00              

2983 LACSOCKT LAMP SOCKET - ARENA COLOR CONN EACH A07 1 128 128.00              

2984 LACSOCKT LAMP SOCKET - ARENA COLOR CONN EACH A08 1 128 128.00              

2985 LCMH1500 CMH-150 LAMP ARCV EACH 0 7 30 210.00              

2986 LCMH4000 CMH-400 LAMP ARCV EACH 0 43 42.5 1,827.50           

2987 LHLDR959 CMH CERAMIC LAMP HOLDER 959 ARCV EACH 0 10 9.8917 98.92                

2988 LSBW9950 CMH 400 LAMP SOCKET-B&W 995 ARCV EACH 0 10 10.47 104.70              

2989 M-S Misc Sale INAC EACH 0 (17.00)            0 -                     

2990 M01K9LTC 1K VANE PIVOT LT REV C ARCV EACH 0 1 1.55 1.55                   

2991 M10K1090 8K-10K LAMP INSULATOR MCHN EACH 0 4 25.3975 101.59              

2992 M10K1090 8K-10K LAMP INSULATOR MCHN EACH X01 1 39.7084 39.71                

2993 M10KL19A 10K XSTAGE LAMP INSULATOR MCHN EACH 0 15 34.9073 523.61              

2994 M17KLRT0 7K-10K VANE PIVOT-FULL LENGTH MCHN EACH 0 1 20.15 20.15                

2995 M202410 MX COLOR CHANGER GLIDE MCHN EACH 0 34 7.5138 255.47              

2996 M20581A MX3 TILT MTR MOUNT SPACER MCHN EACH 0 45 20.99 944.55              

2997 M21841B MX3 TILT SPINDLE SPCR/RTNR MCHN EACH 0 4 12.4375 49.75                

2998 M2K9LRTB MX3 DOUS VANE PIVOT-FULL LENGT MCHN EACH 0 7 10.6614 74.63                

2999 M2KL1820 MX3 PAN GEAR MCHN EACH 0 175 34.7546 6,082.06           

3000 M2KL1820R RCRT MX3 PAN GEAR RCRT EACH 0 14 14 196.00              

3001 M2KL1830 MX3 TILT GEAR MCHN EACH 0 130 38.3088 4,980.14           

3002 M2KL1830R RECERT-2K TILT PLY RCRT EACH 0 28 15.375 430.50              

3003 M35CWLS0 3K-5K CNTRWGHT LARGE-SS MCHN EACH 0 9 183.75 1,653.75           

3004 M35CWMA0 3K-5K CNTRWGHT MED-ALU MCHN EACH 0 3 55 165.00              

3005 M35CWMS0 3K-5K CNTRWGHT MED-SS MCHN EACH 0 3 70 210.00              

3006 M35CWSA0 3K-5K CNTRWGHT SMALL-ALU MCHN EACH 0 10 81.3441 813.44              

3007 M35CWSS0 3K-5K CNTRWGHT SMALL-SS MCHN EACH 0 1 118.6911 118.69              

3008 M3KL006E 3K SIDE BAR 1" ARCV EACH 0 19 25.5162 484.81              

3009 M3KL007J 3K SIDE BAR - CABLE SIDE RJ INAC EACH 0 2 185 370.00              

3010 M3KL007K B73 SIDEBAR-CABLE SIDE MCHN EACH 0 4 99.67 398.68              

3011 M3KL008D 3K SIDE BAR DRIVE SIDE RD MCHN EACH 0 1 72.17 72.17                

3012 M3KL008E B73 SIDEBAR-DRIVE SIDE MCHN EACH 0 2 106.92 213.84              

3013 M3KL012A 3K-5K C1 RLR TUBE - 2" X 16" MCHN EACH 0 28 24.5 686.00              

3014 M3KL0160 SX3K SPRING RLR SHAFT MCHN EACH 0 4 14.2725 57.09                

3015 M3KL029D 3K-7K PAN HUB-PAINTED-RD MCHN EACH 0 31 209.6206 6,498.24           

3016 M3KL029F 3K-7K PAN HUB-HRB STYLE MCHN EACH 0 12 193.6975 2,324.37           

3017 M3KL030GR 3K PAN SPINDLE-RECERTIFIED RCRT EACH 0 5 118.125 590.63              

3018 M3KL030H 5K PAN SPINDLE MCHN EACH 0 5 261.716 1,308.58           

3019 M3KL033C 3K-5K TILT FLANGE-PAINTED-RC MCHN EACH 0 18 31.28 563.04              

3020 M3KL0410 i 3K LAMP BULLET - R0 ARCV EACH 0 50 12.1 605.00              



SYNCROLITE VALUATION REPORT

3021 M3KL041C SX3K-B73LAMP BULLET MCHN EACH 0 12 22.4092 268.91              

3022 M3KL041C SX3K-B73LAMP BULLET MCHN EACH S01 1 25.6043 25.60                

3023 M3KL182ER RCRT 3K/5K PAN GEAR RCRT EACH 0 24 22 528.00              

3024 M3KL182F SXL PAN GEAR-3/8"P 36T-FOR HRB MCHN EACH 0 113 63.7504 7,203.80           

3025 M3KL183D SX TILT GEAR-3/8"P 36T-QD-RD MCHN EACH 0 2 33.42 66.84                

3026 M3KL184B 3K TILT SPINDLE SPACER - RB MCHN EACH 0 10 13 130.00              

3027 M3KL186B 3K-7K PAN SPINDLE SPACER MCHN EACH 0 4 42.27 169.08              

3028 M3KL196F MX4 BEAM BASE-NEW MOTOR MCHN EACH 0 3 61.15 183.45              

3029 M3KL198E 3K BEAM ASSY CARRIER-RE MCHN EACH 0 3 34.08 102.24              

3030 M3KL198F MX4 BEAM ASSY CARRIER INAC EACH 0 1 38.7 38.70                

3031 M3KL198G MX4 BEAM CARRIER-NEW MTR MCHN EACH 0 9 39.2089 352.88              

3032 M3KL2060 3K-5K BEAM SPACER-#8-32X4.95"X MCHN EACH 0 44 7.4966 329.85              

3033 M3KL2120 i 3K BEAM ARM ARCV EACH 0 10 3.5 35.00                

3034 M3KL213C i 3K BALLAST BRACE-MACH ARCV EACH 0 4 25.79 103.16              

3035 M3KL213D 3K BALLAST BRACE-BENT ARCV EACH 0 20 25.79 515.80              

3036 M3KL2140 i 3K BEAM LINK ARCV EACH 0 9 4 36.00                

3037 M3KL2200 DOOR SWITCH BRACKET MCHN EACH 0 17 13.1765 224.00              

3038 M3KL2260 3K-5K PAN SPINDLE KEYWAY MCHN EACH 0 2 3.25 6.50                   

3039 M3KL2280 3K-10K BEAM ASSY RACK MCHN EACH 0 49 36.4369 1,785.41           

3040 M3KL2290 3K-10K BEAM ASSY RACK SPACER MCHN EACH 0 104 6.1442 639.00              

3041 M3KL9330 TILT CABLE SLEEVE - DELRIN MCHN EACH 0 94 14.0593 1,321.57           

3042 M3KL9SYF 3K-5K SPIDER V.2 MCHN EACH 0 7 93.9586 657.71              

3043 M57L0060 B573 SIDE BAR 1" MCHN EACH 0 61 21.1364 1,289.32           

3044 M5K20120 5K C2 RLR TUBE-1.5"X16" MCHN EACH 0 351 24.0625 8,445.93           

3045 M5K9LRTA 3K-5K VANE PIVOT-FULL-solid rn MCHN EACH 0 18 17.1539 308.77              

3046 M5KCW100 CNTRWGHT STDOFF-LONG MCHN EACH 0 75 3.73 279.75              

3047 M71CWLA0 7K-10K CNTRWGHT LARGE-ALU MCHN EACH 0 1 152.06 152.06              

3048 M71CWMA0 7K-10K CNTRWGHT MEDIUM-ALU MCHN EACH 0 1 95.54 95.54                

3049 M71CWMS0 7K-10K CNTRWGHT MED-SS MCHN EACH 0 1 75 75.00                

3050 M71CWSA0 7K-10K CNTRWHGT-SMALL-ALU MCHN EACH 0 11 63.1667 694.83              

3051 M71CWSS0 7K-10K CNTRWGHT SMALL-SS MCHN EACH 0 2 106.5 213.00              

3052 M7BB0210 RFP ONLY FRAME SHMT EACH 0 2 1,968.11 3,936.22           

3053 M7K13RTF 7K FIXED RLR FLANGE - 2" MCHN EACH 0 17 12.3976 210.76              

3054 M7K1911A EBOX SKID GLIDE MCHN EACH 0 3 6.88 20.64                

3055 M7K20140 7K-10K RLR FLANGE - 1.5" MCHN EACH 0 1 20.62 20.62                

3056 M7KL109B 3K-7K LAMP INSULATOR - DONUT MCHN EACH 0 9 35.12 316.08              

3057 M7KL109BR RCRT 3K-7K LAMP INSULATOR RCRT EACH 0 12 15 180.00              

3058 M7KL1493 iROLLER SPACER 0.060" ARCV EACH 0 40 1.5 60.00                

3059 M7KL149C ROLLER SPACER 0.075" MCHN EACH 0 100 3.8952 389.52              

3060 M7KL149D ROLLER SPACER 0.050" MCHN EACH 0 71 3.83 271.93              

3061 M7KL210C i SX7K LAMP HEAT SINK - REV C INAC EACH 0 3 0 -                     

3062 M7KL210D SX7K LAMP HEAT SINK - REV D MCHN EACH 0 3 265 795.00              

3063 M7KL210D SX7K LAMP HEAT SINK - REV D MCHN EACH X08 1 101.95 101.95              

3064 M7KL42D BULB BASE CLAMP - REV D MCHN EACH 0 36 13.0875 471.15              

3065 M7KL42D BULB BASE CLAMP - REV D MCHN EACH S04 1 17.55 17.55                

3066 M7KL42D BULB BASE CLAMP - REV D MCHN EACH S05 1 17.55 17.55                

3067 M7KL42D BULB BASE CLAMP - REV D MCHN EACH X02 1 17.55 17.55                

3068 M7KL42D BULB BASE CLAMP - REV D MCHN EACH X04 1 17.55 17.55                

3069 M7KL42D BULB BASE CLAMP - REV D MCHN EACH X06 1 17.55 17.55                

3070 M7KL42D BULB BASE CLAMP - REV D MCHN EACH X09 1 17.55 17.55                

3071 M7KL42D BULB BASE CLAMP - REV D MCHN EACH X10 1 17.55 17.55                

3072 M7KL42DR RCRT BULB BASE CLAMP RCRT EACH 0 24 7.5 180.00              

3073 MAVX9030 ARENA LAMP SPACER ARCV EACH 0 115 10.8878 1,252.10           



SYNCROLITE VALUATION REPORT

3074 MC00001A STEERING ARM DOUS- RED MCHN EACH 0 102 7.1903 733.41              

3075 MC00001B STEERING ARM DOUS- RED REV B MCHN EACH 0 100 6.2969 629.69              

3076 MC000020 STEERING ARM MOTOR-MX MCHN EACH 0 76 21.2767 1,617.03           

3077 MC00002A STEERING ARM MOTOR-REV A MCHN EACH 0 10 16.85 168.50              

3078 MC00003A STEERING ARM-MOTOR-SX-BLUE MCHN EACH 0 424 12.9934 5,509.21           

3079 MCSM0300 CS MOUNT RING BLOCK INAC EACH 0 72 5.74 413.28              

3080 MEYEBOLT SAFETY EYEBOLT MODS MCHN EACH 0 74 6.87 508.38              

3081 MIG0020 2K IGN COVER CHANNEL ARCV EACH 0 8 18.0883 144.71              

3082 MIG0030 2K IGN MOUNTING BLOCK ARCV EACH 0 19 15.1707 288.24              

3083 ML10091B MX3 LAMP CLAMP ARCV EACH 0 84 38.75 3,255.00           

3084 ML10091C MX3 LAMP CLAMP-TALLER ARCV EACH 0 13 13.8749 180.37              

3085 ML400710 MX4 1/2" SIDE BAR MCHN EACH 0 24 11.83 283.92              

3086 ML400810 MX4 BEAM ASSY MOUNT MCHN EACH 0 1 17.62 17.62                

3087 ML40081A MX4 BEAM MOUNT-NEW MTR MCHN EACH 0 9 14.64 131.76              

3088 ML40091A MX4 LAMP SUPPORT MCHN EACH 0 6 20.775 124.65              

3089 ML40092B MX4 SPIDER SUPPORT MCHN EACH 0 38 7.51 285.38              

3090 MPCLAMP0 PAN CLAMP 2K STATIC MCHN EACH 0 8 72.75 582.00              

3091 MPCLMP3A 3K STATIC PAN CLAMP MCHN EACH 0 11 122.5 1,347.50           

3092 MSMB302033 Stack Axle MCHN EACH 0 40 9.25 370.00              

3093 MSMB302082 120 GROOVE WHEEL HUB MCHN EACH 0 75 17.63 1,322.25           

3094 MSMB302411 GOBO WHEEL MCHN EACH 0 20 45.25 905.00              

3095 MSMB302501 WHEEL SPACER 1 MCHN EACH 0 100 1.255 125.50              

3096 MSMB302511 WHEEL SPACER 2 MCHN EACH 0 80 1.43 114.40              

3097 MSMB302521 WHEEL SPACER 3 MCHN EACH 0 70 1.07 74.90                

3098 MSMB302531 WHEEL SPACER 4 MCHN EACH 0 120 0.96 115.20              

3099 MSMB302541 WHEEL SPACER 5 MCHN EACH 0 74 1.3935 103.12              

3100 MSMB304431 Magnet Holder MCHN EACH 0 50 5.25 262.50              

3101 MSMB305012 ZOOM MOUNT PLATE MCHN EACH 0 47 27.82 1,307.54           

3102 MSMB305022 G1/G2 MOTOR MOUNT BLOCK MCHN EACH 0 77 19.3 1,486.10           

3103 MSMB305031 G1 LENS CARRIER MCHN EACH 0 (45.00)            0 -                     

3104 MSMB305032 G1 LENS CARRIER MCHN EACH 0 40 54.47 2,178.80           

3105 MSMB305042 G2 LENS CARRIER MCHN EACH 0 39 46.3 1,805.70           

3106 MSMB305051 ZOOM MOUNT SPACER MCHN EACH 0 88 1.96 172.48              

3107 MSMB306011 ZOOM SIDE RAIL MCHN EACH 0 26 0 -                     

3108 MSMB306012 ZOOM SIDE RAIL MCHN EACH 0 20 148.43 2,968.60           

3109 MSMB306022 DRIVE SIDE RAIL MCHN EACH 0 44 144.52 6,358.88           

3110 MSMB306032 FRONT BULKHEAD MCHN EACH 0 20 139.7 2,794.00           

3111 MSMB306042 BACK BULKHEAD MCHN EACH 0 36 134.7 4,849.20           

3112 MSMB306052 AFT BULKHEAD MCHN EACH 0 48 57.25 2,748.00           

3113 MSMB306062 LMAP MOUNT BASE MCHN EACH 0 20 30.6 612.00              

3114 MSMB306072 STACK MOUNT BRACKET MCHN EACH 0 899 5.48 4,926.52           

3115 MSMB306081 STACK MOUNT BRACKET CABLESIDE MCHN EACH 0 63 0 -                     

3116 MSMB306082 STACK MOUNT BRACKET CABLESIDE MCHN EACH 0 20 3.65 73.00                

3117 MSMB407031 PAN SPINDLE-Syncromite MCHN EACH 0 24 229.25 5,502.00           

3118 MSMB407041 SPINDLE STOP DISK MCHN EACH 0 36 53.1 1,911.60           

3119 MSMB407051 PAN HUB MCHN EACH 0 47 118.8 5,583.60           

3120 MSMB407101 TILT MOTOR MOUNTING BLOCK MCHN EACH 0 77 7.88 606.76              

3121 MSMB407133 TILT SPINDLE MCHN EACH 0 20 48.08 961.60              

3122 MSMB407151 TILT TUBE MCHN EACH 0 49 57.75 2,829.75           

3123 MSMB407162 YOKE HANDLE MCHN EACH 0 40 32.38 1,295.20           

3124 MSMB608141 EBOX CORNER BRACKET MCHN EACH 0 195 8.36 1,630.20           

3125 MSMB608151 EBOX COVER SUPPORT FRONT MCHN EACH 0 96 7.56 725.76              

3126 MSMB608161 EBOX COVER SUPPORT SIDE MCHN EACH 0 21 6.08 127.68              



SYNCROLITE VALUATION REPORT

3127 MSMB608171 EBOX GASKET BRACKET MCHN EACH 0 233 0 -                     

3128 MSMB608172 EBOX GASKET BRACKET MCHN EACH 0 160 3.25 520.00              

3129 MSMB608191 EBOX CLAMP MOUNT SUPPORT MCHN EACH 0 71 13.88 985.48              

3130 MSMB608192 EBOX CLAMP MOUNT SUPPORT MCHN EACH 0 185 13.88 2,567.80           

3131 MSMB608351 HANDLE MOUNTING-SYMMETRICAL MCHN EACH 0 97 9.67 937.99              

3132 MSMB608361 HANDLE GRIP MCHN EACH 0 93 5 465.00              

3133 MST230602 Igniter Mounting Block MCHN EACH 0 86 5.65 485.90              

3134 MST40330 4K STATIC TILT FLANGE MCHN EACH 0 5 78 390.00              

3135 MST40600 4K STATIC TILT SPINDLE MCHN EACH 0 5 125.24 626.20              

3136 MST70330 7K STATIC TILT FLANGE INAC EACH 0 4 93.5 374.00              

3137 MST7033A 7K STATIC TILT FLANGE MCHN EACH 0 2 81.25 162.50              

3138 MST70600 7K STATIC TILT SPINDLE INAC EACH 0 4 99.4 397.60              

3139 MSTL30601A SIDE RAIL 1 MCHN EACH 0 3 64.25 192.75              

3140 MSTL30602A SIDE RAIL 2 MCHN EACH 0 3 60.45 181.35              

3141 MSTL30603A TILT CLAMP PLATE MCHN EACH 0 6 32.5 195.00              

3142 MSTL30607A ARCH BEAM ASSY BASE ASSY EACH 0 3 32 96.00                

3143 MSTL306611 LENS RING ROLLER MCHN EACH 0 26 5.8246 151.44              

3144 MSTL40706A TILT FLANGE SHMT EACH 0 8 29.65 237.20              

3145 MSTL40708A TILT CLAMP RING STOP MCHN EACH 0 8 22.25 178.00              

3146 MSTL40709A PAN CLAMP PLATE MCHN EACH 0 4 35.35 141.40              

3147 MSTU030B SV4&7 STATIC PAN SPINDLE MCHN EACH 0 1 45.32 45.32                

3148 MSX1012A SX1K RLR TUBE-1.5" X 10.625" MCHN EACH 0 7 30.1629 211.14              

3149 MSX1013B FIXED RLR FLANGE - 1.5" RB MCHN EACH 0 1 25.83 25.83                

3150 MSX1014B RLR FLANGE - 1.5" MCHN EACH 0 8 18.8663 150.93              

3151 MSX1015A SPRING RLR FLANGE - 1.5" RA MCHN EACH 0 2 36.875 73.75                

3152 MSX10160 SX1K SPRING RLR SHAFT MCHN EACH 0 21 14.8624 312.11              

3153 MSX1029D MX3 PAN HUB REV D ARCV EACH 0 9 125 1,125.00           

3154 MSX1029E MX PAN HUB-FOR HRB MCHN EACH 0 4 190.2 760.80              

3155 MSX1030A MX4 PAN SPINDLE MCHN EACH 0 2 249.785 499.57              

3156 MSX10330 SX1K TILT FLANGE ARCV EACH 0 10 41.586 415.86              

3157 MSX10600 i SX1K TILT SPINDLE - REV 0 ARCV EACH 0 11 54 594.00              

3158 MSX1186A MX4 PAN SPINDLE SPACER MCHN EACH 0 52 15.6379 813.17              

3159 MSX1200A MX4 SPINDLE STOP DISK MCHN EACH 0 25 63.1236 1,578.09           

3160 MSX1226A SX1K PAN SPINDLE KEY REV A MCHN EACH 0 117 3 351.00              

3161 MSX20070 SX2K SIDE BAR CABLE SIDE ARCV EACH 0 80 38.7738 3,101.90           

3162 MSX20080 SX2K SIDE BAR DRIVE SIDE ARCV EACH 0 81 38.7815 3,141.30           

3163 MSX4007C USE REV D!!!!!!!!!! INAC EACH 0 7 66.6429 466.50              

3164 MSX4008B MX4 L/H SIDEBAR-DRIVE MCHN EACH 0 2 63.21 126.42              

3165 MSX40330 MX4 TILT FLANGE MCHN EACH 0 3 48.75 146.25              

3166 MSX40600 MX TILT SPINDLE MCHN EACH 0 2 101.2 202.40              

3167 MSX70060 SX7K 1 INCH SIDEBAR REV 0 ARCV EACH 0 17 13.5682 230.66              

3168 MSX70160 SX7K SPRING ROLLER SHAFT MCHN EACH 0 137 23.56 3,227.72           

3169 MSX7030A i 7K PAN SPINDLE-CHGS NEEDED MCHN EACH 0 4 250.44 1,001.76           

3170 MSX70580 7K MTR MOUNT PLATE REV 0 MCHN EACH 0 31 22.8426 708.12              

3171 MSX70600 i SX7K TILT SPINDLE MCHN EACH 0 2 87.5 175.00              

3172 MSX71840 SX7K TILT SPINDLE SPACER MCHN EACH 0 9 27.6 248.40              

3173 MSX71900 EBOX CLAMP SPACER MCHN EACH 0 (5.00)              13.03 (65.15)               

3174 MSX72260 7K PAN SPINDLE KEYWAY MCHN EACH 0 26 3.2385 84.20                

3175 MTCLAMP0 STATIC TILT CLAMP MCHN EACH 0 7 21.13 147.91              

3176 MWTS129A WTC BEACON SPNDL HUB SPACER ARCV EACH 0 12 64.58 774.96              

3177 MX418410 MX4 TILT SPINDLE SPCR/RTNR MCHN EACH 0 103 20.9 2,152.70           

3178 MX418410R RCRT MX TILT SPINDLE SPCR/RTNR RCRT EACH 0 9 12 108.00              

3179 MX4L0410 MX4 LAMP BULLET MCHN EACH 0 8 39.4488 315.59              



SYNCROLITE VALUATION REPORT

3180 MX4L0410 MX4 LAMP BULLET MCHN EACH M06 1 26.1 26.10                

3181 MX4L0410R RCRT MX4 BULLET RCRT EACH 402 1 5.5 5.50                   

3182 MX4L0410R RCRT MX4 BULLET RCRT EACH M05 1 5.5 5.50                   

3183 MX7KL42A THREADED 7K LAMP CLAMP MCHN EACH 0 5 63.24 316.20              

3184 P019G01A WET GEL GUIDE REAR/TABS STMP EACH 0 6 10.5433 63.26                

3185 P019G02A WET GEL GUIDE FRONT/NO TABS STMP EACH 0 41 8.9256 365.95              

3186 P57L017A 5-7K DOUSER VANE STMP EACH 0 348 7.3205 2,547.54           

3187 QSMB306904 HEAD COVER THERMOFORMED MOLD EACH 0 116 93.76 10,876.16         

3188 QSMB306911 HEAD COVER, FAN COVER MOLD EACH 0 94 12.81 1,204.14           

3189 QSMB407061 YOKE LEG COVER MOLD EACH 0 97 52.31 5,074.07           

3190 QSMB608611 FRONT COVER W/ BEZEL MOLD EACH 0 43 139.82 6,012.26           

3191 QSMB608711 BACK COVER, MOLDED MOLD EACH 0 40 100.64 4,025.60           

3192 QSTL30606A AUTO STRIKE INSULATOR PLATE MCHN EACH 0 4 8.62 34.48                

3193 R1529DC1615 RFL-14"X2.91"-DCC 1615-ADJ RFLT EACH 0 5 740 3,700.00           

3194 R1529DHAU 5K DCC RFL - RECERT RCRT EACH 0 88 352.5 31,020.00         

3195 R1529HHAR RFLT-14" X 2.9" HP - RCRT INAC EACH 0 5 275.472 1,377.36           

3196 R1533HHAR RCRT 14" HP RFL W/ HEAT DISP RCRT EACH 0 1 534 534.00              

3197 R1533NHA RFL-14"X3.3"-HP ADJ-NO HT DSP RFLT EACH 0 7 1,012.00 7,084.00           

3198 R1533NHAR RCRT RFL-14"X3.3"-HP ADJ-NO HT RCRT EACH 0 9 209.02 1,881.18           

3199 R1533NHAR RCRT RFL-14"X3.3"-HP ADJ-NO HT RCRT EACH S06 1 209.02 209.02              

3200 R1625D00 RFL-16"X2.50" DCC RFLT EACH 0 5 713 3,565.00           

3201 R1625HT0 RFL-16"X2.5" HP RFLT EACH 0 6 759.7024 4,558.21           

3202 R1625HT0R RCRT ARENA RFL - HP RCRT EACH 0 152 380 57,760.00         

3203 R2035DNNR RECERT-7K DCC NON ADJ RFL RCRT EACH 0 2 376 752.00              

3204 R2035NHP WTF 20.5x3.5" HP NON ADJ RFL.. ARCV EACH 0 1 1,367.31 1,367.31           

3205 R2035UHNR RCRT-20"X3.5"-UV-NOT ADJ-HT DS RCRT EACH 0 6 542 3,252.00           

3206 R2040DHA RFL-20"X4.0"-DCC ADJ-HT DSP RFLT EACH 0 (1.00)              905 (905.00)             

3207 R2040HHAU XL 20.5 X 4.0 HP RFL-RECERT RCRT EACH 0 1 652.5 652.50              

3208 R9521DNAU RFL-9.5"X2.1" DCC ADJ-RECERT RCRT EACH 0 9 262.5 2,362.50           

3209 R9527NHA RFL-9.5"X2.75"-HP-NO HT DSP-AD RFLT EACH 0 6 845 5,070.00           

3210 R9527NHAR RCRT RFL-9.5"X2.75"-HP-NO HT D RCRT EACH 0 10 422.5 4,225.00           

3211 RGEARNM0 GE MOONLIGHT RFL RFLT EACH 0 1 0 -                     

3212 RSMB301001 REFLECTOR-ELLIPTICAL RFLT EACH 0 71 250 17,750.00         

3213 RSMB301101 REFLECTOR-RETRO RFLT EACH 0 54 218 11,772.00         

3214 RSMB301201 Reflector, Lune RFLT EACH 0 40 167 6,680.00           

3215 S0000010 LP 5/7K TRANSFORMER BRACKET SHMT EACH 0 8 16.05 128.40              

3216 S019G050 MX3 GEL GUIDE REAR SHMT EACH 0 2 21.455 42.91                

3217 S019G06A MX3 GEL GUIDE FRONT REV A SHMT EACH 0 2 18.47 36.94                

3218 S10K1890 8-10K EBOX CONN PNL-kevin dwg SHMT EACH 0 4 39.1025 156.41              

3219 S10K1890R RCRT XL EBOX CONN PNL- kevin RCRT EACH 0 10 15.325 153.25              

3220 S10K1970 10K BEAM BRACKET SHMT EACH 0 3 29.37 88.11                

3221 S10K1970R RCRT 10K BEAM BRKT RCRT EACH 0 7 10 70.00                

3222 S1145CA0 MX3 CHGR ASSY COWL ARCH BRACE SHMT EACH 0 32 17.88 572.16              

3223 S1145CBC MX3 CHANGER ASSY COWL BODY SHMT EACH 0 20 38.213 764.26              

3224 S1145CCC MX3 CHANGER ASSY COWL COVER SHMT EACH 0 2 37.38 74.76                

3225 S1145CPB MX3 CHGR ASSY CONN PANEL SHMT EACH 0 2 31.925 63.85                

3226 S1145DEA MX3 COLOR CHANGER COMB SHMT EACH 0 8 2.5038 20.03                

3227 S1145FBC MX3 CHANGER ASSY FAN BOX SHMT EACH 0 13 19.61 254.93              

3228 S1145FK0 MX CHGR ASSY FAN BRKT SHMT EACH 0 24 9.45 226.80              

3229 S1145RB0 MCHN RTNR BLCK FOR CC COWL CVR MCHN EACH 0 18 9.9078 178.34              

3230 S182001B MX4 PAN/TILT SENSOR BRACKET SHMT EACH 0 42 5.4914 230.64              

3231 S20191S0 MX3 CC CONNECTOR SHIM SHMT EACH 0 37 1.48 54.76                

3232 S201920 MX CC CONN PANEL SHIM SHMT EACH 0 98 1.25 122.50              



SYNCROLITE VALUATION REPORT

3233 S205800 MX3 TILT MTR MOUNT PLATE SHMT EACH 0 89 16.2137 1,443.02           

3234 S20590A MX3 PAN MTR MOUNT PLATE SHMT EACH 0 70 10.11 707.70              

3235 S20590AR RECERT-MX4 PAN MTR MNT PLT RCRT EACH 0 15 8.105 121.58              

3236 S2KL1890 i 2K EBOX PLATE ADAPTER ARCV EACH 0 11 19.48 214.28              

3237 S2KL189A o MX3 EBOX CONNECTOR PANEL ARCV EACH 0 4 21.13 84.52                

3238 S2KL189B 2K EBOX CONN PANEL SHMT EACH 0 31 22.36 693.16              

3239 S2KY0410 2K STATIC BUTTON BRACKET SHMT EACH 0 4 18.335 73.34                

3240 S3K219BB 3K-5K C2 SIDE PLATE-COLOR SHMT EACH 0 1 20.83 20.83                

3241 S3K219TB 3K-5K C2 SIDE PLATE-FAN SHMT EACH 0 1 26.35 26.35                

3242 S3KL001F 3K LAMP FRONT SHMT EACH 0 4 90.5975 362.39              

3243 S3KL003I 3K RFL MOUNT ARCV EACH 0 1 55.7676 55.77                

3244 S3KL003M B73 RFL MOUNT-JSKIN SHMT EACH 0 8 48.48 387.84              

3245 S3KL017B 3K-5K DOUS VANE - ALU/TFE SHMT EACH 0 162 40.22 6,515.64           

3246 S3KL023NR RCRT SX3K COLOR/DOUS  SHELL RCRT EACH 0 2 40 80.00                

3247 S3KL023R 3K-5K CHANGER ASSY SHELL SHMT EACH 0 1 367.45 367.45              

3248 S3KL023X RETROFIT ADAPTER PLT-3K CHGR ARCV EACH 0 110 4.72 519.20              

3249 S3KL024A COLOR 2 MOUNTING RAIL SHMT EACH 0 23 6.7157 154.46              

3250 S3KL024B MX CC GLIDE RAIL SHMT EACH 0 3 8.5 25.50                

3251 S3KL037E 3K YOKE BOWTIE SHMT EACH 0 12 31.2792 375.35              

3252 S3KL038C SXL YOKE ARM COVER SHMT EACH 0 10 54.72 547.20              

3253 S3KL04BL 3K BJ SKIN-SHELL-DOOR SIDE ARCV EACH 0 10 43.65 436.50              

3254 S3KL04TD 3K BJ SKIN-SHELL-NON DOOR SIDE ARCV EACH 0 10 46.79 467.90              

3255 S3KL058D SXL/XL  P/T MTR MNT PLT SHMT EACH 0 14 23.2 324.80              

3256 S3KL133B ENCODER WHEEL COVER SHMT EACH 0 29 26.14 758.06              

3257 S3KL135B 3K-10K PAN CAL MOON PLATE SHMT EACH 0 42 4.28 179.76              

3258 S3KL145D i3K CHGR ASSY FRONT CVR-1 CHGR ARCV EACH 0 9 141.4738 1,273.26           

3259 S3KL154D 3K BJ SKIN RAIN HOOD ARCV EACH 0 20 20.02 400.40              

3260 S3KL158D 365 CFM IMPLR BRCKT-XTRA FAN ARCV EACH 0 97 13.05 1,265.85           

3261 S3KL159A 3K IGNITER SPACER/BRACKET SHMT EACH 0 23 12.31 283.13              

3262 S3KL175A 3K BJ SKIN-AIR BAFFLE ARCV EACH 0 20 21.4 428.00              

3263 S3KL176B FRONT LAMP INSP DOOR - SOLID SHMT EACH 0 2 21.9 43.80                

3264 S3KL176D 3K LAMP INSP DOOR W/LATCH HOLE SHMT EACH 0 6 20.11 120.66              

3265 S3KL189C 3K-5K EBOX CONN PNL-1015 ARCV EACH 0 57 16.48 939.36              

3266 S3KL194G E-SKID BASE PLATE - STUDS SHMT EACH 0 3 42.9333 128.80              

3267 S3KL194GR RCRT SKID BTM-STUDS RCRT EACH 0 24 10 240.00              

3268 S3KL195D E-SKID MODULE FACE PLATE SHMT EACH 0 2 34.205 68.41                

3269 S3KL1970 3K BEAM ASSY BRACKET ARCV EACH 0 4 11.7 46.80                

3270 S3KL19BJR RECERT-5K C1 SIDEBAR-DOUS ARCV EACH 0 19 15.2 288.80              

3271 S3KL19BK 5K C1 SIDE PLATE-DOUS SHMT EACH 0 6 30.4409 182.65              

3272 S3KL19TF 5K C1 SIDE PLATE-COLOR SHMT EACH 0 7 29.83 208.81              

3273 S3KL19TFR RECERT-5K C1 SIDE BAR-COLOR ARCV EACH 0 15 14.9153 223.73              

3274 S3KL202E 5K HEAT SHIELD MOUNT ARCV EACH 0 46 29.35 1,350.10           

3275 S3KL204C E-SKID WINDOW W/ GASKET SHMT EACH 0 133 6.6938 890.28              

3276 S3KL211D STATUS CHASSIS BOTTOM SHMT EACH 0 3 59.79 179.37              

3277 S3KL234A STATUS CHASSIS TOP SHMT EACH 0 2 45.1 90.20                

3278 S3KL235A STATUS CHASSIS MOUNT EAR SHMT EACH 0 22 9.23 203.06              

3279 S3KL2360 3K BASE INLET COVER-dryer vent SHMT EACH 0 2 39.055 78.11                

3280 S3KL236A 3K BASE INLET COVER-dryer vent SHMT EACH 0 1 33.2 33.20                

3281 S3KL240A 3K-5K HEAT SHIELD TOP SHMT EACH 0 190 3.77 716.30              

3282 S3KL3X1B 3K RFL ALIGNMENT BRCKT #1 SHMT EACH 0 27 6.7993 183.58              

3283 S3KL3X1B 3K RFL ALIGNMENT BRCKT #1 SHMT EACH 401 10 6.8 68.00                

3284 S3KL3X2D 3K-10K RFL ALIGNMENT BRKT #2 SHMT EACH 0 34 6.8229 231.98              

3285 S3KQS2BB 3K INTAKE/EXHAUST BLOCKER BTM SHMT EACH 0 6 25.38 152.28              



SYNCROLITE VALUATION REPORT

3286 S3KQS2TB 3K INTAKE/EXHAUST BLOCKER TOP SHMT EACH 0 8 20.94 167.52              

3287 S3KTBBFL LP 3KTB  BAL BAFFLE SHMT EACH 0 32 0.9547 30.55                

3288 S3KTBSCV LP 3KTB BAL SIDE CVR SHMT EACH 0 2 37.5 75.00                

3289 S3KTBTCV LP 3KTB BAL TOP CVR SHMT EACH 0 1 125 125.00              

3290 S3KY001I 3K YOKE ASSY BASE SHMT EACH 0 1 360.85 360.85              

3291 S3KY001IR RCRT SX3K YOKE BASE RCRT EACH 0 12 78 936.00              

3292 S3KY001J SXL YOKE ASSY BASE-HRB SHMT EACH 0 1 143.4895 143.49              

3293 S3KY002JR RCRT SX3KYOKE DRIVE ARM RCRT EACH 0 3 40 120.00              

3294 S3KY004ER RCRT SX3K YOKE CABLE ARM RCRT EACH 0 8 40 320.00              

3295 S3KY0110 SXL HRB SHMT EACH 0 60 15.1312 907.87              

3296 S4BM0010 MX4 BEAM ACTUATOR PLATE SHMT EACH 0 28 2.7496 76.99                

3297 S4BM0020 MX4 BEAM ACTUATOR ARM SHMT EACH 0 18 9.38 168.84              

3298 S5718210 B573 PAN/TILT SENSOR BRKT SHMT EACH 0 114 6.2202 709.10              

3299 S5721350 B573 CAL PLATE SPACER SHMT EACH 0 4 7.65 30.60                

3300 S57C042A FILTER SUPPORT TOP & BOTTOM SHMT EACH 0 12 26.5417 318.50              

3301 S57C0430 EXHAUST LOUVER ASSEMBLY SHMT EACH 0 21 56.3138 1,182.59           

3302 S57C044A B73 FILTER RETAINER SHMT EACH 0 31 8.189 253.86              

3303 S57CB40C B573 LAMP COVER BOTTOM SHMT EACH 0 4 86.595 346.38              

3304 S57CB41B B73 RAIN HOOD BOTTOM SHMT EACH 0 5 294.788 1,473.94           

3305 S57CB41BR RCRT B73 RAIN HOOD BOTTOM RCRT EACH 0 1 70 70.00                

3306 S57CT40B B573 LAMP COVER TOP SHMT EACH 0 5 78.578 392.89              

3307 S57CT41C B73 RAIN HOOD TOP RC SHMT EACH 0 4 254 1,016.00           

3308 S57CT41CR RCRT B73 RAIN HOOD TOP RCRT EACH 0 1 70 70.00                

3309 S57KL145A YESCO FRONT COVER SHMT EACH 0 1 333.08 333.08              

3310 S57L042A INLET RING DIAPHRAGM BOTTOM SHMT EACH 0 5 19.552 97.76                

3311 S57L043A INLET RING DIAPHRAGM TOP SHMT EACH 0 6 19.4133 116.48              

3312 S57L044B AIR DUCT DIAPHRAGM SHMT EACH 0 5 19.254 96.27                

3313 S57L046A AIR DUCT OUTER SHMT EACH 0 3 31.5033 94.51                

3314 S57L048A B73 SKIN AIR DUCT INNER SHMT EACH 0 5 21.824 109.12              

3315 S57L1580 B573 365CFM BLWR BRACKET INAC EACH 0 4 13.5 54.00                

3316 S57L158A B573 365CFM BLWR BRACKET SHMT EACH 0 22 17.7864 391.30              

3317 S5K3145A 5K CHGR ASSY COVER-3 CHGR SHMT EACH 0 32 203.6 6,515.20           

3318 S5KL1970 5K BEAM ASSY BRACKET SHMT EACH 0 3 20.32 60.96                

3319 S5KL1970R RECERT 5K BEAM BRKT RCRT EACH 0 53 10.16 538.48              

3320 S5KQ001T 5KQ/W SKIN-BFL CVR-NON DOOR SHMT EACH 0 8 210.8089 1,686.47           

3321 S5KQ0030 5K-Q/W SKIN-EXHAUST BFL ARCV EACH 0 56 37.68 2,110.08           

3322 S5KQ003M 5KQ/W SKIN-EXHAUST BFL-RETRO ARCV EACH 0 17 53.11 902.87              

3323 S5KQ005T 5KQ/W SKIN-SHELL-NON DOOR SHMT EACH 0 3 48.01 144.03              

3324 S72019B0 7K C2 PLATE-MOTOR SIDE SHMT EACH 0 3 53.44 160.32              

3325 S72019T0 7K C2 PLATE-FAN SIDE SHMT EACH 0 4 55.7625 223.05              

3326 S7BB0220 7K BALLAST BASE FLOOR SHMT EACH 0 2 88.925 177.85              

3327 S7K1463A 3MM GLASS BRACKET SHMT EACH 0 4 1.56 6.24                   

3328 S7K1465A 5MM GLASS BRACKET SHMT EACH 0 319 2.0998 669.83              

3329 S7K1931A 2K EBOX POWER SUPPLY ADAPTER SHMT EACH 0 39 7.2244 281.75              

3330 S7KFBTCV LP 5-7K FLAT BLST TOP CVR ASSY SHMT EACH 0 3 273.27 819.81              

3331 S7KL115C OMRON DETECTOR MNT W/ PEEPHOLE SHMT EACH 0 28 12.75 357.00              

3332 S7KL14640 4MM GLASS BRACKET SHMT EACH 0 41 5.0171 205.70              

3333 S7KL907A 3K-7K SIDEBAR BEARING RETAINER SHMT EACH 0 6 9.11 54.66                

3334 S7KQ0020 7KQ/W SKIN - INTAKE BFL SHMT EACH 0 5 54.15 270.75              

3335 S7KQ0020R RCRT 7K QSKIN INTAKE BFFL RCRT EACH 0 5 27 135.00              

3336 S7KQ0110 7KQ/W SKIN-EXHST BFL RETRO BOX ARCV EACH 0 21 8.86 186.06              

3337 S7KQ01TC i7K-Q/WSKN-BFL CVR N-DR-SML CU SHMT EACH 0 1 283.71 283.71              

3338 S7KQ01TDR RCRT 7KQ SKIN BFL CVR DR-BIG C RCRT EACH 0 2 100 200.00              



SYNCROLITE VALUATION REPORT

3339 S7KQ02BB 7K BTR DISH BOTTOM MNT-NO PEMS ARCV EACH 0 11 12.4726 137.20              

3340 S7KQ03BB 7KQ/WSKIN-EXH BFL UP-DOOR SIDE ARCV EACH 0 6 48.7 292.20              

3341 S7KQ03BBR RCRT 7K QSKIN EXH BFFL UP DOOR RCRT EACH 0 7 24 168.00              

3342 S7KQ05BBR RCRT 7KQ SKIN SHELL-DOOR SIDE RCRT EACH 0 3 34 102.00              

3343 S7KQ05TBR RCRT 7K QSKIN SHELL-NON DOOR RCRT EACH 0 2 66 132.00              

3344 SAB11980 3 XLR NUT PLATE SHMT EACH 0 24 12.95 310.80              

3345 SAGB1010 AC GE BALLAST RAIL 1 SHMT EACH 0 4 11.37 45.48                

3346 SAGB102A AC GE BALLAST RAIL 2 SHMT EACH 0 4 16.435 65.74                

3347 SAGB103A AC GE BALLAST MOUNTING RAIL 3 SHMT EACH 0 2 16.3 32.60                

3348 SAGB201A AV GE BALLAST COMPONENT PLT 1 SHMT EACH 0 3 18.14 54.42                

3349 SAV00010 ARENA L/H MOUNT EARS SHMT EACH 0 9 7.7261 69.53                

3350 SAV00020 i ARENA VISION LENS HOLDER SHMT EACH 0 30 52.73 1,581.90           

3351 SAV0002B ARENA LENS HOLDER-RB SHMT EACH 0 8 57 456.00              

3352 SAV0003A ARENA FRONT LIGHT BAFFLE-PHILL SHMT EACH 0 36 4.1 147.60              

3353 SAV0010DR RCRT ARENA ASSY SHELL-RD RCRT EACH 0 4 42.91 171.64              

3354 SAV00110 ARENA GLASS RTNR RING SHMT EACH 0 3 24.07 72.21                

3355 SAV00110R RCRT - ARENA GLASS RTNR RING RCRT EACH 0 30 8.885 266.55              

3356 SAV00120 ARENA SIDE SPACER BLOCK SHMT EACH 0 98 2.2109 216.67              

3357 SAV0013A ARENA INNER BRACE SHMT EACH 0 2 76 152.00              

3358 SAV00150R RCRT - ARENA FILTER HOLDER RCRT EACH 0 14 14.445 202.23              

3359 SAV0043B ARENA VISION TOP CVR-RB SHMT EACH 0 1 200 200.00              

3360 SAV03430 ARENA BOTTOM PANEL SHMT EACH 0 3 24.56 73.68                

3361 SAV04430R RCRT - ARENA CENTER PANEL RCRT EACH 0 12 28.5 342.00              

3362 SAV04440 ARENA STOP BRACKET SHMT EACH 0 1 16.85 16.85                

3363 SAV04440R RCRT -  ARENA STOP BRACKET RCRT EACH 0 24 3.18 76.32                

3364 SAVB0010 ARENA VISION BALLAST PLATE SHMT EACH 0 9 72.22 649.98              

3365 SAVG0010 ARENA VISION MOUNTING EAR (GE) SHMT EACH 0 4 96.17 384.68              

3366 SAVG003A ARENA FRONT LIGHT BAFFLE (GE) SHMT EACH 0 53 6.56 347.68              

3367 SAVX901B ARENA P51 DIAPHRAGM ARCV EACH 0 200 28.4161 5,683.22           

3368 SAVX901C ARENA P51 DIPHRAGM RC ARCV EACH 0 95 17.0694 1,621.59           

3369 SB01001A ADDE 5K BALLAST BASE SHELL SHMT EACH 0 2 87.24 174.48              

3370 SB010020 ADDE 5K BALLAST FRONT PANEL ARCV EACH 0 5 38.27 191.35              

3371 SB010030 ADDE 5K BALLAST REAR PANEL ARCV EACH 0 7 39.73 278.11              

3372 SB010040 ADDE 5K BALLAST FRONT BRACE ARCV EACH 0 6 21.45 128.70              

3373 SB010050 ADDE 5K BAL CB BRCKT-1 BREAKER ARCV EACH 0 13 6.92 89.96                

3374 SB010060 SBE BAL MOUNT RAIL ARCV EACH 0 16 14.11 225.76              

3375 SB02002A IREM 10K BAL- F-PNL -CIR&SNAP ARCV EACH 0 3 69.45 208.35              

3376 SB02002B IREM 10K BAL- F-PNL-HBL&CAM ARCV EACH 0 4 80.533 322.13              

3377 SB02002C IREM 10K FRNT PANEL-MX4 ARCV EACH 0 35 63.47 2,221.45           

3378 SB02003A IREM 10K BAL-R-PNL-EXTRA COOL ARCV EACH 0 1 60.767 60.77                

3379 SB021020 10K BAL COVER PLATE ARCV EACH 0 4 5 20.00                

3380 SB03001A CHINESE 3 X 2K BAL- BASE SHELL ARCV EACH 0 2 123.16 246.32              

3381 SB03002B CHINESE BAL- FRONT PNL ARCV EACH 0 18 56.75 1,021.50           

3382 SB030040 POWER GEMS BAL- MOUNT BRKT ARCV EACH 0 6 2 12.00                

3383 SB03005A 2 POLE CIRCUIT BREAKER BRKT ARCV EACH 0 38 6.88 261.44              

3384 SB52001A RFL BLOWER MOUNT SHMT EACH 0 93 3.9683 369.05              

3385 SBM0010 2K BEAM ACTUATOR PLATE ARCV EACH 0 4 4.74 18.96                

3386 SBM0020 2K BEAM ACTUATOR ARM ARCV EACH 0 12 18.41 220.92              

3387 SC09001A MX DOUS LINKAGE ROD-8712 ARCV EACH 0 46 8.79 404.34              

3388 SC09001B MX DOUS LINKAGE ROD-8724 SHMT EACH 0 33 5.6712 187.15              

3389 SC09002A 7K-10K DOUS LINKAGE ROD-GREEN SHMT EACH 0 12 5.98 71.76                

3390 SC090030 3K-5K DOUS LINKAGE ROD-BLUE SHMT EACH 0 101 4.0672 410.79              

3391 SCMH0090 CMH YOKE BRAKE INAC EACH 0 10 5.48 54.80                



SYNCROLITE VALUATION REPORT

3392 SD420020 4K FIXED LENS HOLDER SHMT EACH 0 2 38.98 77.96                

3393 SD420400 4K FIXED LENS HLDER CLAMP STRA SHMT EACH 0 6 9.46 56.76                

3394 SIG004A 2K IGN INTER-CONNECT BAR ARCV EACH 0 74 10.53 779.22              

3395 SIG0050 2K IGNITER CAP ARCV EACH 0 115 8.1417 936.30              

3396 SL10060C SX2K IMPELLER MOUNT REV C ARCV EACH 0 11 13.5818 149.40              

3397 SL100610 MX3 IMPELLER MT SPACER ARCV EACH 0 31 2.95 91.45                

3398 SL400420 MX4 SKIN FRONT DEFLECTOR SHMT EACH 0 144 3.6 518.40              

3399 SL400430 MX4 SKIN LIGHT BAFFLE SHMT EACH 0 179 4.9505 886.14              

3400 SL400440 MX4 SKIN REAR DEFLECTOR SHMT EACH 0 144 4.27 614.88              

3401 SL40060B MX4 IMPELLER MNT SHMT EACH 0 1 97.13 97.13                

3402 SL40090B MX4 SPIDER REV B SHMT EACH 0 7 10.57 73.99                

3403 SM4Y0110 MX4 HRB SHMT EACH 0 1 69.83 69.83                

3404 SM4Y0110R RCRT MX HRB RCRT EACH 0 14 8.75 122.50              

3405 SMDTSBR0 MED. ROBOT TEMP SNS BRKT SHMT EACH 0 11 0 -                     

3406 SPTDIAL0 PAN/TILT INDICATOR PLATE SHMT EACH 0 13 19.1046 248.36              

3407 SRATEPLT BAL RATING PLATE SHMT EACH 0 98 1.04 101.92              

3408 SS400110 4K STATIC GLASS RETAINER RING SHMT EACH 0 1 39.33 39.33                

3409 SS400130 4K STATIC CLR ASSY INNR BRACE SHMT EACH 0 1 51.37 51.37                

3410 SS400140 4K STATIC CLR ASSY OUTR BRACE SHMT EACH 0 1 38.16 38.16                

3411 SS41450 DOUSER ASSEMBLY STATIC COVER SHMT EACH 0 2 142.8894 285.78              

3412 SS4145D0 4K STATIC STOP BRACKET SHMT EACH 0 1 35.47 35.47                

3413 SS700900 SAVAN 7 STATIC SPIDER SHMT EACH 0 2 7.7 15.40                

3414 SS7CU42B 7K STATIC COVER ALIGNMENT TAB SHMT EACH 0 1 1.47 1.47                   

3415 SS7INDT0 SV4&7 TILT INDICATOR ARM SHMT EACH 0 14 9.23 129.22              

3416 SSLAF400 ARCH STATIC OUTER COVER FRONT SHMT EACH 0 3 94.36 283.08              

3417 SSLAM400 ARCH STATIC FRONT SUPPORT SHMT EACH 0 5 48.66 243.30              

3418 SSLT306011 Igniter Bracket Super Trouper SHMT EACH 0 20 32.44 648.80              

3419 SSMB302012 STACK FRONT PLATE SHMT EACH 0 37 41.16 1,522.92           

3420 SSMB302022 STACK BASE PLATE SHMT EACH 0 22 37.35 821.70              

3421 SSMB302042 MOTOR MOUNT BRACKET SHMT EACH 0 140 1.23 172.20              

3422 SSMB302051 WHEEL SENSOR BRACKET SHMT EACH 0 40 6.25 250.00              

3423 SSMB302072 HUB FLANGE SHMT EACH 0 526 2.04 1,073.04           

3424 SSMB302422 GOBO SPRING CLIP SHMT EACH 0 532 6.93 3,686.76           

3425 SSMB304211 STROBE BLADE ALANOD SHMT EACH 0 42 22.76 955.92              

3426 SSMB304221 STROBE BLADE STIFFENER SHMT EACH 0 20 15.03 300.60              

3427 SSMB305062 G1 LENS STRAP SHMT EACH 0 45 11.65 524.25              

3428 SSMB305072 G2 LENS STRAP SHMT EACH 0 46 10.73 493.58              

3429 SSMB305081 ZOOM LENS HARD STOP SHMT EACH 0 89 2.31 205.59              

3430 SSMB305811 FROST MOTOR MOUNT SHMT EACH 0 56 8.49 475.44              

3431 SSMB305831 FROST FLAG HOLDER SHMT EACH 0 20 6.17 123.40              

3432 SSMB306102 BACK COVER CAP SHMT EACH 0 106 33.79 3,581.74           

3433 SSMB306112 INTAKE FAN BRACKET SHMT EACH 0 42 18.36 771.12              

3434 SSMB306122 UV IR HEAT SHIELD SHMT EACH 0 97 11.56 1,121.32           

3435 SSMB306132 AFT HEAT SHIELD SHMT EACH 0 75 12.71 953.25              

3436 SSMB306151 REFLECTOR MOUNTING CLIP SHMT EACH 0 240 2.21 530.40              

3437 SSMB306172 UV IR BULKHEAD SHMT EACH 0 44 38.28 1,684.32           

3438 SSMB306182 HEAD COVER FILTER BRACKET SHMT EACH 0 195 6.78 1,322.10           

3439 SSMB306302 DUAL BLOWER BRACKET SHMT EACH 0 50 9.73 486.50              

3440 SSMB407012 YOKE BASE MCHN EACH 0 20 56.42 1,128.40           

3441 SSMB407072 YOKE LEG CABLE SIDE SHMT EACH 0 20 57.36 1,147.20           

3442 SSMB407082 YOKE LEG DRIVE SIDE SHMT EACH 0 23 56.29 1,294.67           

3443 SSMB407092 HUB REINFORCEMENT BRACKET SHMT EACH 0 20 18.82 376.40              

3444 SSMB407112 TILT MOTOR MOUNTING BRACKET SHMT EACH 0 20 9.72 194.40              



SYNCROLITE VALUATION REPORT

3445 SSMB407122 PAN MOTOR MOUNTING BRACKET SHMT EACH 0 20 12.06 241.20              

3446 SSMB407142 BOW TIE COVER SHMT EACH 0 16 62.33 997.28              

3447 SSMB608102 EBOX BASE PLATE SHMT EACH 0 51 67.75 3,455.25           

3448 SSMB608112 EBOX SIDE RAIL SHMT EACH 0 40 16.42 656.80              

3449 SSMB608122 EBOX CROSS BRACE SHMT EACH 0 (40.00)            22.77 (910.80)             

3450 SSMB608132 EBOX CENTER BRACE SHMT EACH 0 40 12.7 508.00              

3451 SSMB608201 EBOX INNER STRAP SHMT EACH 0 20 19.5 390.00              

3452 SSMB608212 EBOX OUTER STRAP SHMT EACH 0 40 24.34 973.60              

3453 SSMB608221 EBOX BALLAST FAN BRACKET SHMT EACH 0 7 0 -                     

3454 SSMB608222 EBOX BALLAST FAN BRACKET SHMT EACH 0 20 13.82 276.40              

3455 SSMB608231 EBOX LVPS/DRVR CARD FAN BRACKE SHMT EACH 0 16 0 -                     

3456 SSMB608232 EBOX LVPS/DRVR CARD FAN BRACKE SHMT EACH 0 20 9.94 198.80              

3457 SSMB608513 FRONT PANEL BRACKET SHMT EACH 0 20 22.3 446.00              

3458 SSMB608623 WIRE MESH SHMT EACH 0 440 5.63 2,477.20           

3459 SSST700A 7K STATIC LAMP REMOVAL TOOL SHMT EACH 0 2 67.45 134.90              

3460 SST7Y01A SV7T- YOKE SHMT EACH 0 1 323.43 323.43              

3461 SST7Y37C SV7 YOKE TOP CVR SHMT EACH 0 1 26.69 26.69                

3462 SSTL1950 BLANK FACE PLATE SHMT EACH 0 2 35.51 71.02                

3463 SSTL30604A LAMP REAR SHMT EACH 0 3 113.98 341.94              

3464 SSTL40704A YOKE HRB SHMT EACH 0 2 47.92 95.84                

3465 SSTL40705A YOKE ARM SHMT EACH 0 8 94.35 754.80              

3466 SSTL40707A MOUNT, YOKE ARM, ELECTRONICS SHMT EACH 0 4 46.66 186.64              

3467 SSTL60803A FRONT/REAR PANEL SHMT EACH 0 2 52.28 104.56              

3468 SSTL60804A LEFT PANEL SHMT EACH 0 1 38.06 38.06                

3469 SSTL60805A RIGHT PANEL SHMT EACH 0 28 40.16 1,124.48           

3470 SSTL60806A TOP COVER SHMT EACH 0 1 186.94 186.94              

3471 SSTL60807A CONNECTOR PANEL SHMT EACH 0 1 30.29 30.29                

3472 SSTL60808A PLENUM SHMT EACH 0 5 49.3 246.50              

3473 SSTL70601A LAMP HEAD COVER, BOTTOM SHMT EACH 0 3 74.88 224.64              

3474 SSTL70602A LAMP HEAD COVER, TOP SHMT EACH 0 4 72.92 291.68              

3475 SSX1001C SX1K LAMP FRONT SHMT EACH 0 1 173.7 173.70              

3476 SSX1023J MX DOUS ASSEMBLY SHELL SHMT EACH 0 10 94.195 941.95              

3477 SSX1028A MX L/H FILTER FRISBEE SHMT EACH 0 23 35.12 807.76              

3478 SSX10320 i SX1K SPRING BRACKET ARCV EACH 0 56 2.86 160.16              

3479 SSX1037A SX1K  BOWTIE SHMT EACH 0 19 21.42 406.98              

3480 SSX10380 SX1K YOKE ARM COVER SHMT EACH 0 19 26.2 497.80              

3481 SSX11960 BAL MODULE NUT PLATE 1-CPC SHMT EACH 0 5 7.12 35.60                

3482 SSX11970 BAL MODULE NUT PLATE 2-XLR SHMT EACH 0 20 3.78 75.60                

3483 SSX1Y01E MX4 YOKE BASE SHMT EACH 0 1 95.35 95.35                

3484 SSX2003E MX4 RFL MOUNT-RE SHMT EACH 0 5 37.146 185.73              

3485 SSX2003F MX4 RFL MNT W/IGNITER HOLES SHMT EACH 0 2 84.1 168.20              

3486 SSX20170 SX2K DOUS VANE-ALU/TFE SHMT EACH 0 3 14.3947 43.18                

3487 SSX2017A SX2K DOUS VANE-SS/BLK OX SHMT EACH 0 65 14.11 917.15              

3488 SSX2Y04A MX3 YOKE CABLE ARM SHMT EACH 0 2 28.34 56.68                

3489 SSX4002A MX4 L/H REAR SHMT EACH 0 1 156.78 156.78              

3490 SSX4Y020 MX4 YOKE DRIVE ARM SHMT EACH 0 1 148.25 148.25              

3491 SSX4Y04A MX4 YOKE CABLE ARM SHMT EACH 0 1 199.05 199.05              

3492 SSX7001A SX7K LAMP FRONT SHMT EACH 0 2 332.035 664.07              

3493 SSX7002C SX7K LAMP REAR-W/ KEY INAC EACH 0 1 80.88 80.88                

3494 SSX7023B i7K CHANGER ASSY SHELL-RB SHMT EACH 0 1 90.37 90.37                

3495 SSX7023C 7K CHANGER ASSY SHELL-RC SHMT EACH 0 8 119.22 953.76              

3496 SSX704B0 SX7K BJ SKIN SHELL-DOOR ARCV EACH 0 20 46.83 936.60              

3497 SSX704T0 SX7K BJ SKIN SHELL-NON DOOR ARCV EACH 0 20 58.13 1,162.60           



SYNCROLITE VALUATION REPORT

3498 SSX71540 SX7K BJ SKIN- RAIN HOOD ARCV EACH 0 20 30.13 602.60              

3499 SSX7158B 530 CFM IMPLR BRACKET ARCV EACH 0 2 28.97 57.94                

3500 SSX7187D EBOX BOTTOM PLATE W/ PAINTMSK SHMT EACH 0 2 104.2 208.40              

3501 SSX7187DR RECERT-EBOX BOTTOM PLATE ARCV EACH 0 52 15.07 783.64              

3502 SSX7188CR RCRT EBOX SHELL RCRT EACH 0 2 45 90.00                

3503 SSX7188D MX EBOX FRAME SHMT EACH 0 4 107.1 428.40              

3504 SSX7193B EBOX PWR PLATE-4 PEMS SHMT EACH 0 31 13.0197 403.61              

3505 SSX7193C EBOX PWR PLATE-2 PEMS ARCV EACH 0 105 19.88 2,087.40           

3506 SSX719BH needs rev - sx7k dous plate SHMT EACH 0 1 28.37 28.37                

3507 SSX719BHR RCRT-7K DOUS SIDE PLATE RCRT EACH 0 8 14 112.00              

3508 SSX719TER RCRT - 7K COLOR SIDE PLATE RCRT EACH 0 8 14 112.00              

3509 SSX72390 SX7K DOUS STOP SHMT EACH 0 210 3.32 697.20              

3510 SSX7K208R SX7K LAMP COVER GRILL ROUND SHMT EACH 0 20 32.18 643.60              

3511 SSX7K208RT SX7K LAMP COVER GRILL RECTANGL SHMT EACH 0 20 32.18 643.60              

3512 SSX7Y01A i SX7K YOKE ASSY BASE-RA ARCV EACH 0 7 99.71 697.97              

3513 SSX7Y02C SX7K YOKE DRIVE ARM - REV C SHMT EACH 0 21 59.27 1,244.67           

3514 SUBF0010 UBF BASE PLATE SHMT EACH 0 1 147.71 147.71              

3515 SUBF0010 UBF BASE PLATE SHMT EACH VEN 10 147.706 1,477.06           

3516 SUBF05AA UBF CVR W/ WINDOW-2015 SHMT EACH 0 6 119.28 715.68              

3517 SUBF3K04 UBF-3K END COVER - LOUVERS ARCV EACH 0 4 52.35 209.40              

3518 SUBF3K30 UBF-3K SIDE COVER ARCV EACH 0 3 66.03 198.09              

3519 SUBF72BB UBF-7K SIDE COVER - IREM ARCV EACH 0 1 39.22 39.22                

3520 SUBF73BB UBF-7K SIDE CVR W/ ACCESS-IREM ARCV EACH 0 1 43.29 43.29                

3521 SUBF7KAB UBF-7K END COVER - IREM ARCV EACH 0 1 29.64 29.64                

3522 SUL00210 UNIV LAMP REAR DOOR SHMT EACH 0 20 60.088 1,201.76           

3523 SUL0021A UNIV LAMP REAR DOOR SHMT EACH 0 4 64.49 257.96              

3524 SUL0021B LAMP REAR DOOR SHMT EACH 0 3 45.01 135.03              

3525 SUL00220 UNIVERSAL LAMP REAR DOOR SHMT EACH 0 1 57.2 57.20                

3526 SUPT1350 UNIV PAN/TILT CAL PLATE SHMT EACH 0 132 4.8886 645.30              

3527 SUWU0040 UBF/WPE ACCESS DOOR 2015 SHMT EACH 0 (3.00)              56.05 (168.15)             

3528 SUWU0140 UBF/WPE ACCESS DOOR WINDOW 201 SHMT EACH 0 9 49.25 443.25              

3529 SWC019DA WET DOUSER SIDE PLATE ARCV EACH 0 34 12.4733 424.09              

3530 SWC019DB AC DOUSER SIDE PLATE SHMT EACH 0 13 15.1926 197.50              

3531 SWC02300 WET COL/DOUS ASSY SHELL ARCV EACH 0 24 45.1718 1,084.12           

3532 SWC0230B AC COLOR/DOUSER ASSY SHELL SHMT EACH 0 1 150.88 150.88              

3533 SWC02310 ARENA LIGHT BAFFLE SHMT EACH 0 30 5.08 152.40              

3534 SWPE0040 WPE-DOOR W/OBSERV. WINDOW INAC EACH 0 6 59.75 358.50              

3535 SWRGUIDE i WIRE GEL GUIDE SHMT EACH 0 406 1.52 617.12              

3536 SX10031B MX4 RFL RING REV B SHMT EACH 0 12 34.1042 409.25              

3537 SX1019DH MX3 DOUSER PLATE-8724 SHMT EACH 0 2 28.965 57.93                

3538 SX11450D MX CHANGER ASSY FRONT COVER SHMT EACH 0 15 52.6427 789.64              

3539 SX114510 MX CHGR ASSY COVER RETAINER SHMT EACH 0 1 4.52 4.52                   

3540 SX1145C MX3 CHANGER ASSY FRONT COVER SHMT EACH 0 3 108.84 326.52              

3541 SX2021B 2K BEAM ASSY FRAME ARCV EACH 0 8 16.2 129.60              

3542 SX2Y02A SX2K YOKE DRIVE ARM-RA SHMT EACH 0 3 31.4 94.20                

3543 SX40040A MX4 LAMP CVR INTAKE SIDE SHMT EACH 0 4 86.7 346.80              

3544 SX40041A MX4 LAMP CVR EXHAUST SIDE SHMT EACH 0 1 78.23 78.23                

3545 SX400500 MX4 LAMP CVR INTAKE PLENUM SHMT EACH 0 6 86.53 519.18              

3546 SX400510 MX4 OUTER COVER EXHAUST SIDE L SHMT EACH 0 1 129.03 129.03              

3547 SX400530 MX4 OUTER CVR EXHAUST SIDE RT SHMT EACH 0 1 178.43 178.43              

3548 SX400720 MX4 TILT-TUBE SHIELD SHMT EACH 0 50 7.38 369.00              

3549 SX40380 MX4 YOKE ARM COVER SHMT EACH 0 10 44.09 440.90              

3550 SX411230 CHANGER ASSY FILTER RETAINER SHMT EACH 0 32 12.81 409.92              



SYNCROLITE VALUATION REPORT

3551 SX7K002D SX7K LAMP REAR - RING WEIGHTS SHMT EACH 0 (1.00)              291.72 (291.72)             

3552 SX7K00SDR RCRT-SX7K LAMP REAR - RING WEI RCRT EACH 0 1 190.86 190.86              

3553 SX7K017A 7K DOUSER VANE - ALU/TFE SHMT EACH 0 3 14.6633 43.99                

3554 SX7K04BC i SX7K BJ SKIN SHELL-DOOR ARCV EACH 0 10 46.83 468.30              

3555 SX7K191DR RCRT EBOX SIDE RAIL RCRT EACH 0 29 9.22 267.38              

3556 TAMPEXTR AMP PIN EXTRACTOR TOOL EACH 0 25 11.1544 278.86              

3557 TMFJEXTR MINI-FIT JR PIN EXTRACTOR TOOL EACH 0 25 16.7016 417.54              

3558 TSFTYAPR WELDING APRON TOOL EACH 0 (3.00)              0 -                     

3559 TSFTYGLV WELDING GLOVES TOOL EACH 0 (3.00)              0 -                     

3560 TSFTYSHL SAFETY FACE SHIELD TOOL EACH 0 (3.00)              0 -                     

3561 TSFTYSLV WELDING SLEEVES TOOL EACH 0 (3.00)              0 -                     

3562 UAFK&N oMX K&N AIR FILTER ARCV EACH 0 10 43.118 431.18              

3563 UBLBSL01 RBR BULB SEAL-3/8x9/16x15/16 UTIL FOOT 0 13 1.7069 22.19                

3564 UBNG12SS BUNGEE CORD 12" SS HOOKS ARCV EACH 0 40 4.33 173.20              

3565 UBNG16SS BUNGEE CORD 16" L SS HOOKS ARCV EACH 0 24 4.51 108.24              

3566 UBUDHAND BUD HANDLE UTIL EACH 0 13 3.9977 51.97                

3567 UBUDHAND BUD HANDLE UTIL EACH JES 2 3.936 7.87                   

3568 UCC12500 CABLE CLAMP-1 1/4 CONDUIT UTIL EACH 0 4 4.542 18.17                

3569 UCDGP100 NYLON CORD GRIP-1 CORD UTIL EACH 0 106 2.6447 280.34              

3570 UCDGP101 NYL CORDGRP-1 CD-0.170"-0.450" UTIL EACH 0 158 1.4281 225.64              

3571 UCDGP200 NYLON CORD GRIP-2 CORDS UTIL EACH 0 2 3.57 7.14                   

3572 UCDGP300 CORD GRIP-FOR 0.63-0.75"D-8/5 UTIL EACH 0 1 21.16 21.16                

3573 UCFBEAR0 BEARING FOR QG SERIES FAN UTIL EACH 0 735 2 1,470.00           

3574 UCRB1438 CARABINER-1/4"SNAP 3/8"EYE UTIL EACH 0 5 3.81 19.05                

3575 UCRDGIDE oCARD GUIDE ARCV EACH 0 483 0.26 125.58              

3576 UCSC5041 #51 CLAMP Z - 6 HOLE LRG UTIL EACH 0 17 0.5553 9.44                   

3577 UCSCC312 CASTER CUP 3 1/2" UTIL EACH 0 32 1.64 52.48                

3578 UCSCNR16 CORNER 16GA LARGE FLAT ZN UTIL EACH 0 19 0.66 12.54                

3579 UCSL2508 R LOW MOUNT CATCH UTIL EACH 0 6 5.18 31.08                

3580 UCSL25HM R CATCH W/OFFSET Z -CASE "A" UTIL EACH 0 8 7.4313 59.45                

3581 UCSL25WS R CATCH W/SPRING-HIGH MOUNT UTIL EACH 0 10 6.63 66.30                

3582 UCSL4288 RETRACTABLE CATCH  3" HOOK UTIL EACH 0 9 7.73 69.57                

3583 UCSL5DL LATCH DUAL LOCK - COFFIN UTIL EACH 0 3 7.53 22.59                

3584 UCSL5MED R CATCH W OFFSET - MEDIUM UTIL EACH 0 4 4.36 17.44                

3585 UCSL5RLM STANDARD ROTO LOCK - MALE UTIL EACH 0 1 3.22 3.22                   

3586 UCWLDDSK LEAD DISK - 2 3/4" X 1/2" UTIL EACH 0 184 16.994 3,126.90           

3587 UDRWLTCH POLYPROPYLENE DRAW LATCH 1.75" UTIL EACH 0 48 0.1133 5.44                   

3588 UDRWLTCH POLYPROPYLENE DRAW LATCH 1.75" UTIL EACH 401 10 0.0891 0.89                   

3589 UDRWLTCH POLYPROPYLENE DRAW LATCH 1.75" UTIL EACH 402 6 0.0891 0.53                   

3590 UDRWLTCH POLYPROPYLENE DRAW LATCH 1.75" UTIL EACH M03 10 0.1133 1.13                   

3591 UDRWLTCH POLYPROPYLENE DRAW LATCH 1.75" UTIL EACH M05 10 0.0891 0.89                   

3592 UEDGTRM0 EDGE TRIM-SILICONE 1/8" GAP GSKT FOOT 0 201.25 2.3435 471.62              

3593 UF127248 FOAM FILTER 1/2" X 72X48 UTIL SQIN 0 4,078.00 0.0564 230.00              

3594 UF35KQW0 3K-5K QW FILTER-OLD STYLE ARCV EACH 0 10 0 -                     

3595 UF35KQWA 3K-5K QW FILTER-NEW STYLE UTIL EACH 0 15 2.0693 31.04                

3596 UF71KQW0 7K-10K QW FILTER UTIL EACH 0 19 3.8537 73.22                

3597 UFARNIN0 ARENA INTAKE FILTER UTIL EACH 0 19 0.4184 7.95                   

3598 UFB73SJ0 B73 JOHN SKIN FILTER UTIL EACH 0 14 9.5879 134.23              

3599 UFGFPBL0 FINGER GUARD-FLAT BAL-FLAT UTIL EACH 0 12 2.0558 24.67                

3600 UFGSTLBASE FAN GUARD St. Louis Base UTIL EACH 0 7 0.7557 5.29                   

3601 UFIL30PP FOAM FILTER 1/2"TX8"WX5'L UTIL SQIN 0 3,317,759.98 0 25.06                

3602 UFILSS40 SV4K FOAM FILTER UTIL EACH 0 4 0.7325 2.93                   

3603 UFILSS70 SV7 FOAM FILTER UTIL EACH 0 4 1.525 6.10                   



SYNCROLITE VALUATION REPORT

3604 UFLGROM1 FLEXBL GROMMET EDGING-0.125" T UTIL EACH 0 439 1.237 543.05              

3605 UFMX4AL0 MX4 MESH FILTER SHMT EACH 0 2 16.83 33.66                

3606 UFMX4SH0 MX4 SCRLHSE INTAKE FILTER UTIL EACH 0 2 0.26 0.52                   

3607 UFOAMTAPE 1/4" W DBL SIDED POLYUR. TAPE UTIL FOOT 0 378 0.1496 56.54                

3608 UFWET3M0 WET FILTER ARCV EACH 0 2 10.97 21.94                

3609 UGR12010 Grommet-1/2"ID 1"OD 3/4" PNL H UTIL 1 0 68 0.2137 14.53                

3610 UGR25500 GROMMET-1/4IDX1/2OD 11/32PNL H UTIL EACH 0 368 0.0634 23.34                

3611 UGR28FF0 GUIDE RAIL FOR BEACON ARCV EACH 0 18 459.7545 8,275.58           

3612 UGR34010 RBR GROMMET 3/4ID X 1"OD- Sava UTIL EACH 0 36 0.1986 7.15                   

3613 UGRHT1216T GROMMET-HIGH TEMP 1/2OD 1/16TH UTIL EACH 0 250 0.6141 153.52              

3614 UHAND57K SBE BALLAST HANDLE UTIL EACH 0 3 2.27 6.81                   

3615 UHNDBPUL LP BALLAST PULL HANDLE UTIL EACH 0 6 8.52 51.12                

3616 UHNDT250 NYLON T-HANDLE KNOB-2 1/2"D 1/ ARCV EACH 0 80 1.55 124.00              

3617 UHNGE610 CMH HINGE-SOUTHCO UTIL EACH 0 190 7.9667 1,513.68           

3618 UHNYCMB12126 HONEYCOMB PANEL 12X12X6T ARCV EACH 0 40 11.39 455.60              

3619 UHNYCMB18186 HONEYCOMB PANEL 18X18X6T ARCV EACH 0 22 20.98 461.56              

3620 UHR38000 HOIST RING-3/8"-16 TRD, 9/16"L UTIL EACH 0 97 76.8 7,449.60           

3621 UIR365 SX3K/MX4 INLET RING-365 CFM IM FANS EACH 0 7 11.4786 80.35                

3622 UIR530 SX7K INLET RING-530 CFM IMPLR FANS EACH 0 12 19.8308 237.97              

3623 UKEY1812 KEY USIZED 1/8" X1/8" X1 1/4"L ARCV EACH 0 68 0.3008 20.45                

3624 UKEY1825 KEY USIZED 1/8" X1/8" X3/4"L UTIL EACH 0 25 0.2568 6.42                   

3625 UKEY2512 KEY USIZED 1/4" X1/4 X1 1/4"L ARCV EACH 0 49 0.333 16.32                

3626 UKEY2575 KEY USIZED 1/4" X1/4" X3/4"L ARCV EACH 0 153 0.362 55.39                

3627 UKEY3612 3/16 X 3/16 USZ KEY 1.25"L UTIL EACH 0 122 0.3411 41.61                

3628 UKEY3634 KEY USIZED 3/16" X3/16" X3/4"L UTIL EACH 0 494 0.5052 249.57              

3629 UKEY5612 KEY STOCK-5/16" X5/16" X12"L ARCV EACH 0 24 6.2 148.80              

3630 ULTCHCM0 CMH400 LATCH UTIL EACH 0 158 6.1666 974.32              

3631 ULTCHSS0 DRAW LATCH 302 22, 1-3/64TH DI UTIL EACH 0 2 5.015 10.03                

3632 UMAGD11N52 MAGNET, WHEEL SENSOR UTIL EACH 0 440 0.2074 91.25                

3633 UNDL1401 14GA X 1" NEEDLE UTIL EACH 0 194 0.2954 57.30                

3634 UNDL1901 19GA X 1" NEEDLE UTIL EACH 0 15 0.2727 4.09                   

3635 UNDLBOTL 2 OZ PLASTIC DISPENSING BOTTLE UTIL EACH 0 24 1.9575 46.98                

3636 UNEMA664 NEMA JBOX 6" X 6" X 4" UTIL EACH 0 10 23.09 230.90              

3637 UOR018TF TFE O'RING -018 3/4ID 7/8OD UTIL EACH 0 71 0.5011 35.58                

3638 UOR12TFE O'RING-TFE-1/2 ID 1/16 TH UTIL EACH 0 3 0.28 0.84                   

3639 UOR15TFE 1 1/2" ID PTFE O-RING UTIL EACH 0 8 1.6838 13.47                

3640 UOR226TF TFE O'RING 226 - 2"Dusk/Moon UTIL EACH 0 4 2.0725 8.29                   

3641 UOR329BN 2" ID 3/16"TH O-RING - BUNA UTIL EACH 0 14 0.7571 10.60                

3642 UOR58TFE 5/8" ID PTFE O-RING UTIL EACH 0 7 3.5843 25.09                

3643 UORNG219 0'RING 219 - TEFLON UTIL EACH 0 25 1.3056 32.64                

3644 UORSI316 3/16 ID SILICONE ORING UTIL EACH 0 504 0.1569 79.10                

3645 UORSI316 3/16 ID SILICONE ORING UTIL EACH A01 25 0.1215 3.04                   

3646 UORSI316 3/16 ID SILICONE ORING UTIL EACH A02 25 0.1406 3.52                   

3647 UORSI316 3/16 ID SILICONE ORING UTIL EACH A04 25 0.1215 3.04                   

3648 UORSI316 3/16 ID SILICONE ORING UTIL EACH A05 25 0.1065 2.66                   

3649 UORSI316 3/16 ID SILICONE ORING UTIL EACH A06 25 0.1406 3.52                   

3650 UORSI316 3/16 ID SILICONE ORING UTIL EACH A07 100 0.0501 5.01                   

3651 UORSI316 3/16 ID SILICONE ORING UTIL EACH A08 25 0.1406 3.52                   

3652 UORSI316 3/16 ID SILICONE ORING UTIL EACH BAS 100 0.1406 14.06                

3653 UPGNSPLG Pig Nose Plug 1 13/16" 2 holes UTIL EACH 0 10 1.75 17.50                

3654 UPLUG10P 1" HOLE PLUG - SNAP-IN POLY INAC EACH ZER 100 0.0409 4.09                   

3655 UPLUG10R 1" OD TUBE PLUG - POLY INAC EACH ZER 75 0.0865 6.49                   

3656 UPLUG120 1/2" HOLE PLUG INAC EACH ZER 159 0.061 9.70                   



SYNCROLITE VALUATION REPORT

3657 UPLUG125 1 1/4" OD TUBE PLUG -  POLY INAC EACH ZER 44 0.1502 6.61                   

3658 UPLUG340 3/4" HOLE PLUG INAC EACH ZER 32 0.0774 2.48                   

3659 UPLUG380 3/8" HOLE PLUG INAC EACH ZER 66 0.0545 3.60                   

3660 UPLUG56S 15/16" HOLE PLUG-SNAP-IN STL UTIL EACH 0 22 0.4995 10.99                

3661 UQDPLTCH QUAD PANEL LATCH UTIL EACH 0 48 5.3548 257.03              

3662 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH 0 21 3.0219 63.46                

3663 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH 501 1 2.25 2.25                   

3664 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH 703 1 2.25 2.25                   

3665 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH S04 1 2.25 2.25                   

3666 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X01 1 2.25 2.25                   

3667 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X03 1 2.25 2.25                   

3668 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X04 1 2.25 2.25                   

3669 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X05 1 2.25 2.25                   

3670 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X07 1 2.25 2.25                   

3671 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X08 1 2.25 2.25                   

3672 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X09 1 2.25 2.25                   

3673 UQDPLTKY QUAD PANEL LATCH KEY UTIL EACH X10 1 2.25 2.25                   

3674 URB1243S RUBBER FOOT- 1 1/4 W/ 3/8 STUD UTIL EACH 0 68 16.0437 1,090.97           

3675 URB12538 1/25"L X 1.25"D 3/8-16 RBR BUM UTIL EACH 0 8 9.0563 72.45                

3676 URB22534 RUBBER BUMPER-2.25"D-3/4-10 TH UTIL EACH 0 10 22.917 229.17              

3677 URBW3413 RBR BUMPER - 3/4"D X 13/32"H UTIL EACH 0 40 0.2358 9.43                   

3678 URN2516S 2" ID SS RING 5/16" DIA ARCV EACH 0 23 5.28 121.44              

3679 URUBGRM3 3" RAIN COLLAR UTIL EACH 0 5 3.904 19.52                

3680 URUBGRM3 3" RAIN COLLAR UTIL EACH ZER 4 2.98 11.92                

3681 URUBGRM4 4" RAIN COLLAR UTIL EACH 0 10 6.52 65.20                

3682 USIGLAS0 SIGHT GLASS 1 1/4 HOLE UTIL EACH 0 4 14.8225 59.29                

3683 USILCC11 RTV SILICONE POTTING COMPOUND ARCV EACH 0 3 17.9364 53.81                

3684 USLB1502 1 1/2"ID X 2"L SLEEVE BEARING UTIL EACH 0 7 12.47 87.29                

3685 USLNGCON THREADED CONN 5/16" QUICK LINK UTIL EACH 0 168 4.6839 786.89              

3686 USLNGNYS 1" X 3' L SAFETY  W/CABLE B/U UTIL EACH 0 83 10.3877 862.18              

3687 USLTNY12 SPLIT LOOM TUBING-1/2" NYLON UTIL FOOT 0 90 0.6606 59.45                

3688 USLTNY38 SPLIT LOOM TUBING-3/8" NYLON UTIL FOOT 0 90 0.9757 87.81                

3689 USMB306191 HEAD COVER FOAM FILTER UTIL EACH 0 8 0.2975 2.38                   

3690 USMB608641 FOAM AIR FILTER UTIL EACH 0 33 0.0945 3.12                   

3691 USP045E04S COMP SPRG-625"LX.360"SYNCROMIT UTIL EACH 0 70 0.8606 60.24                

3692 USP10031 i SPRING 100 - 0.031-0.032 ARCV EACH 0 79 3.1 244.90              

3693 USP13539 SPRING 135 - 0.039-0.040 ARCV EACH 0 216 1.97 425.52              

3694 USP35747 SPRING 357 - 0.047 UTIL EACH 0 231 2.1 485.10              

3695 USPCDS00 CVD DSC SPG 0.265"X0.490"X0.00 UTIL EACH 0 2,452.00 0.0994 243.66              

3696 USPCMP15 COMP SPRG-1.5"L X0.36"OD-0.042 UTIL EACH 0 45 1.0547 47.46                

3697 USPCMP18 COMP SPRG-1 3/8"L X7/32"OD-0.0 ARCV EACH 0 24 0.4783 11.48                

3698 USPCMP35 COMP SPRG-3.5"L X0.36"OD-0.042 UTIL EACH 0 83 1.1529 95.69                

3699 USPCMP58 COMP SPRG-5/8"LX.24"ODX.32 UTIL EACH 0 281 1.516 426.00              

3700 USPEXT38 EXTENSION SPRG-1"L X3/8"OD-0.0 UTIL EACH 0 49 1.7627 86.37                

3701 USPEXT38 EXTENSION SPRG-1"L X3/8"OD-0.0 UTIL EACH 401 12 1.7683 21.22                

3702 USPSS7K0 SS7K ROLLER SPRING UTIL EACH 0 15 68.798 1,031.97           

3703 USPWDS00 WAVE DSC SPRG-0.492"OD X0.350" UTIL EACH 0 100 0.3665 36.65                

3704 USPWDS01 Wave Disc Spring- SS 0.265" ID UTIL EACH 0 97 0.5167 50.12                

3705 USTLAHTR HEATER, ST LOUIS ARCH UTIL EACH 0 (10.00)            48.407 (484.07)             

3706 USTRL534 HEYCO STRAIN RELIEF - 5P3-4 UTIL EACH 0 100 0.0928 9.28                   

3707 USYR10LL 10CC SYRINGE LEUR LOCK UTIL EACH 0 9 0.8967 8.07                   

3708 USYR10TT 10CC SYRINGE TAPER TIP UTIL EACH 0 8 2.0063 16.05                

3709 UT3M9731 2 SIDE TAPE-1/2 X 36YD-3M9731 UTIL FOOT 0 120 0.1473 17.68                



SYNCROLITE VALUATION REPORT

3710 UTCCLMPA TC CLAMP-MEGA COUPLER UTIL EACH 0 121 18.585 2,248.78           

3711 UTDR7800 TIE DOWN RING 7/8" Savannah UTIL EACH 0 4 1.1025 4.41                   

3712 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 0 1,395.00 0.0502 69.99                

3713 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 401 25 0.0418 1.05                   

3714 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 501 20 0.0428 0.86                   

3715 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 508 20 0.0428 0.86                   

3716 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 513 10 0.0418 0.42                   

3717 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 702 100 0.0505 5.05                   

3718 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 703 10 0.0423 0.42                   

3719 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH 705 50 0.047 2.35                   

3720 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH A01 20 0.0428 0.86                   

3721 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH A02 30 0.0452 1.36                   

3722 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH A04 30 0.0418 1.25                   

3723 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH A06 20 0.0438 0.88                   

3724 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH A07 30 0.0413 1.24                   

3725 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH A08 20 0.0438 0.88                   

3726 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH BAS 400 0.0452 18.08                

3727 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH M03 20 0.0423 0.85                   

3728 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH S02 100 0.047 4.70                   

3729 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH S03 20 0.0418 0.84                   

3730 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH S05 100 0.051 5.10                   

3731 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH S06 110 0.0492 5.41                   

3732 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH S08 20 0.047 0.94                   

3733 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH S09 20 0.047 0.94                   

3734 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH S10 10 0.047 0.47                   

3735 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH X01 10 0.051 0.51                   

3736 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH X05 25 0.0418 1.05                   

3737 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH X06 20 0.0438 0.88                   

3738 UTW56B01 ZIP TY-5.6" L BLK INTERMEDIATE UTIL EACH X09 10 0.0418 0.42                   

3739 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH 0 492 0.0398 19.60                

3740 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH 401 25 0.0313 0.78                   

3741 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH 501 20 0.031 0.62                   

3742 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH 508 20 0.031 0.62                   

3743 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH 513 10 0.0313 0.31                   

3744 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH 702 100 0.0396 3.96                   

3745 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH 703 10 0.0315 0.32                   

3746 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH A01 20 0.031 0.62                   

3747 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH M03 20 0.0315 0.63                   

3748 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH S03 20 0.0313 0.63                   

3749 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH S04 100 0.0391 3.91                   

3750 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH S06 20 0.031 0.62                   

3751 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH S08 20 0.0375 0.75                   

3752 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH S09 20 0.0375 0.75                   

3753 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH S10 10 0.037 0.37                   

3754 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH X05 25 0.0313 0.78                   

3755 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH X06 20 0.0409 0.82                   

3756 UTW56W00 ZIP TY-5.6" L BABY WHITE UTIL EACH X09 10 0.0313 0.31                   

3757 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH 0 1,674.00 0.0947 158.61              

3758 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH 401 25 0.0526 1.32                   

3759 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH 501 20 0.053 1.06                   

3760 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH 508 20 0.053 1.06                   

3761 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH 513 10 0.0527 0.53                   

3762 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH 702 100 0.0947 9.47                   



SYNCROLITE VALUATION REPORT

3763 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH 703 10 0.218 2.18                   

3764 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH A01 20 0.053 1.06                   

3765 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH A02 30 0.0584 1.75                   

3766 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH A06 20 0.0633 1.27                   

3767 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH A07 20 0.0584 1.17                   

3768 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH A08 20 0.0633 1.27                   

3769 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH BAS 305 0.0584 17.81                

3770 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH DIS 100 0.0637 6.37                   

3771 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH M03 20 0.0531 1.06                   

3772 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH S03 20 0.0528 1.06                   

3773 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH S04 100 0.1257 12.57                

3774 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH S06 110 0.2013 22.14                

3775 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH S08 20 0.0635 1.27                   

3776 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH S09 20 0.0635 1.27                   

3777 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH S10 10 0.063 0.63                   

3778 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH X01 10 0.234 2.34                   

3779 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH X05 25 0.0531 1.33                   

3780 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH X06 20 0.0633 1.27                   

3781 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH X08 100 0.1256 12.56                

3782 UTW74B02 ZIP TY-7.4"L BLK STANDARD UTIL EACH X09 10 0.0526 0.53                   

3783 UTWS10B0 #10 TY WRAP SADDLE-BLK UTIL EACH 0 856 0.1569 134.29              

3784 UTWS10B0 #10 TY WRAP SADDLE-BLK UTIL EACH JES 5 0.1699 0.85                   

3785 UTWSAD00 ADHESIVE BKD TY WRAP SADDLE UTIL EACH 0 150 0.23 34.50                

3786 UTWSAD00 ADHESIVE BKD TY WRAP SADDLE UTIL EACH JES 1 0.2216 0.22                   

3787 UTWSSM02 SMALL TY WRAP SADDLE #6 INAC EACH 0 (8.00)              0.16 (1.28)                 

3788 UTWSSMB0 #6 TY WRAP SADDLE-BLACK UTIL EACH 0 363 0.1385 50.28                

3789 UTWSSMB0 #6 TY WRAP SADDLE-BLACK UTIL EACH JES 5 0.1252 0.63                   

3790 UVIBISOR BAL RACK VIBRO ISO MNT-RED UTIL EACH 0 16 20.2342 323.75              

3791 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH 0 69 1.8212 125.66              

3792 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A01 15 1.8235 27.35                

3793 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A02 10 1.821 18.21                

3794 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A03 5 1.821 9.11                   

3795 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A04 2 1.8285 3.66                   

3796 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A05 4 1.8285 7.31                   

3797 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A06 5 1.821 9.11                   

3798 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A07 10 1.8285 18.29                

3799 UWRLS060 WIRE ROPE LANYARD SS - 6" UTIL EACH A08 5 1.821 9.11                   

3800 UWTCON12 1/2" LIQUID TIGHT CONNECTOR ARCV EACH 0 4 1.78 7.12                   

3801 UWWC0000 WOVEN WIRE CLTH-18X18 SQ-12"SH UTIL EACH 0 9 8.7711 78.94                

3802 V1003ILL MX-GLS-10.5" X 3.0MM-FRONT GLS GLAS EACH 0 10 13.867 138.67              

3803 V1003ILLU 10.5" X 3.0MM FRONT GLS-RECERT RCRT EACH 0 18 37 666.00              

3804 V1033CLR GLS-10.5" X 3.3MM-CLEAR-uv use ARCV EACH 0 1 56.28 56.28                

3805 V1033HMU MX-GLS-10.5" X 3.3MM-HOT MIRR+ GLAS EACH 0 9 504 4,536.00           

3806 V1603ILL SXL-GLS-16" X 3.0MM-FRONT GLS GLAS EACH 0 23 51.5296 1,185.18           

3807 V1603ILLU 16" TECH GLASS-RECERT RCRT EACH 0 21 49.06 1,030.26           

3808 V16125LX GLASS-16" X 0.125"T LEXAN ARCV EACH 0 3 33 99.00                

3809 V1633HIR SXL-GLS-16"X3.3MM IR HTSHLD W/ GLAS EACH 0 9 285.98 2,573.82           

3810 V1633HIRR RCRT PLUGGED HOLEY GLASS RCRT EACH 0 3 142 426.00              

3811 V1633HMU SXL-GLS-16.0" X 3.3MM-HOT MIRR GLAS EACH 0 7 583.86 4,087.02           

3812 V1892ARIR GLS-18.92"X17.6"X3.3 ELLIPTICA ARCV EACH 0 15 309.02 4,635.30           

3813 V2003ILL GLS-20.5" X 3.0MM-FRONT GLS GLAS EACH 0 24 56.4438 1,354.65           

3814 V2003ILLU XL (7k) FRONT GLASS-RECERT RCRT EACH 0 25 89.94 2,248.50           

3815 V2005ILL GLS-20.5" X 5.0MM-FRONT GLS ARCV EACH 0 10 120 1,200.00           



SYNCROLITE VALUATION REPORT

3816 V2017WGL GLS-20.5"X1.75MM-WOODS GLS-DIS GLAS EACH 0 3 779.01 2,337.03           

3817 V2033HMU GLS-20.5" X 3.3MM-HOT MIRR+UV GLAS EACH 0 18 878.5933 15,814.68         

3818 V2033HMUU XL/7K HEAT SHIELD GLASS-RECERT RCRT EACH 0 2 387.5 775.00              

3819 VMLCTB2 MOONLIGHT GLASS 1/2 CTB GLAS EACH 0 3 290.1533 870.46              

3820 VSMB302601 APERTURE 3/4 INCH (APOLLO MS-2 GLAS EACH 0 2 42.8 85.60                

3821 VSMB302611 APERTURE 1/2 INCH (APOLLO MS-2 GLAS EACH 0 2 42.8 85.60                

3822 VSMB302661 CONE (APOLLO MS-2280) GLAS EACH 0 2 42.8 85.60                

3823 VSMB302681 DASH SMALL (APOLLO MS-2331) GLAS EACH 0 2 42.8 85.60                

3824 VWETMIRR WET Mirror ARCV EACH 0 2 0 -                     

3825 W017733F #1 AWG CABLE-FLEXI-773/30 WIRE FOOT 0 7,438.92 2.5051 18,635.27         

3826 W0441330 #4AWG FLEXI 441X30AWG WIRE FOOT 0 500 4.0517 2,025.85           

3827 W04ENTSC #4 AWG ENT CABLE-SCI WIRE FOOT 0 250 0.75 187.50              

3828 W04EXARB 4 AWG EXAR XLE-BLK WIRE FOOT 0 100 2.1468 214.68              

3829 W04SRML #4 AWG SRML CABLE WIRE FOOT 0 39.33 1.9001 74.73                

3830 W061B000 6 AWG BLACK 1283 WIRE FOOT 0 20 0.727 14.54                

3831 W061R002 6 AWG RED 1283 WIRE FOOT 0 20 0.757 15.14                

3832 W06EXARB 6 AWG EXAR XLE-BLK WIRE FOOT 0 1,068.50 1.7375 1,856.51           

3833 W06ROPE 6 AWG ROPE LAY CABLE WIRE FOOT 0 286.084 1.2508 357.84              

3834 W08BLK 8 AWG-1028 - BLK WIRE FOOT 0 420 0.3 126.00              

3835 W08BLK 8 AWG-1028 - BLK WIRE FOOT X08 30 0.3 9.00                   

3836 W08BLU 8 AWG-1028 - BLU WIRE FOOT 0 35 0.3 10.50                

3837 W08GRN 8 AWG-1028 - GRN WIRE FOOT 0 500 0.3 150.00              

3838 W08RED 8 AWG-1028 - RED WIRE EACH 0 500 0.3 150.00              

3839 W08WHT 8 AWG-1028 - WHT WIRE FOOT 0 500 0.3 150.00              

3840 W101B001 10 AWG-1015 - BLACK WIRE FOOT 0 790 0.25 197.50              

3841 W101BL02 10 AWG-1015 - BLU WIRE FOOT 0 890 0.25 222.50              

3842 W101G003 10 AWG-1015 - GREEN WIRE FOOT 0 780.5 0.1 78.05                

3843 W101O005 10 AWG-1015 - ORANGE WIRE FOOT 0 800 0.201 160.80              

3844 W101R004 10 AWG-1015 - RED WIRE FOOT 0 890 0.1 89.00                

3845 W101W005 10 AWG-1015 - WHITE WIRE FOOT 0 195 0.1 19.50                

3846 W103SOOW 10/3 SOOW POWER CABLE WIRE FOOT 0 250 1.0867 271.67              

3847 W121BLU 12 AWG-1015 - BLU WIRE FOOT 0 200 0.1311 26.23                

3848 W121RED 12 AWG-1015 - RED WIRE FOOT 0 200 0.2 40.00                

3849 W121WHT 12 AWG-1015 - WHT WIRE FOOT 0 792 0.2 158.40              

3850 W123SJOOW 12-3 SJOOW CABLE WIRE FOOT 0 510 0.5717 291.56              

3851 W123SOOW 12/3 SOOW POWER CABLE WIRE FOOT 0 120 0.9443 113.32              

3852 W141250C 14 AWG HI TEMP-250C 600V WIRE FOOT 0 75 0.6884 51.63                

3853 W141450C 14 AWG 450C UL5359 WIRE WIRE FOOT 0 (1.75)              0.9771 (1.71)                 

3854 W141B001 14 AWG-1007 - BLK WIRE FOOT 0 400 0.07 28.00                

3855 W141R002 14 AWG-1007 - RED WIRE FOOT 0 480 0.07 33.60                

3856 W143SOOW 14/3 SOOW POWER CABLE WIRE FOOT 0 75 0.474 35.55                

3857 W14TFLBK 14 AWG- 1419 TEFLON - BLK WIRE FOOT 0 500 0.656 328.00              

3858 W14TFLGR 14 AWG- 1419 TEFLON - GRN WIRE FOOT 0 400 0.656 262.40              

3859 W14TFLWH 14 AWG- 1419 TEFLON - WHT WIRE FOOT 0 500 0.656 328.00              

3860 W161B001 16 AWG-1007 - BLK WIRE FOOT 0 2,696.78 0.23 620.38              

3861 W161BL06 16 AWG-1007 - BLU WIRE FOOT 0 305.67 0.05 15.28                

3862 W161BR18 16 AWG BROWN - 1015 WIRE FOOT 0 (21.00)            0.6429 (13.50)               

3863 W161G004 16 AWG-1007 - GRN WIRE FOOT 0 1,955.71 0.0549 107.39              

3864 W161GR07 16 AWG-1007 - GRA WIRE FOOT 0 573.333 0.05 28.67                

3865 W161R002 16 AWG-1007 - RED WIRE FOOT 0 966.833 0.05 48.34                

3866 W161W003 16 AWG-1007 - WHT WIRE FOOT 0 1,953.08 0.1165 227.47              

3867 W161Y005 16 AWG-1007 - YEL WIRE FOOT 0 836.536 0.8 669.22              

3868 W181B001 18 AWG-1007 - BLK WIRE FOOT 0 1,195.83 0.037 44.23                



SYNCROLITE VALUATION REPORT

3869 W181BL05 18 AWG-1007 - BLU WIRE FOOT 0 103.056 0.0609 6.28                   

3870 W181BTF1 18 AWG-1180 - BLK WIRE FOOT 0 2,596.90 0.2233 579.89              

3871 W181G004 18 AWG-1007 - GRN WIRE FOOT 0 1,805.07 0.0386 69.62                

3872 W181GR06 18 AWG-1007 - GRA WIRE FOOT 0 797.496 0.05 39.86                

3873 W181GRT6 18 AWG-1180 - GRA WIRE FOOT 0 2,618.41 0.2232 584.43              

3874 W181JPVC 18 AWG 1PR JACKETED-8760 WIRE FOOT 0 500 0.28 140.00              

3875 W181R002 18 AWG-1007 - RED WIRE FOOT 0 2,198.35 0.0388 85.35                

3876 W181R182 18 AWG-1180 - RED WIRE FOOT 0 (2.17)              0 -                     

3877 W181W003 18 AWG-1007 - WHT WIRE FOOT 0 1,865.95 0.0379 70.76                

3878 W182BR01 18 AWG 2 TWST 1007-BLK/RED WIRE FOOT 0 935.128 0.1028 96.10                

3879 W182BR80 18 AWG 2-TWST 1180-BLK/RED WIRE FOOT 0 634.5 0.7281 461.98              

3880 W183BRRG 18 AWG 3-TWST 1180-BRN/RED/GRN WIRE FOOT 0 500 0.83 415.00              

3881 W183TBGB 18 AWG 3-TWST 1180-BLK/GRN/BLU WIRE FOOT 0 1,130.70 1.4634 1,654.65           

3882 W184JPVC 18 AWG 4 COND JACKETED-8489 WIRE FOOT 0 728.007 0.6953 506.16              

3883 W18T2GB0 18 AWG 2-TWST 1180-GRN/BRN WIRE FOOT 0 2,500.00 0.735 1,837.50           

3884 W221B001 22 AWG 1007-BLACK WIRE FOOT 0 472.668 0.0223 10.54                

3885 W221BL07 22 AWG 1007-BLU WIRE FOOT 0 488 0.056 27.33                

3886 W221BR08 22 AWG 1007-BRN WIRE FOOT 0 593.998 0.0204 12.14                

3887 W221G004 22 AWG 1007-GRN WIRE FOOT 0 588 0.0194 11.41                

3888 W221GR09 22 AWG 1007-GRA WIRE FOOT 0 800 0.0203 16.24                

3889 W221P005 22 AWG 1007-VIO WIRE FOOT 0 1,000.00 0.015 15.00                

3890 W221R002 22 AWG 1007-RED WIRE FOOT 0 494.337 0.0251 12.39                

3891 W221TBLK 22 AWG 1180-BLK WIRE FOOT 0 10 0.12 1.20                   

3892 W221VIWH 22 AWG 1007-VIO/WHT WIRE FOOT 0 1,000.00 0.0301 30.11                

3893 W221W003 22 AWG 1007-WHT WIRE FOOT 0 888.661 0.029 25.78                

3894 W221Y006 22 AWG 1007-YEL WIRE FOOT 0 984.428 0.015 14.76                

3895 W222BB01 22 AWG 2-TWST 1007-BLK/BLK WIRE FOOT 0 832.5 0.0803 66.85                

3896 W222BBL2 22 AWG 2-TWST 1007-BLK/BLU WIRE FOOT 0 1,204.46 0.69 831.08              

3897 W222BBR3 22 AWG 2-TWST 1007-BLK/BRN WIRE FOOT 0 1,776.66 0.69 1,225.90           

3898 W222BR04 22 AWG 2-TWST 1007-BLK/RED WIRE FOOT 0 744.007 0.1638 121.85              

3899 W222GB06 22 AWG 2-TWST 1007-GRN/BRN WIRE FOOT 0 2,700.00 0.0607 163.85              

3900 W222TBBL 22 AWG 2-Twist 1180 BLK/BLU WIRE FOOT 0 476 0.645 307.02              

3901 W222TBL1 22 AWG 2-TWST 1180-BLU/YEL WIRE FOOT 0 1,702.50 0.4551 774.87              

3902 W222TBR1 22 AWG 2-TWST 1180-BLK/RED WIRE FOOT 0 1,909.60 0.4112 785.19              

3903 W222TGB1 22 AWG 2-TWST 1180-GRN/BRN WIRE FOOT 0 2,260.00 0.4551 1,028.61           

3904 W222TGW1 22 AWG 2-TWST 1180-GRN/WHT WIRE FOOT 0 133.5 0.3502 46.75                

3905 W223BGBL 22 AWG 3-TWST 1007-BLK/GRN/BLU WIRE FOOT 0 2,102.58 0.0941 197.89              

3906 W223BRGW 22 AWG 3-TWST 1007-BRN/WHT/GRN WIRE FOOT 0 2,552.03 0.11 280.82              

3907 W223GBLP 22 AWG 3-TWST 1007-GRN/BLU/VIO WIRE FOOT 0 400 0.065 26.00                

3908 W223TBWG 22 AWG 3-TWST 1180 BRN/WHT/GRN WIRE FOOT 0 (967.49)         0.5401 (522.59)             

3909 W223WBLY 22 AWG 3-TWST 1180-WHT/BLU/YEL WIRE FOOT 0 586.744 0.5607 329.00              

3910 W224BYGB 22 AWG 4-TWST 1007-BN/YL/GN/BU WIRE FOOT 0 2,872.71 0.1516 435.48              

3911 W224TBYGB 22 AWG 4-TWST 1180-BN/YL/GN/BL WIRE FOOT 0 519.946 0.64 332.77              

3912 W2250002 22 AWG 5-TST 1007-Y/GN/BU/V/W WIRE FOOT 0 3,797.98 0.1656 628.76              

3913 W225JPVC 22 AWG 5 COND JCKTD-8445 WIRE FOOT 0 971.7 0.3973 386.05              

3914 W225T004 22 AWG 5-TST 1180-BN/Y/GN/BU/W WIRE FOOT 0 843.3 0.9 758.97              

3915 WBPSLV12 1/2" POLY BRAIDED SLV-500 FT WIRE FOOT 0 1,422.76 0.946 1,345.93           

3916 WBPSLV14 1/4" POLY BRAIDED SLV-500 FT WIRE FOOT 0 683.449 0.5868 401.06              

3917 WC9P1291 9 PIN CONTROL CABLE WIRE FOOT 0 7,975.00 1.1129 8,875.37           

3918 WCC4P000 4-PIN COLOR CHGR WIRE WIRE FOOT 0 100 1.2306 123.06              

3919 WDMX0944 DMX Cable Beldon WIRE FOOT 0 100 0.35 35.00                

3920 WFGSLV38 3/8" FIBERGLASS SLEEVE WIRE FOOT 0 13.756 1.6575 22.80                

3921 WFGSLV58 5/8" FIBERGLASS SLEEVE WIRE FOOT 0 15.988 2.4787 39.63                



SYNCROLITE VALUATION REPORT

3922 WHSTH140 1/4" CLEAR HI STRENGTH SHRINK WIRE FOOT 0 75 1.9036 142.77              

3923 WHSTH380 3/8" CLEAR HI STRENGTH SHRINK WIRE FOOT 0 32 3.6133 115.63              

3924 WHSTPC11 HSTUBE-2" THIN WIRE EACH 0 1,471.00 0.4381 644.44              

3925 WHSTPC11 HSTUBE-2" THIN WIRE EACH JES 20 0.35 7.00                   

3926 WHSTR010 HSTUBE-1" CLEAR - ROLL WIRE FOOT 0 1,000.00 0.8266 826.61              

3927 WHSTR010 HSTUBE-1" CLEAR - ROLL WIRE FOOT JES 11 0.6869 7.56                   

3928 WHSTR120 HSTUBE CLEAR - 1/2" - PVC WIRE FOOT 0 2,360.58 0.4921 1,161.69           

3929 WHSTR140 HSTUBE-1/4" CLEAR-ROLL WIRE FOOT 0 696.134 0.874 608.42              

3930 WHSTR180 HSTUBE-1/8" CLEAR-ROLL WIRE FOOT 0 800 0.6832 546.56              

3931 WHSTR332 3/32 CLEAR HEAT SHRINK TUBE WIRE FOOT 0 24 1.1729 28.15                

3932 WHSTR340 HSTUBE CLEAR - 3/4" - PVC WIRE FOOT 0 36.537 1.2968 47.38                

3933 WHSTR380 HSTUBE-3/8" CLEAR WIRE FOOT 0 19,587.76 0.0104 204.66              

3934 WHSTS010 HSTUBE-1" BLACK-STICK WIRE FOOT 0 37.896 0.9075 34.39                

3935 WHSTS116 HSTUBE-1/16" BLACK-STICK WIRE FOOT 0 162.915 0.2476 40.33                

3936 WHSTS116 HSTUBE-1/16" BLACK-STICK WIRE FOOT JES 4 0.0895 0.36                   

3937 WHSTS120 HSTUBE-1/2" BLACK-STICK WIRE FOOT 0 365.119 0.2372 86.61                

3938 WHSTS12R HSTUBE-1/2" RED-STICK WIRE FOOT 0 31.125 0.7958 24.77                

3939 WHSTS140 HSTUBE-1/4" BLACK-STICK WIRE FOOT 0 100.152 0.6448 64.58                

3940 WHSTS14R HSTUBE-1/4 RED-STICK WIRE FOOT 0 66 0.5045 33.30                

3941 WHSTS180 HSTUBE-1/8" BLACK-STICK WIRE FOOT 0 819.105 0.2015 165.05              

3942 WHSTS181 HSTUBE-1/8" RED-STICK WIRE FOOT 0 55 0.402 22.11                

3943 WHSTS332 HSTUBE-3/32" BLACK-STICK WIRE FOOT 0 62.375 0.3979 24.82                

3944 WHSTS340 HSTUBE-3/4" BLK-STICK WIRE FOOT 0 74.165 0.9948 73.78                

3945 WHSTS34R HSTUBE-3/4" RED-STICK WIRE FOOT 0 25.5 0.2192 5.59                   

3946 WHSTS36R HSTUBE-3/16 RED-STICK WIRE FOOT 0 23 0.0926 2.13                   

3947 WHSTS380 HSTUBE-3/8" BLACK-STICK WIRE FOOT 0 666.289 0.3821 254.56              

3948 WHSTS380 HSTUBE-3/8" BLACK-STICK WIRE FOOT JES 4 0.4699 1.88                   

3949 WHSTS38R 3/8" RED HST WIRE FOOT 0 49 0.6876 33.69                

3950 WSTP9501 JCKTD SHLD TWST PAIR-9501 WIRE FOOT 0 300 0.2104 63.12                

3951 X019G030 3K-5K C1 GEL GUIDE REAR-TABS SHMT EACH 0 78 13.07 1,019.46           

3952 X019G040 3K-5K C1 GEL GUIDE FRONT SHMT EACH 0 85 10.6076 901.65              

3953 XGFTP1BK GAFF TAPE-BLACK 1" X 55 YD XPRT EACH 0 50 9.3542 467.71              

3954 XGFTP1WH GAFF TAPE- WHITE 1" X 55 YD XPRT EACH 0 50 9.3542 467.71              

3955 XPNTDKGN DUSK PAINT FEE-GREEN POWDER XPRT EACH 0 12 339.4 4,072.80           

3956 XPNTMNGN MOON PAINT FEE-GREEN POWDER XPRT EACH 0 11 188.73 2,076.03           

3957 XPNTMNPBB PAINT FEE-MOON POT BELLY BLACK XPRT EACH 0 15 65 975.00              

3958 ZSTL0002 ST LOUIS BOTTOM FRAME COMPLETE ARCV EACH 0 4 330 1,320.00           

3959 ZSTL0004 ST LOUIS YOKE ARM ARCV EACH 0 4 48 192.00              

3960 ZSTL0008 ST LOUIS NON-DOOR SKIN ARCV EACH 0 10 46 460.00              

 2,352,771.38   


